


SUS






SF Standard Frame Series Catalogue



ASIAN NETWORK

Standard Unit Supply ailangd
299 Moo 10, T.Banthi, A.Muang, Lam

From Thailand to
Asian Region.

Besides factories in Japan,

SUS also has factories in Thailand,

We are covering Asian region from
Thailand with Japanese quality standard.

System Upgrade Solution BKK Co., Ltd.

Rangsit Factory, Rangsit Sales Branch, 9/231 - 9/234 Moo 5, Phaholyothin Rd.,
T.Klong Nueng, A.Klong Luang, Pathumthani 12120

Tel : +66-2516-3631~4, Fax : +66-2516-3635

System Upgrade Solution BKK Co., Ltd.

(Head Office) Amata City Chonburi
700/71 Moo 5, T.Klongtamru, A.Muang, Chonburi 20000
Tel : +66-3845-7069~71, Fax : +66-3845-7072

System Upgrade Solution BKK Co., Ltd.

Pinthong Factory, Pinthong Sales Branch

Pinthong 3 Industrial Estate 219/34 Moo 6, T.Bowin, A.Sriracha, Chonburi 20230
Tel : +66-3811-9307~8, Fax : +66-3811-9309



@ SUS Corporation
[Head Office]

® SUS (Suzhou) Co., Ltd.

Standard Units Supply
(Thailand) Co., Ltd.

\ @ Standard Units Supply Vietnam Co., Ltd.

@ Standard Units Supply

SUS Myanmar Co., Ltd. @ Philippines Corporation

@ Standard Units Supply
(India) Pvt. Ltd.

System Upgrade Solution BKK Co., Ltd.

Head office, Amata City Chonburi, Factory and Sales Branch
Rangsit, Factory and Sales Branch
Pinthong, Factory and Sales Branch
® SUS (Singapore) Pte. Ltd. B Lamphun, Sales Branch

@® SUS BKK
® Production Factory
@ Oversea Company Group in Asia



SERVICE INFORMATION

This sign shows the product is designed
for Asia region only

CAD Drawing Service

SUS will subsidies structure designing for customers.
Just show structure specifications to us. We prepare detailed specification by CAD drawings.
Customers don't need to waste time for choosing parts and components for structures.

I e

olofa]al®
N

D Bracket L Kit

FAX

N — FAX RN

Ik Ik Order e
Customer Customer

Please draw freehand SUS will make the If you confirmed

shape and dimensions drawing and the them, you can order

as you desire. quotation, and fax by the quotation
to the customer. number.



Assembly Service

Assembly Service is available.
We will also deliver as completed structure to customer factory site.
As for detail, Please contact local sales offices.




SF
(7]
-
o
=
o
(Y
=
[=3
Ly
=
Q
3
(]

Aluminum Component ser ies

For small covering and fixing sensor, etc
2 Groove Width 6mm Nut Below M5

Frame

SF-20-20 P20 SF-20-80 P21 SF-40-40-2S P21

SF-40-80-SS r21 SF-25:25 p22 SF-20-20-1F p22 SF-20-20-2F P22

n =

A,

SF-20-20-3F P23 SF-20-20-2H P23 SF-20-20-R P23 SF-20-40-1F P23 SF-20-40-40 P24

SF-20-DE45 P24 SF-20-DE30 P24 SF-20-DE60 P25

Nut (for 20 Series)

T Nut SS P26 ST Nut Stopper SS P26 Easy Nut SS P26  After Nut SS P27  Lock Nut SS P27
Anti-Skid Cap SS After Nut Support SS

S FreeNutSS P27  Joint Bar SS120 P27

Bracket (for 20 Series)

&
&

D Bracket SS Electroless nickel P28 D Bracket Spacer S P28 D Bracket Flat SS P28 D Bracket Cross SS P29

=




Hard Bracket SSG P30)  Hard Bracket
SSW2020

Hard Bracket SS P30

D Bracket 2040 p29 P30

P31 P31 P32 HardBracket P32

S§8G2040

Hard Bracket
with Stopper SS

Hard Bracket
with Stopper SSG

Hard Bracket
SS2040

Hard Bracket P33 P33

S§82060

Hard Bracket
SSG2060

Hard Bracket
SSW2060

P33  Angle Bracket SS p34

Angle Bracket P34 P34 P35 QC JointSS P35

S§S82040

“i

P36

Angle Bracket
SS52060

R Bracket SS Kit P36

Offset Angle
SS2040

N

Tapping Bolt SS P37 Torque Bit T25 p37

Corner Block
SS Kit

Hard Bracket P39 HardBracket P39 HardBracket P39 Hard Bracket P39
SS-DE135 SS'DE45 SS2040-DE135 SS2040-DE45
Parts (for 20 Series)

Hard Bracket  p32

SSW2040

Angle Bracket P34

Hard SS

>

Blind Bracket SS p36

Block Bracket P36

SS Kit

P37

T25

Truss Joint SS P39
Truss Cap SS

Torque Driver Plate Bracket P38

Turn Bracket 20 P40

g &5

r42

cad

Adjuster Kit P41  Foot Base Frame Cap

r44

Cover Holder SS P45 P46

Cover Support SS

Slot Seal SS Cable Clamp SS P46  Slot Roller SS

Slot Hook SS

P43  Hard Bracket Cap P43  Slot Cap SS

P44

SF
(7]
-+
o
=
o
Y
=
o
m
=
Q
3
[}




SF
2
4
)
3
o
o
=
o
o
=
o
3
o

For medium cover or conveyer frame
30 Groove Width 8mm Nut Below M6

Aluminum Component ser ies

Frame

SF2-30-30 P48 SF2-30-60 P48 SF-K-30-30 P49 SF-K-30-60 P49 SF-30-90 P49

SF-60-60-2S P50 SF-60-120 P50 SF2-30-30-1F r51

SF2-30-30-2F P51 SF2-30-30-3F r51 SF2-30-30-2H P51 SF2-30-60-1F P52 SF2-30-60-2H P52

B
»
SF-30-60-60 P52 SF-30-30-R P52 SF-30-DE45 P53 SF-30-DE30 P53 SF-30-DE60 P54
ﬁ
SF-50-50-2S P54 SF-50-100-2S P54 SF-35-35 P55 SF-35-70 P55
Nut (for 30 Series)

V-2

L d

TNutS P56 Easy Nut S P56 After Nut S P57  LockNutS r57
Anti Skid Cap S After Nut Support S

/r"'

Free Nut with Headless Bolt S P58 Double Round Nut P58 Double Joint S30  PH8  Joint Bar S140 r58
Free Stud S S30

Loctite Locknut P59



SF
(2]
-
Q
35
Q.
Y
=i
Q
o
=
Y
3
(1]

Bracket (for 30 Series)

Adjuster Bracket P59 D Bracket S D Bracket SpacerS P60 D Bracket Flat S P60

M12 S Kit

D Bracket Cross S P61 D Bracket 3060 P61 D Bracket S3060 P61 D Bracket SW P62 Hard Bracket S P62

Hard Bracket SG P62  Hard Bracket P63 Hard Bracket P63 Hard Bracket P63

SW3030 with Stopper S with Stopper SG

Hard Bracket S3060 P64 Hard Bracket P64 Hard Bracket P65 Hard Bracket P65
SW3060 S3090 SG3090

Hard Bracket P65 Hard Bracket P65 Hard Bracket P65 Angle Bracket S P66 Angle Bracket P66

S50 SG50 SW3090 Hard S

Angle Bracket S3060 P66 Angle Bracket P67 Angle Bracket P67 Offset Bracket P67
S50 S3090 S3060

Friction Sheet M6 p67  QC JointS P68 TG Joint Kit 30 P69 Double Joint Kit $30 P69
with Case Wrench Hole Cap



SF
[
<3
o
=}
Q
Y
=
Q
o
=
Q
3
o

10

Series

Aluminum Component

For medium cover or conveyer frame
3 Groove Width 8mm Nut Below M6

L
L=

Blind Bracket S r70 Block Bracket S Kit p70 Corner Block SKit p70 R Bracket S Kit p70 Tapping Bolt S p71

Plate BracketS P72 L Bracket S(Stainless) P73 Hard Bracket Hard Bracket r73
S-DE135 S'DE45

Hard Bracket Hard Bracket r73 Truss Joint S P74 Turn Bracket30A P74 Bend BracketS P75
S3060-DE135 S3060-DE45 Turn Bracket 30B
Parts (for 30 Series)
- ’
Adjuster Kit r76 Foot Base r77 Anchor Bracket P78 Anchor Plate Bracket p78 Caster Plate S P78
60602S Kit

7

\J

R i
Frame Cap P79 Frame Cap P80 DBracketCapS P80 Slot Seal S P80
Lock Type Hard Bracket Cap
« 4 ‘ﬁ-'ﬂ-| I
Cover Holder S P81  CableClamps  p81 Slot Hook S P81 Slider S P82 Slot Roller S P82

Cover Support S



For rack frame or large covering
o Groove Width 10mm Nut Below M8
Auminum Component ser ies

Frame

SF
»
=
)
3
o
)
=
o
o
=
o
3
o

SF2-40-40 P84  SF2-40-80 P84  SF-K-40-40 P85  SF-K-40-80 P85 SF-80-80 P85  SF-80-80-H P85

SF-40-160 P86  SF-80-160 P86 SF-60-60-1S P86  SF-80-80-1S P86  SF2-40-401F  p87  SF2-40-402F  p87

SF2-40-40-2H P87 SF2-40-80-1F P88 SF-40-8080 P88 SF-40-40R P88 SF-40-DE45 P89

SF-40-DE30 P89  SF-40-DE60 P89 SF2-45:45 P90  SF2-45-90 P90  SF-K-4545 P91

.u—'_'_'_._

SF-90-90 P91 SF2-45-90-1F P92  SF-45:45R P92  SF-45-180 P93

SF-4590-90 P93 SF-45DE45  p94 SF-45DE30 P94  SF-45DE60 P94

Nut (for 40-45 Series)

T Nut L P95 Anti-SkidCapL P99 ST Nut Stopper L P95 Easy Nut L P95 After Nut L P96 Lock Nut L P96
After Nut Support L

S Free Nut L P96 Free Nut with P97 Double Round Nut P97 Double Joint P97 JointBarL200 P97 Loctite Locknut P98
Headless Bolt L L40/L.45 L40/L.45

11



SF
()
=
o
=
Q.
Y
=
[=8
m
=
Q
3
(]

12

For rack frame or large covering
o Groove Width 10mm Nut Below M8
Aluminum Component series

Bracket (for 40-45 Series)

DBracketL  Electroless nickel P99 D Bracket SpacerL P99 D Bracket FlatL p99 D Bracket ClossL pT00 D Bracket 4080/4590 Electrotess nickel P100

FAPAL S

Hard Bracket LG pT1071 Hard Bracket LW p102 Hard Bracket  p102
with Stopper L

Hard Bracket ~ p102 Hard Bracket ~P103 Hard Bracket P103 Hard Bracket pjQpq HardBracket p104
with Stopper LG L4080 G80 LW4080 GW80

Hard Bracket ~ p105 Hard Bracket —p105 Hard Bracket p](Q6 HardBracket pJ106 AngleBracket p107
LW4590 GW90 A

L4590 G90

L40

Angle Bracket  p107 Angle Bracket P107 Angle Bracket P108 Angle Bracket p108 Angle Bracket p108 Offset Bracket p109
Hard L40 L4080 L45 Hard L45 L4590 L4080

Offset Bracket p109 L Bracket L P109 Hard Bracket P110 Hard Bracket r110
L4590 L-DE135/45 L4080-DE135/45

Hard Bracket P110 Truss Joint L40/45 P111 Tum BracketP111~112 Friction Sheet PT112 BendBracketl40 P113
L4590-DE135/45 40/45A-B M8 with Case

Caster Plate L~ p7113 Adjuster Bracket py73 QC Joint L p114 TG Joint Kit p115 Double JointKit L p7715 Blind BracketL p7116
M12 L Kit Wrench Hole Cap

R Bracket L40Kit pT116 TappingBoltL40 p7116 Plate BracketL p7117 S Plate Bracket p118
R Bracket L45 Kit



SF
0
-+
Q
=]
o
(Y
=
o
i
=
Q
3
(]

Parts (for 40-45 Series)

RT--[

AdjusterKit ~ p119 Foot Base p120 AnchorBracket p121 Frame Cap r122

Frame Cap p123 DBracket Cap L p123 Slot Cap L P124 Slot Seal L P124 cCableClampL  p125 SlotHookL  P125
Lock Type N4040/4545 Hard Bracket Cap

Cover Holder LCap P125 Slider L P126 Slot Roller r126
Cover Support L6 L40/1.45

SF / Complex Parts

Flat Bar P128 Angle P129 Channel P130 Adjuster A P130 Adjuster B p131 Small Diameter P131
Adjuster M12

Adjuster with p131 Foot Me/M12  P131 Caspad P132 Caster Screw P133  Free/Fixed P134 cCable Holder P135
hole for floor fixing Fitting Type Caster

Cable Ring p136 Bolt r137

13



SF
(7]
-+
Q
=]
o
Y
=
Q
il
=
o
3
o

14

S F Convenient items for hinged door, sliding door or fixed panel, etc
Aluminum Component ”oor l a”el

Flat Hinge Slip-Joint Hinge P141  FreeHinge P142~143  DoorLock  p144  Pul p145

Electroless Nickel/Acrylic Paint Free Size Free Hinge

Ay

O

Megnet Caich PT146~148  Magnet CatchG P149  MagretCatch P150~152  Magnet Catch G P153
NJ with Limit Switch with Limit Switch

Seal Cover P156~157  PanelFrameSS p158 PanelGuard p160  Panel Guard T3p160  SingDoorRal p162~163  SidngDoorRal p162~163

(Resin) 2 Rows:3 Rows{Aluminum)

Sliding Door Frame p164  Rail Guide Kit ~ P164  Folding Door Sider PT65  VayetCachiorFotdighor PTGE  Maet Cachwit it Sich 766

Panel Joint Kit Sliding Door Wheel for Flding Door
Wooden Board 168 Resin Panel r168

S F To support customers to design and assemble
Y 4
/ Technical Dala

DATA

N

Stendard Unit e PT7T~175  Auminum Material Data P176~
Example of Free unit

How touse Nut  p187 How to joint Bracket P188

Q&A

How to install P194~195 Auminum Frame Q&A  P196 Frame Processing Chart  P198
Resin Panel



Standard

SF is best suited for machine table or clean booth,
and is very effective as components with the
flexibility and recyclability. Also, the price setting
is reasonable, with overturning the existing idea
which says*Aluminum component is expensive” .
(SF corresponds to design support service and
assembly shipment.)

15



SF
()
-
o
3
o
(Y
=
o
m
=
(Y
3
(]

16

Standard Frame

Total support from CAD design, arrangement to assembly shipment

To construct the aluminum component system, SUS is conducting

“Assembly Shipment” and “Free Unit Quotation Service” which
we draw up cubic diagram and parts table to estimate the cost
based on customer's sketch drawing. Please utilize these services
to reduce total cost and to shorten the working hours.

Responds to resin and steel plate panel or assembly shipment

SUS processes various panels for covers or doors in production
line, and assembles when delivery.

Realized further price down

SUS realized the lower price than ever for SF series by reducing
distribution costs and producing in our own factory. Thus, the
price is more reasonable and you can decide to introduce
equipment more easily.

New service started to enable local buying in overseas

In view of high reputation in Japan, SUS is spreading to overseas.
It's making a good progress to expand into Asian countries which
developed countries' are impressively advancing in. We are
organizing the system to enable purchasing component directly at
your locations, establishing the bases across Asia.

From Aluminum Frame & Resin Panel to Assemble Shipment

Flexible Response and Quick Delivery

Degree of freedom to design is increased because frame is cut by
0.1mm unit from 50mm to 4000mm (some of them can be cut to
6000mm as special order). Also, parts standardization and
self-manufacture enabled quick delivery.

Excellent Recyclability

Aluminum frames in SF series are combined by bolt and nut, so
it's easy to disassemble and they can be reused. Also, in case you
dispose, they can be recycled as resources.

SUS takes back the aluminum products in SF catalog as part of
the recycling activities. We will reduce the amount of money for
the next purchase, according to the weight of the received
aluminum products.

High-Stiffness and Beautiful Frame

At joint part, binding strength is highly ensured by using exclusive
nuts. Aluminum surface is finished by alumite treatment (more than
9 um thickness) and it will maintain the glaze for a long time.




SF
»
=
8
3
=
)
=S
o
m
=
o
3
©

Applications

Auto Loader

Coating Machine

17



18



o

STANDARD FRAME

SF20

SERIES

19



6

SF20 series 1 =

SF
@
Q
=1
Q.
o
=
o
o
=
Y
=)
(]

SF-20-20

SF-20-20 ( 2=4000)

SF-20-20 £=50~4000

Item No.

SFF-202-T

SFF-204-T

20

20
7\,9) 12

6
N
o+ 7

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical 1x=0.74 X 10*mm*

moment of inertia

Section Modulus

ly=0.74 X 10‘mm*
Zx=0.74X10°mm?
Zy=0.74x10°mm?

Unit Mass 0.49kg/m
SF-20-40
20
12
N 6
Y
SRR .
-
o f% — ,
7 2-94.2
4D inrE
_ ‘ R 9_
) | _4-R1_

SF-20-40 ( 2=4000)

SF-20-40 £=50~-4000

Item No.

SFF-242-T

SFF-244-T

SF Frame

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical IX=5.12X10°mm*

moment of inertia
Section Modulus

Unit Mass

ly=1.36 X 10%mm*
Zx=2.56 X 10%mm®
Zy=1.36x10%m°®
0.88kg/m

In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit
Quantity (pcs) Item No. Length (mm)

SFF-204-T ¢=800

Standard ( 2=4000) (Cut by customer)
Item No. 2=4030-Effective range of use £ =4000

SFF-202-T L]

20



D This sign shows the product is designed
for Asia region only

SF
(]
—
o
=}
Q
Y
=
Q
o
=
L
3
(]

SF-20-60 / SF-20-80
HMaterial/Technical Data
Material Aluminium Alloy 20
Alumite Treatment 20 12
Environment -~ RoHS Compliant 162 N[ 6
Green Procurement N Y <IN =
SF-20-60  SF-20-80 = S © (){% -
Geometrical  K=1597x10m =363 10t o D) 5 - iZ 4-042
Moment of nertia 1,1 g7 0m  1y=258x 10'm -v]E \ 3-642 «
Section Modulus - 7x=530x 0% Zx=003X 0fm° (_) o N
Zy=197x10°m? Zy=258 10°m? WAAR
Unit Mass 1.26ke/m  1.64ke/m X D()C 3 X <> I8
() ® ol
Nl N
SF-20-60 ( £=4000) SF-20-60 £=50~4000 2 o
ar ol
Item No. SFF-262-T SFF-264-T - [Iﬁ‘& 2
4-R1
SF-20-80 ( 2=4000) SF-20-80 2=50~4000
SF-20-60 SF-20-80
Item No. SFF-282-T SFF-284-T
SF-40-40-2S
EMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement 40
Geometrical [x=8.89 X 104mn* 4-R1 12
Moment of Inertia ly=8.89 X 10%mm* Nl 6 (\J v
Section Modulus - Zx=4.45 X 10°m° <1 X 7/1-\1_,
Zy=4.45X10°mn® Y SR .
Unit Mass 1.29ke/m s =
LR )
_]\\_, P
PaP A
T JN
SF-40-40-2S ( £=4000) SF-40-40-2S £=50~-4000 |lz é\—/é
’ 20
Item No. SFF-402W-T SFF-404W-T 4-94.2
@Long Length (up to 6000mm) is available by special order.
SF-40-60-SS / SF-40-80-SS
EMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment 40
Environment RoHS Compliant 40 4-R1 12 0
Green Procurement 4R1 6, oY o
SF4060-8S SF408088 T o _‘7(-!,\ 1
Geometrical  h=2708X 0 Ix=6382x 10 TS - of o »
Moment of Inertia  y=1263x10m* ly=1839x10m* |~ N = o804 2/% ) NES
Section Modulus - Zx=901 X10%m? Zx=1588X 10%m° ~J & N - [
Zy=631X10m° Zy=920x 0m° | Q © YA
UnitMass  180ke/m  2.70kg/m N 2 1)< D>\r
o ol o X
© 'I/ T | N
S R R
N YU IY\n
SF-40-60-5S ( 2=4000) SF-40-60-SS 2=50~4000 o 5‘\_/(5‘ S q )
d Mg N &1
Item No. SFF-462 SFF-464 20 4022 |2 %-\._‘\ é,‘ﬁ
SF-40-80-SS ( £=4000 SF-40-80-SS £=50~4000
( ) SF-40-60-SS SF-40-80-SS
Item No. SFF-4082-T SFF-4084-T
@Exclusive Nut T Nut SS @Exclusive Cap @Additional processing an surface treatment are also avai!able.

After Nut SS
@\ Lock Nut SS HE S e
\’ Free Nut S8 \/ .-

P26~ T

&3

End Face Tapping Sla.rit Cut



SF
(]
v
Q
3
Q
Y
=
Q
o
=
Y
=
(]

6

SF20seres 1 =

SF-25-25

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant 25
Green Procurement 12
Geometrical Ix=1.64X10%mm*

Moment of Inertia ly=1.64%10%m*
Section Modulus -~ Zx=1.31x10°m*
Zy=1.31 X10°mm?
Unit Mass 0.78kg/m

SF-25-25 ( 2=4000) SF-25-25 £=50~4000

Item No. SFF-252-T SFF-254-T

SF-20-20-1F

HMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant
Green Procurement

Geometrical 1x=0.83 X 10%mm*
Moment of Inertia  |y—( 75 x 104 < % 20
Section Modulus - Zx=0.78 10°m° 4 Y
Zy=0.75x10%m? tj 942
Unit Mass 0.52kg/m ol Pa
Q| ~| o, X \\p
L~
(4
SF-20-20-1F ( £=4000) SF-20-20-1F 2=50~4000 2.4
Item No. SFF-E22-T SFF-E24-T
SF-20-20-2F
EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical [x=0.81 X 10%mn* & 20
Moment of Inertia  |y=0 g1 x 104mm* {
Section Modulus - Zx=0.79 X 10%mm* \
Zy=0.79x10%m® ola ;\
. ©| X
Unit Mass 0.53ke/m = N
N
4 2
SF-20-20-2F ( 2=4000) SF-20-20-2F 2=50~4000 2.044 S
Item No. SFF-F22-T SFF-F24-T
SF Frame .
Standard ( 2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS);#Order by 0.1mm unit
Item No. £ =4030-Effective range of use £ =4000  Quantity (pcs) Item No. Length (mm)

22

SFF-252-T L[] SFF-254-T 2-800



D This sign shows the product is designed
for Asia region only

SF
(7))
[~
[
=}
Q.
[
=
o
m
=
Y
3
()

SF-20-20-3F / SF-20-20-2H
BMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
SF-20-203F SF-20-20-2H 2
Geometrical  x=081x10m* [x=074X10%m* 6 20
Moment of Inertia ly=089X104m¢ ly=089X10‘m* o X 4-R1
Section Modulus - Zx=078X10°m® Zx=074X10°m" Y Oy <
Zy=089%10°m° Zy=089X 10°m? h Nl ~
Unit Mass 056kg/m  0.54kg/m Ql x © f\_%_ 4 ) < o[
1.5 R,
D S Zan
$4.2 4/ 2
SF-20-20-3F ( 2 =4000) SF-20-20-3F £2=50~4000
Item No. SFF-FF22-T SFF-FF24-T
SF-20-20-2H ( 2 =4000) SF-20-20-2H £=50~4000
SF-20:20-3F SF-20-20-2H
Item No. SFF-FH22-T SFF-FH24-T
SF-20-20-R
EMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
- Green Procurement $3.3
Geometrical Ix=0.55 X 10*mm*
Moment of Inertia  |y—0 55 x 104mn*
Section Modulus - Zx=0.48 X 10°mm®
Zy=0.48%10°mm®
Unit Mass 0.40kg/m
SF-20-20-R ( £ =4000) SF-20-20-R £ =50~4000
Item No. SFF-R52 SFF-R54
SF-20-40-1F
EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment -~ RoHS Compliant 20
Green Procurement
Geometrical  Ix=5.40X10%mn* 12
Moment of Inertia ly=1.53 10%mm* 6 2042
Section Modulus -+ Zx=2.70 X 10°mn° o Y
Zy=1.44x10°m° I >
Unit Mass 0.93kg/m ’\l J -
S| s
|
SF-20- 40 - 1F ( 2 =4000) SF-20-40-1F £ =50~4000 © I
v/ 2
Item No. SFF-E242-T SFF-E244-T |
4-R1
@Exclusive Nut T Nut SS @Exclusive Cap @Additional processin_g an surface treatment are also ava_il_able.

After Nut S
@\ Lock Nut S8 Frame Cap
\\ Free Nut SS . 2 P43
’ P26~ \/ End Face Tapping 23



6

SF20seres 1 =

SF
(7]
P
Q
35
[<3
Y
=
o
o
=
Y
3
(1]

SF-20-40-40

BMMaterial/Technical Data

Material Aluminium Alloy 20
Alumite Treatment 12
Environment RoHS Compliant 5-R1 6
Green Procurement N Y
Geometrical Ix=6.61X10%mm*
Moment of Inertia  |y=g 61 x 10%mm* OI¥ I
Section Modulus - Zx=3.82 X 10°mm® <) 2042
Zy=3.82 X 10°mm® D
i Q
Unit Mass 1.16kg/m g 8 X K _
o
E S— —
o
SF-20-40-40 ( £=4000) SF-20-40-40 £=50~4000 7
10 20 10
Item No. SFF-G02 SFF-G04 " 40
SF-20-DE45
EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment -~ RoHS Compliant
Green Procurement 17.07
Geometrical 1x=0.82 X 10%mm*
Moment of Inertia ly=0.92 X 10%mm* v
Section Modulus - Zx=0.59 X 103mm3 SO
Zy=0.69 %X 10°mm® 5
Unit Mass 0.59kg/m Q
: 5
LS S
SF-20-DE45 ( £2=4000) SF-20-DE45 £=50~4000 4-R1 6 2-94.2
12
Item No. SFF-J52B SFF-J54B 10
20

SF-20-DE30

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment -~ RoHS Compliant
Green Procurement

Geometrical Ix=0.80% 10%mm* 15

Moment of Inertia =0 98 x 10%mm*

Section Modulus - Zx=0.60x 10°m*
Zy=0.77 X 10%m®

Unit Mass 0.61kg/m

SF-20-DE30 ( 2 =4000) SF-20-DE30 £=50~4000
Item No. SFF-J52A SFF-J54A
SF Frame
Standard ( 2=4000) (Cut by customer) In case of specifying the length (Cut by SUS) Order by 0.1mm unit
Item No. 2 =4030-Effective range of use £ =4000 Quantity (pcs) Item No. Length (mm)

24

SFF-G02 [ ] SFF-G04 ¢=800



%0

SF-20-DE60

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical 1x=0.86 X 10%mm*

SF
(]
v
Q
3
Q
Y
=
o
o
=
Y
3
(]

Morment of Inertia =0 9o x 10%4mm? 18.66
Section Modulus - Zx=0.63 % 10°mn3 Y
S ©
Zy=0.73x10%mm? & A
Unit Mass 0.61kg/m o
X
©
(@] ~—
- <
9%
SF-20-DE60 ( £=4000) SF-20-DE60 2=50~4000 4-R1 ?2 ¢4.2
Item No. SFF-J52C SFF-J54C 10
20
@Exclusive Nut T Nut SS @Exclusive Cap @®Additional processing and surface treatment are also available.

<

After Nut SS =
Lock Nut S8 Pas. Cap
Free Nut SS o

P26~

End Face Tapping j§ Drilling 25



6

SF20seres 1 =

TNutSS (M3%) / Anti-Skid Cap SS

SF
2
-
o
=
o
(Y
=
[
m
=
Q
3
(]

\‘\\\\ 2

e

T Nut SS (M3)
10

0.8 5

=

Dy e

[ M
T Nut SS(M5) T Nut SS(M4) T Nut SS(M3) aLs
(ST Nut SS (M5) ) (ST Nut SS (M4) ) (ST Nut SS (M3) ) Anti-Skid Cap SS
(for T Nut SS)
Item No. SFB-013(SFN-TX5) SFB-012(SFN-TX4) SFB-011(SFN-TX3) m M
—— Ml
Anti-Skid Cap SS |
(50pcs/pack) =
Item No. SFA-955 |
= -
— " -\l

ST Nut Stopper SS

HWUsable Frame

EMMaterial/Technical Data

/ Compatible to all SF20 series
/ (Groove Width 6mm) T Nut SS ST Nut SS Anti-Skid Cap SS
/ Materil  Equivalent Stainless POM
=Y to S10C With conductive
) Uni-Chrome | function
Weight 2g 2g 0.04g/piece

Environment RoHS Compliant Green Procurement

14

4.5

¢
[

E

L O--
M
5.5
BMUsable Frame
ST Nut Stopper SS ST Nut Stopper SS ST Nut Stopper SS / %rrggvaeu%?dttﬁ g;ﬂsﬂ:ﬁo series
(M5) (M4) M3) P /
Item No. SFN-SX5 SFN-SX4 SFN-5X3 ‘ ”/
°Hfaterial/TéchRical Data =58
M5 M4 M3
Materia - Stainless Stainless Stainless
Weight
Envionment RoHS Compliant
UJ
Easy Nut SS (M3%)
17
5 6.5
- ]
0 <t TN
3 3 O Q@
%One-Touch to —
insert later and 05
Anti-Skid as well ——
HWUsable Frame M
Easy Nut SS(M5) Easy Nut SS(M4) Easy Nut SS(M3) Compatible 1o all SF20 series
) / (Groove Width 6mm)
Item No. SFB-PN15 SFB-PN14 SFB-PN13 N /
Easy Nut SS(M5) S Easy Nut SS(M4) S Easy Nut SS(M3) :
CN Stainless Stainless EMMaterial/Technical Data
Item No. SFB-PN39 SFN-EX4 SFN-EX3 S Easy Nut SS | Easy Nut SS CN | Easy Nut SS
Material Stainless Equivalent to S10C| Equivalent to S10C
With conductive| Ni-plating Uni-Chrome plating
Weight 4g/piece
Enionment RoHS Compliant Green Procurement
Parts
How to order
Item No. Quantity (pcs)

26

SFB-013 [ 1]



SF
(2}
-
[
3
o
Q
=
[=3
m
=
Q
3
o

After Nut SS (M%) / After Nut Support SS

% Using After Nut Support together
prevents from slipping.

After Nut SS(M3) After Nut Support SS
(for After Nut)

32

7.5

— 63_

HMUsable Frame —

After Nut SS(M5) After Nut SS(M4) After Nut SS(M3)
3% 1(S After Nut SS(M5) ) {8 After Nut SS(M4) ) (S After Nut SS(M3) ) Compat‘-ble 0 aH SF20 Series
Item No. SFB-B05(SFB-SHS) SFB-B04(SFN-AX4) SFB-603(SFN-AX3) (Groove Width 6mm)

EMMaterial/Technical Data

After Nut Support SS(50pcs/pack)
After Nut SS S After Nut SS After Nut Support SS

tem No. SFA-9A1 Materd Equivalent 1o S10C  Stainless PP Resin
3%1 No conductive type with S After Nut SS Uni-Chrome With conductive function
Weight 2g 2g 0.10g/piece

Environment RoHS Compliant Green Procurement

Lock Nut SS (M%) /S Free Nut SS (M%)

*¥You can fix Nut and conduct
electricity by tightening attached
Set Screw.

Lock Nut SS(M5) Lock Nut SS(M4) Lock Nut SS(M3)
(S Lock Nut SS(M5) ) (S Lock Nut SS(M4) ) (S Lock Nut SS(M3) )
Item No. *SFB-4D5 (XsFe-sD5) *SFB-4D4 (XsFN-Lx4) *SFB-4D3(¥SFN-LX3)
S Free Nut SS(M4) S Free Nut SS(M3)
Item No. ¥SFN-FX4 ¥SFN-FX3

HMUsable Frame —

Lock Nut SS (M)
Compatible to all SF20 series

(Groove Width 6mm)
174
0.8 6.5 7 35 EMaterial/Technical Data
Lock Nut SS Lock Nut SS S Free Nut SS
@l o f\ /an Materiadl  Equivalent to S10C Stainless Stainless
AJ \W/N With M4 Set screw Uni-Chrome With gonductive
M function
%1 M3 and M4: Length 15 Weight 2g A 2g 1g
Envionment % RoHS Compliant *Green Procurement

Joint Bar SS 120

Joint Bar SS120

120

4.1
! o 1 40 T 20
emk &
4-M5
Joint Bar SS120

Item No. *SFJ-605 Item No. *SFK-B05
x // WUsable Frame — WKit contents
B / Compatible to all SF20 series @Joint Bar SS120x1

40 410,
T

o
Hs

Ot

Joint Bar SS120 Kit

(Groove Width 6mm) @Set screw (M5x5)x4

HEMaterial/Technical Data

Material Equivalent to S10C
Uni-Chrome plating
Weight about 25g

Environment % RoHS Compliant *Green Procurement

27



SF
(7))
P
Q
3
o
Y
=
o
o
=
L
3
(1]

0=

SF 2 0 SERIES

D Bracket SS

ik
S

M5

D Bracket SS

D Bracket SS-CN
{D Bracket SS-CN with Tap)

D Bracket SS
{D Bracket SS with Tap)

XSFJ-01BNEsF-0170)

Item No. XSFJ-016¢%sFe017)

D Bracket SS Kit D Bracket SS(Stainless)Kit D Bracket SS-CN Kit

(D Bracket SS with Tap Kit) (D Bracket SS with Tap (Stainless) Kit) {D Bracket SS-CN with Tap Kit)
Item No. *SFK-016(Ksm017)  XSFK-0168(srKa179) XSFK-01B6NCKSFK-017N)

HWUsable Frame

Compatible to all SF20 series
».\// (Groove Width 6mm)

D Bracket Spacer SS

D Bracket Spacer SS

Item No. SFJ-4008

D Bracket Flat SS 3

@Setting to bottom of D Bracket
enables to fix on a flat base.

HKit Contents

@D Bracket SS<{or with TapyX1

@Hexagon Socket Bolt (M5X10) X 2

@T Nut SS(MB)x2

#Bolt and Nut in CN (Stainless)
Kit are Stainless.

Compatible to all SF20 series
, // (Groove Width 6mm)
R <

D Bracket Flat SS

D Bracket SS with Tap

&)

M5 Tapping

1

(1.5)

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

HMaterial/Technical Data

Material Aluminum Die-Cast
(CN:Electroless nickel plating)
With Anti-Skid Function

Weight 118

Enionment xRoHS Compliant
*Green Procurement

HMaterial/Technical Data

Material SUS304

Weight 4g

Enioment RoHS Compliant
Green Procurement

D Bracket Flat SS-A with Tap

S $
® The D bracket flat SS-B
is a mirror image © ol
® Since there is no projection, | N
it can be flush fitted to a flat N N
surface
S, \MS5 Tapping
> L/\'
)
—=07 0.7
D Bracket Flat SS-A
{D Bracket Flat SS-A with Tap)
Item No. SFJ-035 (sFJ-036)
)
D Bracket Flat SS-A Kit D Bracket Flat SS-A Kit (Stainless) N There is no There is no
(D Bracket Flat SS-A with Tap Kit) (D Bracket Flat SS-A with Tap Kit (Stainless)) L projection projection
for this part. for this part.
Item No. SFK-035 (SFK-036) SFK-035S (SFK-036S) Please use Kit with Tap to install Side Cover. (Refer P45 for details.)
HUsable Frame
D Bracket Flat SS-B . .
y Compatible to all SF20 series
(D Bracket Flat SS-B with Tap) \\// (Groove Width 6mm)
Item No. SFU037 (SFU038) = /
&-\\,‘
D Bracket Flat SS-B Kit D Bracket Flat SS-B Kit (Stainless) HKit Contents q :
(D Bracket Flat SS-B with Tap Kit) (D Bracket Flat SS-B with Tap Kit (Stainless)) , T Dz
@D Bracket SS-A/B{or with Tapyx1 Materidd ADC12
Item No. SFK-037 (SFK-038) SFK-037S (sFK-038s) @Hexagon Socket Bolt (M5X10)x 2 Weight 22 (D Bracket Flat SS)
OT NutSS(M5)x2 21g (D Bracket Flat SS with Tap)
#*Bolt and Nut in (Stainless) Enioment RoHS Compliant
Kit are Stainless.
Parts @Cap for Bracket
How to order P43

Quantity (pcs)

]

Item No.

SFJ-016

28




Bracket

for

awel piepuels -"'1

D Bracket Cross SS

@
U ® Frames can be mounted

orthogonally

Name(Single Item) D Bracket Cross SS

Item No. SFJ-043

Name(Bolt and Nut Kit) D Bracket Cross SS Kit D Bracket Cross SS Kit (Stainless)

Item No. SFK-043 SFK-043S
MUsable Frame Kt Contents
3 . @D Bracket Cross SSX 1 EMaterial/Technical Data
/// %{gg\%‘s\‘ﬁdﬁ %\:nS”:)EO series @Hexagon Socket Bolt (M5X10) x 2 Material ADC12
5 OT Nut SS(M5)x2 Weight 13g (D Bracket Cross SS)
#*Bolt and Nut in (Stainless) Eniioment RoHS Compliant

\‘ﬁ'

Kit are Stainless.

D BraCket 2040 i D Bracket 2040 D Bracket 2040 with Tap

2-M5 Depth 7
(Both sides)

" D Bracket 2040
Name(single Item) (D Bracket 2040 with Tap » _ .. 07 =07
)y ~

Item No. SFJ-020(SFJ-020T) 3

! L

f D Bracket 2040 Kit D Bracket 2040 (Stainless) Kit 15 ) 1.5 /

NamE(Bon and Nut Klt) {D Bracket 2040 with Tap Kit) {D Bracket 2040 with Tap (Stainless) Kit) //</ ~ ///</

7 N 3 N

Item No. SFK-020(SFK-020T) SFK-020S(SFK-020P) o N w Tyl 7N
7 < 7 <

s J-Li 3 4

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

BMaterial/Technical Data

MUsable Frame ——— Wit Contents——— Materid Aluminum Die-Cast
@D Bracket 2040<or with TapyX 1 With Anti-Skid Function
@Hexagon Socket Bolt (M5X10) X 4 Weight 34g
@T Nut SS(M5)X4 Enioment RoHS Compliant

Green Procurement

29



SF
(2]
-+
Q
=
o
Y
=
o
o
=
o
3
(1]

SF 2 0 SERIES

Hard Bracket SS

6
[

]

Hard Bracket SS
(Hard Bracket SS with Tap)

Item No.

XSFJNO1 RsFono1T)

Hard Bracket SS Kit
(Hard Bracket SS with Tap Kit)

Hard Bracket SS(Stainless)Kit
(Hard Bracket S with Tap (Stainless) Kit)

Item No.

XSFK-NOT (§srienoIT)

XSFK-NO1S(XsFk-NOTP)

Hard Bracket SSG

/// MUsable Frame —
< / Compatible to all SF20 series
~ (Groove Width 8mm)

Hard Bracket SSG
(Hard Bracket SSG with Tap)

Item No.

¥SFJN23(FSFoN2aT)

Hard Bracket SSG Kit
(Hard Bracket SSG with TapKit)

Hard Bracket SSG(Stainless)Kit

{Hard Bracket SSG with Tap(Stainless)Kit)

Item No.

XSFK-N23(§srin2a)

¥SFK-N23S (¥sFk-N2ap)

(Groove Width 6mm)

/// MUsable Frame —
% Compatible to all SF20 series
g~

Hard Bracket SSW2020

Hard Bracket SSW2020
(Hard Bracket SSW2020 with Tap)

Item No.

SFJ-N14(sFU-N14T)

Hard Bracket SSW2020 Kit
(Hard Bracket SSW2020 with Tap Kit)

Hard Bracket SSW2020(Stainless)Kit
(Hard Bracket SSW2020 with Tap(Stainless)Kit)

Item No.

SFK-NT4(SFK-N14T)

SFK-N14S(SFK-N14P)

30

Parts

How to order

Item No. Quantity (pcs)
SFJ-No1 [ ]

(Groove Width 6mm)

|

// HWUsable Frame —
% Compatible to all SF20 series

—

N

12

$4.2
<M5 Tapping>

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

HKit Contents
@Hard Bracket SS<or with Tap)x1
@Hexagon Socket Bolt (M5X10) X 2
@T Nut SS(M5)x2
#Bolt and Nut in (Stainless)

Kit are stainless.

HKit Contents
@Hard Bracket SSG{or with TapyX1
@Hexagon Socket Bolt(M5x14) X 2
@T Nut SS(M5)x2
¥Bolt and Nut in (Stainless)

Kit are stainless.

EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.
Weight 158
Environment kRoHS Compliant
%Green Procurement

®4.2
<M5 Tapping>

Please use Kit with Tap to install
Side Cover. (Refer P45 for details.)

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perendicular surface is machining finished.

Weight 31g

Envionment % RoHS Compliant
*Green Procurement

/s
>

77

20
57

\12
30

942
<M5 Tapping>

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

HKit Contents
@Hard Bracket SSW2020(or with Tap)X 1
@Hexagon Socket Bolt (M5x10) X 4
@OT Nut SS(M5)x4
#%Bolt and Nut in (Stainless)

Kit are stainless.

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
(Special orderBlack Alumite is also available.)
Perpendicular surface is machining finished.
Weight 228
Eniomment RoHS Compliant
Green Procurement

@Cap for Bracket
P43




SF
(2]
~
Q
=3
Q
Y
=
o
m
=
Y
3
(]

Hard Bracket with Stopper SS

22

12\
7.3

$4.2
<M5 Tapping> gq

Hard Bracket with Stopper SS
(Hard Bracket with Stopper SS with Tap)

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

Item No. SFJ-N58 (SFJ-N58T)
Hard Bracket with Stopper SS Kit | Hard Bracket with Stopper SS Kit (Stainless) . :
(Hard Bracket with Stopper SS with Tap Kit) | (Hard Bracket with Stopper SS with Tap Kit (Stainless)) HEMaterial/Technical Data
Material ABNO1SS-Tb
Item No. SFK-N58(SFK-N58T) SFK-N58S(SFK-N58P) HKit Contents Alumite Treatment

%7
Y%

@

// MUsable Frame —
B / Compatible to all SF20 series
, (Groove Width 6mm)

Hard Bracket with Stopper SSG

Hard Bracket with Stopper SSG
(Hard Bracket with Stopper SSG with Tap)

Item No. SFJ-N59 (SFJ-N59T)
Hard Bracket with Stopper SSG Kit | Hard Bracket with Stopper SSG Kit (Stainless)
(Hard Bracket with Stopper SSG with Tap Kit) | (Hard Bracket with Stopper SSG with Tap Kit (Stainless))
Item No. SFK-N59 (SFK-N59T) SFK-N59S (SFK-N59P)

(Groove Width 6mm)

// MUsable Frame —
/ Compatible to all SF20 seres

Perpendicular surface is machining finished.
With Rotation-Prevention Function
Weight 16g
Environment % RoHS Compliant

@Hard Bracket with Stopper SS (or with Tap)X 1
@Hexagon Socket Bolt (M5x10) X 2
@T Nut SS(M5)x2
3 Bolt and Nut in (Stainless)

Kit are stainless.

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

BMaterial/Technical Data

Material ABNO1SS-T5

HKit Contents Alumite Treatment

@Hard Bracket with Stopper SSG (or with Tap)X1
@Hexagon Socket Bolt (M5x14) x 2
@T Nut SS(M5)x2
3 Bolt and Nut in (Stainless)

Kit are stainless.

Weight 32g
Enionment % RoOHS Compliant

Perpendicular surface is machining finished.
With Rotation-Prevention Function

31



SF 2 0 SERIES

Hard Bracket SS2040

SF
()
=
Y
=
o
Y
=
o
m
=
Q
3
()

6
[

]

Hard Bracket

§82040

(Hard Bracket S52040 with Tap)

Item No. XsFJNo2¢%s

FJ-NO2T)

Hard Bracket 52040 Kit
(Hard Bracket 552040 Kit with Tap)

Hard Bracket S52040(Stainless)Kit

Hard Bracket SS2040 with Tap (Stainless) Kit)

Item No.

XSFK-NO2(KsFK-No2T)

¥SFK-N02S (¥sFk-NozP)

HWUsable Frame

SF-20-40/SF-40:40-25/5F-40-60-55

\"/ SF204040(1F)

Hard Bracket SSG2040
(Hard Bracket S562040 with Tap)

Item No. KSFU-N24 (RSFuN24T)
Hard Bracket SSG2040 Kit Hard Bracket 5562040(Stainless)Kit
{Hard Bracket 5562040 Kit with Tap) Hard Bracket S362040 with Tap (Stainless) Kit)
Item No. XSFK-N24 (§sFi-N2aT) XSFK-N24S (Fsricneap)

HWUsable Frame

Hard Bracket SSW2040

SF-20-40/SF-40-4025/5F-4060:55/

s
S 520404009

Hard Bracket
(Hard Bracket SSW.

SSW2040
2040 with Tap)

Item No. SFJ-N15(SFJ-N15T)
Hard Bracket SSW2040 Kit Hard Bracket SSW2040(Stainless)Kit
(Hard Bracket SSW2040 Kit with Tap) (Hard Bracket SSW2040 with Tap (Stainless) Kit)
Item No. SFK-N15(SFK-N15T) SFK-N15S(SFK-N15P)

HWUsable Frame

Parts
How to order
Item No. Quantity (pcs)

SFJ-N02 [ ]

32

SF-20-40/SF-40-4025/5F-4060:35/
SF-204040(1F)

N

4-5.5 Dirillin

12 N
25
35

4.
<2-M

N

\

o

Depth 15 (Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

HKit Contents
@Hard Bracket $52040¢or with Tap)X1
@Hexagon Socket Bolt (M5X10)x4
@T Nut SS(MB)x4
*Bolt and Nut in (Stainless)

Kit are stainless.

HKit Contents
@Hard Bracket 5562040 (or with

ap)X1
@Hexagon Socket Bolt (M5x14)x4
@T Nut SS(MB)x4
#Bolt and Nut in (Stainless)

Kit are stainless.

8-5.5 Drilling

EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished
Weight 368
Environment %k RoHS Compliant
*Green Procurement

51

1
4t

¢4.2
<2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install
Side Cover. (Refer P45 for details.)

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished

Weight 75g

Envionment % RoHS Compliant
*Green Procurement

o
N

57

[
®
|

N 942

<2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

HKit Contents
@Hard Bracket SSW2040<or with Tap)X1

@Hexagon Socket Bolt (M5x10)x8

@T Nut SS(M5)x8
#%Bolt and Nut in (Stainless)
Kit are stainless.

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
(Special orderBlack Alumite is also available.)
Perpendicular surface s machining finished
Weight 568
Enironment RoHS Compliant
Green Procurement

@Cap for Bracket
P43




20

Hard Bracket SS2060

6-5.5 Drilling

Hard Bracket SS2060
(Hard Bracket S52060 with Tap)

Item No. SFJ-NO9(SFJ-NOIT)
Hard Bracket SS2060 Kit Hard Bracket SS2060(Stainless)Kit
{Hard Bracket SS2060 Kit with Tap) (Hard Bracket SS2060 with Tap (Stainless) Kit)
Item No. SFK-NO9(SFK-N0IT) SFK-NO9S(SFK-NOSP) BKit Contents

@Hard Bracket SS2060(or with Tap)X1
@Hexagon Socket Bolt (M5x10) X6

HWUsable Frame —

No SF-20-60 @T Nut SS(M5)x6
* / SF-40-60 *Bolt and Nut in (Stainless)
s Kit are stainless.

Hard Bracket SSG2060

Hard Bracket SSG2060
(Hard Bracket SSG2060 with Tap)
Item No. SFJ-N25(SFJ-N25T)
Hard Bracket SSG2060 Kit Hard Bracket SSG2060(Stainless)Kit
(Hard Bracket SSG2060 Kit with Tap) (Hard Bracket SSG2060 with Tap (Stainless) Kit)
Item No. SFK-N25(SFK-N25T) SFK-N25S (SFK-N25P) BKit Contents
@Hard Bracket S8G2060<or with Tap)X1

le Frame —
BUsable Frame @Hexagon Socket Bolt (M5X14) X6

B SF-20-60 T Nut SS(M5)X6
.'./ SF-40-60 Bolt and Nut in (Stainless)
- Kit are stainless.

Hard Bracket SSW2060

Hard Bracket SSW2060
(Hard Bracket SSW2060 with Tap)

Item No. SFJ-N16(SFJN16T)
Hard Bracket SSW2060 Kit Hard Bracket SSW2060(Stainless)Kit
(Hard Bracket SSW2060 Kit with Tap) (Hard Bracket SSW2060 with Tap (Stainless) Kit)
Item No. SFK-N1B(SFK-N16T) SFK-N16S(SFK-N16P) HKit Contents
@Hard Bracket SSW2060<or with Tap)X1

HMUsable Frame —
SF-20-60
SF-40-60

@Hexagon Socket Bolt (M5x10)x12
@T Nut SS(MB)x12
#%Bolt and Nut in (Stainless)

Kit are stainless.

SF
()
-
o
3
o
Q
=
o
m
=
Q
3
(]

$4.2
<2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
(Special OrderBlack Alumite is also available.)
Perpendicular surface is machining finished.
Weight 60g
Enionment ROHS Compliant
Green Procurement

$4.2
<2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
(Special OrderBlack Alumite is also available.)
Perpendicular surface is machining finished.
Weight 1198
Environment RoHS Compliant
Green Procurement

Please use Kit with Tap to install Side Cover. (Refer P45 for details.)

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
(Special OrderBlack Alumite Treatment)
Perpendicular surface is machining finished.
Weight 89g
Environment RoHS Compliant
Green Procurement

33



SF
0
-
Y
3
o
Y
=
[=3
o
=
o
3
(]

SF20 series

Angle Bracket SS / Angle Bracket Hard SS

6

Angle Bracket SS Angle Bracket Hard SS
Item No. ¥SFJ-AD1 XSFJ-A14
Angle Bracket SS Kit Angle Bracket Hard SS Kit
(Angle Bracket SS(Stainless) Kit) (Angle Bracket Hard SS(Stainless) Kit)
Item No. XSFK-AD1 (XSFK-AD1S) XSFK-A14CSFK-AT4S)

HWUsable Frame
Compatible to all SF20 series

Ny -
-;/ (Groove Width Bmm)

</

Angle Bracket SS2040

Angle Bracket SS2040
Item No. ¥SFJ-AQ2
Angle Bracket SS2040 Kit
{Angle Bracket S52040(Stainless) Kit)
Item No. XSFK-A02 (¥sFk-ACRS)

HWUsable Frame

SF-20-40/1F

N
"e 5F20-4040

Angle Bracket SS2060

Angle Bracket SS2060

Item No. SFJ-A09
Angle Bracket SS2060 Kit
(Angle Bracket SS2060(Stainless) Kit)
Item No. SFK-AQQ(SFK-AD9S)
HWUsable Frame —
o SF-20:60
e
Parts
How to order
Item No. Quantity (pcs)

34

SFJ-A01 [ ][]

M5

<

Angle Bracket SS

Angle Bracket Hard SS

5.5 Drilling, 14
9.5 Deep Spot Facing,
Depth 17

5.5 Drilling

HMaterial/Technical Data

HKit Contents

@Angle Bracket SS(or Hard)X1

@Hexagon Socket Bolt (M5x8)x2

@T Nut SS(M5)x2

*#Bolt and Nut in (Stainless)
Kit are stainless.

Material

Weight

SFK-A24

HKit Contents
@Angle Bracket SS2040X1
@Hexagon Socket Bolt (M5x8)x4
@OT Nut SS(M5)x4
#%Bolt and Nut in (Stainless)

Kit are stainless.

HKit Contents

@Angle Bracket S52060%1
@Hexagon Socket Bolt (M5x8)x6
@T Nut SS(MB)x6
#%Bolt and Nut in (Stainless)

Kit are stainless.

Angle Bracket SS Angle Bracket hard SS
Aluminium Alloy  AB063

Alumite Treatment Alumite Treatment
4g 9%

Enionment % RoHS Compliant

*Green Procurement

SFK-A248
™~

o
N

é[/

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 108

Enionment % RoHS Compliant
*Green Procurement

20

10

EMMaterial/Technical Data

Material  Aluminium Alloy
Alumite Treatment

Weight 15g

Eniomment RoHS Compliant
Green Procurement



£

Offset Angle SS2040

SF
0
-
Q
=]
o
Y
=
Q
i
=
Q
3
(]

RS

50

Offset Angle SS2040 BUsable Frame - ‘
Compat\b\g to all SF20 series

Item No. SFA-4P3 (Groove Width Bmm)

BWKit Contents EMMaterial/Technical Data
Offset Angle SS2040 Kit | Offset Angle $S2040 Kit (Stainless) @0ffset Angle SS2040X | Material ABOB3

@Hexagon Socket Bolt (M5x8)x4 Alumite Treatment

Item No. SFK-A24 SFK-A24S @®Easy Nut SS(M5)x4 Weight 14.2g (Offset Angle 552040)
%Bolt and Nut in (Stainless) Enioment RoHS Compliant

Kit are stainless.

QC Joint SS

QC Joint SS(Common Parts) SS Round metal tool
I : Spot Facing for M3 - i ._ J
i 4 & - T b Outer
A E&ly diameter ¢ 7
. = =4
- - M3 Ta
& P Inside

diameter ¢ 4.

8820 Kit | SS40 Kit

QC Joint S520 Kit QC Joint S840 Kit 2 8 28
tem No. SFK-G20A SFK-G21A B Material/Technical Data
QC Joint SS Round metal tool
Fa Kit Name QC Joint Round metal tool Bolt . -
o Material  Aluminum Die-Cast Aluminium Alloy
1% ’ - ’
% QC Joint SS20 Kit QC Joint SS 55 Round metal tool 20x1| Hexagon Sacket Bolt (M3X15)StainlessX 1 Weight 4g(SS20 Kit) Bg(SS40 Kit)
# QC Joint S840 Kit X1set S5 Round metal tool 40x1 | Hexagon Socket Bolt (M3x35)Stainlessx1 Enioment ROHS Compliant Green Procurement
QC Joint SS

(Characteristics)
It's easy to set vertically and hardly make gap, because 2 frames are pulled at each other to combine. Also, you don’t have to let nuts into frame in
advance, and strong fixing is possible by one bolt, so the assembly man-hour is reduced.

(How to assemble)

Hole-drilled frame ®

QC Joint

TH
(DTighten
@QC Joint pulls up | ||
another frame.
®The strong joint
is realized. |
LT

el S ]

(Example of kit selection)
@QC Joint SS20 Kit @QC Joint SS40 Kit

(For drilled hole to the direction of ~ mm) (For drilled hole to the direction of 40mm)

(Drilling )
SF-20 in common 9.8
ef
1LY

$7.1 Tapping

35



SF
(7))
-
(Y
=}
o
Y
=
o
m
=
1Y
3
(]

6

SF20seres 1 -

Blind Bracket SS

5
|
]
Im +
@ |
o "-‘:*: 5
-
Blind Bracket SS EMaterial/Technical Data
It N SFK.B620A BUsable Frame ————————  Material Aluminum Die-Cast
em No. - i (2 Set Screws M4x5 Stainless Included.)
N Compatible to '
./ all SF20 series Weight 68
'"« (Groove Width 8Bmm)  gyiomet RoHS Compliant
Green Procurement
Block Bracket SS Kit / Corner Block SS Kit
I Block Bracket SS Block Cap SS

sl =,

Corner Block SS

2-¢10 Deep Spot Facing,
Depth 0.7 2-953

Corner Cap SS

’s
ro)
T y
°
% Hold the Pin edge to insert Cap.
Block Bracket SS Kit
(Black) (Light Gray)
Item No. SFK-Q11 SFK-Q116 HMaterial/Technical Data
Block Bracket SS Corner Block SS
Corner Block SS Kit Material Zinc Di(_a-Cast(BIock Bracket SS) Stainle§s(Corner Block SS)
(Black) (Light Gray) Polyamide (Block Cap SS) Polyamide (Corner Cap SS)
Hexagon Socket Button Bolt (M5X15)3pcs  Hexagon Sacket Button Bolt (M5X15)2 pes
Item No. SFK-Q61 SFK-Q61G (Block Bracket) (Corner Block)
Weight 27g(Block Bracket SS) 23g(Corner Block SS)
HMUsable Frame 3g(Block Cap SS) 2g(Corner Cap SS)
. (Block Bracket SS Kit) SF-20-20(1F/2F) Erem (=L Gl
.';/ (Corner Block SS Kit) SF-20-20(1F/2F/3F/2H) 35M5 Tap Processing is needed 1o the section of SF20+20 (or 1F/2F). (Refer P199~ for details.)
- s Comer block SS Kit is installable by Tapping Bolt as well.
R Bracket SS R Cap SS

R Bracket SS Kit

S

HMUsable Frame

E‘ SF-20-20-R
HMaterial/Technical Data
. R Bracket SS R Cap SS
(Black) R Bracket SS Kit (Light Gray) Meterll Stainless(SCS13) Polyamide
Hexagon Socket Bolt (M4x12)3 pes Color/Black-Light gray
Item No. SFK-RO1 SFK-RO1G Weight 18g 2g
Enioment RoHS Compliant
3%M4 Tap Processing is needed to the section of SF-20-20+R to mount. (Refer P199~ for details.)
Parts
How to order
Item No. Quantity (pcs)
36 SFK-600S [ ]




£

Tapping Bolt SS

SF
(]
~
Q
=}
Q
Y
=
Q
m
=
Y
3
(]

% How to fix Tapping Bolt
Refer below in this page.

Tapping Bolt SS

Item No. SFB-T20

HMaterial/Technical Data

HWUsable Frame
Materil SWCH 18A

SF-20-20(1F/2F/3F/2H)

Ny SF-20-40(1F) Uni-Chrome Plating
e sro060/2080 Weight 2g
SF-40-40-2S(1F/2F) Enronment RoHS Compliant

Green Procurement

Torque Bit T25 / Torque Driver T25

75
25
-
— =8
T25
Weight 13g Weight 78g
Torque Bit T25 Torque Driver T25
Item No. SFA-JT25 Item No. SFA-T25H
How to fix Tapping Bolt
® @ ®
6 Drilling
I
|
% ,;ﬂ:s —
1l

I

Fix the frame with jig etc, and screw the Put the bolt head through T slot of another Tighten by Manual tool to fix.

Tapping Bolt halfway into the end face. frame. #Manual tool is recommended, because the reaction

(Temporary joint) of torque up is big by using electric drill.

% In case it is too tight, please use cutting oil.

@Drillid by SUS
Processing Symbol P206~

37



SFZ 0 SERIES E =

Plate Bracket

SF
(2}
[~
[
>
o
Q
=
o
T
=
Q
3
(]

S Plate Bracket SSG S Plate Bracket SS-L Type
50
10 30 10 3 '1_89' °
Al F 2
: & | 1t sosg [ ¥
EE N g
E A . . 5
- W\ ' t=3 o e & t=2
4-9¢55 ‘5‘ 28 47 &D
85 ¢

S Plate Bracket SSG S Plate Bracket SSG Kit S Plate Bracket SS-L type S Plate Bracket SS-L type Kit

Item No. SFJ-1218 SFK-1218 SFJ-1098 SFK-109S
@S Plate Bracket SSGX1 @S Plate Bracket SS-L typex1
c @Hexagon Socket Bolt (M5x8)Stainlessx4  @Hexagon Socket Bolt (M5><6)Stamless><4
ontents  @ST Nut SS (M5)x4 @ST Nut SS (M5)x4

S Plate Bracket SS-T Type

100

Eal 18 Al
’gf i
4 jé
ch *
4-$55
| 4055
LERE ves
10 L 80 ] 10
t=2
2@ S Plate Bracket SS-T type S Plate Bracket SS-T type Kit
§
! l Item No. SFJ-1108 SFK-1108
S :ﬁ P‘atessrictkgtlﬁ%T&;st\] 4
eXagon Socket Bol X ainlessx:
Contents @S Nut 35(M5) x4
“’v// 1
WW//’ S Plate Bracket SS-H2 S Plate Bracket SS-H4
MUsable Frame . % } 8
Compatible to all SF20 series Qs _le_ 2 8 s 10 20 20 __ 20 10

(Groove Width 6mm)

{!}4
.
&
%;

[ ]
R vy

16
eli
|

HKit Contents
Refer table for right 2055 4-955
. ' t=2 t=2
EMaterial/Technical Data
Name Vieight(s)| Material | Environment ] -
S Plate Bracket SSG | 46 SPlate Bracket SS-H2  SPlate Bracket SS-H2 Kit SPlate Bracket SS-H4  SPlate Bracket SS-H4 Kit
SPlete Bracket SS4| 54 Item No. SFJ-1245 SFK-1245 SFJ-128S SFK-1288
S Plate Bracket S3T| 56 RoHS
SPlate Bracket SSH2 | 8.3 — Compliant «t @S Piate Bracket SSHex] @S Plate Bracket SS-H4X1
S Pate Bracket SSHA | 187 Green G :geTx?\lggg gcédéi/tlg)o)\ze(MSXG)Stam\essXQ :g??\‘ggg gtsxclii;g?géMSXBJSIam\essXﬁl
S Comer Supoort Bracket 83| 65 Procurement
 Comer Support Pe $5) 104 S Corner Support Bracket SS S Corner Support Plate SS
168 100
18 3-c2 28 63
4
@ N 4{44»5.5 ‘5%9
AN
3 N
T8
PO
2-¢55 19
t=2 t=2

S Corner Support Bracket SS S Corner Support Bracket SSKit S Corner Support Plate SS S Corner Support Plate SS Kit

Item No. SFJ-1355 SFK-135S SFJ-136S SFK-136S
@S Corner Support Bracket SSX1 @ S Corner Support Plate SSX1
Corments @Hexagon Socket Bolt (M5xX6)Stainlessx2 @ Hexagon Socket Bolt (M5x6)Stainlessx4
@ST Nut SS (M5)x2 @STNut SS (M5)x4
Parts
How to order
Item No. Quantity (pcs)

38 SFJ-121S [ ]



£

Hard Bracket SS-DE

Hard Bracket SS-DE135

Hard Bracket SS-DE135 Hard Bracket SS-DE45
(Hard Bracket SS-DE135 with Tap) (Hard Bracket SS'DE45 with Tap)
Item No. SFJ-N31(sFJIN3IT) SFJ-N32(sFJ-N32T) BKit Contents
- - - - - - Hard Bracket SS-DE135Kit,
SSDEI35Kt | SSDE135(Staless)Kit SSDEGSKL | SSDEB(SIEMEssK @ o oo
(SS:DE135 Kit with Tap) | (SSDE135 with Tap(Stainless)Kit) (SSDEAS Kitwith Tap)  |(S5:DE45 vith Tap(Stainless)Kit) — @Hexagon Sacket Bolt (M5X14) x 2
@7 Nut SS (M5)x2
Item No. SFK-N31(SFK-N31T) | SFK-N31S(SFK-N31P) SFK-N32(sFkN32T) | SFK-N32S(SFKN32P)  (Hard Bracket SS-DE45Kit)
@Hard Bracket SS-DE45 (or with Tap)X1

Hard Bracket SS2040-DE

@Hexagon Socket Bolt (M5x14)x2

@T Nut SS (MB)x2

%Bolt and Nut in (Stainless)
Kit are stainless.

HWUsable Frame

Compatible to all SF20 series
(Groove Width 6mm)

Hard Bracket S52040-DE135

Hard Bracket SS2040-DE135

Hard Bracket SS2040-DE45

Item No.

SFJ-N38

SFJ-N37 MKt Contents

(Hard Bracket $52040-DE135Kit)

552040-DE135Kit

@Hard Bracket SS2040DE135 X1

SS2OADDEASIStaness)t @Hexagon Socket Bolt (M5X14)X4

§52040DE135(Stainless)kit ~ S52040-DEABKit

Item No. SFK-N38

@7 Nut SS (MB)x2

(Hard Bracket S52040-DE45Kit)
@Hard Bracket S52040DE45 X1

SFK-N38S SFK-N37 SFK-N378

Truss Joint SS

@Hexagon Socket Bolt (M5X14)x4
@T Nut SS (MB)x2
%#Bolt and Nut in (Stainless)

Kit are stainless.

HWUsable Frame

SF20 Series 45°slant cut frame
(Refer from P208)

Truss Joint SS
L
[Nz ‘ H ‘
1N

5.5 Drilling 9.5 Deep Spot
Facing, Depth 14.5

Hard Bracket SS-DE45

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 48g(DE135)
41g(DE45)

Envirooment RoHS Compliant
Green Procurement

Hard Bracket S52040-DE45

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 127g(DE135)
107g(DE45)

Enioment ROHS Compliant
Green Procurement

Truss Cap SS

Truss Joint SS

Truss Cap SS
(Light Gray)

s Groove size is as same as SF20-20.

(Black)

Item No. SFJ-J01

SFA-JO1 SFA-JO1G

Best suited to reinforce in 45°

HWUsable Frame
V (Frame to reinforce) SF-20-20
‘> (Frame to combine) SF-20-30-40-45 series are installable

Example of mounting Truss Joint
or truss stiffening.

EMMaterial/Technical Data
Truss Joint SS  Truss Cap SS
Material Aluminium Alloy Polyamide
Alumite Treatment
Weight 15g 2g
Enironment RoHS Compliant
Green Procurement

*Guide of bolt size

Hexagon Socket Bolt  (3%)

\ Connecting Frame T Nut (M5)

QC-Processed Frame Frame to mount to Bolt size
(Processing instructions P216~) SF20 Series M5x8

1 ] — SF30 Series M5X10
| SF40 - 45 Series M5Xx14

Hexagon Socket Bolt () \Conneciing Frame T Nut (M5)

(Refer table for bolt size.)

(Refer table for bolt size.)

SF
[
3
o
3
Q
Y
=
Q
o
=
Q
3
o®

39



SF
2
—
o
=}
Q
Y
=
Q
T
=
Y
3
o

40

6

SF20seres ©

Turn Bracket 20

M5

55
20 Drilling 5

25

ﬁ
| ?@ I

M4y

20
[ N
—
Lol
12.25

N
275

27

(Attachment) Cross-Recessed Flat Head Screw M4 x 6 Stainless 1 pcs/set

HWUsable Frame

Turn Bracket 20

(End Surface Installation)
SF-20-20 Exclusive

HMaterial/Technical Data
Material Aluminium Alloy

Item No. SFK-44A

(Side Surface Installation)

* Installable if connecting Alumite Treatment

Weight 26g/set
Eniomment RoHS Compliant
Green Procurement

T Nut is (M5).

%2 pcs/set

Example of mounting Turn Bracket

(In case of installing to sections of the Frames.)

o

End Face Tapping

Turn Bracket 20

Hexagon Socket Bolt M5X15 2 pcs,

(In case of installing to side and end of the Frames.)

Turn Bracket 20

7]

1
Al AT/

T Nut SS(M5) 1 pcs

Hexagon Socket Bolt M5X10 1 pcs

End Face Tapping

Hexagon Socket Bolt M5X15 1 pcs

End Face Tapping

Parts

How to order

Item No. Quantity (set)
SFK-44A [ 1]




B ED

Adjuster Kit

14

SF
()
=
o
=
o
Q
=
o
T
=
Q
3
[

- el
o — ~ A
.- i,
L e = = f::' =
= h - = =
B
.
m T i
HPlate BAdjuster
Adjuster Caster Plate SS Adjuster Caster Plate 40 Adjuster M12 Adjuster M16 Adjuster BM16(Stainless)
Adjuster Caster Plate SS(Stainless) Adjuster M12(Stainless)
|
100 ! M16x2 |
135 %
8. 30 87 10 6 g — i ~MIZX1.75 ‘ miexz ||
© |
- T 2l S . ol | | o
“’v & M16 ¢ < |8 el I M 2 o
! 5-5.5 Drilling Qo A bl N H = ¥ 0 ~
gHe & all | &7 |~ + ‘
IR Nami2 b 8-5.5 Drilling | o ‘ |
i e o . ‘
(=} f b
43
102 P i il ® ] Q
8]l20] | 36|11 55 ‘
$60 $75
Material | Treatment | Weight Material | Treatment i
Adiuster Caster Plate S $5400 | Uni-chrome 045 [Material | Treatment [Weignt | Adjuster M12 $5400 | Uni-chrome | 500kg | 169 [MeterialT f [Weigh] Bottom [ Material | Treatment | Wei
st Gt Pt §5(5einess US04 | —— | € | Acuster Caster Plte 40 [ 5400 [ Uni-chrome [0.82kg || Adjuster US304 [Estoy 300kg | 1658 | Adjuster M16[SS400] zn Black | 500kg | 386 foer | Adjuster | SUs304] | 560kg | 375¢
Adjuster Plate SS Adjuster Caster Plate 40(Stainless) | EMICaster
Adjuster Plate SS(Stainless) Caster A Caster B Caster B(Stainless)
. >
100 Caster A with Brake 522
8 54 208 9 | Caster A(Stainless) i
T T | Caster A with Brake(Stainless) 8 8 4065 N
75 5.55 Diilling| | 2 L4 4 o2 M12x175 25 il 1
8.30 274 6 3 Mie & 1
iR g P 38 Lss |
ol < Qe 70
Q ml*&‘} Vap =" ;—4’M8¢ ) o L |
N Ywi2 8-5.5 Drillin, 10 8% 1 ——
n 4
of ¢ ¥ & @ >( S
] © © b 950 o
a3 oHe ¢ & & " gl © I - =
26
Material |Load capacity| Weight
Material | Treatment |Weight Caster A Rubber | 30kg | 189g
Adjuster Plate SS $8400 | Uni-chrome 024k [ Material | Treatment | Weight | Caster A with Brake | Rubber | 30kg | 223g [ Material _[Load capacitfWeight Material _Load i
Adjuster Plate 5304 —— |~ "® | ks Casier Pe 40(Siaiiess [ SUS304| —— |083kg | Caster A(Stainless) | Nylon |40.8kg| 147g | Caster B | Phenol Resin | 150kg [340g | Caster | Phenol Resin | 71.4kg |285g
Item No. Name Compatible Frames Kit Contents
> | gFK.510a | Level Adiuster Kit |Compatible to all SF20 series| @Adjuster Plate SSx1 @Adjuster M12x1
a : (Groove Width 6mm) @T Nut SS(M5)x4 @Hexagon Socket Bolt(M5x10)x4
[
% SFK-510S Level Adjuster Kit  [Compatible to all SF20 series| @Adjuster Plate SS(Stainless)x1 @Adjuster M12(Stainless)x1
= SS(Stainless) (Groove Width 6mm) @ST Nut SS(MB)x4 @Hexagon Socket Bolt(M5X10) Stainlessx4
+ SFK-C22 Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40X 1 @T Nut SS(M5)x8
] a 40 SF-40-60 SF-40-80-SS @Adjuster M16X1 @Hexagon Socket Bolt(M5x14)x8
% SFK-C22U Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40(Stainless)x1 @ST NutSS(M5)%8
40(Stainless) SF-40-60 SF-40-80-SS @Adjuster BM16(Stainless) X1 @Hexagon Socket Bolt(M5X14) Stainlessx8
o |sFk-c21A Caster Kit Compatible to all SF20 series| @Adjuster Plate SSx1  @Caster AX1 @Hexagon Nut(M12)x1
@ : SS (Groove Width 6mm) @T Nut SS(M5)x4 @Hexagon Socket Bolt(M5X10)X4
7]
[} SFK-C21S Caster Kit Compatible to all SF20 series| ~ @Adjuster Plate SS(Stainless)x1 @Caster A(Stainless)X 1 @Hexagon Nut(M12)Stainlessx1
a SS(Stainless) (Groove Width 6mm) @ST Nut SS(M5)x4 @Hexagon Socket Bolt(M5X10) Stainlessx4
+ SFK-C22A Caster Kit Compatible to all SF20 series| @Adjuster Plate SSx1 @Caster A with Brake X1 @Hexagon Nut(M12)x1
o SS with Brake (Groove Width 6mm) @7 Nut SS(MB)x4 @Hexagon Socket Bolt(M5x10)x4
% SFK-C22B Caster Kit Compatible to all SF20 series| ~ @Adjuster Plate SS(Stainless)X1 @Caster A with Brake(Stainless)X1 @Hexagon Nut(M12)StainlessX1
SS with Brake (Stainless) (Groove Width 6mm) @ST Nut SS(MB)x4 @Hexagon Socket Bolt(M5x10) Stainlessx4
> 5| SFK-C20A Level Adjuster Kit  [Compatible to all SF20 series| @Adjuster Caster Plate SSX]1 @Caster AX1 @Hexagon Nut(M12)x1
% 8 3 SS with Caster (Groove Width 6mm) @T Nut SS(M5)x4 @Hexagon Socket Bolt(M5X10)x4  @Adjuster M12x1
[Z]
% 5] SFK-C20S Level Adjuster Kit  |Compatible to all SF20 series| ~ @Adjuster Caster Plate SS(Stainless)x1 @Caster A(Stainless)X1 @Hexagon Nut(M12)StainlessX|
= SS with Caster (Stainless) (Groove Width 6mm) @ST Nut SS(MB)x4 @Hexagon Socket Bolt(M5x10)Stainlessx4 @Adjuster M12(Stainless)x1
+ - -
SFK-C23 Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40X1 @Caster BX1 @Hexagon Socket Bolt(M5x14)x8
T 40 with Caster SF-40-60 SF-40-80-SS @Adjuster M16x1 @7 Nut SS(M5)x8  @Hexagon Socket Bolt(MBx10)x4
% SFK-C23S Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40(Stainless)X1 @Caster B(Stainless)x1 @Hexagon Socket Bolt(M5X14)Stainlessx8
40 with Caster(Stainless)| SF-40-60 SF-40-80-SS @Adjuster BM16(Stainless)X 1 @ST Nut SS(M5)x8 @Hexagon Socket Bolt(M8X10)Stainlessx4

41



SF
(]
-
o
3
o
Y
=
[=3
il
=
L
3
(]

42

SF 2 0 SERIES

Foot Base

Environment % RoHS Compliant

*Green Procurement

Parts
How to order
Item No. Quantity (set)

SFK-55A [ ]

6
I

m M5
<

Foot Base 2040

39
95 20 9.5
M8
IQ
o °l¥_<g9,2 }6,2\7,,
Tl @
i |

195 | 195
2:5.5 Drilling, 9.5 Deep Spot Facing, Depth 5.5

{Material)

Foot Base 40402S

38
20
I

19 19
4-5.5 Drilling 9.5 Deep Spot Facing, Depth 5.4

Im

(Material)

SS400 Uni-chrome plating Include 2 Hexagon
Foot Base 2040 | 55040t Bolts (M5x15) Weight/40g

SS400 Uni-chrome plating Include 4 Hexagon
Foot Base 404025 | 5oyt Bolts (M5x20) Weight/104g

Foot Base 2040 | SUS304 Include 2 Hexagon Socket Bolts
(Stainless) (M5x15) Stainless Weight/40g

Foot Base 40402S | SUS304 Include 4 Hexagon Socket Bolts
(Stainless) (M5x20) Stainless Weight/105g

Usable Frame
SF-20-40.

.
B SF-20-40-1F

g

Usable Frame
SF-40-40-2S(1F/2F)

Foot Base 2040
(Foot Base 2040(Stainless))

Foot Base 40402S
{Foot Base 40402S(Stainless))

Item No. *SFK-55A (XSFK-55AS)

*SFK-51AKSFK-51AS)




Frame Nut Bracket

for20 for20 &f0r20

Adjuster|

for20/ for20

Accessory

SF
»
-+
Q
=]
[=3
(Y
=
Q
i
=
Q
3
(1]

Frame Cap

Material/ Polyamide
Envionment/ RoHS Compliant
Green Procurement
Weight/In the
drawing

Frame Cap 2020 Frame Cap 2040 Frame Cap 2060
20 40 60
o RS
41 {8 B DO
Usable Frame Usable Frame Usable Frame
Weight/1.3g 20~ Weight/2.3g -20-40. SF-20-40-1F, | Weight/4.1g 50
'?.' SF-20-20(1F/2F/3F/2H) '?.' ;FS'Z:E)ZQF)S[?F -20-40-1F. E‘ ’ SF-20-60
Frame Cap 2020 Frame Cap 2040 Frame Cap 2060
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-009 SFA-009G SFA-010 SFA-010G SFA-012 SFA-012G

*Use 2 pcs for SF20-80

Frame Cap 2525 Frame Cap 40402S Frame Cap 20-DE45 Frame Cap 20-DE30 Frame Cap 20-DE60
25 40
|
o
gl | ® @
b g @ #
| &, ®
Weight/Z.OgW:}:& Weight/SJg"’tM Weight/1 .Sgd:Mj Weight/1 .ng Weight/1.5g m%
Usable Frame Usable Frame Usable Frame Usable Frame Usable Frame
05! 4040~ SF-20-DE45 SF-20-DE30 SF-20-DE60
Frame Cap 2525 Frame Cap 40402S Frame Cap 20-DE45 Frame Cap 20-DE30 Frame Cap 20-DEGO
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-027 SFA-027G SFA-014 SFA-014G SFA-J5B SFA-J5BG SFA-J5A SFA-J5AG SFA-J5C SFA-J5CG

Frame Cap 4060SS

60
A
&, &
i T IY

Usable Frame

$*Use 2 pcs for SF40-80-SS

Frame Cap 204040
|

.@,LH
D.,D|8

40

40

Usable Frame

Frame Cap 20-20-R

20 Nsni '

Usable Frame

Weight/8.9g SF-40-60-SS Weight/4.3g SF-20-40-40 Weight/1.2g SF-20-20-R
Frame Cap 4060SS Frame Cap 204040 Frame Cap 20-20-R
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-017 SFA-017G SFA-JSA SFA-J9AG SFA-023 SFA-023G

Hard Bracket Cap

Hard Bracket Cap

(Light Gray)

Item No.

SFA-J11G

30

HWUsable Frame

EMMaterial/Technical Data

Material Polyamide
Weight 1.8g

s Hard Bracket SSG ) RoH A
_}" Herd Bracket 5S040 M ReHS Complent
>3 Hard Bracket SSG2060

43



SF
2
-+
[\
=]
o
(Y
=
Qo
o
=
Q
3
(]

44

M5

SF20szres &

Slot CapSS

\’\\\\

=

Slot Cap SS £=2000/pcs

(Black) (Light Gray)
Item No. SFA-103 SFA-103G
Slot Cap SS £=2000/pcs
(Blue) (Green) (Yellow) (Red)
Item No. SFA-103L SFA-103M SFA-103Y SFA-103R

EUsable Frame

S Compatible to all SF20 series
!

(Groove Width 6Bmm)

Slot Cap SS

6 |
al

©

B Material/Technical Data

Material  Polyethylene

unit mass 14g/m

Ewionmet RoHS Compliant
Green Procurement

Slot Seal SS

Slot Seal SS £=5000/pcs

Item No. SFA-170

HWUsable Frame

. Compatible to all SF20 series
=

(Groove Width 6mm)

Parts

=] How to order

Banplecfodr ftem No. Quantity (pcs)
SFA-103 [ 1]

Slot Seal SS

B Material/Technical Data

Material  Elastomer

UnitMass  21g/m

Envionment RoHS Compliant
Green Procurement

® Exclusive Cutter for Slot Cap and Slot Seal is available.



20

Cover Holder SS with Cap / Cover Support SS/ Cover Support SS Flat

Cover Holder SS with Cap Cover Suppot SS Cover Suppot SS Flat

2-5.5 Drilling, 9.5 Deep
Spot Facing, Depth 5.5

7
M5 15 7
|
(=]
N § E% "
HKit Contents MMaterial/Technical Data
{Cover Support SS Kit) {Cover Support SS Flat Kit) Cover Holder SS with Cap
@Cover Support SSX1 @Cover Support SS Flatx1 Material Polyamide
BUsable Frame . . @Hexagon Socket Bolt (M5x20) X2 @Hexagon Socket Balt (M5X8) x2 Color/Light gray
Son Compatible to all SF20 series  @T Nut S3(MB) x2 ®T Nut SS(M5) X2 Weight 4g
/ (Groove Width 6mm) @Truss Screw(M5x10) X1 @Truss Screw(M5X10) X1 M5 Nut X1
3#Bolt and Nut in CN (Stainless) Kit are stainless. Envioment k RoHS Compliant

*Green Procurement

Cover Support SS Kit Cover Support SS Flat Kit
Cover Holder SS Cover Support SS {Cover Support SS(Stainless)Kit) Cover Support SS Flat (Cover Support SS Flat(Stainless)Kit) Cover Suppot SS
Cover Suppot SS Flat
Item No. *SFA-KH5 iSFJ-KD'I *SFK-KO1 (§SFK-KOWS> iSFJ-K'l 1 *SFK-K1 1(¥SFK-KI 18) Material ABOB3S-T5(Special order:
Black Alumite is also available.)

Weight 19g(Cover Support SS)
10g (Cover Suppot SS Flat)

Enroment % RoHS Compliant
*Green Procurement

How to fix Cover

{Cover Holder SS. Cover Support SS Indication of Resin Plate Dimension)

20 20
[6} O
9 %y
— — — y—_— e
ﬁm & m% J
3 St 5
1 In case of t=5 (=500mm) - al i
> In case of t=3 (=300mm) -
11 In case of t=5 500mm pitch

J/' In case of t=3 300mm pitch

e N I _;L n

- I rems T I - —

\ Cover Holder SS. Cover Support SS

Hard Bracket SS,/SSG or D Bracket SS Hard Bracket SS with Tap
Hard Bracket SSG with Tap
Cover Support SS

* t=23 Exclusive

D Bracket SS
Cover Holder SS
* For both t=3 and t=5

{Resin plate) {Door accessories)

Various parts for door are available.

o] Various Resin Plates are available.
Refer P140~.

Refer P168 ~.

SF
(2}
[~
[
=}
o
[
=
o
o
=
[
3
o

45



SF20series H =

SF
2
-+
Q
3
o
(Y
=
o
m
=
Q
3
o

Cable Clamp SS (last-in) / Slot Hook SS (U), (J)

Cable Clamp SS Slot Hook SS
U Type
20 ) L 12 i
N 8
et .
L]
(Cable ClampSS) {Slot Hook SS) h
L : L0 10 J Type
| | 20
tumn L) d ) ©
1 \ q
% o~ i
Bandable ) /| Oy
Area 11
gl -
10
Cable Clamp SS 2
(Black) (Light Gray) v
Item No. C1P-B03C C1P-003C MUsable Frame —————
St Compatible to all SF20 series
Slot Hook SS =t (Groove Width 6mm)
(U Type) (J Type) ) )
HMaterial/Technical Data
Item No. SFKK31U SFKK31J Cable Clamp SS Slot Hook SS U Type-J Type
Material Polyamide(Body) Stainless(Hook) Polyamide(Body) Stainless(Hook)
Color/Black-Light Gray Color/Light Gray
Weight 1g/piece 2.58(U Type) -3g(J Type)/Load capaoity1 5ke
Enionment RoHS Compliant
Green Procurement
How to use Slot Hook
(To hang small article and tool) (To hang memo pad) (To store manual where you can see anytime)

Example of use

Hexagon
Slot Roller SS (To frame's movable part) Socket Bolt

Resin Roller

Bearing
[«2] <
N of 11 L
Sl &
6 ‘ 58
14.3 O
3% Smooth operation is possible
because cutting work is done BUsable Frame ———
with Roller. p Compatible to all SF20 series (As door roller) )
=t (Groove Width 6mm) -

Z@ EMMaterial/Technical Data

Material Nylon 6 (Resin Roller)
S45C(Collar)
Steel(Bearing)

Weight 18g
Slot Roller SS Eniroment RoHS Compliant —
Item No. SFK-805 Green Procurement Cap Nut (M5) o)
% Size of the attaching bolt : M5
¥ Appropriate Tightening Torque : 7.4N'm
%2 Bearings*1 Collar-1 Washer
Parts
Igl How to order
- Item No. Quantity (Pac)
Example of orer
46 g C1P-B03C [ ||




-

STANDARD FRAME

SERIES

47




SF30s:ries B N

SF2-30-30

SF
2
I~
[
=}
o
[
=
o
ul
=~
[
3
(v}

30
16.5
8

S
(o)
[
pA
3

SF2-30-30 2=4000 SF2-30-30 £=50~4000

Item No. SFF-322-T SFF-324-T

HMMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment -~ RoHS Compliant
Green Procurement
Geometrical [x=2.85 X 10“mm*
Moment of Inertia  |y—p g5 x 104mm¢
Section Modulus -~ Zx=1.90 X 10°mm*
Zy=1.90x10%m°
Unit Mass 0.83kg/m

SF2-30-60

30

=<

NPE
-
(X

d
)

2

.

| 2

)

R4
%
SF2-30-60 &= 4000 SF2-30-60 £=50~4000 2.06.8 <
Item No. SFF-332-T SFF-334-T
EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical Ix=20.79 X 10%mm*
Moment of Inertia =5 41 x 104mm¢
Section Modulus- Zx=6.93 X 10°mm®
Zy=3.61x10%m®
Unit Mass 1.49kg/m
SF Frame o
Standard(2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit
Item No. 2 =4030-Effective range of use £ =4000  Quantity (pcs) Item No. Length (mm)

48 SFF-322-T [ SFF-324-T =800



D This sign shows the product is designed
for Asia region only

SF
(2
[~
Q
>
o
Q
=
o
T
=
Q
3
(]

SF-K-30-30

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=2.38 X 10“mm* 30
Moment of Inertia |y —p 38 % 104mm*

Section Modulus - Zx=1.59 % 10°mm® 165
Zy=1.59x10%m3 8 |
Unit Mass 0.73kg/m [\ v 4—R2

30
><I:
5d
|
D

SF-K-30-30 £=4000 SF-K-30-30 £=50~4000

Cor
Item No. SFF-B12-T SFF-B14-T 4&—

SF-K-30-60

e MMaterial/Technical Data 30
i | Material Aluminium Alloy
Alumite Treatment 165

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=16.68 X 10‘mm*
Moment of Inertia |y =4 53 % 104mm*

Section Modulus- Zx=5.56 X 10°mm?
Zy=3.09 X 10°mm3
Unit Mass 1.30kg/m
SF-K-30-60 2= 4000 SF-K-30-60 2=50~4000
Item No. SFF-B22-T SFF-B24-T

SF-30-90 / SF-30-120 ( Asia ] (SF-30-90 only)

EMaterial/Technical Data 4.R2 30
Material Aluminium Alloy 16. N
Alumite Treatment — $ L
Environment - RoHS Compliant 0 ~
Green Procurement N D1
SF-30-90 SF-30-120
Geometrical ~ [x=6628X10'm* Ix=152.16X 10‘m* I\ S 4-$6.8
Moment of Inertia =g 44x10m* ~ y=1119x 10%m* ~
Section Modulus - Zx=147x10%m°  Zx=25.36X10°m® N R 4
Zy=56X10m°  Zy=746X 10w’ A
UnitMass  24dkg/m  32lke/m SE j{‘E :I «
D 4
3/ |
SF-30-90 2= 4000 SF-30-90 £2=50~4000 = I:E j
Item No. SFF-392-T SFF-394-T 0 4
il ap T
4-p4.2
SF-30-120 2= 4000 SF-30-120 2=50~4000 — ¢
Item No. = -
! srrate Srrata SF-30-90 SF-30-120
@ExclusiveNut T Nut S @Exclusive Cap @Additional processing and surface treatment are also avail_able.

After Nut 8 1 =
S5, LastIn Lock Nut § FIETIS BT . o
\@/ oot Poo- SR P79.80 . P198~ 19

End Face Tapping



SF30series ] <

SF-60-60-2S

HMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment ... RoHS Compliant

SF
2
I~d
[
=}
o
[
=
o
uyl
=~
[Y
3
(v}

Green Procurement 4-R2 165 50
Geometrical Ix=41.38x10%mm* NN 8, oy
Moment of Inertia  |y—41 38 10%mn* ,\i
Section Modulus -~ Zx=13.79 X 10°mm? A A
J tf
Zy=1379x10°m? Lo =4
Unit Mass 2.63kg/m 3l 8| x ( :]:]
\~ ~/
N2 -5
{ A
SF-60-60-2S 2= 4000 SF-60-60-2S £=50~4000 4[1 M
30 4-06.8
Item No. SFF-602W-T SFF-604W-T
SF-60-90
B Material/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant 4-R2 12-5 4-94.2
Green Procurement o ?T% oY
Geometrical IX=111.61x10%mm* ™~ =

Moment of Inertia |y =50 g5 x 10%mn*
Section Modulus - Zx=24.8<10°m?

Zy=17.56x10°m? =
Unit Mass 3.10kg/m

ol

5
Q|
™)

SF-60-90 2= 4000 SF-60-90 £=50~4000
Item No. SFF-692 SFF-694

SF-60-120

60

B Material/Technical Data
Material Aluminium Alloy 4-R2
Alumite Treatment

Q|
Environment - RoHS Compliant
Green Procurement ™~ ? \
Geometrical Ix=242.90 X 10*mm* fan Fan
Moment of Inertia ly=65.97 X 10%mm* .L/,:_JJ [\ L
Section Modulus - Zx=40.48 X 10°mm* Q

Zy=21.99 X 10°mm?
Unit Mass 4.13kg/m

N«

JPadba
WarWa

SF-60-120 £=4000 SF-60-120 £=50~4000 T
(o]
Item No. SFF-612 SFF-614 ® |<
PR
) 30 4-96.8

SF Frame

Standard(2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS) *Order by 0.1mm unit

Item No. 2 =4030-Effective range of use £ =4000 Quantity (pcs) Item No. Length (mm)

50 SFF-602W-T ()]  SFF-604W-T  £-800



50

SF2-30-30-1F

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment .. RoHS Compliant
Green Procurement
Geometrical 1x=3.03 X 10%mm*
Moment of Inertia ly=2.82% 10mn*

Zx=1.99%10°m?
Zy=1.88X10°mm®
0.85kg/m

Section Modulus

Unit Mass

SF2-30-30-1F 2= 4000

SF2-30-30- 1F 2=50~4000

Item No.

SFF-3E2-T

SFF-3E4-T

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical 1x=3.09 X 10“mm*

Moment of Inertia ly=3.09 X 10%mm*
Zx=1.98x10°m?
Zy=1.98 X 10°mm3

0.89kg/m

Section Modulus

Unit Mass

SF2-30-30-2F 2= 4000

SF2-30-30-2F 2=50~4000

Item No.

SFF-3F2-T

SFF-3F4-T

SF2-30-30-3F / SF2-30-30-2H

N
X

X

—

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
SF2-30-30-3F  SF2-30-30-2H
Geometrical x=301X10m*  Ix=27X10'm*
Moment of Inertia =357 ]0'm* ~ Iy=326x10%m"
Section Modulus Zx=1.93x10°m*  Zx=18X10'm*
Zy=218X10°m°  Zy=2.17X10°m?
Unit Mass 0.90kg/m 0.86kg/m

SF2-30-30-3F 2= 4000

SF2-30-30-3F 2=50~4000

Item No. SFF-3G2-T SFF-3G4-T
SF2-30-30-2H 2= 4000 SF2-30-30-2H £=50~4000
Item No. SFF-3H2-T SFF-3H4-T

@Exclusive Nut T Nut S

¢

@Exclusive Cap
After Nut S

Last-In Lock Nut S
Free NutS P56~

\‘/ Frame o

@Additional processin_g _and surface treatment are also avail_able.

ame Cap

This sign shows the product is designed

for Asia region only

30
2 7 12
«Q
R0.5 -
I

J
el

30
16.5

ey

H|
C | U

d
.
|\

30

N
Z
668 %
30
o |l 7 12
RO.5 oY
—
\ISNgiE
J [\ Nzl
@ o ® X
—h 4o
gC/]
068 e
% 30
165
2 12
RO5 ~ » | RO5
RO, K
\[] | §
PP SV N o2
‘LEGOE\ % % Jghol 2.1
068/ e | M ~
SF2-30-30-3F SF2-30-30-2H

77 :

End Face Tapping f§ Drilling

SF
(2}
[~
o
>
o
Q
=
o
T
=
Q
3
(]




S
[}
-+
o
=
o
(Y
=
o
m
=
Q
3
(]

52

SF 30 SERIES

SF2-30-60-1F / SF2-30-60-2H

I

]

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
SF2-30-60:1F  SF2-3060-2H
Geometrical [x=2093X104m*  1x=2121 X104
Moment of Inertia =5 g5 x10m* ~ Iy=6.36x10m*
Section Modulus -~ 7x=698X10°m®  Zx=7.08X 10°m*
Zy=381X10°m®  Zy=4.23X 10°m?®
Unit Mass 1.66kg/m 1.68kg/m

SF2-30-60-1F 2= 4000

SF2-30-60-1F 2=50~4000

Item No. SFF-5E2-T SFF-5E4-T
SF2-30-60-2H 2= 4000 SF2-30-60-2H £=50~4000
Item No. SFF-6H2-T SFF-6H4-T

SF-30-60-60

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=27.29 X 10*mm*

Moment of Inertia
Section Modulus

ly=27.29 X 10mm*
Zx=10.75X10°mm?
Zy=10.75X10°mm?

Unit Mass 2.33kg/m

SF-30-60-60 £= 4000

SF-30-60-60 £=50~4000

Item No.

SFF-G12

SFF-G14

SF-30-30-R

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=2.42 X 10*mm*

Moment of Inertia |y—o 40 x 104
Zx=153x10%m®
Zy=153x10%m?

0.82/m

Section Modulus

Unit Mass

SF-30-30-R £2=4000

SF-30-30-R £=50~4000

Item No.

SFF-R62

SFF-R64

SF Frame

Standard(2 =4000) (Cut by customer)
2=4030-Effective range of use £ =4000

Item No.

SFF-5E2-T

L]

Quantity (pcs) Item No.

SFF-5E4-T

~M6

N

2| 7

SF2-30:60-1F

oo

60
30
<

SF2-30:60-2H

60

e | o
15 30 15
60
v /@8 2-R1
> °
W e
U
L_16.5 R2
15
30
SF-30-30-R

In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit
Length (mm)

£=800



50

(SF-30-60-60)

SF-30-30, E SF-30-30

SF-30-60-60

i

SF-30-60

Y
%

SF-30-60,

@As the reinforcing Frame at
corner, or to ensure space inside.

How to use Frames

(SF-30-30-1F)
(SF-30-30-2F)

(SF-30-30-R)

SF-30-30-2F SF-30-30-2F S
SF-30-30-R
SF-30-30-2F
SF-30-30-1F SF-30-30-1F ~ SF-30-30-1F SF-30-30-1F

@For the clean environment
without Frame grave externally.

@For safety and beauty by the
round corner.

This sign shows the product is designed
for Asia region only

SF
()
-
o
3
Q
o
=
Q
o
=
Y
3
o

(SF-30-DE30)
(SF-30-DE45)
(SF-30-DE60)

\_SF-30-DE45

@Many variations to construct angles
other than 90°

SF-30-DE45

EMaterial/Technical Data

SF-30-DE45 £2=4000

Item No.

SFF-J62B

SF-30-DE30

SF-30-DE30 £= 4000

Item No.

SFF-J62A

SFF-JB4A

@Exclusive Nut T Nut S

After Nut S
S

Last-In Lock Nut S
Free NutS P56~

@EXxclusive Cap

Frame Cap
P79, 80

@Additional processing and surface treatment are also avail_able.

End Face Tapping f§ Drilling

Material Aluminium Alloy 2561
Alumite Treatment
Environment - RoHS Compliant
Green Procurement Y
Geometrical IXx=3.21 X 10%mm*
Moment of Inertia ly=372 % 10%mn* 6.8
Section Modulus - Zx=1.56 X 10°m*
Zy=1.86%10°mm?
Unit Mass 1.08kg/m L
P
SF-30-DE45 £2=50~4000 6R 16.
15
SFF-J64B 30
HMaterial/Technical Data
Material Aluminium Alloy 225
Alumite Treatment
Environment - RoHS Compliant v %
Green Procurement
Geometrical IX=3.16 X 10%mm*
Moment of Inertia ly=3.86 X 104mn* W
Section Modulus - Zx=1.58 X 10%mm*
Zy=2.00%10%m? L 2
Unit Mass 1.1 Tke/m ) \4 N
AU
8
16.
SF-30-DE30 2=50~4000 6-R2 15
30

& | Z

Slanit cut



SF
()
—
o
>
Q.
Q
=
o
m
=
Q
3
(2]

SF30series ] <

SF-30-DE6O

EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant 27.99.
Green Procurement
Geometrical Ix=3.33 X 10%mm* @
Moment of Inertia ly=3.70 10%mm*
Section Modulus - Zx=1.67 X 10°mm* )

Zy=1.89 X 10°mm3 3
Unit Mass 1.10kg/m
SF-30-DE6O 2= 4000 SF-30-DE60 2=50~4000 ﬂ?/ 183
30
Item No. SFF-J62C SFF-J64C
SF-50-50-2S
HMaterial/Technical Data
Material Aluminium Alloy 50
Alumite Treatment
Environment RoHS Compliant 15 20 15
Green Procurement 16.5 4-R2
Geometrical Ix=21.67 X 10%mm* —
Moment of Inertia * |y =p1 57 10%mm* ~
Section Modulus - Zx=8.67 X 10°mm*
Zy=8.67x10%m3 © ~
Unit Mass 2.32kg/m vy 1
3| & X
SF-50-50-2S 2= 4000 SF-50-50-2S 2=50~4000 0
Item No. SFF-502-T SFF-504-T
SF-50-100-2S
HMaterial/Technical Data 50
Material Aluminium Alloy
Alumite Treatment 15 20 15
Environment - RoHS Compliant v 7,12 apo
Green Procurement
Geometrical  Ix=15340x10mn* o j E
Moment of Inertia  y—40 48 x 10%mn* - S m =~ ©
Section Modulus - Zx=30.68 x 10%mm? GV © ©
Zy=16.99X 10°%m? Q C } :
Unit Mass 4.28kg/m f) G
Jn[_]n\\
/"Qr 8-96.8
x 8| 8 5 |
; L= (_l.
SF-50-100-2S 2= 4000 SF-50-100-2S £2=50~4000 r\uﬁur\
\) Cj
Item No. SFE-512:T SFF-514-T S d D)
C}'U"\c}
2 Y
SF Frame
Standard(2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit

Item No. 2 =4030-Effective range of use £ =4000 Quantity (pcs) Item No. Length (mm)

54 SFF-J62C (]  SFF-J64C =800



D This sign shows the product is designed
for Asia region only

SF-35-35

B Material/Technical Data
Material Aluminium Alloy

Alumite Treatment 35
Environment - RoHS Compliant
Green Procurement 16.
Geometrical [x=5.12x10%mn*
Moment of Inertia ly=5.12x 10%m* o 7«9
Section Modulus - Zx=2.93X 10°m? N Y
Zy=2.93%10°%m? ~ 022
Unit Mass 1.11ke/m Ei} ?‘P
G
™ ~
0
SF-35-35 £=4000 SF-35-35 £=50~4000
Item No. SFF-3A2 SFF-3A4

SF-35:70

EMaterial/Technical Data 10

Material Aluminium Alloy 16.5
Alumite Treatment < 8

Environment - RoHS Compliant ~ ‘*99 ﬁ X
Green Procurement

Geometrical Ix=35.09% 10mm* ~ C\ ‘2

35
17

Moment of Inertia  y—g 04 % 104mm* \\)
Section Modulus - Zx=10.03 X 10°mm? \
Zy=5.16x10%mm* N

Unit Mass 1.80kg/m C{C‘ .)

17.5 35
SF-35-70 2=4000 SF-35-70 £=50~4000
Item No. SFF-3B2 SFF-3B4
@Exclusive Nut T Nut S @Exclusive Cap @Additional processin_g _and surface treatment are also ava'i!able.

Free NutS P56~

After Nut S 3 ; =
Frame Cap 'w
5. Last-n Lock Nut S ’ P79, 80 II.---"'_._,.--""'

(/@

End Face Tapping f§ Drilling Slant cut

SF
)
-
o
=}
o
Y
=
Q
o
=
Q
3
(]




SF30series ] <

T Nut S (M3%¢)/ Anti-Skid Cap S

SF
()
—
o
>
Q.
Q
=
o
m
=
Q
3
(2]

T NutS (M3x)
L 6.3 14
7
_,rﬁ
! 2
Q| 10| fﬁ
~| - \\t%
[ M

Anti-Skid Cap S
(for T Nut S and Aluminum T Nut S)

~ 1ad
[, 14z
T Nut S(MB) TNutS(M5) T Nut S(M4) T Nut S(M3) 1 |' "1
(STNutS (M6))  (STNutS (M5))  (STNutS (M4)) (ST Nut S (M3)) I H |
i = |
Item No. SFB-002(sFN-Ts6)  SFB-00T(sFNTss)  SFB-00B(sFN-Ts4)  SFB-O05(SFAN-TS3) | | |
Anti-Skid Cap S ! i |
(50pcs/pack)
o .
Item No. SFA-954 I i
| i :
WUsable Frame HMaterial/Technical Data
/ Compatible to all SF30 series TNutS STNutS  |AntiSkidCapS
// (Groove Width 8mm) Materiadl Equivalent Stainless POM
i / t0 S10C With Gonductive
J Uni-Chrome  |Function
Weight 8g 8g 0.2g/piece

Envionment RoHS Compliant Green Procurement

ST Nut Stopper S

AN

A jm OKNE

\J M
°
8.3

ST Nut Stopper S ST Nut Stopper S ST Nut Stopper S ST Nut Stopper S o EMaterial/Technical Data
(M3) (m4) (M5) (M6) MUsable Frame Material Stainless

Compatible to all SF30 series N
Item No. SFN-SS3 SFN-SS4 SFN-SS5 SFN-SS6 // (Groove Width 8mm) Weight 8.90g (M3) 8.60g (M4)
F‘j,\/ 8.40g (M5) 8.00g (M6)

Environment RoHS Compliant

G

Easy Nut S (M3%)

7.8

T
11.5
2
)
0
|

% 0One-Touch to —lko's M

insert later and
Anti-Skid as well

HWUsable Frame

Compatible to all SF30 series
P / (Groove Width 8mm)
B o\/

Easy Nut S Easy Nut S Easy Nut S Easy Nut S )
(MB) (M5) (M4) (M3) h
Item No SFB-PN19 SFB-PN18 SFB-PN17 SFB-PN16 MMaterial/Technical Data
i Easy Nut S S Easy Nut S
SEasyNutS SEasyNutS SEasyNutS S Easy Nut S Material  Equivalent Spalnless )
(M8) (M5) (M4) (M3) to S10C With Conductive
Stainless Stainless Stainless Stainless Uni-Chrome plating
Weight Bg/piece
Item No. SFN-ES6 SFN-ES5 SFN-ES4 SFN-ES3 Enviomet RoHS Compliant Green Procurement
Parts
How to order

Item No. Quantity (pcs)

56 SFB-002



5o

After Nut S(M3x%) / After Nut Support S

SF
)
-
o
=}
o
Y
=
Q
o
=
Q
3
(]

After Nut Support S
(for After Nut - Last-In Lock Nut)

After Nut S(M3%)

6.3 8.5

s =

Ay

% Using After Nut Support together
prevents from slipping. ©

11.5
|
wA\

After Nut S(MB) After Nut S(M5) After Nut S(M4) After Nut S(M3) M
(S After Nut S(M6) ) (S After Nut S(M5) ) (S After Nut S(M4) ) (S After Nut S(M3) )
Item No. SFB-616(sFN-AS6)  SFB-B15(sFN-Ass)  SFB-B14(sFN-As4)  SFB-613(SFN-AS3)
After Nut Support S(50pcs/pack) [Iisie stz DkiE After Nut
After Nut S | SAfter NutS | SupportS
Item No. SFA-9A2 Material Equivalentto | Stainless PP Resin
8100
HMUsable Frame — Uni-Chrome _
Weight7g 78 0.28/piece

Enitoment sk RoHS Compliant

(Groove Width 8mm)
*Green Procuremen

\‘\// Compatible to all SF30 series

Lock Nut S (M3%¢)

%You can fix Nut and
conduct electricity by

tightening  attached
Set Screw.
6.3 17
55, 08 6.5 7 35
w2 L) D
o >\§ J }J
Lock Nut S(MB)  Lock Nut S(M5) Lock Nut S(M4)  Lock Nut S(M3) L M
(SLock NutS(M6) )  {Lock Nut S(M5) )  {Lock Nut S(M4) ) (S Lock Nut S(M3) ) /
With M4 Set scre:
Item No. HOFB4BBYshuse)  #GPBABB(srwss  HOPBABACsRusy  HSPB4BACYAusy)
EMMaterial/Technical Data
Lock Nut S | S Lock Nut S
HWUsable Frame Veterd  Equivalent to| Stainless

Compatible to all SF30 series S

// (Groove Width 8mm) Uni-Chrome
" / Weight 7g 78
: ‘/ Enomet <RoHS Compliant

G

*Green Procuremen

S Free Nut S(M3%)

S Free Nut S(M3%)

7.5
Si/ar et}
‘
I} 1 "=
B A/
o ‘ M
15
0, 7.8
(o]
1§ Free Nut S(MB) S Free Nut S(M5) S Free Nut S(M4) S Free Nut S(M3) o |
" 1"
Item No. SFB-S64 SFN-FS5 SFN-FS4 SFN-FS3

EMMaterial/Technical Data
S Free Nut S
Material Stainless
With Conductive
Function
Weight 4g
Enirnment RoHS Compliant
Green Procurement
#*1 No conductive type for S Free Nut S (M6)

HWUsable Frame

Compatible to all SF30 series
v / (Groove Width 8rmm)
.\/
. &

57



SF
(7))
-~
[
=
Q.
Y
=
o
m
=
Y
3
()

SF 3 0 SERIES

Free Nut S with Headless Bolt S (M5) / Free Stud S (M5)

[

]

Free Nut S with Headless Bolt S(M5)

Free Stud S(M5)

N

Free Nut S with Headless Bolt S(M5)

Free Stud S(M5)

Item No. XSFN-NS5

XSFN-NSET

HWUsable Frame

Compatible to all SF30 series
(Groove Width 8mm)

Conductive Function
Weight 7g
Enionment kRoHS Compliant

75 16.3
T
‘@' I 7
™| U
oo 1
e M5
|
Q Y
I ER
N~ | Y
Sy
é L 1 4
T T 1
15
HMaterial/Technical Data
Free Nut S with Free Stud S
Headless Bolt S
Material Stainless With SPHC

Uni-Chrome Plating
4g

\

*Green Procurement

#Tightening Torque is below 1.2N-m for Free Stad S.
(Use Knurling Nut)

Double Round Nut S30/Double Joint S30

Double Round Nut S30

Double Joint S30

Item No. SFJ-250S

SFJ-31A

Joint Bar S140

Joint Bar S140

Joint Bar S140 Kit

Item No. XSFJ-606 Item No.

*SFK-806

+ Note : T Nut material will be delivered without plating.

Parts

How to order

ltem No. Quantity (pcs)
SFN-NS5 L]

Double Round Nut S30

29.5

215

V|

oD

N
J

¢

2-M5

HMUsable Frame

Double Joint S30

EMaterial/Technical Data

SF-30-30,SF-30-60 Double Round Nut S30 | Double Joint S30
SF-30-90.5F-30120 ateria Stainless ABOO5CSS-TS
Weight 19g 4.5g

Enionment %k RoHS Compliant
*Green Procurement

Compatible to all SF30 series

(Groove Width 8mm) X i
HMaterial/Technical Data
Material Equivalent to S10C
Uni-Chrome Plating
Weight 868
HKit Contents

@Joint Bar S140x1
@®Set Screw(MBx8)x4

Eniomment % RoHS Compliant
*Green Procurement



0|38

Loctite Locknut

T Nut S(M6)

Easy Nut S(M6)

B¢

Lock Nut S(M6)

TNutSB

S Free Nut S(M6)

75

After Nut S(M6)

B Material/Technical Data

ST Nut Stopper S(M6)

TNutSB Easy NutSB | After Nut S B
Material | Equivalent to S10C | Equivalent to STOC | Equivalent to S10C
Uni-Chrome Plating | Uni-Chrome Plating | Uni-Chrome Plating
Stainless Stainless Stainless
With Conductive Function |  With Conductive Function | With Conductive Function
Weight | 8g 10g(UniChrome Plating) | 7
6g(Stainless)
Lock Nut S B S Free Nut S B | ST Nut Stopper S B
Material | Equivalent to S10C | Stainless Stainless
Uni-Chrome Plating | - With Conductive Function | With Conductive Function
Stainless
With Conductive Function
Weight | 7g 4g 8g

Easy Nut S B

7.8

17

6.5

<

—~

115

-~

'~

05

Eniomet RoHS Compliant

After Nut S B

The inner part of the tap is coated with an anti-loosening agent.

8.5

T Nut S(M6)B with Loctite
(ST Nut S(M6)B with Loctite)

Easy Nut S(M6)B with Loctite
(S Easy Nut S(M6)B with Loctite)

After Nut S(M6)B with Loctite
(S After Nut S(M6)B with Loctite)

Item No. SFB-802(SFB-803) SFB-806(SFB-807) SFB-810¢(SFB-811)
Lock Nut S B S Free Nut S B ST Nut Stopper S B
16
6.3 17 0.8 5
55_] 08 6.5 7 35 75 l(_)
‘L /f g[ i N N
] j © ¢}
ol LD A B AND/R o 1] " LA
BN | N
L M
8.3
With M4 Set screw
Lock Nut S(M6)B with Loctite f : ; ;
(S Lock Nut S(MB)B with Loctite S Free Nut S(M6)B with Loctite ST Nut Stopper S(M6)B with Loctite
Item No. SFB-814(SFB-815) SFB-818 SFB-820

Adjuster Bracket M12 S Kit

Adjuster Bracket M12

Adjuster

Adjuster Bracket M12 S Kit

Item No. SFK-7E1

Y
\ 2-Hexagon Socket Bolt M6X15

Caster

* Please order adjusters/casters separately.

HWUsable Frame

M12Tapping

SF
0
-
Q
=]
o
(Y
=
Q
i
=
Q
3
o

Compatible to all SF30 series

(Groove Width 8mm)
EMaterial/Technical Data
Material  Aluminum Extrusion
HKit Contents Alumite Treatment

Weight 107g

@®Adjuster Bracket M12 X1 : _
Enioment RoHS Compliant

@71 Nut S (MB)x2
@Hexagon Socket Bolt (MBX15)x2

59



SF 3 0 SERIES :

D Bracket S

SF
(7))
-
(Y
=}
o
Y
=
o
m
=
1Y
3
(]

D Bracket S

D Bracket S D Bracket S-CN
(D Bracket S with Tap) (D Bracket S-CN with Tap)
Item No. SFJ-018(sFJ-019) SFJ-018N(sFJ-019N)
D Bracket S Kit | D Bracket S(Stainless)Kit D Bracket S-CN Kit
(D Bracket S Kit with Tap) | (D Bracket S with Tap (Stainless) Kit ) (D Bracket S-CN Kit with Tap)
Item No. SFK-018(sFk-019) | SFK-0188(sFk-0198) SFK-018N(sFk-019N)

@®Cap

-’-7|:80

/ MUsable Frame ——
,\/ Compatible to all SF30 series
By (Groove Width 8mm)

N\

D Bracket Spacer S

D Bracket Spacer S

Item No. SFJ-4018

D Bracket Flat S

surface

D Bracket Flat S
(D Bracket Flat S with Tap)
Item No. SFJ-039¢(sFJ-040)
D Bracket Flat S Kit D Bracket Flat S Kit (Stainless)
{D Bracket Flat S with Tap Kit) (D Bracket Flat S with Tap Kit (Stainless))
Item No. SFK-039(sFK-040) SFK-039S(sFK-0408s)
HWUsable Frame
Compatible to all SF30 series
(Groove Width 8mm)
Parts
How to order
Item No. Quantity (pcs)
60 SFJ-018 ]

@Setting to bottom of
D Bracket enables to
fix on a flat base.

® Since there is no projection,
it can be flush fitted to a flat

~M6

5
07

HKit Contents

@D Bracket S<or with Tap)X1

@Hexagon Socket Bolt (MBx12) X 2

@T nut S(MB)X2

%Bolt and Nut in CN- (Stainless)
Kit are stainless.

HWUsable Frame

There is no proj
for this part.

HKit Contents
@D Bracket Flat S<or with Tap)x1
@Hexagon Socket Bolt MGX 12 (Trivalent Chromate) X2
@T Nut S(MB)x2
%Bolt and Nut in (Stainless)

Kit are stainless.

EMMaterial/Technical Data

Material Aluminum Die-Cast(ADC12)
(CN/Electroless Nickel Plating)
With Anti-Skid Function

Weight 138

Enioment *ROHS Compliant
*Green Procurement

EMaterial/Technical Data

Material Stainless

Weight 8g

Enionment *ROHS Compliant
*Green Procurement

~ i
O O
— There is no projection

for this part.

HMMaterial/Technical Data
Material Aluminum Die-Cast (ADC12)
Weight 28¢g (D Bracket Flat S)

278 (D Bracket Flat S with Tap)
Enoment ROHS Compliant



0|30

D Bracket Cross S

SF
)
Q
=]
Q.
Y
=
o
m
=
Y
3
(]

® Frames can be mounted
orthogonally

D Bracket Cross S
HMUsable Frame

Item No. SFJ-045 Compatible to all SF30 series
- / (Groove Width 8mm)
% /
S

D Bracket Cross S Kit D Bracket Cross S Kit (Stainless)
Item No. SFK-045 SFK-045S HKit Contents————————————— EMaterial/Technical Data
@D Bracket Cross Sx1 Material Aluminum Die-Cast (ADC12)
@Hexagon Sacket Bolt MBX 12 (Trivalent Chromate) x2 Weight 14g (D Bracket Cross S)
@T Nut S(MB)x2 Enironment ROHS Compliant

%Bolt and Nut in (Stainless)
Kit are stainless.

D Bracket 3060 / D Bracket S3060

D Bracket 3060 D Bracket S3060
(D Bracket 3060 with Tap) (D Bracket S 3060 with Tap)
Item No. SFJ-021(sFJ-021T) SFJ-A13(sFJ-A13T)

3060Kit  3060(Stainless)Kit 53060 Kit §3060(Stainless)Kit
(3080 Kit with Tap) (3080 with Tap(Stainless)Kit)  (S3060 Kit with Tap) (33060 with Tap(Stainless)Kit)

Item No. SFK-021 (k021 SFK-021S(SFK-021P) SFK-A13(sFk-A13T)  SFK-AT3S(SFK-A13P)

D Bracket 3060-CN

Item No. SFJ-021N
HMaterial/Technical Data
D Bracket 3060-CN Kit D Bracket 3060 D Bracket S3060
Material Aluminum Die-Cast(ADC12)
Item No. SFK-021N MKt Contents ——————— (CN/Electroless Nickel Plating)
{D Bracket 3060 Kit) Weight With Anti-Skid Function
@D Bracket 3080 <or with Tap)X1 100g 65g
WUsable F;aFn;Z 50/1F :_Hrelzaiog(%og)kifoh (MEX15)X4 ot kRoHS Compliant
_30- u
*Green Procurement
SF-60-60-25/1F/2F (D Bracket S3060 Kit)
SF-80-90/680:120 @D Bracket S3060<0r with Tap)x1
@Hexagon Socket Bolt (M6x12)x8
@T Nut S(MB)*8

*Bolt and Nut in CN- (Stainless) Kit are stainless.

61



SF30series : <

D Bracket SW

SF
()
-
[
=
Q.
o
=
(=3
T
=
o
3
o

4.5 0.7
4-463 v
- )
~
- + -
wn o
~ ™| 0
a J,i
~ Al
2 ° O\ ol 2
[ 1 T s
10 e |2
D Bracket SW 20 20 25 2-M5 (Both sides)
{D Bracket SW with Tap) 55 (When <tap included>)

Item No. SFJ-024 (SFJ-024T»
D Bracket SW Kit D Bracket SW Kit (Stainless) MMaterial/Technical Data
{D Bracket SW with Tap Kit) (D Bracket SW with Tap Kit (Stainless)) Material Aluminum Die-Cast (ADG12)
HKit Contents - q ) )
" : - X With Rotation-Prevention Function
Item No. SFK-024 (SFK-024T> SFK-024S (SFK-024P) @D Bracket SW (or with Tapy x| Welght 40

@Hexagon Socket Bolt (M6X12) X4

@7 Nut S(MB)x4

#Bolt and Nut in (Stainless) Kit are stainless.

xWhen mounting the side cover <with tap>, please use a truss head
screw M5X6 (if panel: t=3), or truss head screw M5x8 (if panel: t=5).

HUsable Frame Eniroment ROHS Compliant

Compatible to all SF30 series
(Groove Width 8mm)

"%

Hard Bracket S

—

51

2-7 Drilling

1
o 41

$4.2
<M5 Tapping>

!

Hard Bracket S

(Hard Bracket S with Tap) Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

Item No. SFJ-NO3(SFJ-NO3T)
Hard Bracket S Kit Hard Bracket S(Stainless)Kit HEMaterial/Technical Data
(Hard Bracket S Kit with Tap) (Hard Bracket S (Stainless) Kit with Tap) 5 -
Material Aluminium Alloy
Item No. SFK-NO3(SFK-NO3T) SFK-NO3S (SFK-NO3P) HKit Contents Alumite Treatment
@Hard Bracket S<or with Tap)X1 Perendicular surface is machining finished.

HMUsable Frame ——

@Hexagon Socket Bolt (MBX15) X 2 44g
OT Nut S(M6)x2 Weight RoHS Compliant

*Bolt and Nut in (Stainless) ) G P i
Kit are stainless. Enioment Green Procuremen

Compatible to all SF30 series
(Groove Width 8mm)

J

Hard Bracket SG

80

4.2
<M5 Tapping>

Hard Bracket SG
{Hard Bracket SG with Tap)

Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

Item No. SFJ-N26(SFJ-N26T)
Hard Bracket SG Kit Hard Bracket SG(Stainless)Kit EMaterial/Technical Data
(Hard Bracket SG Kit with Tap) (Hard Bracket SG(Stainless)Kit with Tap) . -
Material Aluminium Alloy
Item No. SFK-N26(SFK-N26T) SFK-N26S (sFK-N26P) HKit Contents Alumite Treatment
@Hard Bracket SG<{or with Tap)X1

@Hexagon Socket Bolt (M6x22) X 2
@T Nut S(MB)x2
%Bolt and Nut in (Stainless)

Perpendicular surface is machining finished.
101g
Weight RoHS Compliant

HWUsable Frame ——
) // Compatible to all SF30 series
Yy

Enioment Green Procurement

s, / (Groove Width 8mm)

o
<&

Kit are stainless.

Parts @Cap for Bracket
How to order P80
Item No. Quantity (pcs)

62 SFJ-024



Hard Bracket SW3030

Hard Bracket SW3030
(Hard Bracket SW3030 with Tap)

Item No. SFJ-NT1(SFINTIT)
Hard Bracket SW3030 Kit Hard Bracket SW3030(Stainless)Kit
(Hard Bracket SW3030 Kit with Tap) (Hard Bracket SW3030(Stainless)Kit with Tap)
Item No. SFK-NTT(SFK-N11T) SFK-NT1S(SFK-N11P)

HMUsable Frame ——
Compatible to all SF30 series
(Groove Width 8mm)

~ S

Hard Bracket with Stopper S
(Hard Bracket with Stopper S with Tap)

SF
(2
-
o
3
Q
o
=
o
o
=
o
3
o

4-7 Drilling

Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 768

Envioment RoHS Compliant
Green Procurement

HKit Contents

@Hard Bracket SW3030<or with Tap)X1
@Hexagon Socket Bolt (MEX15) X 4
@T Nut S(MB)X4
#%Bolt and Nut in (Stainless)

Kit are stainless.

Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

EMaterial/Technical Data

Item No. SFJ-NB1(SFUNB1T)
Hard Bracket with Stopper S Kit | Hard Bracket with Stopper S Kit (Stainless)
(Hard Bracket with Stopper S with Tap Kit) | (Hard Bracket with Stopper S with Tap Kit (Stainless))
Item No. SFK-NB1 (SFK-N81T) SFK-NB1S(SFK-N61P)

HMUsable Frame
Compatible to all SF30 series
(Groove Width 8mm)

HKit Contents
@ Hard Bracket with Stopper S<or with Tap)x1
@Hexagon Socket Bolt (MBEX15) X 2
@T Nut S(MB)x 2
#%Bolt and Nut in (Stainless)

Kit are stainless.

Material ABNO1SS-T5
Alumite Treatment
Perpendicular surface is machining finished.
With Rotation-Prevention Function

Weight 45g

Enionment RoHS Compliant

Hard Bracket with Stopper SG
(Hard Bracket with Stopper SG with Tap)

Item No. SFJ-NB2 (SFJ-NB2T)
Hard Bracket with Stopper SG Kit |Hard Bracket with Stopper SG Kit (Stainless)
(Hard Bracket with Stopper SG with Tap Kit) | (Hard Bracket with Stopper SG with Tap Kit (Stainless))
Item No. SFK-NB2 ( SFk-Ns2T) SFK-NB2S (SFK-NB2P)

HWUsable Frame
Compatible to all SF30 series
(Groove Width 8mm)

2-7 Drilling

o

Ayl

SR

Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

HKit Contents
@ Hard Bracket with Stopper SG (or with Tap)X1
@Hexagon Socket Bolt (M6x22) X 2
@T Nut S(MB)Xx 2
*Bolt and Nut in (Stainless)

Kit are stainless.

MMaterial/Technical Data
Material ABNO1SS-TS
Alumite Treatment
Perpendicular surface is machining finished.
With Rotation-Prevention Function
Weight 105g
Enitomet ROHS Compliant

63



~M6

SF30seres [

Hard Bracket S3060

SF
(7]
-
o
3
o
(Y
=
Q
il
=
o
3
o

4-7 Drilling

Hard Bracket S3060

(Hard Bracket S3060 with Tap)

Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

Item No. SFJ-NO4(sFJ-No4T)
- - - EMaterial/Technical Data
Hard Bracket S3060 Kit Hard Bracket S3060(Stainless)Kit ) L
(Hard Bracket S3060 Kit with Tap) (Hard Bracket S3060 (Stainless) Kit with Tap) . Material Aluminium Alloy
HKit Contents Alumite Treatment
Item No. SFK-NO4 (SFK-N04T) SFK-NO4S(sFk-N04P) @Hard Bracket S3060<0r with Tapyx1 Perpendioular surface s machining fished.

HMUsable Frame ——
SF-30-60/1F
SF-60-60-2S/1F/2F
SF-60-90/60-120

@Hexagon Socket Bolt(M6X15)x4
@T Nut S(MB)x4
%Bolt and Nut in (Stainless)

Kit are stainless.

4-7 Drilling

Weight 1118
Enitoment RoHS Compliant
Green Procurement

Hard Bracket SG3060

{Hard Bracket SG3060 with Tap) Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

Item No. SFJ-N27 (SFJN27T)
Hard Bracket SG3060 Kit Hard Bracket SG3060(Stainless)Kit EMaterial/Technical Data
(Hard Bracket SG3060 Kit with Tap) (Hard Bracket SG3060 (Stainless) Kit with Tap)
Material Aluminium Alloy
Item No. SFK-N27 (SFK-N27T) SFK-N278(SFK-N27P) it Contents Alumite Treatment
@Hard Bracket SG3060(or with Tap)X1

Hard Bracket SW3060

i

&

<f

\

HMUsable Frame ——
SF-30-60/1F
SF-60-60-2S/1F/2F
SF-60-90/60:120

7

(Hard Bracket

Hard Bracket SW3060

SW3060 with Tap)

@Hexagon Socket Bolt (M6x22)x4
OT Nut S(MB)x4
%Bolt and Nut in (Stainless)

Kit are stainless.

Perpendicular surface is machining finished.
Weight 2568
Enioment RoHS Compliant
Green Procurement

Please use Kit with Tap to install Side Cover. (Refer P81 for details.)

HWUsable Frame ——
Item No. SFJN12(sFon12T) v // SF.30-60/1F
< SF-60-60-2S5/1F/2F : :
Hard Bracket SW3060 Kit Hard Bracket SW3060(Stainless)kit @iy / SF-60-90/60:120 BMaterial/Technical Data
(Hard Bracket SW3060 Kit with Tap) (Hard Bracket SW3080 (Stainless) Kit with Tap) e & Material Aluminium Alloy
. Alumite Treatment
Item No. SFK-N12¢sFK-N12T) SFK-N12S(sFK-N12P) HKit Contents Wei umite freatmen
, eight 192g
@Hard Bracket SW3060(or with Tap)X1

64

@Hexagon Socket Bolt (M6x15)x8
@T Nut S(MB)x8
#%Bolt and Nut in (Stainless)

Kit are stainless.

Enitoment RoHS Compliant
Green Procurement

Parts @Cap for Bracket
How to order P80
Item No.

Quantity (pcs)
SFJ-N04 []




36

Hard Bracket S3090,/ SG3090

Hard Bracket S3090
(Hard Bracket S3090 with Tap)

Hard Bracket SG3090

Item No. SFJ-NT0(sFJN10T) SFJ-N28
S3090Kit  |S3090(Stainless) Kit . . )
(53090 Kit with Tap) 53090 (Stainless) Kit with Tap) §G3090 Kit 563030(Stainless) Kit
Item No. SFKCN10(SFA10m) SFKN10S(sFeN10P) SFK-N28 SFK:N28S
HWUsable Frame ——
SF-30-90
SF-60-90

Hard Bracket S50,/ SG50

e ——
H -

-
-

Hard Bracket S50
(Hard Bracket S50 with Tap)

Hard Bracket SG50
(Hard Bracket SG50 with Tap)

Item No. SFJ-N45(SFJ-N45T) SFJ-N47(sFJN47T)
S50 Kit S50(Stainless) Kit SG50 Kit 5G50(Stainless) Kit
(S50 Kit with Tap) (S50 (Stainless) Kit with Tap (SG50 Kit with Tap) 5650 (Stainless) Kit with Tap
Item No. SFK-NAB(SFKNAaT) SFK-NABS (SFiN45P) SFK-NAT (SrNaTT) SFK-NATS (SFia7P)

HMUsable Frame ——
SF-50-50-23
SF-50-100-28

Hard Bracket SW3090
Item No. SFJN13
Hard Bracket SW3090 Kit Hard Bracket SW3090(Stainless)Kit
Item No. SFK-N13 SFK-N13S
HMUsable Frame ——
SF-30-90
X SF-60-90

Hard Bracket SG3090

HKit Contents
{Hard Bracket S3090 Kit)

@Hard Bracket S3090¢or with Tap)X1
@Hexagon Socket Bolt (M6X15)X6
@T Nut S(MB)x6
{Hard Bracket SG3090 Kit)
@Hard Bracket SG3090X1
@Hexagon Socket Bolt (M6X22)x6
@T Nut S(MB)x6
*Bolt and Nut in (Stainless)

Kit are stainless.

Hard Bracket S50

HKit Contents

{Hard Bracket S50 Kit)
@Hard Bracket S50<or with Tap)X1
@Hexagon Socket Bolt (M6X15)x4
@T Nut S(MB)x4
{Hard Bracket SG50 Kit)
@Hard Bracket SG50(or with Tap)X1
@Hexagon Socket Bolt (M6X22) x4
@T Nut S(MB)x4
#Bolt and Nut in (Stainless)

Kit are stainless.

12-7 Drilling

Please use Kit with Tap to install Side
Cover. (Refer P81 for details.)

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 180g(S3090)
409g(SG3090)

Enionment ROHS Compliant
Green Procurement

Please use Kit with Tap to install Side
Cover. (Refer P81 for details.)

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 95g(S50)
218g(SG50)

Enionment ROHS Compliant
Green Procurement

Please use Kit with Tap to install Side Cover.(Refer P81 for details.)

HKit Contents
@Hard Bracket SW3090X1
@Hexagon Socket Bolt(M6X15)X12
@T Nut S(MB)x12
*Bolt and Nut in (Stainless)
Kit are stainless.

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 3098

Eniomment ROHS Compliant
Green Procurement

SF
(]
-
o
=]
[=3
Y
=
o
Ly
=
Q
3
(]

65




SF
0
-+
Q
3
o
(Y
=
Q
i
=
o
3
(]

SF 30 SERIES

Angle Bracket S

[

Angle Bracket S

Item No. ¥SFJ-A03
Angle Bracket S Kit
(Angle Bracket S(Stainless) Kit)
Item No. ¥SFK-AO3(XsFK-A03S)

HWUsable Frame ——

// Compatible to all SF30 series
S / (Groove Width 8mm)

<«

Angle Bracket Hard S

Angle Bracket Hard S

Item No. SFJ-A15
Angle Bracket Hard S Kit
(Angle Bracket Hard S(Stainless) Kit)
Item No. SFK-A15(SFK-A158)

MUsable Frame ——
Compatible to all SF30 series
(Groove Width 8mm)

Angle Bracket S3060

Item No. ¥SFJ-A04
Angle Bracket S3060 Kit
{Angle Bracket S3060(Stainless) Kit)
Item No. ¥SFK-AO4 (XSFK-AD4S)

Parts
How to order
Item No.

66 SFJ-A03

Quantity (pcs)
[]

~M6

<>

<0

NN
&

‘0

2—7 Dirilling

S

20

‘o

o
()
ﬁy

0

HKit Contents
@Angle Bracket Hard Sx1
@Hexagon Socket Bolt(MBX12)x2
@T Nut S(MB)*2
#*Bolt and Nut in (Stainless)

Kit are stainless.

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 14g

Enionment X RoHS Compliant
*Green Procurement

2—7 Drilling,
11 Deep Spot Facing, Depth 25

HKit Contents
@Angle Bracket Hard Sx1
@Hexagon Socket Bolt(MBX12)x2
@T Nut S(MB)*2
%Bolt and Nut in (Stainless)

Kit are stainless.

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 378

Enionmet ROHS Compliant
Green Procurement

BMUsable Frame ——
Compatible to all SF30 series
(Groove Width 8mm)
#Doesn't meet with SF-35-35

o (include TF/2F;2H)SF-35-70(include 1F+2F)

HKit Contents
@Angle Bracket S3080X1
@Hexagon Socket Bolt(M6X12)x4
@T Nut S(M6)x4
#Bolt and Nut in (Stainless)

Kit are stainless.

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
358

Weight *RoHS Compliant

Enitnment % Green Procurement

@Cap for Bracket
P80




36

Angle Bracket S50/ S3090

Angle Bracket S50 Angle Bracket S3090

Item No. SFJ-AT1 SFJ-A10
Angle Bracket S50 Kit Angle Bracket S3090 Kit
(Angle Bracket S50(Stainless) Kit) (Angle Bracket S3090(Stainless) Kit)
Item No. SFK-AT1(SFK-A118) SFK-ATO(SFK-A108)

HWUsable Frame ——
i / Compatible to all SF30 series
I / (Groove Width 8mm)
“N\p! *Doesn't meet with SF-35-35
i

(include 1F/2F 2H)SF-35-70include 1F/2F).

Offset Bracket S3060

Offset Bracket S3060

Item No. SFJ-A21
Offset Bracket S3060 Kit
{Offset Bracket S3060 (Stainless) Kit)
Item No. SFK-A21 (SFK-A218)

Angle Bracket S50

HKit Contents

{Angle Bracket S50 Kit)
@Angle Bracket S50X1
@Hexagon Socket Bolt(M6X12)Xx4
@T Nut S(MB)x4
{Angle Bracket S3090 Kit)
@Angle Bracket S3090X1
@Hexagon Socket Bolt(M6x12)x6
@T Nut S(MB)x6
%Bolt and Nut in (Stainless)

Kit are stainless.

D S
AB 75

&
4

10,

B

27

4-7 Drilling 3

HWUsable Frame

_#2 Compatible to all SF30 series

% (Groove Width 8mm)

’ *Doesn't meet with SF-35-35
(include 1F/2F/2H)SF-35-70(Include TF/2F).

HKit Contents
@0ffset Bracket S3060X1
@Hexagon Socket Bolt(M6X12)x4
@T Nut S(MB)x4
#%Bolt and Nut in (Stainless)

Kit are stainless.

How to use Angle Bracket - Angle Bracket Hard - Offset Bracket S3060

Angle Bracket

@ For cross joint of frames and base fixing %

Angle Bracket Hard

Angle Bracket S3090

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 29g(S50)
60g(53090)

Enioment ROHS Compliant
Green Procurement

23

27
60

EMMaterial/Technical Data
Material ABOB3

Alumite Treatment

(Special order. Black Alumite s also available.)
Weight 42g
Environment RoHS Compliant

Offset Bracket S3060

@ For the point which is applied vertical load @ To assemble from surface

Friction Sheet M6 with Case (50pcs/Set)

Friction Sheet M6 with Case (50pcs/Set)

Item No. SFA-MO2

Dimension : 18X 18X0.6mm

EMMaterial/Technical Data

Dimension Sheet : 18X 18X0.6mm
Case :52X43X15mn

Material Sheet : Urethane Resin
Case :ABS

Weight Sheet:0.02g/pcs
Case :20.38

Envionment ROHS Compliant

SF
(7]
-
o
=
[=X
Y
=
o
m
=
Y
3
(]

67



SF
2
=
Q
=
o
Y
=
[=3
m
=
[V
3
(]

68

SF30series ] <

QC Joint S

QC Joint S(Common Parts) Round Metal Tool S
Bl
Spot Facing for M5 _ o
ey P
it TR B o o
s &
.- d
e G
) i
E F
o i
Outer Diameter ¢ 11
T
. Q)
Inside Diameter ¢ 7, Q/
HMUsable Frame ——
i i i i / Compatible to all SF30 series
; SKit | SB0Kit | SBOKit | S30Kit | SI00Kt | S120Kit i€ / (Groove Width 8mm)
I
12|32 42 7o 82 102 = #Doesn't meet with SF-35:35
: (include TF 2F/2H)SF-35-70(include 1F 2F)
QC Joint S Kit QC Joint S50 Kit QC Joint S60 Kit QC Joint S90 Kit QC Joint S100 Kit QC Joint S120 Kit
Item No. SFK-Q30A SFK-Q31A SFK-Q32A SFK-Q33A SFK-Q34A SFK-Q35A
Kit Name QC Joint Round metal tool Bolt HMMaterial/Technical Data
§ QC Joint S Kit Round metal tool S30X1 | Hexagon Socket Bolt (M5x22) StainlessX1 QC Joint S Round metal tool S
9 QcC JOfnt S50 K!t Round metal tool S50X1 | Hexagon Socket Bolt (M5x40) Sta\.messxl Material  Aluminum Die-Cast Aluminium Alloy
3 QC Joint S60 Kit QC Joint Sx1Set Round metal tool SB0X1 | Hexagon Socket Bolt (M5X50) Stainlessx 1
S QC Joint S90 Kit Round metal tool S90X1 | Hexagon Socket Bolt (M5X80) StainlessX 1 SKit S50Kit SB0Kit S90Kit S100Kit  S120Kit
® QC Joint S100 Kit Round metal tool S100%1 | Hexagon Socket Bolt (M5x90) StainlessX | Weight 15g  20g 23g 328 35¢ 42g
QC Joint S120 Kit Round metal tool S120x1 | Hexagon Socket Bolt (M5x110)Stainlessx 1 Enioment RoOHS Compliant Green Procurement

QC Joint S

(Characteristics) It's easy to set vertically and hardly make gap, because 2 frames are pulled at each other to combine. Also, you don't have to let nuts
into frame in advance, and strong fixing is possible by one bolt, so the assembly man-hour is reduced.

(How to Assemble)

Hole-Drilled Frame

DTighten
@QC Joint pulls up
another frame.
| @The strong joint
is realized.

QC Joint

(Example of Kit Selection)
@QC Joint S Kit @QC Joint S50 Kit @QC Joint S60 Kit @QC Joint S90 Kit @QC Joint S100 Kit @QC Joint S120 Kit

(For drilled hole to the direction of 30mm ) (For drilled hole to the direction of 50mm ) (For drilled hole to the direction of 60mm ) (For drilled hole to the direction of 90mm ) (For drilled hole to the direction of 100mm ) (For drilled hole to the direction of 120mm )

{Drilling)
Common in SF-30 series
/ 48
E' EE' @Drillid by SUS
$11.1 Toopine Processing Symbol P202~
Parts
How to order
Item No. Quantity (pcs)

SFK-Q30



36

TG Joint Kit 30 / Wrench Hole Cap

SF
(7))
-+
[
=
o
Q
=
o
m
=
(Y
3
[}

TG Plate 30

g
o 1 6.5
: |
3¢Hole Cover for Flat Type Frame

(For 1F,2F,2H,3F)

// EUsable Frame EMaterial/Technical Data
g SF-30-30/1F/2F/2H/3F o
TG Joint Kit 30 Wrench Hole Cap ¥ / SF-3060/1F/2H . TG Joint kit 30 Wrench Hole Cap
o SF-30-90 Material SPCC(TG Plate 30) | Polypropylene(Grey)
Item No. *SFK-206 Item No. §SFA-155 SF-60-60-2S/1F/2F . Uni-Chrome Plating
HKit Contents Weight 13g 0.2g

Enioment % RoHS Compliant

®7G Plate30x *Green Procurement

@Hexagon Socket Button Bolt (M8x20)X1

Double Joint Kit ‘ i

i  presss e | 5 o
L P
| Il 20 ] il
' MUsable Frame ——— View A
& Compatible to all SF30 series
- / (Groove Width 8mm)
/ % Doesn't mest with SF-30-30-2F‘SF-60-
60:25(or 1F/2F)SF-60:90:5F-60-120.
Doesn't meet with SF-35:35(include TF/
Double Joint Kit S30 2F/2H)SF-3570 include 1F/2F) HEMaterial/Technical Data
Material AGOOSCSS-TS
Item No. SFK-311A MKit Contents ——————————— Weight 27g
@®@Double Joint S30X1 Enionment ROHS Compliant
@T Nut S(MB)x2 Green Procurement

@Hexagon Socket Bolt (MEx22)Stainlessx2

TG Joint + Double Joint «+ KF Joint

TG, Double Joint, KF Joint are easy to set
vertically and hardly make gap, because 2
frames are pulled each other.

Also, it looks clear because the joint part
doesn't bulge outside.

.How to assemble. Refer P188~

@TG Joint Kit @ Double Joint Kit

@Drillid by SUS
Processing Symbol P202~

69



SF
(7]
Pd
[
3
Q
Q
=
o
o
=
Y
3
(]

70

8 1
M L

B e

SF30 SERIES '6'7

Blind Bracket S

Blind Bracket S

Item No. SFK-621A

EMMaterial/Technical Data

Material Aluminum Die-Cast

Weight 14.88

Enionment RoHS Compliant
Green Procurement

HEUsable Frame

Compatible to all SF30 series
p \/% (Groove Width 8mm)
i /

J

Block Bracket S Kit / Corner Block S Kit

2 Set Screws M6X8 Stainless Included.

Block Bracket S Block Cap S

M8 Tapping is needed to the section of SF30-30 (or 1F/2F).
(Refer P199 ~ for details.)

Corner Block S

Corner Cap S
¢ 14.5 Deep Spot Facing,
Deapth 0.5

*Hold the Pin edge to insert Cap.m

Block Bracket S Kit
(Black) (Light Gray)
Item No. SFK-Q12 SFK-Q12G M8 Tapping is needed to the
section of SF30-30 (or 1F/2F).
- (Refer P199~ for details.) : :
Corner Block SKit #Comer block S Kit is installable by~ TiMaterial/Technical Data
(Black) (Light Gray) Tapping Bolt as well. Block Bracket S Kit*! | Comer Block S Kit?2
Item No. SFK-Q82 SFK-062G BUsable Frame Material Znc DieCast(Bock Bracket S) | Stainless(Comer Block S)
- Polyamide(Block Cap S) | Polyamide(Comer Cap S)
Block Bracket S Kit
¢ ) Weight 53g(Block Bracket S) 71g(Comer Block 8)
8g(Block Can S) 3.28(Comer Cap S)

SF-30-30(1F/2F/3F/2H) Enionment RoHS Compliant

31 3 Hexagon Socket Button Bolt M8x%25 Included.
32 2 Hexagon Socket Button Bolt M8x%25 Included.

/ SF-30-30(Include 1F/2F)
¢ / (Corner Block S Kit)
1

"

R Bracket S RCap S

R Bracket S Kit 309

3% M8 Tapping is needed to the section of

SF30:30-R.

EMMaterial/Technical Data

R Bracket S Kit (Refer P199~ for details.) )
(Black) (Light Gray) . R Bracket S Kit*
HMUsable Frame —— Material Stainless (R Bracket S)
Item No. SFK-RO2 SFK-R02G ~n. Polyamide (R Cap S)
// SF-30-30R Weight 47g R Bracket S)
B / 6g(R Cap S)
“s / Enimet RoHS Compliant
S
3%3 Hexagon Socket Button Bolt M8x25 Included.
Parts
How to order
Item No. Quantity (pcs)

SFK-601S L]



30

Tapping Bolt S

SF
»
-~
Q
=]
o
(Y
=
o
i
=
o
3
(1]

29
5 24
b
\d
T-40
Tapping Bolt S
Item No. SFB-T30
BUsable Frame —————  HMaterial/Technical Data
SF-30-30(1F/2F/3F/2H)  Material SWCH 18A
, / SF-30-60(1F) Uni-Chrome Plating
’;.\/ SF-30-90/30-120 Weight 9g
e SF-60-60-2S(1F/2F) Eniumet ROHS Compliant
: Green Procurement
How to fix Tapping Bolt
® ®

8 Drilling (Hole for Bit)

/\‘\/
|
% —ﬂ:B%—ﬂw—n——

Fix the frame with jig etc, and screw the Put the bolt head through T slot of another Tighten by Manual tool to fix.

Tapping Bolt halfway into the end face. frame. ¥Manual tool is recommended, because the
(Temporary joint) reaction of torque up is big by using electric drill.

* In case it's too tight, please use cutting oil.

@Drillid by SUS
Processing Symbol P202~

7



awei piepuels g"

72

SF 3 0 SERIES :

Plate Bracket S

S Plate Bracket SG 5 Plate Bracket S-L Type B
w0 60 5C 5 14 2
of _J125 35 125 % J\
| =
- 4-966 I -
8| 8 N
~
& o ey |
10 28 47
t=5 g \ &7 o t=32 (=3 8
. Plate Bracket S-L Type Plate Bracket S-L Type Kit
S Plate Bracket SG S Plate Bracket SG Kit Pt B LTS, (& Bt Bkt B Tk
Item No. SFJ-1228 SFK-122S SFJ-104(sFJ-104s) SFK-104(sFK-104s)

" @Plate Bracket SGX1
Kit @Hexagon Socket Bolt(MEx12)Stainlessx4
contents @ST Nut S(M6)x4

@Plate Bracket S-Lx1
@Hexagon Socket Bolt(MEX10)x4
@T Nut S(MB)*X4

Plate Bracket S-T Type

Plate Bracket S-+ Type |,

100
4666 36 28
. 4
e
N NE
8 © <+ 3
— -
2 qfv—e -
=+ 6C5
10 80
t=82 (=3) t=82 (=3)
Plate Bracket S-T Type Plate Bracket S-T Type Kit ~ Plate Bracket S-+ T}gpe Plate Bracket S-+ Type Kit
(S Plate Bracket S-T Type) (S Plate Bracket S-T Type Kit) (S Plate Bracket -+ Type,; (S Plate Bracket -+ Type Kit)
Item No. SFJ-103(sFJ-103s) SFK-103(sFK-103s) SFJ-105(sFJ-1058) SFK-105(sFK-1058)

" @Plate Bracket S-Tx1
Kit @Hexagon Socket Bolt((MBX10)x4
contents @T Nut S(M6)x4

@Plate Bracket S-+x1
@Hexagon Socket Bolt(MEX10)x6
@T Nut S(MB)*X6

Plate Bracket S-H2

Plate Bracket S-H4

. 24
,4
s

4-¢6.6
MMaterial/Technical Data =3 =3

Name Nt Material |Environment Plate Bracket SH2  Plate Bracket SH2 Kit Plate Bracket SH4  Plate Bracket SH4 Kit
o r—— 125 | Susana ate Bracket S ate Bracket S-H2 Ki ate Bracket S ate Bracket S i
Plate Bracket 5-L 92 _|SPCC Uni-Chrome Item No. SFJ-1255 SFK-1255 SFJ-1293 SFK-1295
S Plate Bracket S-L 87 SUS304
Plate Bracket ST 106 _|SPCC Uni-Crrome it ®Plate Bracket SHax] @®Plate Bracket S-H4X1 )
S Plate Bracket ST % 3US304 | RoHS T :g$xaﬁgns%\oﬂ%<)e;280\t(!\/\6x1 0)Stainlessx2 :gixaict)ré%&%ﬁfolt(!\ﬂaﬂ 0)Stainlessx4
Plate Bracket S+ 145 |SPCC UniChrome| Compliant

Green
S Plate Bracket S+ 135 SUS304
i Procurement Corner Support Bracket S Corner Support Plate S

Plate Bracket SH2 | 29.6 SUs304 227 120
Plate Bracket SH4 | 622 | SUS304 5 2
Comer Reinforced Bracket | 200 SUS304
Comer Reinforced Plate S | 1558 SUs304

HWUsable Frame

Compatible to all SF30 series
- / (Groove Width 8mm) 2966
R / %Plate Bracket SH2/H4 doesn't B aca/ 45 _
> meet with SF-35-35(include 1F/2F/2H) =3 t=2
o SF-35-70(include 1F/2F).
Corner Support Bracket S Corner Support Bracket S Kit Corner Support Plate S Corner Support Plate S Kit
Item No. SFJ-1348 SFK-134S SFJ-1378 SFK-137S

Parts

How to order

Item No. Quantity (pcs)
SFJ-122S L]

5 @Corner Support Bracket Sx1
Kit  @Hexagon Socket Bolt(MBx10)Stainlessx2
contents @sT Nut S(M6)x2

@Corner Support Plate SX1
@Hexagon Socket Bolt(M6x10)Stainlessx4
@ST Nut S(MB)x4




36

L Bracket S (Stainless)

(-4

L Bracket S (Stainless)

Item No. SFJ-101S
L Bracket S (Stainless)Kit
Item No. SFK-1018

Hard Bracket S-DE

Hard Bracket S-DE135
{Hard Bracket S-DE135 with Tap)

Hard Bracket S-DE45
(Hard Bracket S‘DE45 with Tap)

Item No. SFJ-N33(SFJ-N3aT) SFJ-N34(SFJ-N34T)
SDE135 Kit SDE135(Stailess)Kit S-DE45 Kit S/DE45(Stainless)Kit
(SDE135 Kit with Tap) | (SOE135(Stness it vith T (S-DE45 Kit with Tap) | (SDE45(Stainess)Kitwith Tap)
Item No. SFKN33(sFk-Nam) SFK-N33S (SFiNa3P) SFKN34(SFK-A34T) SFK-N34S (sFcNadp)

Hard Bracket SS3060-DE

Hard Bracket S3060 - DE135

4-7 Drilling

Hard Bracket S3060-DE135

Hard Bracket S3060-DE45
(Hard Bracket S3060-DE45 with Tap)

Item No. SFJ-N40 SFJ-N39(SFJN39T)
SA060E136 Kit | SIB00EI (3t o So00DEABKi | SIBOTEAS Staness it
Item No. SFK-N40 SFK-N40S SFK-N39(srcAe) SFK-N39S (SFKNagP)

HWUsable Frame

Compatible to all SF30 series
; /% (Groove Width 8mm)
r:«f.\‘/
i

\

HKit Contents

@L Bracket S (Stainless)X 1
@Hexagon Socket Bolt (MEX10)Stainlessx2
@ST Nut S(MB)*x2

Hard Bracket S - DE135

HWUsable Frame —

% SF30-DE45-SF35 Series
p / 45°slant cut frame

(Refer P198)

Kit Contents

{Hard Bracket S-DE135 Kit)

@Hard Bracket SDE135orwith Tapy X1
@Hexagon Socket Bolt(MBx15)x2
T Nut S(MB)x2

(Hard Bracket S:DE45 Kit)

@Hard Bracket ‘DE45 {orwith Tepy X1

@Hexagon Socket Bolt(M6X15)x2

@7 Nut S(MB)x2

#Bolt and Nut in (Stainless)
Kit are stainless.

SF-30-60/60-60-25/
60-90/60-120Series
45°slant cut frame (Refer
P198)

HKit Contents

{Hard Bracket S3060-DE135 Kit)
@Hard Bracket S3060DE135 X1
@Hexagon Socket Bolt(M6x15)x4
@7 Nut S(MB)X4

{Hard Bracket S3060-DE45 Kit)
@Hard Bracket S3060-DE45 <or with Tap)X1
@Hexagon Socket Bolt(MBx15)x4
@T Nut S(MB)X4
#Bolt and Nut in (Stainless)

Kit are stainless.

HWUsable Frame —

05

HMaterial/Technical Data

Material SUS304

Weight 18g

Eniomen RoHS Compliant
Green Procurement

Hard Bracket S - DE45

Please use Kit with Tap to install
Side Cover. (Refer P81 for details.)

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 68g(DE135)
58g(DE45)

Enionment ROHS Compliant
Green Procurement

Hard Bracket S3060 - DE45

Please use Kit with Tap to install
Side Cover. (Refer P81 for details.)

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 185g(DE135)
158g(DE45)

Enionment ROHS Compliant
Green Procurement

SF
)
-
Q
3
Q.
o
=
o
o
=
Y
3
(]

73



SF
)
-
[
3
o
Y
=
Q
o
=
Y
3
(]

74

SF 30 SERIES :

Truss Joint S

6.6 Drilling ¢ 11 Deep Spot
Facing, Depth 21

17

RL

56

sb 246 [ ]
®

Truss Joint S

% Groove size is as same as SF-30-30

Item No.

SFJ-Jo2

HWUsable Frame

Turn Bracket 30A/ B

. HMaterial/Technical Data
// (frame 1o reinforce) Mterial Aluminium Alloy

e / (Frame to combine) Alumite Treatment
/ SF-30-4045 series installable 378

y Weight RoHS Compliant
Enionment Green Procurement

Turn Bracket 30A Turn Bracket 30B

38 38
25 25
T T
of | ml |
L D © .
] AN .
| [ (W
! 1
! 1
QO/ /0
Countersink for M8; o Countersink for M8
7

5 10,105 4.25 215 425
3966 || o [Ei—— r] 2ms |
[ B P F
[ T
of FT-o---T
:7 w8 | T] F------ j

§

15

30
30

15
T
'
L
l
|
T

e

Turn Bracket 30A

Turn Bracket 30B
HWUsable Frame

HMaterial/Technical Data

Item No. SFK-41A SFK-41B (End Surface Installation)
SF-30-30 Exclusive. Turn Bracket 30A/B#*
(Side surface Installation) Material Aluminium Alloy
TNutis M6. Alumite Treatment
Weight 33g(30A)/35g(30B)
Enionment ROHS Compliant
#30A and B each include Hexagon Socket Flat Head Cap Screw (M8x12).
How to use Truss Joint-Turn Bracket
H C Joint S
(Truss Joint S) G somt s <
Truss Joint S

Connecting Frame SF30 sgries

(SF40-45 series \

QC-Processed Frame

&

(Processing instructions P202~)

P

e

[ |

Hexagon Socket Bolt M6x12(1 6)/

\ 7 nut swme

\Tnutswme

Hexagon Socket Bolt M6X12(16)

(Turn Bracket)
(In case of installing to side and end of the Frames.)

Hexagon Socket Bolt Turn Bracket 30A 1pcs

M6x14(18) 2pcs

Connecting Frame
SF30 series

(SF40+45 series ) Hexagon Socket Bolt
M5X22 2pcs
T Nut S(L) -
M6 2pcs S Double Joint 30(SFK-3918) 1pcs

Hexagon Socket Flat Head Cap Screw M8X12 2pcs

Turn Bracket 30B 1pcs

@This product cannot be used as
supporting point of movable part.

{In case of installing to sections of the Frames.) | {In case of installing to side and end of the Frames.)

Connecting Frame SF30 series

T Nut S(L) M6 1pcy

Turn Bracket 30B 1pcs

Turn Bracket 30A 1pcs
SF30-30

SF30-30 SF30-30

Hexagon Socket Bolt M5X22 2pcs
S Double Joint 30(SFK-391S) 1pcs
Hexagon Socket Flat Head Cap Screw M8X12 2pcs

Hexagon Socket Bolt M5x22 2;:»<:s><

S Double Joint 30(SFK-391S) Tpcs

Hexagon Socket Flat Head Cap Screw M8x12 2pcs

Turn Bracket 30B 1pcs

@Use Processing Symbols written from P204~
to specify frilling for Double Joint.

Hexagon Socket Bolt
M6x14(18) 1pcs

Turn Bracket 30B 1pcs

Parts
How to order
Item No.

Quantity (pcs)
SFJ-J02 ]



'Frame Nut Adjuster| |Accessory
fDr30 for30 fDr30 for30

Bend Bracket S

Joint Bar
S140

D Brackets ~ QC Joint

Bend Bracket S

Item No. SFJVO1

HKit Contents

A

R
<«

[ (70 staight part

<

Compatible to SF-30-30 series
(1F/2F/2H/3F).

©
)

o

b

I

«

N
=
=
B
s
@
o
L,

EMaterial/Technical Data

Material Aluminium Alloy

Alumite Treatment

(Special orderBlack Alumite is available.)
Weight 332g
Enitoment RoOHS Compliant

Green Procurement

SF
()
—
Q
=]
[=3
Q
=
o
m
=
Y
3
(]

75



"o

SF30series <

Adjuster Kit

SF
(7))
P
[
3
[}
Q
=
Q.
m
=
(Y
3
o

HPlate B Adjuster HMCaster
Adjuster Plate S Adjuster Caster Plate S Adjuster M12 Caster A
Adjuster Plate S(Stainless) Adjuster Caster Plate S(Stainless) Adjuster M12(Stainless) Caster A brake attaching
p N
75 35 V125175 Caster A(Stainless) M12X1.75
1325 316 6 325 87 0 47 Driling & e Caster A with Brake 25
9 Drilling I T T 2
) © o
3 o "—‘éi "59 Diilling ¥ | = 9 junny] 8
0| < | ] < Y
o N | o Nl o 3 - o Y
N o N ¢ \o)
~— A (=]
s 5 . 5 Ramiz L 2 $
oo \4-7 Drilling ot T N% o ©
43 M12 43
122 ) =
A L&J Material
Material | Treatment |Weight Material | Treatment |Weight Treatment _|oad CapacitWeight =~ Caster A Rubber
Adjuster Plate S 02 kg | Adiuster Caster Plate § S§5400 | Uni-Chrome |) . - Adjuster M12 $5400 Caster A with Brake Rubber
Adjuster Plate S (Stainless)[SUS304 - Adjuster Caster Plate S(Stainless|SUS304| -44K8 | Adjuster M12 (Stainless| SUS304 Caster A(Stainless) Nylon
Adjuster Caster Plate 50 Adjuster M16 i Caster B 70
12 8 54
87 Driirg_ [1450 T | e 2 - -
Sy v | A
o T @ LR ! 3 8 P
N
gais 3 el 2 gm NS
| A
w| ~ 60 A ) , - o
Ql © — £ @ ! 25
- M16 ; ) | =
o oS¢ 915 2 !
« o : L, | ® o
i ? T 8 S,
96 60 — —
166 9 60
Material | Treatment |Weight Material| Treatment |.oed Capacit) Weight|  Bottom [ Material _[Load Capacity] Weight
Adjuster Caster Plate 50 | $S400 | Uni-Chrome [1.03kg Adjuster M16[SS400] Zn Black | 500ke | 386g [Neoprene rubber | Caster B Phenol Resin | 150k 340,
Adjuster Caster Plate 60 Adjuster Caster Plate 60(Stainless) Adjuster BM1 B(Stainlqss) Caster B(Stainless) @‘i‘&
125 1
9 9
12151541 30 12 _[lg1815 41 . S0 14 1 ‘ ( ol
s S o & &1 miee || N
b s T 0] A X 29Dl 14 Dees | o _%
2l LGy \eanmsom| 2 o el | 8 55
L g = i ~| ®
ol TTO \uis £ o7 - @ "\t _i_ @1 ‘ s 70
8 = Lo | 8 &5 sgD””'” ° 5 M —p . >
e e : e . I s .
o < | ~
L Lo . ¢ < @ © —
™ _(? {? \N4-M6 5\_::*$ $ & /L +J\ «
12 30 [21] 54 12 30 [185 55 4-M8 75 6
Material | Treatment _|Load Ca Material | Treatment |Loed Cepacity| Weight Material Load Capacity| Weight

ity Material [ Treatment Load Capeci
Adjuster Caster Plate 60 | SS400 1.03kg | Adjuster Caster Plate 60(Stainless|]SUS304]  [1.04kg = Adjuster BM16

(Stainless)|SUS304 Eectolic Poishng 560kg [375g = Caster B(Stainless)| Phenol Resin | 71.4kg | 285g

Item No. Name Compatible Frame Kit contents
. . . @Adjuster Plate Sx1 @Adjuster M12X1
z SFK-B03A | Level Adjuster Kit S | SF-30-30 | gy'Nut S(ME)=4 @Hexagon Socket Bolt (MEX12)x4
= Level Adjuster Kit @Adjuster Plate S(Stainless)x1 @Adjuster M12(Stainless) X1
[= - _30-
@ SFK-503S S (Stainless) SF-30-30 @ST Nut S(MB)x4 @Hexagon Socket Bolt(M6X12) Stainlessx4
@ " B @Adjuster Caster Plate 50x1 @Adjuster M16x1
= . .
1 | SFKS17 | Level Adjuster Kit 50 | SF-50-50-2S | @1 nut sve)xs @Hexagon Socket Bolt(MEX15)x8
. 5 @Adjuster Caster Plate 60x1 @Adjuster M16X1
;)_U SFK-511A | Level Adjuster Kit 60 | SF-60-60'2S | @T Nut S(MB)X8 @Hexagon Socket Bolt(MBx15)x8
= - - - - - -
@ Level Adjuster Kit A0-B0)- @Adjuster Caster Plate 60(Stainless)X1 @Adjuster BM16(Stainless)x1
SFK-511S 60 (Stainless) SF-60-60-2S | @57 Nut S(MB)x8 @Hexagon Socket Bolt(M6x15)Stainlessx8
~ ;i 20 @Adjuster Plate SX1 @Caster AX1 @Hexagon Nut(M12)x1
o | SFK-505A Caster Kit S SF30-30 | @T Nutswe)xa @Hiexagon Socket Bolt(MEX12)x4
z Caster Kit S @Adjuster Plate S(Stainless)x1 @Caster A(Stainless)x1 @Hexagon Nut(M12)Stainlessx 1
@ | SFK-505S (Stainless) SF-30-30 | @ST Nut S(ME)x4 @Hlexagon Socket Bolt(MEX12)Stainlessx4
+ ~ Caster Kit S . @®Adjuster Plate Sx1 @CasterA brake attachingx1 @Hexagon Nut(M12)x1
) SFK-506A with Brake SF-30-30 @71 Nut S(MB)x4 @®Hexagon Socket Bolt(MBx12)x4
Q Caster Kit S @Adjuster Plate S(Stainless)X1 @CasterA brake attaching(Stainless)x1 @Hexagon Nut(M12)Stainlessx 1
=3 . X ) _30-
@ | SFK-506S with Brake (Stainless) SF-30-30 @ST Nut S(MB)*x4 @Hexagon Socket Bolt(M6X12)Stainlessx4
Level Adjuster Kit 20 @Adjuster Caster Plate SX1 @Caster AX1 @Hexagon Socket Bolt(MB6X12)x4
_Jg>_' @) SFK-504A with Caster S SF-30-30 @Adjuster M12x1 @T Nut S(MB)x4 @Hexagon Nut(M12)x1
5, 8 SFK-504S Level Adjuster Kit with SF-30-30 @Adjuster Caster Plate S(Stainless)x1 @Caster A(Stainless)X1 @Hexagon Socket Bolt(M6X12)Stainlessx4
TT Caster S(Stainless) @Adjuster M12(Stainless)x1 @ST Nut S(MB)x4 @Hexagon Nut(M12)Stainlessx1
e SFK-518 Level Adjuster Kit SF-50-50-2S @Adjuster Caster Plate 50x1 @Caster BX1 @Hexagon Socket Bolt(M6X15)x8
=+ with Caster 50 @Adjuster M16X1 @T Nut S(MB)x8 @Hexagon Socket Bolt(MB6X10)x4
Level Adjuster Kit _a0-R0- @Adjuster Caster Plate 601 @Caster Bx1 @Hexagon Socket Bolt(M6x15)x8
;—? SFK-512A with Caster 60 SF-60-60-2S @Adjuster M16x1 @T Nut S(MB)x8 @Hexagon Socket Bolt(M6x10)x4
T SFK-512S Level Adjuster Kit with SF-60-60-25 | @Adiuster Caster Plate 60(Stainless)x1 @Caster B(Stainless)x1 @Hexagon Socket Bolt(M6X15)Stainlessx8
Caster 60 (Stainless) @Adjuster BM16(Stainless)x1  @STNut S(MB)*8 @Hexagon Socket Bolt(M8X10)Stainlessx4

Parts

How to order

Item No. Quantity (pcs)
76 SFK-503A [ | |



Foot Base

Foot Base 3060

Environment
*RoHS Compliant

(Material)

SF
0
-+
Y
=]
o
(Y
=
[
i
=
Y
3
o

59
14.5 30 145] 2-9 Drilling
= 14 Deep Spot Facing, Depth 8.5
o S L @ed (}
d | WNN
M12
295 29.5

N
- ke | is--e

*Green Procurement

Foot Base3060

SS400 Uni-Chrome Plating Hexagon
Socket Bolt (M8%20)Include 2 Weight/100g

WUsable Frame

Foot Base3060
(Stainless)

SUS304 Hexagon Socket Bolt (M8%20)
Include 2 Stainless Bolts Weight/101g

/ﬁ SF-3060(or 1F)
7

Foot Base 3060
(Foot Base 3060(Stainless))

Item No.

*SFK-5BAXSFI56AS)

Foot Base 60602S

4-9 Drilling

Environment
*RoHS Compliant

*Green Procurement (Material)

14 Deep Spot Facing, Depth 8.5

58
14 30 1
2 N i °
DD ®
24 | 1D
) \\i% 3
29 29 M16

o T LEAI ]

Foot Base 606023

88400 Uni-Chrome Plating Hexagon
Socket Bolt (M8%20)Include 4 Weight/257g

MUsable Frame

Foot Base 606028

SUS304 Hexagon Socket Bolt (M8%x20)

A2 SF60602S(or 1F)

Environment
*RoHS Compliant

*Green Procurement (Material)

(Stainless) Include 4 Stainless Bolts Weight/259g
Foot Base 606025
(Foot Base 60602S(Stainless))
Item No. *SFK-58AKsrics8As)
Foot Base 505028 .
135 10,10 135

50
15 10,10 15

e %
%
o
SOy

4-9 Drilling

=

14 Deep Spot Facing, Depth8.6

SS8400 Uni-Chrome Plating Hexagon
Foot Base B0502S| Soiet Bolt (M8x20)Include 4 Weight/164g

‘ MUsable Frame

g? SF-50:5025

Foot Base 505025

Item No.

* SFK-68A

77



SF
()
I~
o
=]
Q.
Q
=
o
m
=
Q
3
(]

SF 3 0 SERIES

Anchor Bracket

MUsable Frame
Compatible to all SF30 series

Anchor Bracket

(Groove Width 8mm)
#2F Frame excluded

HKit Contents

Item No. SFJ-84A
Anchor Bracket Kit S
Item No. SFK-84AS

@Anchor BracketX1
@ST Nut S(MB)X3

@Hexagon Sacket Bolt(MBX16)Stainless 3
@®MB Flat Washer (Stainless)

Anchor Plate Bracket 60602S Kit

|

| SFK-79B

6.4

HMMaterial/Technical Data

Material ABOOSCSS-TS
Weight 430 (Anchor Bracket)
Eniromment RoHS Compliant

Anchor Plate Bracket 606028 Kit

(Anchor Base 60602S)
190

55 75 515

h & 3
4-C3 4-M6 gl

gl ¢ 4
2014 | o
~ & RS 4
20 150 20

50 15 .
SMIITY_TK [E_T3ITI7

(Anchor Block 60602S)

75
Anchor Plate Bracket 60602S Kit HUsable Frame 2o 66 "
SF-60-60-25 - M
Item No. SFK-79B // :
7 ~
PSS / 266
* MMaterial/Technical Data
BKit Contents It Pt et RSt
@Anchor Base 606025x1 Material SUS304 (Base)
@Anchor Block 606025x2 2 it Tt Ao Bt
@Hexagon Socket Bolt (MEXB0)Stainlessx4 : A]Eﬂg»gwéematmmﬂm,m &
@Heragon Socket Bolt (MBx22)Stainlessx4 Weight g
@ST Nut S(MB)x4 Enioment RoHS Compliant
@Anti-Sliding Cap S Green Procurement
3 Hexagon Socket Bolt (M8x25) Stainless 4
162 Iy 4
M12 ]
ol L [=]
—2 A P I -
“—4d X
8 83 | N
N o S
= S
(14.56 4-M6 (14.56)
(54.56) 130 M) (54.56)
103(102.5) 54(55)
260
o T ! HH ! HH HH HH
Caster Plate S ' ‘ ‘ ‘ ' ' ‘
(Caster Plate S(Stainless)) EUsable Frame
Item No. *SFJ-7A2 (XsFJ-7A25) Compatible to all SF30 series
(Groove Width 8mm)
EMaterial/Technical Data
Caster Plate S Caster Plate S(Stainless)
HHow to use Material SS400 SUS304
@Adjuster M12 Uni-Chrome Plating
@Caster A Weight 900g 909g
OCaster B Enioment % RoHS Compliant

Parts
How to order
Item No.

78 SFJ-70S

@®Commercial Hanging Bolt, etc

Quantity (pcs)
L]

*Green Procurement



30{.30

Frame Cap

Material Polyamide

Weight Refer Drawing

Enioment RoHS Compliant
Green Procurement

Frame Cap 60602S
60

e
_+_ _%_
- m m Weight/12.6g

60

Frame Cap N3030
30

30

HUsable Frame

mizm Weight'24g

Frame Cap 3060
60

Il I

30

HUsable Frame

[0 s i i’ Weight/4.7g

Frame Cap 3090

Weight/9.5g

HUsable Frame

SF-30-30(or 1F/2F/3F/2H) SF-30:60.SF-30:60-1F, SF-30-90
SF Light 30-30/SF-K-30-30 SF-K-30-60%SF-30-120
Frame Cap 3030 Frame Cap 3060 Frame Cap 3090
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-033B SFA-033G SFA-005 SFA-005G SFA-013 SFA-013G

Frame Cap 6090
90
% 4 9
& &
¢@¢ ¢@¢
oL Al B B 88

Weight/19.6g

60

% Use 2 pcs for SF-30-120.

Frame Cap 60120
120

o (4
i
= f4
&

&
Y

¥ Weight/.

[}

Frame Cap 306060
30

&

o+
¥

& &3

le- + 4
60

i [ 08

of—"

60

Weight/10.0g

HUsable Frame ( HUsable Frame HUsable Frame @@ HUsable Frame @
SF-80-60(or 1F/2F) SF-60-90 SF-60:120 SF-30:60-60
Frame Cap 60602S Frame Cap 6090 Frame Cap 60120 Frame Cap 306060
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-011 SFA-011G SFA-015 SFA-015G SFA-018 SFA-018G SFA-J9B SFA-J9BG
Frame Cap 30-DE45 Frame Cap 30-DE30 Frame Cap 30-DE60 Frame Cap 5050
50 4-R2
8 |
B
‘. P . o i . " PR . Il i o
- l . | l \eight/3.2g - _H H- l ' \Weight/3.2g _H IH l - \Weight/3.2g _..‘..._....._ Weight/8.0g
MUsable Frame @ MUsable Frame @ MUsable Frame @ MUsable Frame -J@
SF-30-DE45 o9 SF-30-DE30 SF-30-DEBO SF-50-50-25%SF-50-10025
Frame Cap 30-DE45 Frame Cap 30-DE30 Frame Cap 30-DE60 Frame Cap 5050
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-J6B SFA-JBBG SFA-JBA SFA-JBAG SFA-J6C SFA-JBCG SFA-026 SFA-026G
#Use 2 pcs for SF-50-100.
Frame Cap 30-30-R Frame Casr; 3535 Frame Cap 3570
R22 70
] ]
< (|8 N
£l C {le_o
30 °
“#ﬂm Weight/2.4g m* I “ I Weight/36¢ m*j%ﬁ Weight'6.5¢
MUsable Frame @ MUsable Frame @ MUsable Frame @
SF-30-30-R o3 SF-35-35(or 1F/2F/2H) ° SF-35-70(or 1F/2F)
Frame Cap 30-30:R Frame Cap 3535 Frame Cap 3570
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-020 SFA-020G SFA-031 SFA-031G SFA-032 SFA-032G

79

SF
)
-
[
=}
o
Y
=
Q
o
=
Q
3
(v}




8
NE

SF30seres [

Frame Cap Lock Type

SF
@
Q
=]
Q
Y
=
Q
m
=
[V
3
(]

Material Polyamide(Cap). SWCHIOR(Bolt). Chromate Black Treatment or Stainless (Bolt)
Weight 3.7g(3030).5.9g(3060)
Enioment RoHS Compliant

Green Procurement

Frame Cap Lock Type N3030 (Black) *!

HMUsable Frame ——

BMUsable Frame ——
SF-30-60/SF-K-30-60

SF-30-30/8F-K-30-30

*Provided bolt enabled to lock without
Tap Processing to Frame.

Frame Cap Lock Type N3030(Light Gray)*2 Frame Cap Lock Type 3060 (Black)*3 Frame Cap Lack Type 3060(Light Gray) 4

SFK-04L SFK-04LG

%3 With Small Flat Screw with Cross Hole (M4x12) Chromate Black 34 With Small Flat Screw with Cross Hole (M4x12) Stainless

SFK-05LB SFK-05LG

31 With Small Flat Screw with Cross Hole (M4X12) Chromate Black  3¢2 With Small Flat Screw with Cross Hole (M4x12) Stainless

Item No.

D Bracket Cap S/ Hard Bracket Cap

D Bracket Cap S Hard Bracket Cap

, 3
: T
f L 3t ’\r &
D Bracket Cap S Hard Bracket Cap 80

(Black) (Light Gray) (Light Gray)
Item No. SFA-J13 SFA-J13G SFA-J11G

HMaterial/Technical Data

HMUsable Bracket

Material Polyamide

{D Bracket Cap)
D Bracket S/Black/CN
(Hard Bracket Cap)

Weight 2.1g(D Bracket Cap S)
1.8g(Hard Bracket Cap)
Enionmet ROHS Compliant

Hard Bracket S/S3060

S3090/Black Green Procurement

Slot Cap S

Slot Cap S / Slot Seal S

Slot Cap S Slot Seal S
8.5
| 8 | < 8 o
. D
\
[} (o]
1 § 5
Slot Cap S(2=2000mm/pcs) s
9
(Black) (Light Gray) (Blue) (Green) (Yellow) (Red)
Item No. SFAIE  SPAIMS  SFAIOA SFAIOM SAIN  SFAIOM " xclusive Gutter for Slot Cap and Slot Seal

Slot Seal S(£=5000mm/pcs) MMaterial/Technical Data

Slot Cap S Slot Seal S
Item No. SFA-171 Material Polyethylene  Elastomer
untmess - 25g/m 45g/m
// EUsable Frame eniement RoHS Compliant
i / Compatible to all SF30 series Green Procurement
P, / (Groove Wicth &mm)
Parts
How to order
Item No. Quantity (pcs)

80 SFK-05LB [ | |



30

Cover Holder S with Cap / Cover Support S

SF
(7))
—
Q
=]
Q.
o
=
o
o
=
Y
=)
(]

Cover Holder S with Cap Cover Support S
15.5
M5, 15 10
Depth14 ]

v

Cover Holder S with Cap Cover Support S BUsable Frame
Compatible to all SF30 series i .
Item No. *SFA-KHB ;SFJ-KOE ) / (Groove Width 8mm) EMaterial/Technical Data
™ .\/ Cover Holder S with Cap * Cover Support S
C

Cover Support S Kit over Holder S with Cap  Material Polyamide Aluminium Alloy
{(Cover Support S(Stainless)Kit) HKit contents Alumite Treatment
*SFKKO2CE @ Cover Holder S with Cap x1 (Special orderBlack Alumite
Item No. -KO2 (¥ SFK-K02s) ) )
* * @Hexagon Socket Bolt(MBx12)x2 , a0 aalele)
®7 Nut S(M)x2 Weight 4 178
@Truss Screw(M5X10)X]1 Ewromet RoHS Compliant
#%Bolt and Nut in (Stainless) Green Procurement

Kit are stainless.
#With M5 nut

Cable Clamp S/ Slot Hook S (U)+(J)

Cable S Slot Hook S Cable S Slot Hook S

2
]

U Type

20 12

Rotate 90°

20

]

|
\900
% r}h © 2 J Type
O Bandable Area i
l—l'if D)

20

42

Cable Clamp S(50pcs/pack) 4
(Black) (Light Gray) ﬂ
Item No. C1P-B04C C1P-004C )
(U Type) Slot Hook S (J Type) EMaterial/Technical Data
Cable S Slot HookS
Item No. SFK-K32u SFK-K32J Material Polyamide Polyamide (Body)

Stainless (Hook)
Weight 2g/piece 3g(U Type)-4g(J Type)-Load capacity] Bkg
Enioment RoHS Compliant
Green Procurement

HWUsable Frame—

Compatible to all SF30 series
(Groove Width 8mm)

How to fix Cover
{Indication of Cover Holder S,Cover Support S,Resin Plate Size)

0 (Resin plate)
O
L : B B
i 3N CDO\éer I—:(o\desr S -
racket S with Tap oo S
E Hard Bracket S with Tap P
F Hard Bracket S G with Tap
@Various Resin plates are available.
1 Refer P168~.
et A8

11

In case of t=5}§500mm3 In case of t=5 500mm pitch
In case of t=3(=300mm) In case of t=3 300mm pitch

@Various parts for doors are available.
Refer P140~.

Each Bracket with Tap Cover Holder 8, Cover Support § Ifthe cover thickness is 5mm,

Frame and Cover surfaces become flat.

81



"o

SF30seres [ &5

SF
(7]
-+
o
3
o
(Y
=
o
i
=
o
3
(]

Slider S

Slider S

Slider S

Item No. SFA-510

HMMaterial/Technical Data

Material Polyacetal (Gray)

Weight 9g

Enioment ROHS Compliant
Green Procurement

HWUsable Frame

HMRecommendation Bolt and Nut Installation List
Name Installation Frame Recommendation Bolt Recommendation Nut | Appropriate Tightening Torque(N-m)
Slider S SF30 series Hexagon Sacket Flat Head Cap Screw(M3x20) | T Nut S(M3) 0.7

Slot Roller S

Slot Roller S
| Resin Roller
| ] Bearin;
¥ 3 \ 1 - BUsable Frame
o
’> Compatible to all SF30 series
(Groove Width 8mm)
.
| Collar
10.6/7.8
3.7
% Smooth operation 221
is possible EMMaterial/Technical Data
because cutting Material Nylon 6 (Resin Roller)
work is done with S45C(Collar)

& Roller. Steel(Bearing)
@ - S Weight 458

Enionment RoOHS Compliant
Green Procurement

Slot Roller S #*Installation bolt size M6
s Appropriate Tightening Torgue 9.0N'm
Item No. SFK-806 #With 2 Bearings, Collar and Flat Washer.

How to use Slot Roller
(To frame's movable part) (As door roller)
Hexagon

Socket Bolt
M6X30

Cap Nut(M6)

Parts

How to order

Item No. Quantity (pcs)
82 SFA-510



SFig-5

SERIES




SF40+ 455:r:5 <

SF2-40-40

SF
(2}
-
[
=
o
[
=
[=3
o
=
Y
3
o

SF2-40-40 (2=4000) SF2-40-40 £=50~4000

Item No. SFF-422-T SFF-424-T

HMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical Ix=10.54 X 10%mm*
Moment of Inertia ly=10.54104nm*
Section Modulus - Zx=5.27 X 10°mm®
Zy=5.27 X 10°mm3
Unit Mass 1.61ke/m

SF2-40-80

~

55

Y On

1
L
nls
SF2-40-80 (£=4000) SF2-40-80 2=50~4000 :Iﬂ-)&??)

Item No. SFF-432-T SFF-434-T & /

80
40

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical IXx=72.40 X 10%mm*

Moment of Inertia =19 92 % 104mm*

Section Modulus -~ Zx=18.10 10°m*
Zy=9.96 X 10°mm®

Unit Mass 2.8kg/m

SF Frame
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3x«0rder by 0.1mm unit
Item No. Quantity (pcs) Item No. Length (mm)

84 SFF-422-T L] SFF-424-T ¢=800




5

SF-K-40-40

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment -~ RoHS Compliant
Green Procurement
Geometrical  Ix=7.5X10%m*
Moment of Inertia ly=75x 10m*

Section Modulus - Zx=3.7 X 10°mm3
Zy=3.7x10°m?
Unit Mass 1.33kg/m

SF-K-40-40 (£2=4000)

SF-K-40-40 £=50~4000

Item No.

SFF-C02-T

SFF-C04-T

SF-K-40-80

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=55.3 X 10%mm*

Moment of Inertia ly=14.4 X 10m*

Section Modulus - Zx=13.8 X 103m?
Zy=7.2x10%m3
Unit Mass 2.31kg/m

SF-K-40-80 (2=4000)

SFK-40-80 £2=50~4000

Item No.

SFF.C482-T

SFF-C484-T

SF-80-80/ SF-80-80-H

BMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment ---- RoHS Compliant Green Procurement
SF-80-80 SF-80-80-H
Geometrical [x=129.84X10%m* 1x=1825X10‘m*

Moment of Inertia ~ y=12984x10m* |y=1825x10‘m*
2x=3246X10°m®  Zx=45.6X10°m°
2y=3246X10%m°  Zy=456X10°m°

4.57kg/m 7.13kg/m

Section Modulus

Unit Mass

SF-80-80 (£=4000)

SF-80-80 £=50~4000

Item No. SFF-802-T SFF-804-T
SF-80-80-H(£=4000) SF-80-80-H £=50~4000
Item No. SFF-H82 SFF-H84

@Exclusive Nut T Nut L

<

After Nut L
Lock Nut L
Free Nut L
P95~

@Exclusive Cap

@Additional processing and surface treatment are also available.

Frame Cap
\/ P122-123

This sign shows the product is designed
for Asia region only

40

40

20
Yo}
S 10 4-R3
N~

5.5

80

2-¢10.5

4-R3 )

SF-80-80

20 40 20

80

20
612
]

LI
A
D)

40
x
s
) Lg,
F;—\
S
o
[o¢]
€
X

20
&

4-R3 20,

-
T
V.

SF-80-80-H
80
20 40 20

10Y
™~

80
40

20

<

Va

>

20

[
.

85

SF
()
-
o
=}
o
Y
=
Q
o
=
Q
3
o



SF40+ 4555 <

SF-40-160/ SF-80-160

EMMaterial/Technical Data

SF
(]
—
Q
=]
Q
o
=
o
o
=
o
E
(]

Material Aluminium Alloy gg
Alumite Treatment 3 10 4-R3
Environment -~ RoHS Compliant Y
ol ~ :‘ !
Green Procurement «
SF-40-160 SF-80-160
Geometrical ~ x=4988X10%m* [x=10008X10‘m* o
Moment of Inertia  |y=ag5x 10~ Iy=0953x 10‘n* N
Section Modulus - Zx=623X10°m® Zx=125.1 X10°m® y =
Zy=192X107m° Zy=738X10°m°
Unit Mass 5.54kg/m 10.51kg/m o Q X S @
° 4-$10.5
SF-40-160 (£=4000) SF-40-160 £=50~4000 N
Item No. SFF-4162 SFF-4164 S |
of
SF-80-160 (£=4000) SF-80-160 £=50~4000 62
SF-40-160
Item No. SFF-812 SFF-814
SF-60-60-1S
HMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical |x=49.27x 10%mm* 4R3
Moment of Inertia ly=49.27 X 10t
Section Modulus - Zx=16.42 x 103mm3
Zy=16.42 X 10%m®
Unit Mass 3.72kg/m
o
©
SF-60-60-1S (£=4000) SF-60-60-1S £=50~4000
Item No. SFF-802-T SFF-604-T
SF-80-80-1S
B Material/Technical Data
Material Aluminium Alloy 80
Alumite Treatment 20
Environment - RoHS Compliant
Green Procurement
Geometrical ~ |x=90.46 10%mn*
Moment of Inertia y=90.46 X 104t
Section Modulus - Zx=p2 62 x 103mm3
Zy=22.62x10°m*
Unit Mass 3.94kg/m
SF-80-80-1S (£=4000) SF-80-80-1S £=50~4000
Item No. SFF-822-T SFF-824-T
SF Frame .
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3xOrder by 0.1mm unit
Item No. Quantity (pcs) Item No. Length (mm)

86 SFF-4162 [J]  SFF-4164 2-800



This sign shows the product is designed
for Asia region only

SF
(7))
-
(Y
=}
o
Y
=
o
m
=
1Y
3
(]

SF2-40-40-1F

HMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical Ix=9.7 X 10%mm*
Moment of Inertia ly=9.99 X 104mm*
Section Modulus-- Zx=4.58 X 10%mm*
Zy=5.00 X 10°mm®
Unit Mass 1.53kg/m

40

SF2-40-40-1F (£=4000) SF2-40-40-1F £=50~4000

Item No. SFFE12-T SFF-E14-T

SF2-40-40-2F

B Material/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical Ix=9.72 X 10“mm*
Moment of Inertia  y—g 70 x 104mn* —~\
Section Modulus - Zx=4.81 x 10°%m° >
Zy=4.81 X 10%mm3

Unit Mass 1.49%e/m — N

9.,
$10.5 R

55 7 15

L

40
20
10
™
s
=
LD

SF2-40-40-2F (£=4000) SF2-40-40-2F £=50~4000

Item No. SFF-F12-T SFF-F14-T

SF2-40-40-3F / SF2-40-40-2H sra0405r

Y

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

SF2-40-40-3F SF2-40-40-2H
Geometrical  k=101X10m¢ k=1015X 10" = ]
Moment of Inertia =050 104m Iy=1055x 10 %4
Section Modulus - Zx=500X10%m° Zx=508X 10°m® $10.5 \3
2y=526X10%m° Zy=528X 10%m°
Unit Mass 155kg/m  157kg/m SF-40-40-2H
40
20
0 w 10
SF2-40-40-3F (£=4000) SF2-40-40-3F £=50~4000 0 ALY
%
Item No. SFF-FF12-T SFF-FF14-T ~ § g\ 25
Qe x 71
SF2-40-40-2H( 2=4000) SF2-40-40-2H 2=50~4000 JSJ

Item No. SFF-FH12-T SFF-FH14-T —ﬁl

@Exclusive Nut T Nut L @Exclusive Cap @Additional processing an surface treatment are also ava_i[able.

(il INE L Frame Cap . ; &
\ lIEEeC;I{I\‘LLJJttLL \/ P122-123 - -~
End Face Tapping

P95~

¢

oo [



SF
()
—
[
=}
o
o
=
o
m
=
Y
3
()

SF40+ 4555

SF2-40-80-1F

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=71.00x 10nm*

Moment of Inertia  |y=p0 35 x 104mm*
Zx=17.75X10°%m?
Zy=10.16x10°%m?

2.82kg/m

Section Modulus

Unit Mass

SF2-40-80-1F (£=4000)

SF2-40-80-1F £=50~4000

Item No.

SFF-4E82-T

SFF-4E84-T

SF-40-80-80

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical 1x=94.15 X 10nm*

Moment of Inertia  |y=04,15 x 104mn*
Zx=20.53 % 10°m°
Zy=20.53 % 10°m°

4.19kg/m

Section Modulus

Unit Mass

SF-40-80-80 (£=4000)

SF-40-80-80 £=50~4000

Item No.

SFF-G22

SFF-G24

SF-40-40-R

BMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Xx=7.82x10%mm*

Moment of Inertia  |y—7 8o % 104mm¢
Zx=353x10°m?
Zy=353 X 10%mm3
1.53kg/m

Section Modulus

Unit Mass

SF-40-40-R (£=4000)

SF-40-40-R £=50~4000

Item No.

SFF-R72

SFF-R74

88

SF Frame

Standard (£=4000) (Cut by customer)

Item No.

SFF-4E82-T

Quantity (pcs) Item No.

5-R3

M8

80
40

20
T
o
cT
)

80

20

7§
= [N
o |o
<

L0

40

é,v&‘
20

3-¢105

/s

20

%5

2-R1

]  SFF-4E84-T

20 40 20
80
¢85
o
<
~
n
10 0
20
R3
40

In case of specifying the length (Cut by SUS) xOrder by 0.1mm unit
Length (mm)

£=800



i

SF-40-DE45

This sign shows the product is designed
for Asia region only

SF
)
-
Q
3
Q
Y
=
o
m
=
Q
3
(]

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment -~ RoHS Compliant
Green Procurement

Geometrical 1x=9.87 X 10%mm*

Moment of Inertia
Section Modulus

Unit Mass

ly=10.37 X 10%mm*
Zx=38.59 X 10°mm3
Zy=3.99 X 10°mm®
1.83ke/m

SF-40-DE45 (£=4000)

SF-40-DE45 £=50~4000

Item No.

SFF-J72B

SFF-J74B

SF-40-DE30

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment -~ RoHS Compliant
Green Procurement

Geometrical IX=9.89 X 10°mm*

Moment of Inertia
Section Modulus

Unit Mass

ly=10.64 X 10%mm*
Zx=3.73%10°m?
Zy=4.20X10°m?
1.88kg/m

SF-40-DE30 ( £=4000)

SF-40-DE30 £=50~4000

37.32

§
8 B
I
IS}
=

Item No. SFF-J72A

SFF-J74A 20

SF-40-DE60

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment -~ RoHS Compliant
Green Procurement
Geometrical 1x=9.99 X 10*mm*
Moment of Inertia ly=10.53X 10%mm*
Section Modulus - Zx=3.74 X 10%mm? S/ 97
—

Zy=4.14X10%mm3

Unit Mass 1.84kg/m
K~
SF-40-DE60 ( 2=4000) SF-40-DE60  2=50~4000 S
6R3 19 [lea
Item No. SFF-J72C SFF-J74C 20
20
40

@Exclusive Nut T Nut L
After Nut L

@\ Lock Nut L
\/ Free Nut L

P95~

@Exclusive Cap

Frame Cap
\/ P122-123

37.32

End Face Tapping

89



SF40 4555 <

SF2-45-45

SF
(]
f~d
Q
3
Q
Y
=
Q
o
=
o
=
(]

|y
g

Lfﬂ
&7

] P PR,
<
(AL ‘ \_IN]
& \( i J
‘b/ 9125

SF2-45-45 (2=4000) SF2-45:45 £=50~4000

Item No. SFF-442-T SFF-444-T

EMMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant

Green Procurement
Geometrical Ix=15.28 X 10*mm*

Moment of Inertia  |y=15 08 x 104mn*

Section Modulus - Zx=6.79 X 10°mm*

Zy=6.79 X 10°m*
Unit Mass 1.92kg/m

SF2-45-90

2-9125
SF2-45-90 (£=4000) SF2-45-90 £=50~4000
Item No. SFF-472-T SFF-474-T
EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical Ix=129.24 X 10°mm*
Moment of Inertia =33 32 x 104mm*
Section Modulus - Zx=28.72 X 10°mm?
Zy=14.81x10°mm?
Unit Mass 3.87kg/m
SF Frame .
Standard (¢=4000) (Cut by customer) In case of specifying the length (Cut by SUS) xOrder by 0.1mm unit
Item No. Quantity (pcs) Item No. Length (mm)

90 SFF-442-T [JU]  SFF-444-T  2-800



I:I This sign shows the product is designed
for Asia region only

SF
(7))
f~d
Q
=
Q.
Y
=
o
o
=
Y
3
()

SF-K+-45-45

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=11.73x10mm*

Moment of Inertia =17 73 10%mm*
Section Modulus: - Zx=5.21 X 10°m*
Zy=5.21x10%m*
Unit Mass 1.70kg/m
SF-K-45-45 (£=4000) SFK-45-45 £=50~4000
Item No. SFF-BO2-T SFF-BO4-T
¢125
SF-K-45-90
i 45
HEMaterial/Technical Data 4-R3 20
Material Aluminium Alloy 0
Alumite Treatment \ )&4 0
Environment - RoHS Compliant =1 BV =)
Green Procurement ) | ~ @
Geometrical I1x=87.16 X 10mm* j 1 ( o N
Moment of Inertia  y=po 87 104mm* qe,\s;]
Section Modulus - Zx=19.37 X 10°m? _LJ&‘
Zy=10.16X 10%mm® 5]
Unit Mass 2.98kg/m « ‘ | 2 ol o
< [}
SF-K-45-90 (£=4000) SFK:45-90 2=50~4000 e“ o
o
Item No. SFF-B492-T SFF-B494-T tl o
2-$125
SF-90-90
EMMaterial/Technical Data S0
Material Aluminium Alloy 4-R3 20
. Alumite TreaFment o 101 o v
Environment - RoHS Compliant = a
Green Procurement ~ e
Geometrical Ix=209.2x 10%mm* ("‘- -— -—
Moment of Inertia ly=209.2104mm*
Section Modulus - Zx=46.5x10%mm3 8¢ x ;
Zy=46.5x10°mm?
Unit Mass 5.8kg/m r— - --
) 4-96.8
L 45
SF-90-90 ( 2=4000) SF-90-90 £=50~4000
Item No. SFF-902 SFF-904
@Exclusive Nut T Nut L @Exclusive Cap @Additional processing and surface treatment are also available.

After Nut L
S5, Lock NutL HES OFE
\@/ pock fut - < P122.123

P95~

B3 |,




SF
()
—
o
=}
Q.
Y
=
Q
m
=
o
3
(]

SF40+ 4555 <

SF2-45-45-1F

EMMaterial/Technical Data 45
Material Aluminium Alloy
) 6 7 Yy @
Alumite Treatment -
Environment -~ RoHS Compliant 7 N
Green Procurement (
Geometrical Ix=13.94 X 10*mm* -
Morment of Inertia ~ y—1477  10mn¢ 7; ﬂ
Section Modulus - Zx=5.97 X 10%m? 9 gl o & J?
Zy=653% 10°mn° " < _{:\5 uf
Unit Mass 1.83kg/m —LL—
. § ﬂ
\
SF2-45-45-1F (£=4000) SF2-45:45-1F £=50~4000
9125 7%
Item No. SFF-4J2-T SFF-444-T
SF2-45-45-2F
HMaterial/Technical Data 45
Material Aluminium Alloy 6 7 vy @
Alumite Treatment -
Environment -~ RoHS Compliant 7 N
Green Procurement J D
Geometrical Ix=14.14 X 10mm* Wiy
Moment of Inertia  y—14 14 x 104mm* N 15
. _ <
Section Modulus - Zx=6.15X 10me2 2/ ¢ X +
Zy=6.15X10%mm ’\5
Unit Mass 1.78kg/m _IA—
3.5
\
SF2-45-45-2F (£=4000) SF2-45-45-2F £=50~4000 <
$12.5 L5
Item No. SFF-4K2-T SFF-4K4-T
- [ ] [ ]
SF2-45-90-1F 45
EMaterial/Technical Data 67 v
Material Aluminium Alloy =T
Alumite Treatment K
. . R1
Environment - RoHS Compliant Cg
Green Procurement olo SN
Geometrical Ix=117.53 X 10%mm* N= \ g\:g
Moment of Inertia ly=32.08 X 104mm* _)i <,~
Section Modulus - Zx=26.12 X 10°mm° 35,3 3
Zy=14.07x10%m° QT x
Unit Mass 361kg/m 8
_— :?_
SF2-45-90-1F (2=4000) SF2-45-90-1F 2=50~4000 ‘ﬂ
Item No. SFFEF2-T SFFEFA-T 50125 %0
SF-45-45-R
EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment -~ RoHS Compliant
Green Procurement
Geometrical Ix=11.33x 10*mm*
Moment of Inertia  |y=11 33 x 104mm* 9
Section Modulus - Zx=4.52 X 10°mm3
Zy=4.52 X 10°mm?
Unit Mass 1.79kg/m
2-R1 10
20 \ R3
SF-45-45-R( £=4000) SF-45-45-R £=50~4000 45
Item No. SFF-R82 SFF-R84
SF Frame o
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) xOrder by 0.1mm unit
Item No. Quantity (pcs) Item No. Length (mm)

92 SFF-4J2-T (1]~ SFF-4J4-T 2-800



EE

SF-45-180

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical [x=804.81X 104m*

Moment of Inertia |y =50 75 x 104mm*
Zx=89.42X10%m?
Zy=27 X 10%m°3

7.12kg/m

Section Modulus

Unit Mass

SF-45-180 (2=4000)

SF-45-180 £=50~4000

Item No.

SFF-4182

SFF-4184

SF-45-90-90

This sign shows the product is designed
for Asia region only

EMMaterial/Technical Data 45
Material Aluminium Alloy
Alumite Treatment 5-R3 20
Environment - RoHS Compliant 10 Y
<>}
Green Procurement © —
Geometrical Ix=149.53 X 10*mm* RINN LJ Ija
Moment of Inertia ly=149.53 X 10‘nm* g | 1
Section Modulus - Zx=28.83 X 10°mm* ]?_./?
Zy=28.83 X 10°mm* —LJ&‘ ] 3-910.5
Unit Mass 5.55kg/m [
1 Nl
il 2 a4 Bl
SF-45-90-90 (2=4000) SF-45-90-90 @=50~4000 o _LJ&"\S N
o
Item No. SFF.G32 SFF-G34 « Dq? ® L|_ ]
)
225 45 225
90
How to use Frame
(SF-40-80-80) (SF-45-45-1F) (SF-40-DE30) (SF-45-DE30)
(SF-45-90-90) (SF-45-45-2F) (SF-40-DE45) (SF-45-DE45)
(SF-40-DE60) (SF-45-DE60)
? 9F40-40 SF-45-45-2F
SF-45-45-2F
/ SF-40-DE45
SF-40-80 SF-45-45-1F (SF-45-DE45)
(SF-45-90.

SF-40-80-80
(SF-45-90-90)

@As the reinforcing Frame at corner,
or to ensure space inside

@For the clean environment without
groove on Frame externally

@Many variations to construct
angles other than 90°

@Exclusive Nut T Nut L

After Nut L
@ Lock Nut L

Free Nut L
P95~

@Exclusive Cap

*

Frame Cap
P122:123

SF
)
-
Q
=
Q
Y
=
[
m
=
Q
3
(]




SF40+ 4555 <

SF-45-DE45

SF
(7]
—
Q
=
o
Y
=
o
o
=
o
3
(1]

EMaterial/Technical Data
Material Aluminium Alloy 38.41

Alumite Treatment
Environment -+ RoHS Compliant
Green Procurement s
Geometrical Ix=14.78 X 10%mm*
Moment of Inertia ly=15.49X 10%mm* e?')
Section Modulus - Zx=4.72 X 10°mm® $
Zy=5.36 X 10°mm°
Unit Mass 2.22kg/m
<
a0
™
SF-45:-DE45 (2=4000) SF-45-DE45 £=50~4000
Item No. SFF-J82B SFF-J84B
SF-45-DE30
BMMaterial/Technical Data
Material Aluminium Alloy 33.75
Alumite Treatment
Environment - RoHS Compliant
; Green Procurement $12.5
Geometrical Ix=14.91 X 10*nm*
Moment of Inertia  |y=15 95 x 104mn*
Section Modulus - Zx=4.95 X 10°mm*
Zy=5.70X10°mm®
Unit Mass 2.30kg/m (:?
o)}
2
0 <
o
SF-45-DE30 (2=4000) SF-45-DE30 £=50~4000 N
Item No. SFF-J82A SFF-JB4A 6-R3
SF-45-DE60
EMMaterial/Technical Data 41.99
Material Aluminium Alloy
Alumite Treatment
Environment -~ RoHS Compliant
Green Procurement
Geometrical Ix=14.94 X 10nm*
Moment of Inertia =15 93 x 104mm* o
Section Modulus - Zx=4.86 X 10%mm? S
Zy=5.78x10°m¢ 9 2
Unit Mass 2.26kg/m Q
[to) 0
N ~
SF-45-DEBO (2=4000) SF-45-DEBO0  £=50~4000 8
10|
Item No. SFF-J82C SFF-J84C 6-R3 &j \@
225
45
SF Frame o
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3xOrder by 0.1mm unit
ltem No. Quantity (pcs) Item No. Length (mm)

94 SFF-J82B (] SFF-J84B 1-800



EE

T Nut L(M3%) / Anti-Skid Cap L40/ L45

SF
(2]
-+
Q
=}
Q.
Y
=
o
i
=
Y
3
(]

T Nut L(M3%)
17
| 85
I
- ]
3
o ~
\
‘ M
Anti-Skid Cap
(for T Nut L)
= ka3
¥ |‘- vE
T Nut L(M8) T Nut L(MB) T Nut L(M5) T Nut L(M4) :" .| Pl
(ST Nut L(M8) (ST Nut L(M6) ) (ST Nut L(M5) ) (ST Nut L(M4) ) i 1 = [:_ N
il —r ol L - i
Item No. SFB-004(sFN-TL8)  SFB-003(SFN-TL6)  SFB-008(SFN-TL5)  SFB-007(SFN-TL4) o
- i 1] o
Anti-Skid Cap L40 Anti-Skid Cap L45 - \-)l =1 |- T. o ‘i
(50pcs/pack) (50pcs/pack) -
Item No. SFA-957 SFA-958 MMaterial/Technical Data
T NutL ST Nut L Anti-Skid Cap
HWUsable Frame Material ~ Equivalent  Stainless POM Black (L40)
S Compatible to all SFAQ and 45 series to S10C With Conductive  POM Gray (L45)
EQ (Groove Width 10mm) Uni-Chrome Function 0.2g/piece(L40)
>3 Weight  14g 14g 0.2g/piece(L45)

Environment RoHS Compliant Green Procurement

ST Nut Stopper L

i
e
’c\’l v’: O__

e
{

10.7

HWUsable Frame

ST Nut Stopper L ST Nut Stopper L ST Nut Stopper L . Compatible to all 8740 and 45 serie
(m8) () (m8s) o (Groove Width 10mm) 2.5 (M6)
‘oY 12.5g (M6)
Item No. SFN-SL8 SFN-SL6 SFN-SL5
ST Nut St L ST Nut St L EMaterial/Technical Data
u(M4c))pper u(Mst;pper Material ~ Stainless With Conductive Function
Weight  11.88 (M8) 12.8g (M5)
Item No. SFN-SL4 SFN-SL3 13.6g (M4) 13.5g (M3)
Environment RoHS Compliant

Easy Nut L(M3¢)

20
8 8.5

98 ‘

14.6

G
| D

#One-Touch to insert 05
later and Anti-Skid eﬂ% M

as well.
HMUsable Frame
Easy NutL Easy NutL Easy NutL EasyNutL Easy NutL ,\.' ?g?;%?/gbﬁéghargnﬁﬁ? and 45 series
(m8) (M6) (M5) (M4) (M3) ‘>¥
Item No. SFB-PN24 SFB-PN23 SFB-PN22 SFB-PN21 SFB-PN20
MMaterial/Technical Data
S Easy Nut L S Easy NutL S Easy Nut L S Easy Nut L S Easy Nut L _ EasyNutl S Easy Nut L
(m8) (M8B) (M5) (M4) (M3) Material ~ Equivalent to S10C Stainless
Stainless Stainless Stainless Stainless Stainless Uni-Chrome plating With Conductive
Weight 108g/piece
Item No. SFN-EL8 SFN-EL6 SFN-ELS SFN-EL4 SFN-EL3 Environment RoHS Compliant Green Procurement

@Additional processing _and surface treatment are also available.

@Exclusive Nut T Nut L @Exclusive Cap
After Nut L Frame Cap

S =l P

P95~ =



SF40 4555 <

After Nut L(M3%) / After Nut Support L

& After Nut L(M3) After Nut Support L
(for After Nut and Lock Nut )

SF
()
-
o
=}
Q
Y
=
Q
o
=
Q
3
(v}

| os 20
10
2 \
23 0
% Using After Nut Support together ; 3 s k{
prevents from slipping. C C
M
After Nut L(M8) ~ After Nut L(MB)  After Nut L(M5)  After Nut L(M4)
(S After NutL(M8) ) (S After NutL(MB) ) (S After Nut L(M5) ) (S After Nut L(M4) ) BUsable Frame
. Compat‘\ble. to all SF40 and 45 series
Item No. SFB-628(sFN-AL8) SFB-B26(SFN-ALG) SFB-B25(SFN-ALS) SFB-B24(SFN-AL4) 2 (Groove Width 10mm)
After Nut Support L(50pcs/pack) MMaterial/Technical Data
After Nut L SAfter Nut L After Nut Support L
Item No. SFA-9A3 Material Equivalent to Stainless PP Resin
With Conductive
Uni-Chrome Function
Weight 10g 10g 0.3g/piece

Environment RoHS Compliant Green Procurement

Lock Nut L(M3%)

Lock Nut L(M3%)

20
85 _ 8 3.5
1
% You can fix nut and
conduct electricity by © . é%_ With M4
tightening attached Set A Set Screw
Screw. M -
Lock NutL(M8)  Lock NutL(MB)  Lock NutL(M5)  Lock Nut L(M4)
(S Lock Nut L(M8)) (S Lock Nut L(M8B)) (S Lock Nut L(M5)) (S Lock Nut L(M4)) WUsable Frame
Item No. *SFB-4A8<¥SFN-LL8) *SFB-4A6<¥SFN-LL5> *SFB4A5<§5FN-LL5> *SFB-4A4<§5FN-LL4> Compatible to all SF40 and 45 series
(Groove Width 10mm)
EMMaterial/Technical Data
Lock Nut L S Lock Nut L
Material Equivalent to Stainless
S10C With Conductive
Uni-Chrome Function
Weight 10g 108

Environment % RoHS Compliant *Green Procurement

S Free Nut L(M3%)

S Free Nut L(M3x%)
8.5

ov

S Free Nut L(M8) S Free NutL(MB) S Free NutL(M5) S Free Nut L(M4) m+’_ P

Item No. SFN-FL8 SFN-FL6 SFN-FL5 SFN-FL4

EUsable Frame

. Compatible to all SF40 and 45 series
Q) (Groove Width 10mm)

‘>¥

EMMaterial/Technical Data
Material Stainless
With Conductive
Function
Weight 78
Enionment RoHS Compliant Green Procurement

Parts
How to order
Item No. Quantity (pcs)

SFB-628

96




i

Free Nut with Headless Bolt L(M6)

SF
)
——
[
3
o
Y
=
o
o
=
Q
3
()

Free Nut with Headless Bolt L(M8)

P

Free Nut with Headless Bolt L(M6)

Item No. XSFN-NLG
HWUsable Frame MMaterial/Technical Data
N Compatible to all SF40 and 45 series  Material Stainless
T / (Groove Width 10mm) With Conductive Function

- Weight 12g
Enionment eRoHS Compliant % Green Procurement

Double Round Nut L40/L45 / Double Joint L40/L45

Double Round Nut L40 Double Joint L40

2

< 29 - 39 4
25 t -

| LY ¥

Double Round Nut L45 Double Joint L45

° 44
\S) 34
i I . —*
=

PR 1 : i ;
<§§; 1O~ O -
Double Round Nut L40 Double Round Nut L45 L/ | 1 BTl
I 2m6/ Yig
Item No. SFJ-2518 SFJ-2525
Double Joint L40 Double Joint L45
HMMaterial/Technical Data
Item No. SFJ-317A SFJ-318A Double Round Nut L40/L45 Double Joint L40/L45
Materil SUS304 AB005CSS-T5
HWUsable Frame — 362 (Double Round Nut L40) 10.6g(Double Joint L40)

.- SF-40-40, SF-40-80, SF-40-120,  Weight 55g(Double Round Nut L45) 12.7 g(Double Joint L45)
vg/ SF-45:45, SF-45:90, SF-45-180  Enimment RoHS Compliant Green Procurement

Joint Bar L200

° 200
15, 70 . 30 70 15
00
5 ] - |
= Eo) o _© o
4-M8
Joint Bar L200 Joint Bar L200 Kit
HKit contents
*SFJ- *SFK-
Item No. SFJ-607 Item No. SFK-607 @Joint Bar L200x]
@Set screw(M8x10) x4
HWUsable Frame av Technical B
: " terial/Technical Data
S Compatible to all SF40 and 45 series a
V (Groove Width 10mm) Material Equivalent to S10C
>3 Uni-Chrome plating
Weight 171g

Environment xRoHS Compliant *Green Procurement

97



SF40+ 4555 <

Loctite Locknut

T Nut L(M8)B B=EYANTIAN(Y5)]:] After Nut L(M8)B MMaterial/Technical Data

SF
()
-
[
3
o
[
=
o
o
=
o
3
(]

TNutL Easy Nut L After Nut L
Material| Equivalent to S10C| Equivalent to S10C| Equivalent to S10C

Uni-Chrome Plating | Uni-Chrome Plating | Uni-Chrome Plating

Stainless Stainless Stainless

With Conductive Function | ~ With Conductive Function | - With Conductive Function
Weight| 8g 10g (UniChrome Pating)| 7

Bg(Stainless)

Lock Nut L S Free Nut L ST Nut Stopper L
Material| Equivalent to S10C| Stainless Stainless

Uni-Chrome Plating | With Conductive Function | - With Conductive Function

Lock Nut L(M8)B ST Nut Stopper L(M8)B Stainless

With Conductive Function

Weight| 78 4g 12.5¢g

Environment RoHS Compliant

% The inner part of the tap is coated with an anti-loosening agent.

TNutL Easy Nut L After Nut L

17 20
I 8 20
_)Ig(_ 8.5 @ 10
T ! j | A
= © ~ y
i EElEE E==
I | |
! M 05 M M
T Nut L(M8)B with Loctite Easy Nut L(M8)B with Loctite After Nut L(M8)B with Loctite
(ST Nut L(M8)B with Loctite) (S Easy Nut L(M8)B with Loctite) (S After Nut L(M8)B with Loctite)
Item No. SFB-804(SFB-805) SFB-808(SFB-809) SFB-812(SFB-813)
Lock Nut L S Free Nut L ST Nut Stopper L
3 18

85 8 3.5

(0
L85 |

() -@ M4 witn
M S set screw | RN
10.7
Lock Nut L(VS)B with Loctite S Free Nut L(M8)B with Loctite ST Nut Stopper L(M8)B with Loctite
Item No. SFB-816(sFB:817) SFB-819 SFB-821

Parts
How to order
Item No. Quantity (pcs)

SFB-804

98



D Bracket L-CN
(D Bracket L-CN with Tap)

D Bracket L
(D Bracket L with Tap)

XSFJ013NCEsFI014N)

D Bracket L

Item No. XSFJ013(Ksru014)
D Bracket L Kit D Bracket L(Stainless)Kit D Bracket L-CN Kit
(D Bracket L Kit with Tap) {D Bracket L with Tap (Stainless) Kit) (D Bracket L-CN Kit with Tap)
Item No. XSFK-013¢ksr014)  XSFK-013S(Ksri014s)  XSFK-013N(XsFK-014N)

HWUsable Frame

Compatible to all SF40 and 45 series
(Groove Width 10mm)

@Setting to bottom of D Bracket

surface

D Bracket Flat L
(D Bracket Flat L with Tap)

Item No. SFJ-041(sFJ-042)
D Bracket Flat L Kit D Bracket Flat L Kit (Stainless)
(D Bracket Flat L with Tap Kit) (D Bracket Flat L with Tap Kit (Stainless))
Item No. SFK-041 (sFK-042) SFK-041S(sFKk-042s)

HWUsable Frame

Compatible to all SF40 and 45 series
(Groove Width 10mm)

HWUsable Frame

enables to fix on a flat base. Sou Compatible to all SF40 and 45 series
p; (Groove Width 10mm)

] e Since there is no projection,
it can be flush fitted to a flat /

D Bracket L with Tap

@®Cap

ey

’/P123

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@D Bracket L{or with Tap)X 1

@Hexagon Socket Bolt(M8x20) X 2

@T Nut (M8)x2

#*Bolt and Nut in CN (Stainless)
Kit are stainless.

EMaterial/Technical Data
Material Aluminum Die-Cast
(CN:Electroless Nickel Plating)
With Anti-Skid Function
Weight 54g(D Bracket L)
53g (D Bracket L with Tap)
Enionment % ROHS Compliant
*Green Procurement

D Bracket Spacer L

Item No.

SFJ-4028

EMaterial/Technical Data

Material SUS304

Weight 22g

Environment RoHS Compliant
Green Procurement

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

There is no projection
for this part.

for this part.

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents
@D Bracket Flat L{or with Tap)X1
@Hexagon Socket Bolt M8X20 (Trivalent Chromate) X2
OT Nut L (M8)x2
*Bolt and Nut in (Stainless)

Kit are stainless.

HMaterial/Technical Data

Material Aluminum Die-Cast
(ADC-12)

Weight 105g (D Bracket Flat L)
104¢ (D Bracket Flat L with Tap)

Environment RoHS Compliant

SF
()
-
o
=}
Q.
Y
=
o
o
=
1Y
3
(0]

99



SF I@l
(7))
)
= .
: F 4 4 SERIES N
2
o
m
=
o
E
(]
®Frames can be mounted orthogonally
If frame A is the 45 series, please mount the side with the 45 mark to frame A 3
If frame A is the 40 series, please mount the side with the 40 mark to frame A g ®
ol
Frame A
& 2
When crossing the frames, use the inner part of the hole for frame A, T
and the outer part of the hole for frame B =§‘
=
D Bracket Cross L “'l
Item No. SFJ-052 <
D Bracket Cross L Kit D Bracket Cross L Kit (Stainless)
HKit Contents ———
Item No. SFK-052 SFK-052S i i
@D Bracket Cross L X1 IMatferlaI/T echnical Data
@Hexagon Socket Boit MBX20 (Trivalent Chromate) 2 Material Aluminum Die-Cast
HWUsable Frame ®T Nut L (M8)x2 (ADC-12)
. %Bolt and Nut in (Stainl i
. Compatible to all SF40 and 45 series K'\i afgstaiumégs( ainless) Wg|ght siel5 @ Bracke.t Crassil)
'./ (Groove Width 10mm) . Environment RoHS Compliant
>

<)

D BraCket 4080 / 4590 D Bracket 4080 .D Bracket 4590

2-M5 Depth 7 \\

With Tap

() is D Bracket 4590 size.

DBracket4080 ppraoretaggocy D Brecket 4590 BUsable Frame ——
(4080 with Tap) {4590 with Tap) o SF-40-80/1F, SF-80-80/H
F-45-90/1F, SF-90-90/H
Item No. SFJ-022(sFJ-022T) SFJ-022N SFJ-023(sF.-0231) !4/ SF-4590 SF-9090
HKit Contents
4080 Kit ; 4590 Kit )
ookt e FOBOCNKIL hogiuits Tap f’ Bfa"keég‘éoao Kit) MMaterial/Technical Data
D Bracket 4( or with Tap)X 1
D Bracket 4080 D Bracket 4590
g g g g g @Hexagon Socket Bolt (M8x20) x4
Item No. SFk022(sr022r) SFk022N SFK-023(sr02am) o Nu{g L(M8)X4 Material Aluminum Die-Cast(ADC-12)  Aluminum Die-Cast(ADC-12)
D Bracket 4590 Kit, With Anti-Skid Function With Anti-Skid Function
D Bracket 4080(Stainless) Kit D Bracket 4590(Stainiess) Kit o s o]
(D Bracket 4080 with Tap (Stainless) Kit) (D Bracket 4590 with Tap (Stainless) Kit) @Hexagon Socket Bolt (MBX20) X 4 Weight 168 180g
Item No. SFK-022S(SFK.022F) SFK-023S(SFK.023F) T NutL{g)x4 Enioment RoHS Compliant Green Procurement

D Bracket LW

6-48.3 8.5 1.3
1)
Jp—— o
& e
: | ]
<t o
)4 g o
1] =]
\L o | p=, mt’_h i o ﬁ
15 T 9.5
30 2 —T-| 95 15 112 2-M5 (Both Sides)
40 20 (When <Tap
79 included>)
D Bracket LW
(D Bracket LW with Tap)
Item No. SFJ-025 (SFJ-025T)
Please use Kit with Tap to install Side Cover. (Refer P125 for details.)
D Bracket LW Kit D Bracket LW Kit (Stainless) .
h ] HKit Contents
(D Bracket LW with Tap Kit) {D Bracket LW with Tap Kit (Stainless)) : ¢
@D Bracket LW(or vith Tap)x1  MMaterial/Technical Data
Item No. SFK-025 (SFK-025T) SFK-025S (SFK-025P) @Hexagon Sacket Bolt MBx20 (Trivalent Chrome Plating) x4 Material Aluminum Die-Cast (ADC-12)
@®TNut L(\M8) With Rotation-Prevention Function
*#Bolt and Nutin (Stainless) Weight 115g (D Bracket LW)
Kit are stainless. Environment RoHS Compliant
Parts
How to order
Item No. Quantity (pcs)

SFJ-047 L]



EDED

D Bracket LWHG

D Bracket LWHG
Item No. SFJ-026
D Bracket LWHG Kit D Bracket LWHG Kit (Stainless)
Item No. SFK-026 SFK-026S

Hard Bracket L

Hard Bracket L
(Hard Bracket L with Tap)

Item No. XSFU-NO5FsranosT)
Hard Bracket L Kit Hard Bracket L(Stainless)Kit
(Hard Bracket L Kit with Tap) {Hard Bracket L with Tap (Stainless) Kit)
Item No. ¥SFK-NO5 (ksk-N0ST) XSFK-NO5S (§sFk-N0SP)

MUsable Frame
Compatible to all SF40 and 45 series

Mg :
_.;/ (Groove Width 10mm)

Hard Bracket LG

&
@
Hard Bracket L
(Hard Bracket LG with Tap)
Item No. XSFJ-N29 ¥srnaem)
Hard Bracket LG Kit Hard Bracket LG(Stainless)Kit
(Hard Bracket LG with Tap Kit) (Hard Bracket LG with Tap (Stainless) Kit)
Item No. §SFK-N29<§SFK-N29T> }SFK-N298<¥SFK-N29P>

HWUsable Frame
Compatible to all SF40 and 45 series

B 4
‘i;/ (Groove Width 10mm)

SF
()
I~
o
=]
(=3
Y
=
o
o
=
(Y
3
o

N
60
120

N
’
-
LI 51
40

HKit Contents
@D Bracket LWHG X1
@Hexagon Sacket Bolt (M8X30) X4
@®T Nut L (M8)
*Bolt and Nut in (Stainless)
Kit are stainless.

2-9 Drilling

HMaterial/Technical Data

Material - Aluminum Die-Cast (ADC-12)
With Rotation-Prevention Function

Weight 338g

Environment RoHS Compliant

$4.2
<2-M5 Depth 15(Both sides) >

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents
@Hard Bracket L{or with Tap)X1

@Hexagon Socket Bolt (M8x%20) x 2

@T Nut L(M8)x2
#Bolt and Nut in (Stainless) Kit are
stainless.

EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Pernendicular surface s machining finished
Weight 668
Enitonment % RoHS Compliant
% Green Procurement

(o]

00
o
~

g/dm.z

<2-M5 Depth 15(Both sides) >

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@Hard Bracket LG{or w

@Hexagon Socket Bolt (M8x25) x 2

OT Nut L(M8)x2

#%Bolt and Nut in (Stainless) Kit are
stainless.

EMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.
Weight 151g
Enionment % RoHS Compliant
*Green Procurement

101



SF
(2}
-
[
3
Q
o
3
o
T
=
o
E
o

SF40+ 4555

Hard Bracket LW

Hard Bracket LW
(Hard Bracket LW with Tap)

Item No.

SFJ-NT9(SFJ-N19T)

Hard Bracket LW Kit
(Hard Bracket LW Kit with Tap)

Hard Bracket LW (Stainless)Kit
(Hard Bracket LW with Tap (Stainless) Kit)

Item No.

SFK-NT19(SFK-N19T)

SFK-N19S(sFK-N19P)

HMUsable Frame

Compatible to all SF40 and 45 series
(Groove Width 10mm)

Hard Bracket with Stopper L
(Hard Bracket with Stopper L with Tap)

Item No.

SFJ-NB4 (SFJ-NB4T)

Hard Bracket with Stopper L Kit
{Hard Bracket with Stopper L with Tap Kit)

Hard Bracket with Stopper L Kit (Stainless)
(Hard Bracket with Stopper L with Tap Kit (Stainless))

Item No.

SFK-NB4 (SFK-NB4T)

SFK-NB4S (SFK-NB4P)

Hard Bracket with Stopper LG

HWUsable Frame

Compatible to all SF40 and 45 series
(Groove Width 10mm)

Hard Bracket with Stopper LG
(Hard Bracket with Stopper LG with Tap)

Item No. SFJ-NB5 (SFUNB5T)
Hard Bracket with Stopper LG Kit |Hard Bracket with Stopper LG Kit (Stainless)
(Hard Bracket with Stopper LG with Tap Kit) [(Hard Bracket with Stopper LG with Tap Kit (Stainless))
Item No. SFK-NB5 ¢ SFK-N85T) SFK-NB5S ¢ SFK-NE5P)
BMUsable Frame

Parts
How to order
Item No. Quantity (pcs)

SFJ-N19 L]

Compatible to all SF40 and 45 series
(Groove Width 10mm)

2-9 Drilling

M8

$4.2
<2-M5 Depth 15(Both sides) >

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@Hard Bracket LW<{or with Tap)X1

@Hexagon Socket Bolt (M8%20) X 4

OT Nut L(MB)x4

%Bolt and Nut in (Stainless) Kit are
stainless.

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.
Weight 1138
Enioment RoHS Compliant
Green Procurement

Y
ot Y
NN
8| O
B ™)
b O
™)
= N
$4.2
<2-M5 Depth 15(Both sides) > Q»b‘ r
o

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@Hard Bracket with Stopper L{or with Tap)X1

@Hexagon Socket Bolt (M8%20) X 2

@T Nut L(M8)x2

%Bolt and Nut in (Stainless) Kit are
stainless.

EMaterial/Technical Data
Material ABNO1SS-T5
Alumite Treatment
Perpendicular surface is machining finished.
With Rotation-Prevention Function
Weight 678
Enionment RoHS Compliant

N
o] <’\‘
N
= P
" é )
IS g >
a
N
> N E%
N
I\ g4.2 L
$42
<2:M5 Depih 15(Both sdes)> “{"
ol

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@Hard Bracket with Stopper LG(or with Tap)X1

@Hexagon Socket Bolt (M8x25) X 2

@T Nut L(MB)x2

#%Bolt and Nut in (Stainless) Kit are
stainless.

HMaterial/Technical Data
Material ABNO1SS-T5
Alumite Treatment
Perpendicular surface is machining finished.
With Rotation-Prevention Function
Weight 1568
Enroment RoHS Compliant

@Cap for Bracket
P123




Hard Bracket L4080
(Hard Bracket L4080 with Tap)

Item No. XSFUNOBFsruNosT)

Hard Bracket L4080 Kit
(Hard Bracket L40BO Kit with Tap)

Yame(Bas m |

Hard Bracket L4080(Stainless)Kit
(Hard Bracket L4080 with Tap (Stainless) Kit)

Item No.

FSFK-NOB(fsFrnosT)

}SFK-NOBS(#SFK-NOSP)

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HWUsable Frame

o . SF-40-80/1F
L’-‘H"-‘ SF-80-80/H
I ot b

@Hard Bracket L4080or with TapyX1
@Hexagon Socket Bolt (M8%X20)Xx4

MMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.
Weight 1548

@T Nut L(M8)X4

. X : Enironment % RoHS Compliant
%Bolt and Nut in (Stainless) Kit are

*Green Procurement

Hard Bracket G80

Hard Bracket G80
(Hard Bracket GBO with Tap)

zSFJ-NO7(¥SFJ-NO7T)

Hard Bracket G80 Kit
(Hard Bracket GBO Kit with Tap)

Hard Bracket GBO(Stainless)Kit
{Hard Bracket GBO with Tap (Stainless) Kit)

FSFK-NO7 sFienorm

#SFK-NO7S<§SFK-N07P)

Hard Bracket G8B0160

SFJN48

Hard Bracket G80160 Kit

Hard Bracket G80160(Stainless)Kit

SFK-N48

SFK-N48S

4-9 Drilling

ATE
£

.

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)
HUsable Frame -

Ty SF-40-80/1F

2“.-"” SF-80-80/H

WS Conine s

@Hard Bracket G80{or with Tap)X1

@Hexagon Socket Bolt (M8x25)x4

@T Nut L(M8)x4

%Bolt and Nut in (Stainless) Kit are
stainless.

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.

Weight 3808

Enironment % RoHS Compliant
*Green Procurement

HWUsable Frame

e e SFBOE0 EMaterial/ Technical Data
bl Material Aluminium Alloy

=S O Alumite Treatment

@Hard Bracket GB0160 X1 Perpendicular surface is machining finished.

@Hexagon Socket Bolt (M8X25)X8

@T Nut L(M8)x8

%Bolt and Nut in (Stainless) Kit are
stainless.

Weight 7708
Enioment % RoHS Compliant
*Green Procurement

103

. U
iR PRATUES



SF
(]
—
Q
=}
Q
Y
=
Q
o
=
L
3
(]

SF40 4555

Hard Bracket LW4080

Hard Bracket LW4080
(Hard Bracket LW4080 with Tap)

Item No. SFJ-N20(SFJ-N20T)
Hard Bracket LW4080 Kit Hard Bracket LW4080(Stainless)Kit
(Hard Bracket LW4080 Kit with Tap) (Hard Bracket LW4080 with Tap (Stainless) Kit)
Item No. SFK-N20(SFK-N20T) SFK-N20S (SFK-N20P)

Hard Bracket GW80

Hard Bracket GW80
(Hard Bracket GW80 with Tap)

Item No.

SFJ-N17(SF-N17T)

Hard Bracket GW80 Kit
(Hard Bracket GW80 Kit with Tap)

Hard Bracket GW80(Stainless)Kit
(Hard Bracket GW8O0 with Tap (Stainless) Kit)

Item No.

SFK-N17(SFK-N17T)

SFK-N17S(SFK-N17P)

104

Parts

How to order

Item No. Quantity (pcs)
L]

SFJ-N20

8-9 Drilling

M8

8
9]
@
)|
<
«

) N\ $4.2

<2-M5 Depth 15(B

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HWUsable Frame
Son SF-40-80/1F

/ SF-80-80/H
‘@

HKit Contents

@Hard Bracket LW4080or with Tap)X1

@Hexagon Socket Bolt (M8%20) X 8

@T Nut L(M8)x8

*Bolt and Nut in (Stainless) Kit are
stainless.

8-9 Drilling

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 2678

Enoment RoHS Compliant
Green Procurement

46
80

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HWUsable Frame
SF-40-80/1F

V SF-80-80/H

¥

HKit Contents

@Hard Bracket GW80 iith TapyX1

@Hexagon Socket Bolt (M8x25) X4

@Hexagon Socket Bolt (M8X15) X4

@T Nut L(M8)x8

*Bolt and Nut in (Stainless) Kit are
stainless.

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 333g

Enoment RoOHS Compliant
Green Procurement

@Cap for Bracket
P123




S o
o, ]
& e g 8
453 (Mg ‘x““-a,__- |
"4 e B IR
e i ;
- “\:\ }
%’ﬂ”ﬂlif [oF :
.#.-" K
.-'5:;'- o
A >
———— Hard Bracket L4590 '
LTS L e ey (Hard Bracket L4590 with Tap) Please use Kit with Tap to install Side Cover. (Refer P125 for details.)
Item No. XSFJ-NOB HsruNosT) HUsable Frame
: : - - - Py SF-45-90/1F EMaterial/Technical Data
e Hard Bracket L4590 Kit Hard Bracket L4590 (Stainless)Kit E ;_!"' SF-90-90/45-90-90
- e (Hard Bracket L4590 Kit with Tap) (Hard Bracket L4590 with Tap (Stainless) Kit) - Material Aluminium Alloy
BKit Contents ————————— Alumite Treatment
Item No. XSFK-NO8 (¥sFi-N08T) SFK-NOBS (¥ sFk-No8P) )
* ;S : ¥ @Hard Bracket L4530 (or with Tap)X1 Perpendicular surface is machining finished.
@Hexagon Socket Bolt (M8x20)x4 Weight 163g

@T Nut L(MB)X4

) . . Eniomment % RoHS Compliant
%Bolt and Nut in (Stainless) Kit are .

*Green Procurement

stainless.
-
- "'“g e
| e .
P
- I- ) =
4-9 Drilling # "
‘\.{Z. e
e ,:5}\ [Tt
et |
ey Ch
e
i ¥ | -
ey Hard Bracket G90 L
ey o i e (Hard Bracket GS0 with Tap) Please use Kit with Tap to install Side Cover. (Refer P125 for details.)
Item No. FSFUN18¢SFn18T EUsable Frame
3 SF-45-90/1F : :
T Hard Bracket G90 Kit Hard Bracket GO0(Stainless)Kit ;“',-._..--' SF-90-90/H EMaterial/Technical Data
| S | (Hard Bracket G90 Kit with Tap) (Hard Bracket G90 with Tap (Stainless) Kit) = o Material Aluminium Alloy
LS~ L Alumite Treatment
Item No. SFK-N18(¥srin18T) XSFK-N18S(Fsrin1sp) .
¥ x x z @Hard Bracket GO0 or with Tap)X1 Perpendicular surface is machining finished.

@Hexagon Socket Bolt (M8x25)x4 Weight 387g

T Nut L(MB)X,A' . § Enironment & RoHS Compliant
*Bolt and Nut in (Stainless) Kit are
*Green Procurement

stainless.

Hard Bracket G90180

. T an Hard Bracket GS0180
SFJ-N49 HWUsable Frame
. ) — t-#l' SF-80180 EMaterial/Technical Data
Hard Bracket G90180 Kit Hard Bracket G90180(Stainless)Kit “=h Material Aluminium Alloy
HKit Contents ————— Alumite Treatment
Item No. SFK-N49 SFK-N49S @Hiard Biacket G20180 X1 Weight 846g
@Hexagon Socket Bolt (M8x25)X8 Enioment RoHS Compliant
@7 Nut L(M8)x8 Green Procurement
%Bolt and Nut in (Stainless) Kit are
stainless.

105



SF40+ 4555 <

Hard Bracket LW4590

SF
0
I~
Q
3
Q
Y
=]
Q
mn
=
Y
=
(]

S
3
@
8-9 Drilling 2
$4.2
Hard Bracket LW4590
Item No. SFJ-N21 HEUsable Frame
R SF-45-90/1F . .
Hard Bracket LW4590 Kit | Hard Bracket LWA590(Stainless)Kit }‘./ SF-90-90/45-90-90  MMaterial/Technical Data
b Material Aluminium Alloy
HKit Contents —— Alumite Treatment
Item No. SFK-N21 SFK-N218 @Hard Bracket LW4590 X1 Perpendicuar suface s machining finished.
@Hexagon Socket Bolt (M8x20) X8 Weight 2768
®T Nut L(M8)x8 Eniomet ROHS Compliant
*%Bolt and Nut in (Stainless) Kit are Green Procurement
stainless.

Hard Bracket GW90

8-9 Drilling

Hard Bracket GW90
Item No. SFJ-N22 HWUsable Frame
) ) ] N SF-45-90/1F MMaterial/Technical Data
Hard Bracket GW9O0 Kit Hard Bracket GW90(Stainless)Kit !;/ SF-90-90/45-90-90 ) -
- Material Aluminium Alloy
Item No. SFK-N22 SFK-N225 HKit Contents ————— Alumite Treatment
@Hard Bracket GW90 X1 Perpendicular surface is machining finished.
@Hexagon Socket Bolt (M8x25) x4 Weight 353g
@Hexagon Socket Bolt (M8X15) X4 Enioment RoHS Compliant
OTNutL(M8)x8 ) Green Procurement
%Bolt and Nut in (Stainless) Kit are
stainless.

Parts
How to order
Item No. Quantity (pcs)

SFJ-N21

106



EE

Angle Bracket L40

SF
(7]
[~
Q
=
Q.
o
=
o
Ly
=
Y
3
(]

Angle Bracket L40

Item No. ¥SFJ-A0S
Angle Bracket L40 Kit EMaterial/Technical Data
(Angle Bracket L40 (Stainless) Kit) Material Aluminium Alloy
ltem N * x BKit Contents —————————— Alumite Treatment
tem No. *SFK-ADS (& SFK-AD5S) @Angle Bracket L40X1 Weight 34g
MUsable Frame ————— :?iagirz’\jgo)ckgt Bolt (M8x15)x2 Eniionment %k RoHS Compliant
ut X
. ) G
V ?g%%igbﬁé?ha%f;ﬁ? series #Bolt and Nut in (Stainless) Kit are LALLM
-'94‘ stainless.
2-9 Drilling,
14 Deep Spot Facing,
Depth 34

Angle Bracket Hard L40

Item No. SFJ-A16

BMaterial/Technical Data

Angle Bracket Hard L40 Kit )
(Angle Bracket Hard L40 (Stainless) Kit) Material Aluminium Alloy
Alumite Treatment

Item No. SFK-A16(sFK-A16S) HKit Contents —————————— Weight 103g
@Angle Bracket Hard L40x 1 Envionment RoHS Compliant
BMUsable Frame ] @Hexagon Socket Bolt (M8X15)x2 Green Procurement
on Compatible to all SF40 series @T Nut L(M8)x2
.':/ (Groove Width 10mm) %Bolt and Nut in (Stainless) Kit are
- stainless.

Angle Bracket L4080

Angle Bracket L4080

Item No. XSFJ-ADB

EMaterial/Technical Data
Material Aluminium Alloy

Angle Bracket L4080 Kit
{Angle Bracket L4080 (Stainless) Kit)

HKit Contents ——— Alumi
*aFK. *, umite Treatment
Item No. *SFK-AOB (}SFK-A06S) @Angle Bracket L4080X] Weight S0
MUsable Frame :?eNxag‘E”( 'jgfkjt Bolt (M8x15)x4 Enomet A RoHS Compliant
ut X
i i Gi
V ?g?é%avgbﬁésharos;ﬁ? series #Bolt and Nut in (Stainless) Kit are V(LD (B
‘> stainless.

107



SF
(]
—
Q
3
Q
Y
=
Q
o
=
Y
=
(]

108

SF40 4555

Angle Bracket L45

Angle Bracket L45

Item No. SFJ-007
Angle Bracket L45 Kit
(Angle Bracket L45 (Stainless) Kit)
Item No. SFK-007/(sFK-007S)

HMUsable Frame

Compatible to all SF45 series
(Groove Width 10mm)

Angle Bracket Hard L45

Item No. SFJ-A17
Angle Bracket Hard L45 Kit
{Angle Bracket Hard L45 (Stainless) Kit)
Item No. SFK-A17(SFK-A17S)

HMUsable Frame

Angle Bracket L4590

Compatible to all SF45 series
(Groove Width 10mm)

Angle Bracket L4590
Item No. SFJ-A08
Angle Bracket L4590 Kit
{Angle Bracket L4590 (Stainless) Kit)
Item No. SFK-AQB(SFK-A08S)

Parts
How to order
Item No.

SFJ-007

HWUsable Frame

Compatible to all SF45 series

N .
i;/ (Groove Width 10mm)

Quantity (pcs)

M8

HKit Contents

@Angle Bracket L45X1

@Hexagon Socket Button Bolt (M8x25)x2

@T Nut L(M8)x2

#%Bolt and Nut in (Stainless) Kit are
stainless.

9 Drilling,
15 Deep Spot Facing,
Depth 36

9 Drilling,
15 Deep Spot Facing,
Depth 26

HKit Contents

@Angle Bracket Hard L45X1

@Hexagon Socket Bolt (M8x25)x2

OT Nut L(M8)x2

*Bolt and Nut in (Stainless) Kit are
stainless.

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 52g

Enionment ROHS Compliant
Green Procurement

HMaterial/Technical Data

Material ~ Aluminium Alloy
Alumite Treatment

Weight 135g

Environment RoHS Compliant
Green Procurement

HKit Contents

@Angle Bracket L4590% 1

@Hexagon Socket Button Bolt (M8x25)x4

@T Nut L(M8)x4

#%Bolt and Nut in (Stainless) Kit are
stainless.

EMMaterial/Technical Data

Material -~ Aluminium Alloy
Alumite Treatment

Weight 175g

Environment RoHS Compliant
Green Procurement



i

Offset Bracket L4080

SF
(]
-
Q
=
Q
Y
=
o
m
=
Y
3
()

b
(]
@
o
R
[T}
©
N
Offset Bracket L4080
Item No. SFJ-A22
Offset Bracket L4080 Kit
(Offset Bracket L4080 (Stainless) Kit) EMaterial/Technical Data
Item No. SFK-A22 (SFK A22S) WKit Contents ——————— Material 2:5063 :
@ Offset Bracket L4080x 1 ST ISl ’
HUsable Frame ‘ . @ Hexagon Socket Bolt(M8X15)x4 (Special order. Black Alumite is also avalable.)
Compatible to all SF40 series ®T Nut L(M8)x4 Weight 67g
(Groove Width 10mm) %Bolt and Nut in (Stainless) Kit are Enioment ROHS Compliant
stainless.

Offset Bracket L4590

0
@
«©
o
~
b
©
39
Offset Bracket L4590
Item No. SFJ-A23
Offset Bracket L4590 Kit
{Offset Bracket L4590 (Stainless) Kit) BMaterial/Technical Data
Item No. SFK-A23 (SFK-A23S) mKit Contents —————————————— Material ABOB3
Alumite Treatment
@ Offset Bracket L4590x1
BMUsable Frame —— @ Hexagon Socket Bolt(M8X15)x4 (Specialorder Black Aumite s elso avalable)
Compatible to all SF45 series @ T Nut L(M8)x4 Weight 678
(Groove Width 10mm) #Bolt and Nut in (Stainless) Kit are Eniomert RoHS Compliant
stainless.

L Bracket L (Stainless)

19
] ©
| 2
—T
@ 510
L Bracket L(Stainless)
Item No. SFJ-1025
L Bracket L (Stainless) Kit EMaterial/Technical Data
- Material SUS304
item No. SFK-1028 MKt Contents Woisht 585
@L Bracket L(Stainless)X1

@Hexagon Socket Bolt (MBX15)Stainlessx2 Environment  RoHS Compliant

MUsable Frame @ST Nut L(M8)x2 Green Procurement

Compatible to all SF40 and 45 series

. .
_1;‘/ (Groove Width 10mm)

109



18

SF40+ 4555 <

Ha I d Br ac ket ’_ . D E Hard Bracket L-DE135 Hard Bracket L-DE45

SF
(7))
-
(Y
=}
o
Y
=
o
m
=
Y
3
()

29
Drilling

Please use Kit with Tap to install Side Cover.
(Refer P125 for detail.)

Hard Bracket L-DE135 Hard Bracket L-DE45
(Hard Bracket L-DE 135 with Tap) {Hard Bracket L-DE45 with Tap)
Item No. SFJ-N35(SFJ-N35T) SFJ-N36(SFJ-N38T) BKit Contents
" - - " - - {Hard Bracket L-DE135 Kit)
L-DE135 Kit L/DE135(Stainless)Kit L-DE45 Kit L'DE45(Stainless)Kit @Hard Bracket L-DE135(0r with Tap)x1
(L'DE135 Kit with Tap) | (LDE135 vith Tap(Staless) Kty (L-DE45 Kit with Tap) | (LDE5 with Tap(Stanless) Kit @Hexagon Socket Bolt (M8X20)x2 MMaterial/Technical Data
@T Nut L(M8)x2 Material Aluminium Alloy
Item No. SFK-N35(SFK-N3ST) | SFK-N3BS(SFK-N35P) ~ SFK-NSB(SFK-N3BT) | SFK-N3BS(SFK-N36P) (Hard Bracket L-DE45 Kit) At TiERimEmi
@Hard Bracket L'DE45{or with Tap)X1 Weight 103g(L-DE135)
HMUsable Frame @Hexagon Socket Bolt (M8x20)x2 88g(L-DE45)
- SF-40-45 Series 45°slant cut frame O®T Nut L(M8)*2 Envioment ROHS Coompliant
”/ SF-40-DE45/SF-45-DE45(L-DE135 only) *%Bolt and Nut in (Stainless) Kit are Green Procurement
‘>¥ stainless.
Hard Bracket L4080-DE
Hard Bracket L4080-DE135 Hard Bracket L4080-DE45

49
Drilling

Please use Kit with Tap to install Side Cover.
(Refer P125 for detail.)

Hard Bracket L4080-DE135 Hard Bracket L4080-DE45
Item No. SFJ-N42 SFJ-N41 HKit Contents
(Hard Bracket L4080-DE135 Kit)
§ i )| i i o i )| i i @Hard Bracket L40BODE135 X1 q q
L4080-DE135 Kit |L4080-DE135(Stainless)kit L4080-DE4S Kit | L40BODEAS(Stainless)Kit @Hiexaon Socket Bolt (MBX20)xa MMaterial/Technical Data
@T Nut L(M8)x4 Material Aluminium Alloy
Item No. SFK-N42 SFK-N423 SFK-NAT SFK-N41S (Hard Bracket L4080-DE45 Kit) Alumite Treatment
@Hard Bracket L4080-DE45 X1 Weight 239g(L4080-DE135)
HWUsable Frame ——F———— @Hexagon Socket Bolt (M8x20)x4 203g(L.4080-DE45)
SF-40-80 45°slant cut @T Nut L(M8)x4 Environment RoHS Compliant
V frame #Bolt and Nut in (Stainless) Kit are Green Procurement
‘Y stainless.
Hard Bracket L4590-DE
Hard Bracket L4590-DE135 Hard Bracket L4590-DE45
49
Drilling
Please use Kit with Tap to install Side Cover.
Hard Bracket L4590-DE135 Hard Bracket L4590-DE45 (Refer P125 for detail.)
Item No. SFJ-N44 SFJ-N43 HKit Contents
(Hard Bracket L4590-DE 135 Kit)
Hard Bracket L4590DE135X1 : .
L4590-DE135 Kit | L4590:DE135(Staiess)Kit  L4590-DE45 Kit | L4590DE45(Stainless)Kit :Haerxargag:ts@cket Bolt (XMBXEO)M HMMaterial/Technical Data
@T Nut L(M8)x4 Material Aluminium Alloy
Item No. SFK-N44 SFK-N44S SFK-N43 SFK-N43S . Alumite Treatment
(Hard Bracket L4590-DE45 Kit) Weight 255 (L4590-DE135)
@Hard Bracket LA590-DE45 X1 219 g(L4590-DE45)
MUsable Frame —— @Hexagon Socket Bolt (M8x20)x4 viment RoHS Compliant
-45- X ®1 Nut L(V8)x4 Green Procurement
V fSraFm?S 90 45'slant out #Bolt and Nut in (Stainless) Kit are
‘X stainless.
Parts
How to order
Item No. Quantity (pcs)

110 SFJ-N35



EE

Truss Joint L40/ L45

Truss Joint L40
14

R

14

Truss Joint L45

SF
(2]
~
Q
=]
Q
Y
=
Q
m
=
o
3
(]

20,
22.5

40

©

45

{

$9 Drilling
14 Deep Spot Facing, Depth 29

39

8 ~l62

g

78

Truss Joint L40 Truss Joint L45

3 Groove size is as same as SF-40-40, SF-45-45

Item No. SFJ-J03 SFJ-J04 MMaterial/Technical Data
Truss Joint L40/L45
WUsable Frame Meterial Aluminium Alloy
(Frame to reinforce) Alumite Treatment
SF-40-40/SF-K-40-40 Weight 103g(L40)
SF-45-45/SF-K-45-45 117g(L45)
(Frame to combine) Enironment RoOHS Compliant
Compatible to SF-40- Green Procurement
45 series
Truss Joint
(Truss Joint)
Best suited to reinforce in 45" or truss stiffening.
SF-45:45(or SF-40-40) QC Joint

QC Joint

Truss Joint

SF-45-45(or SF-40-40)

Hexagon Socket Bolt M8X18 \ Frame to mount to T Nut M8 Hexagon Socket Bolt M8x18

\Frame to mount to T Nut M8

Turn Bracket 40A /40B

Turn Bracket 40A Turn Bracket 40B
55
35
o :
N 1
40 : 26
Countersink for M10, €] 40
6.5] 135 55 29 55
of  F-- ol fAr---e- - 2:M6
N I\ S
g g +—o -
o o (B Y
[SV/ [ . AN oo

Hexagon Socket Flat Head Cap Screw M10 X 16 included

HWUsable Frame
{Section Installationy

Turn Bracket 40A Turn Bracket 40B b
urn Bracket 40 urn Bracket 40 By SF-40-40(TF/K/2H
>3 include)

Item No. SFK-42A SFK-42B

(Side Installation)
Compatible to all
SF40 series

Hexagon Socket Flat Head Cap Screw M10X 16 included
% Refer examples below to select bolt and nut you need.

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 97g(40A)
98g(40B)

Envionment RoHS Compliant

111



M8

N

SF40+ 4555

Turn Bracket 45A /45B

SF
[
-+
Y
=]
o
(Y
=
Q
il
=
[
3
(]

Turn Bracket 45A Turn Bracket 45B

22.5
22.5

Countersink for M10,
55

v _ —

Countersink

i
45

2-M6 L
_ 110 "\ M10 _110 "\M10
Hexagon Socket Flat Head Cap Screw M10X 16 included

*Refer examples below to select bolt and nut you need.

Hexagon Socket Flat Head Cap Screw M10X 16 included

HMaterial/Technical Data
Material Aluminium Alloy

Turn Bracket 45A Turn Bracket 45B HEUsable Frame

{Section Installation)

Item No. SFK-43A SFK-43B ;\.' SF-45-45(1F/K/2H Alumite Treatment
b include) Weight 113g(45A)

{Side Installation) 116g(45B)

{In case of installing to side and end of the Frames.)

2 Hexagon Socket

Bolts M8X20 Turn Bracket 45A 1pcs

(Turn Bracket 40A) 1pcs

=0 2 Hexagon Socket
Bolts M6X30

S Double Joint 45(SFK-3925) 1pcs
(S Double Joint 40(SFK-394S))1pcs

2 Hexagon Socket Flat Head Cap Screws M10x16

Turn Bracket 45B 1pcs
(Turn Bracket 40B) 1pcs

Compatible to all
SF45 series

(In case of installing to sections of the Frames.)

Turn Bracket 45B 1pcs
(Turn Bracket 40B) 1pcs

SF45-45 SF45-45
(SF40-40) (SF40-40)
i
P 2 Hexagon Socket Bolts
M6X30

S Double Joint 45(SFK-3928) 1pcs
(S Double Joint 40 (SFK-394S)) 1pcs
2 Hexagon Socket Flat Head Cap Screws M10X16
Turn Bracket 45B 1pcs
(Turn Bracket 40B) 1pcs

(In case of installing to side and end of the Frames.)

SF45-45
(SF40-40)
O

11
(E

T Nut L M8

Environment RoHS Compliant

Example of mounting Turn Bracket This product cannot be used as supporting point of movable part.

Turn Bracket 45A 1pcs
(Turn Bracket 40A) 1pcs
SF45-45

/(SF40-40)

Hexagon Socket
Bolt
M8X20 1pcs

2 Hexagon Socket
Bolts M6X30

S Double Joint 45(SFK-3925) 1pcs
(S Double Joint 40(SFK-394S)) 1pcs

2 Hexagon Socket Flat Head Cap Screws M10X16)
Jurn Bracket 45B 1pcs
(Turn Bracket 40B) 1pcs

to specify frilling for Double Joint.

@®Use Processing Symbols written from P204

Friction Sheet M8 with Case (50pcs/Set)

Dimension :22X22X0.6mm

Friction Sheet M8
with Case (50pcs/Set)

Item No. SFA-MO1
Parts
How to order
Item No. Quantity (pcs)
SFK-43A

HMaterial/Technical Data
Material Sheet : Urethane Resin

Case :ABS
Weight Sheet :0.03g/pcs (M8)
Case :20.3g

Environment RoHS Compliant



i

Bend Bracket L40

Joint Bar
L200

T Qc Joint

WD Bracket L

Bend Bracket L40

Item No. SFJ-V02

HWUsable Frame

—

Compatible to SF40-40
(1F, 2F, 2H, 3F, K)

Caster Plate L

Caster Plate L
(Caster Plate L(Stainless))

*SFJ-7A3(¥SFJ-7A35)

Item No.

HWUsable Frame

’ Compatible to all SF40 and 45 series

(Groove Width 10mm)

Adjuster,

Adjuster Bracket M12 L Kit

Item No. SFK-7E2

SF
(7]
-
o
=
o
Y
=
[
m
=
[V
3
(]

260 *3

(100 Straight part) (160)

(160)

260 =3

(100 Straight part)

MMaterial/Technical Data o= o

Material Aluminium Alloy & o )
Alumite Treatment

Weight 7748

Envionment RoHS Compliant
Green Procurement

90

74 172 469
0
o M16
M€
) ©
45 s 14 < Ko
8 &5
s 9
d—(F i ]
T
(20.21), 4-M8 (20.21)
(80.21) (80.21)
160
128.5 63
320
\ | | | | | ;
o : T S I ]

HMaterial/Technical Data
Caster Plate L Caster Plate L

(Stainless)
Material SS400 SUS304
HMUse Example Uni-Chrome
@Adjuster M16  @Caster C Weight 2.1kg 2.1kg

Environment % RoHS Compliant
*Green Procurement

@Double-Wheel Caster M16
@®Marketing Hanging Bolt etc

Caster M12 Tapping

HKit Contents

@Adjuster Bracket M12X1

@®T Nut L (MB)x2

@Hexagon Socket Bolt(M6x20)
(Uni-Chrome)x2

HMaterial/Technical Data

Material Aluminum Extrusion

Weight 1218
Enionment RoHS Compliant

113



SF40+ 4555

QC Joint L

SF
0
-
QO
3
o
(Y
=
Q
il
=
o
3
(]

QC Joint L(Common Parts)

R
-
Spot Facing fo_:_ M6 '
- i, o =8 i
_ e |
o ¥ o R |
i, A R
. ) | i
o Er
- L
L
e "T | 1 -
it} Sl gl B -
il ", K ]

M6 Tap

M8

SS Round Metal Tool

Outer
Diameter ¢ 13

Inside
Diameter ¢8

L80 Kit
55

L90 Kit
64

L40 Kit | L45 Kit
R 15 19

L60 Kit
34

QC Joint L40 Kit QC Joint L45 Kit QC Joint L60 Kit

QC Joint L8O Kit QC Joint L9O Kit

Item No. SFK-Q40A SFK-Q41A SFK-Q42A SFK-Q43A SFK-Q44A
Kit Name QC Joint | Round Metal Tool Bolt BMaterial/Technical Data
QC Joint L40 Kit L Round Metal Tool 40x1| Hexagon Socket Bolt (M6x30) Stainlessx1 QC Joint L L Round metal tool
QC Joint L45 Kit L Round Metal Tool 45X1| Hexagon Socket Bolt (M6X35) StainlessX 1 Material Aluminum Die-Cast Aluminium Alloy

Kit Contents

QC Joint LB0 Kit | QC Joint L |L Round Metal Tool 60X1| Hexagon Socket Bolt (MBX50) StainlessX 1

QC Joint L8O Kit XTset | Round Metal Tool 80X1 Hexagon Socket Bolt (M6X70) StainlessX1

L Round Metal Tool 90X1| Hexagon Socket Bolt (MBX80) StainlessX 1

QC Joint L9O Kit

L90 Kit
52g

L40Kit L45Kit LBO0Kit L8O Kit
Weight 308 328 398 488
Eniomment RoHS Compliant Green Procurement

QC Joint L
(Characteristics)
advance, and strong fixing is possible by one bolt, so the assembly man-hour is reduced.

(How to assemble)

Hole-Drilled Fram

QC Joint

(Example of Kit Selection)
@®QC Joint L40 Kit

(For drilled hole to the direction of 40mm)

@®QC Joint L60 Kit

(For drilled hole to the direction of 60mm)

@QC Joint L45 Kit

(For drilled hole to the direction of 45mm)

$13.1 Tapping

A
SF40 Series (SF-40/SF-K45) | 20
SF45 Series (SF-60:1S/80:1S)| 19.5

It's easy to set vertically and hardly make gap, because 2 frames are pulled at each other to combine. Also, you don’t have to let nuts into frame in

@Tighten

@QC Joint pulls up
another frame.

®The strong joint
is realized.

@QC Joint L9O Kit

(For drilled hole to the direction

@QC Joint L8O Kit
(For drilled hole to the direction of 80mm)
3%SF-80-80-1S Drilling is as same as L60 Kit

@Drillid by SUS
Processing Symbol P202

Parts

How to order

Item No. Quantity (pcs)
114 SFK-Q40 -




EE

TG Joint Kit 4045 /60 / 80 / Wrench Hole Cap

(TG Bolt M12) (TG Plate 4045) (TG Plate 60) (TG Plate 80) Wrench Hole Cap

SF
(]
-~
Q
=
[=3
(Y
=
Q
Ly
=
Q
3
(]

Hexagon Hole 19 40

e ey e

18
NP,
Jan

$18.1
b % 19.7
6.5
e —— E . .
¥ I I
8 T 5 1 e H [ D e J #%For Anacac of
| ” 14 2 52 ‘ o] 74 ‘ Fl(ai type frame )
| B L S For 1F,2F,2H,3F)
19.9 r £ 1 8 1 °
WUsable Frame BMUsable Frame — WUsable Frame
S SF-40-40, SF-40-80, SF-40-160 & SF-60-60-1S S SF-80-80(H)
S 4545 SFA500, SFAE 180 pS g B
>3 SF-K-40-40,/K-40-80 > >N
HKit Contents HKit Contents ———— HKit Contents
(TG Joint Kit 4045) (TG Joint Kit 60) (TG Joint Kit 80)
@®7C Plate 4045x1 @7TG Plate 601 @7TG Plate 80X1
@TG Bolt M12x]1 @TG Bolt M12X1 ‘@Hexagon Socket Button Bolt M8x20(Uni-chrome) X2
HMMaterial/Technical Data
TG Joint Kit TG Bolt M12 TG Plate 4045/60/80 Wrench Hole Cap
4045 60 80 Wrench Hole Cap Material SCM435 SPCC
Uni-chrome Uni-chrome Polypropylene
. g . XSFA. (Color/Gray)
Item No. kK207 *SFk-208 *SFK-307 *SFA-185 Weight 34 6g(Kit4045) -434g (Kit60) -43g(Kit0) 0.3g(Wrench Hole Cap)

Envionment % ROHS Compliant xGreen Procurement

Double Joint Kit L 40/45/ 60/ 80

Double Joint Kit L40 Double Joint Kit L45 Double Joint Kit L60 Double Joint Kit L80

39 44 r 59 79

w
. -r‘ :
] .2 BUsable Frame MUsable Frame WUsable Frame BUsable Frame
= SF-40-40, SF-40-80 SF-45-45, SF-45-90 SF-60-60-1S SF-80-80(H)
'!i* SF-K-40-40, SF-K-40-80 SF-K-45-45, SF-K-45-90 SF-80-80-1S
SF-40-80
Double Joint Kit EMMaterial/Technical Data
L40 L45 L60 L80 HKit Contents ——————— Material  ABOOSCSS-TS
{ Double Joint Kit L 40/45/60/80> Weight 50¢/(KitL40) 584 (Kit LEO)
Item No. SFK-317A SFK-318A SFK-320A SFK-321A @Each Double Joint Kit LX1 52¢(KitL45) 67 (KitL80)
@Hexagon Socket Bolt (M6x30) Stainless x2 Environment RoHS Compliant

@ST Nut L(MB)*x2

TG Joint - Double Joint

(TG Joint Drilling Jig) ] )
TG, Double Joint are easy to set vertically and hardly make

gap, because 2 frames are pulled each other.
Also, it looks clear because the joint part doesn't bulge outside.

.Refer from P 188 how to assemble

Processing size (mm)

M12 Tapping
or Heli-Sert

Usable Frame H h D d -
SF-40-40/K-40-40 20 |$13.1 .B””'d by SUS
SF-45-45 20 [225] .| 8 s;?ﬁgasg]agog«.
SF-60-60-1S 30 '

Usable Frame H | ht |h2| D d
SF-80-80 (H) 20 | 20| 40 |, 5[ 98
SF-80-80-1S i -

115



SmF S
SF40 * 455z <
% Blind Bracket L SamracerL

P ol

EMMaterial/Technical Data
. E Blind Bracket L
Blind Bracket L Material Aluminum Die-Cast
(2 Set Screws{M8x10»

Item No. SFr-B22A WUsable Frgme tible 1o all SF40 Stainless Included)
B ompatible to a ’
34’ and 45 series(430): XVglghiTg]ﬁs Compliant
- Other Frame SF30 serieg ~ JMoment HO S

(K Frame excluded) Green Procurement

R Bracket L40 Kit / L45 Kit

: : R Cap L40 R Bracket L40 R Cap L45 R Bracket L45
E
: % . :

» »
R Bracket L40 Kit R Bracket L40 Kit ~ MlUsable Frame —————  @Material/Technical Data
Black) (Light Gray) . (R Bracket L0 Kit R Bracket L40/L45 R Cap L40/L45
Item No. SFK-RO3 SFK-RO3G "’4. (R Bracket L45 Kity  Meterial Stainless(SCS13)  Polyamide
SF-45-45-R Weight 130g(L40) 10g(L40)
R Bracket L45 Kit R Bracket L45 Kit iy TRl
Black) (Light Gray) Enitimert RoHS Gompliant
3#L40 KitWith 3 Hexagon Socket Button Bolts{M10x30)
Item No. SFK-RO4 SFK-R04G 145 KitWith 3 Hexagon Socket Button Bolts(M12X35)
46
6 | . 40
EMaterial/Technical Data
Material SAE1022Si
BWUsable Frame Uni-Chrome Plating
Tapping Bolt L40 SF-40-40(1F/2F/3F/2H)  Weignt 3le .
SF-40-80(1F) Environment RoHS Compliant
Item No. SFB-T40 Green Procurement
® ®

/\I\/
|
%ﬁ —_—T:ZBh—ﬂ—»——

Fix the frame with jig etc, and screw the Put the bolt head through T slot of another Tighten by Manual tool to fix.

Tapping Bolt halfway into the end face. frame. ¥Manual tool is recommended, because the reaction of
(Temporary joint) torque up is big by using electric drill.
% In case it is too tight, please use cutting oil. @Drillid by SUS
Processing Symbol P206~

Parts

How to order

Item No. Quantity (pcs)

116 SFK-602S L]




SF
(7))
-
[
=
o
Q
=
o
m
=
(Y
3
o

Plate Bracket L

S Plate Bracket LG

85
0 20 45 20 5
~
b
R e
& &
° \l(\ HKit Contents
: - {Plate Bracket LG Kit)
t=5 = 4-9 Drilling @Plate Bracket LGX1
@Hexagon Socket Bolt (M8X15)Stainlessx4
@ST Nut L(M8)x4
S Plate Bracket LG S Plate Bracket LG Kit
Item No. ¥SFJ-123s ¥SFK-123S
Plate Bracket L-L Type 28
14]
S 32 (3
IIEESy
b
oo}
N
9 HKit Contents
~ {Plate Bracket L-L Type Kit)
= @Plate Bracket L-LX1
@Hexagon Socket Bolt (M8x15)x4
@T Nut L(M8)x4
Plate Bracket L-L Type Kit)
BUsable Frame =82 o+:~;g:- SBI ;LMIMEXXW\ 5)Stainlessx4
S~ Compatible to all SF40 and 45 series @ST Nut L(M8)x4
=4 (Groove Width 10mm)
(SF-60-60-1S, SF-40DE. SF-45DE#excluded) Plate Bracket L-L Type Plate Bracket L-L Type Kit
S Plate Bracket L-L T S Plate Bracket L-L Type Ki
HEMaterial/Technical Data <S Plate Brac| ft ype) <8 Plate Brac| <e; ype Kit)
- SFJ-106S - SFK-106S
Name Weight(e)| Material | Environment Item No. *SFJ-108¢ i *SFK-108G i
Plate Bracket LG 242 | 8US304
Plate Bracket L-L 89 | SPCC Unichiome
*RoHS
S Plate Bracket L-L 89 SUS304 Compliant Plate Bracket L-T Type
Plate Bracket L-T 103 | SPCC Unichrome | e Green
S Plate Bracket L-T | 103 | SUS304 Procurement
4-¢9 3.2 (3
Plate Bracket L-+ 140 | SPCC Unichrome EE— ﬁﬂf
o 8 MKit Contents
[} {Plate Bracket L-T Type Kit)
@Plate Bracket L-TX1
@l @Hexagon Socket Bolt (M8%15)x4
¥ @T Nut L(M8)x4
80 Plate Bracket L-T Type Kit)
t=32 10 y ket L-Tx1
65 30t (MBX15) Stainlessx4
M8)x4
Plate Bracket L-T Type Plate Bracket L-T Type Kit
{S Plate Bracket L-T Type) {S Plate Bracket L-T Type Kit)
Item No. *SFJ-107 KsFJ-107) *SFK-107 (sFK-107)
Plate Bracket L-+ Type 100
36 28, 36 32 (3
8-C5 14, —r—
- N L
s
5 Ul iR
10 L10
ol & 415 H HKit Contents ———
O | «+fé T {Plate Bracket L-+ Type Kit)
= M @Plate Bracket L-+X1
6-69 @Hexagon Socket Bolt (M8X15)x6
- PN - -+ @T Nut L(M8)x6
° 8
t=232 o v iin
Plate Bracket L-+ Type Plate Bracket L-+ Type Kit
Item No. *SFJ-108 *SFK-108

117



SF40+ 4555

S Plate Bracket

awei piepuels !ﬁ

S Plate Bracket

L40-H2

S Plate Bracket L45-H2

M8

HKit Contents ——
(Plate Bracket L40{L45) -H2 Kit)
@Plate Bracket L40-H2(or L45-H2)X1
@Hexagon Socket Bolt(M8x15)Stainlessx2
@ST Nut L(M8)x2

S Plate Bracket L40-H2

(S Plate Bracket L45-H2)

S Plate Bracket L40-H2 Kit
{S Plate Bracket L45-H2 Kit)

Item No.

SFJ-126S<(sFJ-127S)

SFK-126S(SFK-127S)

S Plate Bracket L40-H4

17.5

MUsable Frame

HKit Contents

{Plate Bracket L40{L45) -H4 Kit)
@Plate Bracket L40-H4 (or L45-H4)X1
@Hexagon Socket Bolt(M8X15)Stainlessx4
@ST Nut L(M8)x4

Compatible to all SF40 and 45 series

S Plate Bracket L40-H4

(S Plate Bracket L45-H4)

S Plate Bracket L40-H4 Kit
(S Plate Bracket L45-H4 Kit)

(Groove Width 10mm)

(SF-80-60-1S, SF-40-DE¥, SF-45-DEexcluded)
Item No.

SFJ-131S(sFJ-1328)

SFK-131S(SFK-132S)

EMMaterial/Technical Data

Name Weight(e)| Material | Environment
S Plate Bracket L40H2| 576
8 Plate Backet L45+H2| 692 RoHS S Corner Support Bracket L
S Plate Bracket L40H4| 1194 i 38
U0 Compliant 38,
S Plate Bracket L45-H4| 147.7 Green T
$ Comer Support Bracket L| 5706 Procurement
S Comer Support Plate L| 374.4
HKit Contents
o | {Corner Support Bracket L Kit)
t=4 119 @Corner Support Bracket LX1
lexagon Socket Bolt(M8% tainlessx:
— OH: Socket Bolt(M8X15)Stainlessx2
@ST Nut L(M8)x2
S Corner Support Bracket L S Corner Support Bracket L Kit
Item No. SFJ-133S8 SFK-133S
S Corner Support Plate L
150
3-ce\ 555, 765
0
8
(o]
2w
2
HKit Contents
{Corner Support Plate L Kit)
t=3 @Cormner Support Plate Lx1
@Hexagon Socket Bolt(M8X15)Stainlessx4
@ST Nut L(M8)x4
S Corner Support Plate L S Corner Support Plate L Kit
Item No. SFJ-138S SFK-138S
Parts
@ How to order
118 ——— Item No. Quantity (pcs)
Ll SFJ-126S




Adjuster Kit

SF
(]
-
Q
3
Q.
Y
=
o
mn
=
Y
3
o

HPlate BAdjuster MCaster
Adjuster Plate L Adjuster Caster Plate 80 Adjuster M16 Adjuster BM20(Stainless) Caster C >
Adjuster Plate L(Stainless) Adjuster Caster Plate 80(Stainless) f M20x2.5 ©lgs5 & 95
100 150 l e o) R A
o s 2w 132020 4040 s 13 | M16x2
[ I 2 5 — &N 4-¢8.8
: ] Ts” © Ol g | g TP RN
i~
o NAJ4 D |ng*E 2 o 87{}\‘@ s o~ g - [$] § - T & &
8| | |ao DriIIing{ i} 87 . Qg © | ‘ @
0 16 ° 10-9 Drilling 3 ‘ |
« " < || o 225, Q
o — ol S o o © @ e
77.5 63 —
‘. 75 K 237/
Material | Treatment | Weight Material | Treatment | Weight
Adjuster Plate L 55400 | Uni-Chrome [0.65kg | Adjuster Caste Plie 80 5400 | Uni-Chrome| 2kg [Meterial[ Treament]Load Capecty Wit Bottom [MeteriaTreatment _[Lced Cpest | Weight [ Material [Load Capacity | Weight
Adjuster Plate L US304  —  0.66kg | Aduster Ceser Pa )5304]  — [2.02kg | Aduster M16]SS400|Zn Black | 500kg |386g] Ruober | Adister SUs304{ERctoly | 880kg [540g | Caster C | Nylon | 300kg | 902g
Adjuster Caster Plate L Adjuster Caster Plate 90 Adjuster BM16(Stainless) Caster B 70 Caster C(Stainless)
Il
8 54 8 4965 [0 G
165 12 4-¢9.5/
IIJ:H‘mg 20 45 e 86 ERES 315285 45, 45 J M16x2 i . ,[ -‘ @D g
2rng | ; r 5 © X 5 K\ K
M| L& * | o of 1T@
4-9 Drilling/”~ | J e 2 8 o \kﬂ 1 #
© 2 -9 Drilling, 1 al__q;_ M2 g & | - @ ¢\ & 63
g U4 o o 8@ ol n " o 25 =
"o 40 I\ wie JH7 He o Rawg i — o
< ) + 8%
aM6 |© 9 10-9 Drilling © | 8’ S
of & ( + /__ 1] _J\ Q @ 875, o
120 8 5 a5 Jo7d e T : Z
|_ers | 22
[Material | Treatment [Weignht [ Material | Treatment | Weight [Materia]Treament_|L0ed iy [Weight | Material _Load Capaciy| Weight | Material [Load Capacity] Weight
Adjuster Caster Plate L[ $S400 | Uni-Crrome [1.03kg | Adister Cester Piate 90 | 55400 | Uni-Chome | 25kg || Adister |SUS304|Eectaytc uisivg| 560kg [375¢ | Caster B [Phenol Resin| 150kg | 340g | Caster C(Stainless)|MC Nylon| 150kg |520g
Adjuster Caster Plate L(Stainless) Adjuster M20 Caster B(Stainless) Q‘b%
166 9 M20 K ﬁt [§Y][¢}
2045 8 5 T L \ y ju;
—=— N
{14 Drillingi) gﬁllin Y b o 3 [ L5 |
o] 1 - ”[ g - 70
S e we ¢ ¢ ——t < =
o | |385) 3l fj
u‘_'[*_{)' s % o T j@ IS
114 42 4-M8 i N S B %
%60 26
|Ma\evia\[ﬁea\mm\We\ght |Ma|enalhvea|memh.oadf 1 i | Material |Load Capacily[We\gm
Adiuster Caster Plate L [susaoa] — [1oag Adjuster M20|SS400|Zn Black| 500kg 5368 || Caster B(Stainless)|Phenol Resin| 71.4kg | 285g
Item No. Name Compatible Frames Kit Contents
SFK-501A Level Adjuster Kit Compatible to all SF40 and ®Adjuster Plate Lx1 @Adjuster M16x1
L 45 series (Groove Width 10mm) | @T Nut L(M8)x4 @Hexagon Socket Bolt(M8x20)x4
SFK-501S Level Adjuster Kit Compatible to all SF40 and @Adjuster Plate L(Stainless)x1 @Adjuster BM16(Stainless)x1
Adjuster L (Stainless) 45 series (Groove Width 10mm) | @ST Nut L(M8)x4 @Hexagon Socket Bolt(M8x20)Stainlessx4
+ SFK-513A Level Adjuster Kit SF-80-80 ®Adjuster Caster Plate 80x1 @Adjuster M20x1 @Flat Washer (M8)x8
80 SF-80-80-H ®T Nut L(M8)x8 @Hexagon Socket Bolt(M8x25)x8
Plate SFK-513S Level Adjuster Kit SF-80-80 @Adjuster Caster Plate 80(Stainless)x1 @Hexagon Socket Bolt(M8x25)Stainlessxs
80(Stainless) SF-80-80-H @ST Nut L(M8)x8 @Adjuster BM20(Stainless)x1  @Flat Washer(M8)Stainlessxs
SFK-515 Level Adjuster Kit SF-90-90 ®Adjuster Caster Plate 90x1 @Adjuster M20x1 @Flat Washer(M8)x8
920 SF-90-90-H @7 Nut (M8)x8 @Hexagon Socket Bolt(M8x25)x8
SFK-502A | Level Adjuster Kit L Compatible to all SF40 and @®Adjuster Caster Plate Lx1 @Caster Bx1 @Hexagon Socket Bolt(M6x10)x4
with Caster 45 series (Groove Width 10mm) | @Adjuster M16x1 @T Nut L(M8)x4 @Hexagon Socket Bolt(M8x20)x4
SFK-502S Level Adjuster Kit L Compatible to all SF40 and @Adjuster Caster Plate L(Stainless)x1 @STNutL(M8)x4 @Hexagon Socket Bolt(M8x12)Stainlessx4
Adjuster with Caster (Stainless) W5 series (Groove Width 10mm)3 | @Adjuster BM16(Stainless)x] @Caster B(Stainless)x] @Hexagon Socket Bolt(M8x20)Stainlessx4
SFK-514A | Level Adjuster Kit 80 SF-80:80 @Adjuster Caster Plate 80x1 ~ @Adjuster M20x1 ~ @Hexagon Socket Bolt(M8x25)x8
Caster with Caster SF-80-80-H @®Caster Cx1_ @T NutL(M8)x8 @Flat Washer(M8)x8  @Hexagon Socket Bolt(M8x12)x4
+ SFK-514S Level Adjuster Kit 80 SF-80-80 @Adjuster Caster Plate 80(Stainless)x1 - @Adjuster BM20(Stainless)x1 @Hexagon Socket Bolt(M8x25)Stainlessx8
Plate with Caster (Stainless) SF-80-80-H @Caster C(Stainless)x] @ST Nut L(MB)x8_@Fiat Washer(MB)Stainlessx8_@Hexagon Socket Bolt(M8x12)Stainlessx4
SFK-516 Level Adjuster Kit 90 SF-90-90 @Adjuster Caster Plate 90x1 ~ @Adjuster M20x1 ~ @Hexagon Socket Bolt(M8x25)x8
with Caster SF-90-90-H @Caster Cx1_@T Nut L(M8)x8 @Flat Washer(M8)x8 @Hexagon Socket Bolt(M8x12)x4

119



SF40

Foot Base

SF
2
-
Q
=
o
Q
=
o
m
-
Q
3
(]

'45553155 <Y

Foot Base 4080 Foot Base 4590
78 86
20.5 45 20.5

19,20,.20 19

M16

N

8
A9

Ian\
\Y2
anY

22 22

A\
44

1 ¥ras Ve Vai N
® NN 4 EJ\ 2-14 Drilling,
: 2-14 Drilling, 20 Deep Spot Facing,
20 Deep Spot Facing, Depth 12.5 M16 43 43 Depth 12.5
t=16 t=16

Environment *RoHS Compliant
*Green Procureme

HMUsable Frame —— HWUsable Frame ——

v SF-40-80 v SF-45-90
0
(Material) i) {Material) .

8S400 Uni-Chrome Plating SS400 Uni-Chrome Plating
2 Hexagon Socket Bolts (M12x25) Included

nt

Foot Base 4080 |2 Hexagon Socket Bolts (M12x25) Included Foot Base 4590
Weight/274g Weight/371g
SUS304
Foot Base 4080 | 5 Heyagon Socket Bolts (M12x25) Stainless Included
(Stainless) Weight/276g
Foot Base 4080<Foot Base 4080(Stainless)) Foot Base 4590
Item No. *SFK-57AKSFK-57AS) *SFK-B0A
Foot Base 8080 Foot Base 9090
79 88
19.5 40 19.5 215 45 21.5
M20 o
o f 0 8 [1e)
~ [&-| @ b © | ¥ weo
vl Q I's: '( ® 3l L oy
Rl S NP 2 A
N 5| 49 Drilling, o1& @\ 2| 4.9 Driling,
N ) , o
- 14 Deep Spot Facing, N 14 Deep Spot Facing,
395 395 Depth 8.5 44 | 44 Depth 8.6
=16 t=16

HWUsable Frame HWUsable Frame

' SF-80-80/H \' SF-90-90/H
.8
e e

(Material) (Material)
SS400 Uni-Chrome Plating SS400 Uni-Chrome Plating
Foot Base 8080 |4 Hexagon Socket Bolts (M8%25) Included Foot Base 9090 |4 Hexagon Socket Bolts (M8x25) Included
Weight/625g Weight/861g
SUS304
Foot Base 8080 |4 Heyagon Socket Bolts (M8x25)Stainless Included
(Stainless) Weight/631g
Foot Base 8080 (Foot Base 8080(Stainless)) Foot Base 9090
item No. *SFK-BIA (FSFK-59A8) ttem No. *SFK-54A
Parts
@ How to order
120 —— Item No. Quantity (pcs)
i) SFK-57A




EE

Anchor Bracket

Anchor Bracket

Item No. SFJ-74A
Anchor Bracket Kit
Item No. SFK-74AS

HWUsable Frame

N S}F40-45 series (Groove
_1’/ %2F Frame excluded

HKit Contents ———

@Anchor Bracket X1
@ST Nut L(M8)x3
@Hexagon Socket Bolt (M8 18)Stainless X3

BTES 7 084
- B
r
w0l e
B aaBEy
[
12114
B J
Width 10mm)

B Material/Technical Data

Material ABOOSCSS-TS
Weight 461g (Anchor Bracket)
Environment RoOHS Compliant

SF
)]
-
Q
=}
o
Q
=
o
m
=
Y
3
(]

121



SF40+ 4555 <

Frae Cap

SF
)
-
o
=}
Q
Y
=
Q
o
=
Q
3
o

Frame Cap N4040 Frame Cap 4080 Frame Cap 8080
40 80 80
@ L)
g [ 8B ||& &
g &) @
m*:% & @
G*ZH
Weight/5.4¢ Weight/10.58 ® *Elﬁ% Weight/22.1g
HUsable Frame 7% BUsable Frame % EUsable Frame Z
SF-4040, SF-40:40-1F/2F/3F/2H/SFK-40-40 SF-4080, SF-40:80-1F3SF-40-160/SF-K4080 SF-80-80/H %SF-80-160

Material Polyamide

Weight In Drowing

) ) Frame Cap 4040 Frame Cap 4080 Frame Cap 8080
Enironment RoOHS Compliant @lac .~ Light Gray) Blacl) "~ ight Gray) @lac "~ Hght Gray)
Green Procurement
Item No. SFA-034B SFA-034G SFA-007 SFA-007G SFA-008 SFA-008G

% Use 2 pcs for SF-40-160 % Use 2 pcs for SF-80-160

Frame Cap 60601S Frame Cap 80801S Frame Cap 4545 Frame Cap 4590 Frame Cap 9090
60 80 45 % )
5 & @ O
S . ) ® @

T m*gﬂ,:,ﬂl:. | Went
o Weight/12.5¢ wﬁ Weight/17 4 il M eent 75e Weight/14.2g o1 428,2g
MUsable Frame 7$ EUsable Frame 7$ MUsable Frame *@ EUsable Frame 7% MUsable Frame 7@

SF-60-60:-1S E SF-80-80-1S SF-45:45/1F/2F/3F/2H, SFAC4545/1F/2F SF-45:90/1F, SFK-45-903#SF-45-180 SF-90-90/H #SF-90-1 80

Frame Cap 606018 Frame Cap 808018 Frame Cap 4545 Frame Cap 4590 Frame Cap 9090
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)

Item No. SFA-003 SFA-003G SFA-030 SFA-030G SFA-035B  SFA-035G SFA-004 SFA-004G SFA-016 SFA-0166G
%Use 2 pcs for SF-90:180  *Use 2 pcs for SF-45-180

Frame Cap 40-80-80 Frame Cap 40-DE45 Frame Cap 40-DE30 Frame Cap 40-DE60O Frame Cap 40-40-R
40
" - 20 .
d T L o
S S S S #9
* 9 20 40 40 2R Nes
80 @m; E@ E I:_E E@ E !_] g =)

Wi B o B8 8 Weighv169g o188 Weight/5.82 "’ Weight/5.8g "’ Weight/5.82 S Weighti4.82
HWUsable Frame — & HWUsable Frame —@ HWUsable Frame —d@ HWUsable Frame —@ HWUsable Frame —@
SF-40-80-80 e SF-40-DE45 SF-40-DE30 E SF-40-DE6O SF-40-40-R e

Frame Cap 40-80-80 Frame Cap 40-DE45 Frame Cap 40-DE30 Frame Cap 40-DE60 Frame Cap 40-40-R
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)

Item No. SFA-JSC SFA-J9CG SFA-J7B SFA-J7BG SFA-J7A SFA-J7AG SFA-J7C SFA-J7CG SFA-024 SFA-024G

Frame %sap 45-90-90 Frame Cap 45-DE45 Frame Cap 45-DE30 Frame Cap 45-DE6G0O Frame Cap 45-45-R
5 i
+-+ 8 9 o R35 i
8 |+ + 9 «@ 2
N
4 ! 9 !
*+ +‘ N 45 45 2 45 |\BmS
i ;0 Lo j Ve oL BR g 75g oL By o HLEBEE e 7sg %9 Weight/6. 1
MUsable Frame 7@ MUsable Frame 7@ MUsable Frame 7@ MUsable Frame 7@ MUsable Frame 7@
SF-45-90-90 o SF-45-DE45 o SF-45-DE30 SF-45-DE6O SF-45-45:R o
Frame Cap 45-90-90 Frame Cap 45-DE45 Frame Cap 45-DE30 Frame Cap 45-DE6G0 Frame Cap 45-45-R
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)

Item No. SFA-J9SD SFA-JODG SFA-J8B SFA-JBBG SFA-JBA SFA-JBAG SFA-J8C SFA-JBCG SFA-025 SFA-025G

Parts
How to order
Item No. Quantity (pcs)

SFA-034B L]

122



Frame Cap Lock Type N4040/N4545

Material - Polyamide(Cap), SWCHIOR (Screw), Chromate Black or Stainless(Screw)
Weight 7.32(4040), 10.2g(4545)
Envirnment RoHS Compliant Green Procurement

Py
124]
> Il & % Provided bolt enabled
T to lock without Tap

g Processing to Frame.

MUsable Frame 7&

v

SF-40-40

MUsable Frame —@

SF-45-45

Frame Cap Lock Type N4040(Black)*!  Frame Cap Lock Type N404O0(Light Gray) 2

Frame Cap Lock Type N4545(Black) 3

Frame Cap Lock Type N4545 Light Gray) *4

Item No. SFK-06LB SFK-06LG

SFK-07LB

SFK-07LG

#1 With Small Flat Screw with Cross Hole (M5x16) Chromate Black #2 With Small Flat Screw with Cross Hole (M5x16) Stainless

D Bracket Cap L / Hard Bracket Cap

J¢

LAY

Ao b

o> e A

#3 With Small Flat Screw with Cross Hole (M6x18) Chromate Black

44

29

D Bracket Cap L(Black) D Bracket Cap L(Light Gray)
Item No. SFA-J14 SFA-J14G
Hard Bracket Cap(Light Gray)
Item No. SFA-J11G

HWUsable Frame

{D Bracket Cap L)
D Bracket L
(Hard Bracket Cap)
Hard Bracket L/Black
L4080/Black
L4590/Black

#4 With Small Flat Screw with Cross Hole (M6x18) Stainless

D Bracket Cap L

Hard Bracket Cap

EMaterial/Technical Data

Material Polyamide

Weight 6.0g(D Bracket Cap L)
1.8g(Hard Bracket Cap)

Environment RoOHS Compliant
Green Procurement

SF
]
—
[
3
Q
Y
=
(=X
m
=
Q
3
()

123



SF40 4555 <

Slot Cap

SF
()
-+
Y
=
o
Q
=
o
m
=
Q
3
o

10
<
o
1.2
5.6
11
Slot Cap L(£=2000)
(Black) (Light Gray) (Green)
Item No. SFA-102 SFA-102G SFA-102M
Slot Cap L(£=2000) ’ ;
(Blue) (Yellow) (Red) EMaterial/Technical Data
Material  Polyethylene
Item No. SFA-102L SFA-102Y SFA-102R Weight 46g/m
Environment RoHS Compliant
BMUsable Frame Green Procurement
. Compatible to all SF40 and 45 series
'Q (Groove Width 10mm)
‘."
10.6
10.4
|
©
© o
Q/ Y o
*Please remove the bottom
part to install SF40 Series. Dlgimlm v
Please remove to install 76
SF40 Series.
Slot Seal L(2=5000)
Item No. SFA-172
B Material/Technical Data
Material Elastomer
Weight 68g/m
HWUsable Frame i RoHS Compliant
Compatible to all SF40 and 45 series Green Procurement
(Groove Width 10mm)
I'-lao?wrﬁ)sorder - Exclusive Cutter for Slot Cap and Slot Seal is available.
Item No. Quantity (pcs)
124 SFA-102




Cable Clamp L / Slot Hook / Slot Hook L (U), (J)

D
i

o
— []
&
0
<
=}
<
Cable Clamp L(50 pcs/Pack)
(Black) (Light Gray)
Item No. C1P-B12C C1P-012C
Slot Hook L(U) Slot Hook L(J)
Item No. SFK-K33U SFK-K33J

HWUsable Frame

By
t.“

Cover Holder L Cap/Cover Support L6

M5,
Depth19

Slot Hook L (U)
20 12

20

5

Slot Hook L (J)

Cable Clamp L
m]mr*< S
I
0
20
L
BT o
] JJT ¥
19 -

Compatible to all SF40 and 45 series
(Groove Width 10mm)

Cover Holder L Cap
20.5
1

Cover Support L6

Flat

2-Long Drill

20

20
1
mﬂm

HMaterial/Technical Data
Cable Clamp L Slot Hook L (U), (J)

Material Polyamide  Polyamide
Weight 2.5g/pcs  3.7g(U)
4.5g(J)

Load Capacity 2kg
Environment RoHS Compliant
Green Procurement

Cover Holder L Cap Cover Support L6 Cover Support L6 Flat WKt Contents 1k
: (S
Item No. *SFAKH7 XSFU-K04 XSFK14 (Cover Support L6 Kit)
@Cover Support L6X1
@T Nut L(MB)x2 . .
@Truss screw (M5X10)X1 EMaterial/Technical Data
Cover Support_ L6 Kit vaer Support L§ Flaty Kit @Hexagon Socket Bolt (MBX15)x2 Cover Holder L Cap  Cover Support L6
{Cover Support L6(Stainless)Kit)  (Cover Support L6 Flat (Stainless) Kit) (Cover Support L6 Flat Kit) e e 2%\5[;33?'%“ L6 Flat
Item No. *SFK-KO4(ksFkoas)  ¥SFK-K14(fsricki4s) @Cover Support L6 Flatx] Color/Light Gray ~ Alumite Treatment
:¥ Nut L(M8) >(<’5| 1001 Weeh (Specil n(rder‘B\ackA\um\te\savai\gb\e‘]
russ screw (M5x10)x eight 8g 178 (Cover Support L6
BUsable Frame ] ] @Hexagon Socket Bolt (MBX16)x2 #With M5 Nut — 21.g(Cover Support L8 Flat)
Compatible to all SF40 and 45 series %Bolt and Nut in (Stainless) Kit  Enioment kRoHS Compliant
(Groove Width 10mm) are stainless. *Green Procurement
How to fix Cover
{Indication of Cover Holder, Cover Support, Resin Plate Dimension)
40 or 45
{(Resin Plate)
(u] m)
e
; | - Lo Cover Support L6
pe s ! L P Cover Holder L Cap
e N\ D Bracket L with Tap
H-—- \ Hard Bracket L with Tap
T Hard Bracket LG with Tap
@ Various Resin plates are available.
Sl <8 Refer P168~.
o o
In case of t=5 500mm pitch i
iéaseaft=3 300mm pich {Door accessories)
[T Il ~
T o7 o7 %
S = = F=9=T i
e SN SR A
f T : OJ 00
e
O () . o
_ e cover thickness is 5mm @ Various parts for door are available.
Each Bracket with Tap ' Cover Holder L Cap,Cover Support L Frame and Cover surfaces become flat. Refer P140~.

SF
()
-
o
3
Q
Y
=
Q
o
=
Y
3
o

125



SF
)
-
[
=}
Q
Y
=
Q
o
=
o
3
(]

SF40+ 4555

Slider L

Slider L

Item No. SFA-511

HWUsable Frame

. Compatible to all SF40 and 45 series
g: (Groove Width 10mm)

Minstallation list of recommendation Bolt-Nut
Recommended Bolt
Flat Bolt with Cross Hole(M4x25)

Appropriate Tightening Torque(N'm)
1.0

Recommended Nut
T Nut L(M4)

Installation Frame
SF40-45 series

Name
Slider L

Slot Roller L40/ L45

Slot Roller L40 Slot Roller L45

Resin Roller

Resin Roller

$58
$68

3 Smooth operation is MUsable Frame
possible because cutting \' {L40)
work is done with Roller. EQ Compatible to all SF40 series
>3 (Groove Width 10mm)
{L45)
Compatible to all SF45 series
(Groove Width 10mm)

Slot Roller L40  Slot Roller L45

Item No. SFK-807 SFK-808

M8

N

Slider L

2-Counterbore for M4
from the back

EMaterial/Technical Data

Material Polyacetal(Gray)

Weight 158

Envionment RoHS Compliant
Green Procurement

HMaterial/Technical Data
Material 6 Nylon(Resin Roller)
Steel (Bearing)
SC45C(Collar)
Weight 86.5g(L40)-120g(L45)
Envionment RoHS Compliant
Green Procurement
*Installation bolt size M6

#With 2 Bearings-Collar-Washer
Appropriate Tightening Torqgue 9.0N'm

Example of using Slot Roller L

(To frame's movable part) (As door roller)

Hexagon Socket Bolt M6x45(L40)
Hexagon Socket Bolt M6xX50(L45)

Cap Nut(M6)

Parts

How to order

Item No. Quantity (pcs)
SFA-511 ]




g

/ # Complex Parts




Complex Parts

SF
(2]
-
Q
=]
o
(Y
=
Q
n
=
Q
3
(]

Flat Bar

HMaterial/Technical Data

Material AB063 Alumite Treatment
Section Performance and Unit Mass Refer Table Below
Environment RoHS Compliant

1tem No. H ' (Geometrical Moment of Inertia(X10‘mm®) | Section Modulus(X10°mm?) | Unit Mass

Ix ly Zx Zy (kg/m)

FlatBar15 T=2 £=50~4000 SFF-A154 15 2 0.0562 0.001 0.075 0.01 0.08

g FlatBar15 T=3 £2=50~4000 SFF-A164 15 3 0.0843 0.0033 0.112 0.022 0.12

% Flat Bar20 T=2 £=50~4000 SFF-A174 20 2 0.1333 0.0013 0.133 0.013 0.11
Q

@ Flat Bar20 T=3 £=50~4000 SFF-A184 20 3 0.2 0.0045 0.2 0.03 0.16

Flat Bar20 T=5 £=50~4000 SFF-A194 20 5 0.3333 0.0208 0.333 0.083 0.27

Flat Bar30 T=2 £=50~4000 SFF-A204 30 2 0.45 0.002 0.3 0.02 0.16

Flat Bar30 T=3 £=50~4000 SFF-A214 30 3 0.675 0.0067 0.45 0.045 0.24

Flat Bar30 T=5 £=50~4000 SFF-A224 30 5 1.125 0.0312 0.75 0.125 0.41

FlatBar30 T=10 £2=50~4000 SFF-A14 30 10 2.248 0.250 1.499 0.500 0.81

Flat Bar40 T=3 £=50~4000 SFF-A234 40 3 1.6 0.009 0.8 0.06 0.32

Flat Bar40 T=5 £=50~4000 SFF-A244 40 5 2.666 0.0416 1.333 0.166 0.54

FlatBar40 T=10 £=50~4000 SFF-AC4 40 10 5.330 0.333 2.665 0.666 1.08

Flat Bar50 T=3 £=50~4000 SFF-A384 50 3 3.125 0.011 1.25 0.075 0.4

Flat Bar50 T=5 £=50~4000 SFF-A394 50 5 5.208 0.052 0.208 0.208 0.68

FlatBar70 T=5 £=50~4000 SFF-A404 70 5 14.282 0.073 4.081 0.291 0.94

Flat Bar75 T=5 £=50~4000 SFF-AY4 75 5 17.567 0.078 4.685 0.312 1.01

FlatBar100 T=5 £=50~4000 SFF-A414 100 5 41.647 0.104 8.329 0.416 1.35

In case of specifying the length (Cut by SUS)
Item No. Length (mm)
SFF-A154 :=800

=l

Example
of order

awesd 4s

128



SF
(7))
-~
o
=
Qo
Y
=
o
Ly
=
Q
3
(]

Angle

HMaterial/Technical Data

Material AB0OB3 Alumite Treatment
Section Performance and Unit Mass Refer Table Below
Environment RoHS Compliant

ltemn No. H h ' Geometrical Moment of Inertia(X10‘mm®) | Section Modulus (X 10°mm?®) | Unit Mass
Ix ly Zx Zy (kg/m)
Angle1515 T=1.5 £=50~4000 | SFF-A424 15 15 15 0.091 0.091 0.085 0.085 0.12
Angle2020 T=1.5 £=50~4000 | SFF-A444 20 20 15 0.223 0.223 0.154 0.154 0.16 g
Angle2020 T=2 £=50~4000 SFF-A014 20 20 2 0.288 0.288 0.201 0.201 0.21 %
o
Angle2020 T=3 £=50~4000 SFF-A024 20 20 3 0.403 0.403 0.289 0.289 0.30 @
Angle2020 T=5 £=50~4000 SFF-AU4 20 20 5 0.589 0.589 0.446 0.446 0.47
Angle3030 T=2 £=50~4000 SFF-A054 30 30 2 1.019 1.019 0.468 0.468 0.31
Angle3030 T=3 £=50~4000 SFF-A064 30 30 3 1.458 1.458 0.681 0.681 0.46
Angle3030 T=5 £=50~4000 SFF-A074 30 30 5 2216 2216 1.071 1.071 0.74
Angle4040 T=2 £=50~4000 SFF-A084 40 40 2 2476 2476 0.846 0.846 0.42
Angle4040 T=3 £=50~4000 SFF-A094 40 40 3 3.581 3.581 1.239 1.239 0.62
Angle4040 T=5 £=50~4000 SFF-A104 40 40 5 5.561 5.561 1.974 1.974 1.01
Angle5050 T=3 £=50~4000 SFF-A344 50 50 3 7.149 7.149 1.964 1.964 0.79
Angle5050 T=4 £=50~4000 SFF-A454 50 50 4 9.255 9.255 2.569 2.569 1.04
Angle5050 T=5 £=50~4000 SFF-A464 50 50 5 11.244 11.244 3.153 3.153 1.28
AngleB060 T=5 £=50~4000 SFF-A574 60 60 5 19.9 19.9 4.61 4.61 1.55
Angle7575 T=5 £=50~4000 SFF-AM4 75 75 5 39.814 39.814 7.319 7.319 1.96
Angle7575 T=6 £=50~4000 SFF-A514 75 75 6 46.882 46.882 8.677 8.677 2.33
Angle100100 T=6 £=50~4000 | SFF-A524 100 | 100 6 114.390 114.390 15.718 15.718 3.14
Angle150150 T=6 £=50~4000| SFF-A534 150 | 150 6 397.52 397.52 36.051 36.051 4.76
Angle1520 T=2 £=50~4000 SFF-A434 15 20 2 0.126 0.261 0.114 0.193 0.18
Angle2040 T=2 £=50~4000 SFF-A034 20 40 2 0.348 1.964 0.219 0.758 0.31
Angle2040 T=3 £=50~4000 SFF-A044 20 40 3 0.489 2.828 0.315 1.108 0.46
Angle2550 T=3 £=50~4000 SFF-A334 25 50 3 0.993 5.661 0.504 1.759 0.58

129



SF
(2}
=+
[y
3
o
Q
=
o
m
=
Q
3
[}

Complex Parts

Channel

Material

B Material/Technical Data

AB0B3 Alumite Treatment
Section Performance and Unit Mass Refer Table Below
Environment RoHS Compliant

i H X 4 H x 3, 3 .
ltern No. H h ¢ Geometrical Moment of Inertia(X10‘mm) | Section Modulus (X 10°mm?®) | Unit Mass
Ix ly Zx Zy (kg/m)
Channel1515 T=2 2 =50~4000 | SFF-A114 15 15 2 0.277 0.181 0.37 0.196 0.22
Channel1530 T=2 2 =50~4000 | SFF-A124 30 15 2 1.47 0.231 0.98 0.22 0.3
Channel2020 T=2 £ =50~4000 | SFF-A134 20 20 2 0.718 0.452 0.718 0.36 0.3

o
S
3 Adjuster A
Y = Adjuster AM12 Adjuster AM16 Adjuster A M20
@ !
‘ M16X2
| M20X2.5
M12X1.75 _L -
A g [
o b il g *
0 |
E |
11 uu | |
450 $60 $60
SUS Original Adjuster A
Adjuster A
M12-70 M16-140T M16-70T M20-130T
VEV(!“mll ® 17702 ;ég 27803 ;22 EMaterial/Technical Data
eight (&) Material SS400 (Zn Black)
Load Capacity (N) | 3500 5000 5000 5000 Bottom Neo Prene Rubber
Item No. SFA-607 SFK-935 SFK-936 SFK-938

@ o Incase of specifying the length (Cut by SUS) sxorder by 0.1mm unit 0 How to order
Example o ltem No. Length (mm) E Item No. Quantity (pcs)
130 oorder] 2 SFF-A114 :=800 o SFA-607 [ |




SF
()
-
o
3
Q
Y
=
Q
o
=
Q
3
o

Adjuster B

Adjuster B M8 Adjuster BM12 Adjuster BM16 Adjuster B M20
M16X2
E M20X2.5
M12X1.7 ‘g" < i
58 & o g 7 U
° M8Xx1.25 g%% S
i 383
S o
© ~ < ©
|_g37 | || #55 s | L |
SUS Original Adjuster B
Adjuster B
M12-68T M12-100T M12-100T (Stainless) M16-92T M16-150T M16-150T (Stainless) |M20-130T (Stainless)
2 (mm) 68 100 100 92 150 150 130
Weight (g) 129 153 155 276 346 349 499
Load Capacity (N) 3500 5000 3000 5600 5600 5600 8800
Item No. SFK-C84 SFK-933 SFK-933S SFK-C89 SFK-934 SFK-934S SFK-937S
Adjuster B
Adjuster B
M8-50 M8-50(Stainless) M12-150 M12-150 (Stainless) o
2 (mm) 50 50 150 150 EMaterial/Technical Data g
Weight (g) 55 55 205 204 Material SS400 k=1
Load Capacity (N) 2000 2000 6000 6000 , SUS304 (Stainless) %
Environment RoHS Compliant o
Item No. SFA-613 SFA-613S SFA-614 SFA-614S o
@
Small Diameter Adjuster M12
Double connector
i M12%1.75
_ & [%]
Resin-type
foot connector M12
1
® Adjuster usable for frames coupled with a double-connector. ] }’Ix{
¢38
SUS Original Small Diameter Adjuster BMaterial/Technical Data
Small Diameter Adjuster M12-60
M12-60T M12-100T M12-100T (Stainless) m";:'g'o S840
£ (f“"') 60 100 100 Material SS400
Weight (g) 101 132 134 M12-100 (Stainless) /M12 (Stainless)
Load Capacity (N) 2000 2000 1200 Material SUS304
Item No. GEN-002 GEN-000 GEN-003S Environment RoHS Compliant
Adjuster with hole for floor fixing pep—
Adjuster M12-50A M12-50A M12-50A (Stainless)
2 (mm) 50 50
M12X1.75 65 Weight (g) 195 197
Load Capacity (N) 5000 5000
3 o Item No. SFA-605 SFA-605S
2 ~1
14
~ ® HEMaterial/Technical Data
120 15 Material SS400
SUS304 (Stainless)
Environment RoHS Compliant
Foot M8 | FootM12 Foot M8 Foot M12
‘ Mi2 Item No. SFA-602-T SFA-603
N ]ﬂ o I 8} HEMaterial/Technical Data
) FootM8 Foot M12
Q . Material  Low-Carbon Steel Wire Rod
(Bottom: Palyamide)
e Weight  35g 71g
Load Capacity 800N 1000N

Environment RoHS Compliant

131



SF
(7]
-
Q
=]
Q.
Y
=]
o
Ly
=
Y
3
(]

sped xajdwod

132

Complex Parts

Caspad

@Install to Fram's end face

HDimension Table

@Install to Adjuster Plate

-
U

| Caspad ¢50-M12 Caspad $75-M16 D|H|hm |h|E|F|A|B| L[t |M]|M2/LoaCaah
3 SFA-703 SFA-704
ltom No. | Caspad $50M12| 50 | 67 | 10 | 5 | 30 | 34 | 40 | 60 | 35 | 2 |m12|m12| ses
Caspad ¢75-M16| 75 | 95 | 24 5 35 | 42 | 50 | 84 | 35 M16 |[M12| 1176
EMaterial/Technical Data
Material Nylon (Black) (Caster)
Equivalent to S3400 Uni-Chrome (Adjuster-Bolt)
Weight 263g(»50) 392g(¢75)
Environment RoHS Compliant Green Procurement
Caster M8 Caster A Double-Wheel Casters M12
M8x 125 a” Caster A(Stainless)  ax17s 21 17 iz
« : Hi
2 | P A
i} & S
5
8 >( E 2 2| o (] N
S
8 &J
>
20 17.5
20 59
Material _|Load Capacit Weight
Rubber | 30kg | 189g(223g)
Material/Rubber Load Capacity/30kg With Brake Available| | Caster A (Stainless) | Nylon | 40.8kg | 147g(175g) Material/Nylon Load Capacity/150kg With Brake Available
Weight/154g(165g with Brake) () : with Brake Weight/210g(219g with Brake)
[ Caster M8  Caster M8 with Brake Caster A Caster A with Brake  Caster A(Stainless)  Caster Awith Brake(Stainless) _Double-Wheel Casters M12 DoubleMWhee! Casters MT2 vith Brake
Item No. | GFN-665 GFN-666 SFK-582 SFK-583 SFK-582S SFK-583S TY60-12 TY60-12S
Caster B &, Caster B(Stainless) | Double-Wheel Casters M16 Caster C Caster C(Stainless)
s " 4 @ i 20, M16 9l g5 gi 95
. i / e T 4-995 K \
SN & N e e
e = q @~ &
AT ) v P : ,
i |
%) F © ~| = - 4
@ N‘ ° 275 ol o -
8 A = 2
’ N4 N5
185 =
Material Load Capacity| Weight 64 Material Load Capacity| Weight
Caster C Nylon 300kg | 902g
Caster B(Stainless)| Phenol Resin | 71.4kg | 285g Material/Nylon  Load Capacity/170kg Only with Brake Weight/291g | [Caster C(Stainless)| MC Nylon | 150k | 520g |
[ Caster B Caster B(Stainless) Double-Wheel Casters M16 with Brake Caster C Caster C(Stainless)
Item No. | SFK-595 SFK-5958 TY75-16S SFK-594 SFK-594S

@ o How to order
Example| o+ Item No. Quantity (pcs)
ooder] ® SFA-703 [ 1]




Caster Screw Fitting Type

Environment: RoHS Compliant

oy
-
7
M12, P1.75 L7 ]
T ()
¢50
©
= 5
® This Caster is for installation of Foot Connector or Adjuster $50M12 Only Caster has double whe
Caster Connector etc. Wheel: Nylony
E :
M Shaft Screw Caster Size. Weight
D T Wheel Body y Load L H E Weight
(mm) | (mm) | Material | Material NoBrake | WithBrake |capacity | (mm) | (mm) | (mm) | (g
149
M8 Rubber Steel Item No. GFN-665 GFN-666 300N 14 68 21 (169)
¢ 50
130
M12 Nylon — Item No. GFN-513 GFN-512 600 N 22 57.5 17 (130)
245
Rubber | Steel Item No. GFN-667 GFN-668 400 N 25 95 28 (270)
282
Urethane | Steel Item No. GFN-537 GFN-541 500 N 25 95 29 (312)
@75 M12
188
Nylon | Steel Item No. GFN-609 GFN-610 | 500N | 25 95 29 | (237)
, 316
Conductivity| ~ Steel Item No. GFN-526 GFN-524 240N 25 95 29 (352)
® (Blue Number) is a weight including brake
Caster Material Special Caster Material
i
Elasticit Abrasion Oil Water Chemical Heat
asticlly | Resistance | Resistance | Resistance | Resistance | Resistance
Rubber © O x (o] (o] (o]
;‘/{ L ) ! Urethane (@) © © A (e) O
LY. ) Nylon x © © © ©) o
- Conductvity (Rubber)|  © o) x o) o) o)
Rubber Urethane Nylon Conductivity

133

SF
(2]
P
Q
=
Q
Y
=
o
o
=
Y
3
(]

sHed xa|dwo)



Complex Parts

SF
(7]
v
Q
3
Q
Y
=
o
o
=
Y
3
(]

Free/leed CaSter Environment: RoHS Compliant

Adjustable Caster Fix Caster

N

@ Install T Nut and Bolt to Green Frame L Slot ¢ 75 Adjustable $100 - ¢ 150 Adjustable

® 75 Fix ®100 - ¢ 150 Fi

X
Size. Weight
D T Body Adjustable Load X Y A B H P E |Weight

(mm)| (mm) | Material NoBrake | With Brake 72 Capacity| (mm) [ (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) | (g)

610
Rubber Item No. GFN-539 | GFN-532 | GFN-550 | 600 N 630
306

610
975 | rethane|  Ste Item No. GFN-540 | GFN-533 | GFN-551 | soon | 55 | 42 | 70 | 28 | 93 | 88 | 28 [ g3

(60)
260
610
Conductivity Iltem No. GFN-538 | GFN-531 | GFN-552 | 360 N 630
306
1054
Rubber Item No. GFN-504 | GFN-500 | GFN-502 | 1200N 1054
873
1054
¢ 100 Steel
Urethane Item No. GFN-511 | GFN-508 | GFN-553 | 1000N 68 68 90 90 132 35 1084
831
1054
Conductivity Item No. GFN-546 | GFN-547 | GFN-548 | 720N 1054
873
1810
Rubber Item No. GFN-521 | GFN-507 | GFN-554 | 1600N 1840
1391
1810
150 Urethane Steel Item No. GFN-522 | GFN-517 | GFN-555 | 1400N 75 75 (1(())2) (?l(’:i) 190 41 1840
1338
1810
Conductivity Item No. GFN-510 | GFN-516 | GFN-556 | 960 N 1840

1467

sued xo|dwo)

® () is dimension for Fix Caster

® Weight Top : Adjustable no brake
Middle : Adjustable with brake
Bottom : Fix

@ How to order

Example Item No. Quantity (pcs)

134 of order GFN-539 [ ][]

s1ed




SF
(7))
-
[N
3
Q
Y
=
o
m
=
[
3
(]

Cable Holder
| Cable Holder for SF Large

s s‘1)01 )
ERE:
a4
(C

| Cable Holder for SF Middle

SF series
L(Groove Width 10mm)

Name

Cable Holder L (Large)

Color Item No.
Semi-Transparent Ci1F-L4C
White C1F-L4W
Red C1F-L4R
Yellow C1F-L4Y

4 pcs/pack

HEMaterial Material: Polypropylene Flame retardant grade: V-0 (excluding semi-transparent)
Mass: 35.2g/piece

Usable Frame
X

SF series
L(Groove Width 10mm)

Name

Cable Holder L (Middle)

SF series
S(Groove Width 8mm)

Cable Holder S (Middle)

By
o

SF series
SS(Groove Width 6mm)

Cable Holder SS (Middle)

Color Item No.
Semi-Transparent C1F-L3C
White C1F-L3W
Red C1F-L3R o
Yellow C1F-L3Y g
Semi-Transparent | C1F-S3C '%
White C1F-S3W X
Red C1F-S3R g
Yellow C1F-S3Y @
Semi-Transparent C1F-A3C
White C1F-A3W
Red C1F-A3R
Yellow C1F-A3Y
4 pcs/pack

HEMaterial Material: Polypropylene Flame retardant grade: V-0 (excluding semi-transparent)
Mass: L 20.2g/piece, S 19.08/piece, SS 18.3g/piece

‘ Usable Frame

Name

SF series
L(Groove Width 10mm)

Cable Holder L (Small)

SF series
S(Groove Width 8mm)

Cable Holder S (Small)

e

SF series
SS(Groove Width 6mm)

Cable Holder SS (Small)

Color Item No.
Semi-Transparent C1F-L2C
White C1F-L2wW
Red C1F-L2R
Yellow C1F-L2Y
Semi-Transparent C1F-s2C
White C1F-S2w
Red C1F-S2R
Yellow C1F-82Y
Semi-Transparent C1F-A2C
White C1F-A2W
Red C1F-A2R
Yellow C1F-A2Y

4 pcs/pack

HEMaterial Material: Polypropylene Flame retardant grade: V-0 (excluding semi-transparent)

Mass: L 10.7g/piece, S 9.7g/piece, SS 9.1g/piece

Classification of Holder/Ring
F--- Holder
R:--Ring

Classification of mounting frame
--Groove Width SS(6mm) 1
-- Groove Width S(8mm) 2:

-- Groove Width L (10mm) BJpoo
--DIN rail

OO

Classification of duct size

mQ—FF?

Classification of color

Minimum C --- Semi-Transparent
--Small W---White

Middle R---Red
--Large Y ---Yellow

135



Complex Parts

SF
(7]
v
Q
3
Q
Y
=
o
m
=
Y
3
(]

Cable Ring
| Cable Ring for SF Large

Usable Frame Name Color Item No.
= Semi-Transparent C1R-L4C
s ) White C1R-LAW

Cable Ring L (Large)
SF series Red C1R-L4R
L(Groove Width 10mm) Yellow CIR.LAY

10 pcs/pack

HEMaterial Material: Polypropylene Flame retardant grade: V-0 (excluding semi-transparent)
Mass: 14.4g/piece

Usable Frame Name Color Item No.
=~ Semi-Transparent C1R-L3C
N White 1R-L3W
s Cable Ring L (Middle) ¢
[« SF series Red C1R-L3R
g L(Groove Width 10mm) Yellow C1R-L3Y
S
) Semi-Transparent C1R-S3C
= B Whit C1R-S3W
> - Cable Ring S (Middle) ite -
a SF series Red C1R-S3R
S(Groove Width 8mm) Yellow C1R-S3Y
Semi-Transparent C1R-A3C
v .
s Cable Ring SS (Middle) White C1R-ASW
SF series Red C1R-A3R
SS(Groove Width 6mm) Yellow CIRASY

10 pcs/pack

HMMaterial Material: Polypropylene Flame retardant grade: V-0 (excluding semi-transparent)
Mass: L 8.4g/piece , S 7.8g/piece, SS 7.4g/piece

Usable Frame Name Color Item No.

- Semi-Transparent C1R-L2C

¢ White C1R-L2W

SF series Cable Ring L (Small Red C1R-L2R
L(Groove Width 10mm) Yellow C1R-L2Y
- Semi-Transparent C1R-S2C
s Cable Ring S (Small) White C1R-S2W

SF se_ries Red C1R-S2R
S(Groove Width 8mm) Yellow C1R-S2Y
Semi-Transparent C1R-A2C
Cable Ring SS (Small) White ClR-AZW

SF series Red C1R-A2R
SS(Groove Width 6mm) Yellow C1R-A2Y

10 pcs/pack
HEMaterial Material: Polypropylene Flame retardant grade: V-0 (excluding semi-transparent)
Mass: L 5.3g/piece , S 4.7g/piece , SS 4.3g/piece

Usable Frame Name Color Item No.
~ Semi-Transparent C1R-S1C
e i §

- Cable Ring S (Minimum) White CIR-S1W
SF series Red C1R-S1R
S(Groove Width 8mm) Yellow C1R-S1Y

Semi-Transparent C1R-A1C

f= N
P ) -
. Cable Ring SS (Minimum) White CIR-ATW
SF series Red CIRAIR
% SS(Groove Width 6mm) Vol il

20 pcs/pack
HMMaterial Material: Polypropylene Flame retardant grade: V-0 (excluding semi-transparent)
Mass: S 1.9g/piece, SS 1.5g/piece

Y How to order
—~ Iltem No. Quantity (pack)
136 ¢ Ci1R-L4C [ ]




SF
(]
-
Q
=
Q
Y
=
o
m
=
[
3
(]

Bolt

H Hexagon Socket Head Cap Screw Item No.
m Length (mm) Galvanized trivalent chromate treating products
Screw size 5 6 8 10 12 14 15 16 18 20 22 25 30 35
M3 SFB-531 | SFB-532 | SFB-533 | SFB-534 SFB-535 SFB-536 |SFB-531A
M4 SFB-540 | SFB-541 | SFB-542 SFB-546 | SFB-543 | SFB-54D | SFB-544
M5 SFB-55E | SFB-550 | SFB-551 | SFB-55C | SFB-55A | SFB-554 SFB-55B | SFB-555 | SFB-552 | SFB-553 | SFB-556
Mé SFB-56E | SFB-561 | SFB-560 | SFB-56B | SFB-562 | SFB-569 | SFB-56C | SFB-563 | SFB-56A | SFB-566 | SFB-564 | SFB-56P
M8 SFB-580 SFB-581 SFB-589 | SFB-582 SFB-583 | SFB-584
M10 SFB-929
M12 SFB-521
Screw size 40 45 50 55 60 70 80 85 90 110 115 120 125 130
M3
M4 SFB-545
M5
Mé SFB-565 | SFB-574 SFB-56G
M8 SFB-588 | SFB-58A SFB-58B SFB-58C
M10
M12
m Length (mm)
Screw size 5 6 8 10 12 14 15 16 18 20 22 25 30 35 9
M3 SFB-53PS | SFB-531S | SFB-532S | SFB-533S | SFB-534S SFB-53ES | SFB-53RS | SFB-535S | SFB-53HS SFB-536S | SFB-53FS é
M4 SFB-54PS | SFB-540S | SFB-541S | SFB-542S | SFB-54QS SFB-54RS SFB-546S | SFB-543S | SFB-54DS | SFB-544S | SFB-5D1S | SFB-54SS ;lz
M5 SFB-55ES | SFB-550S | SFB-551S | SFB-55CS | SFB-55AS | SFB-554S SFB-55BS | SFB-555S | SFB-552S | SFB-553S | SFB-556S | SFB-55ZS 3
Mé SFB-56ES | SFB-561S | SFB-560S | SFB-56BS | SFB-562S | SFB-569S | SFB-56CS | SFB-563S | SFB-56AS | SFB-566S | SFB-564S | SFB-56PS a‘
M8 SFB-58PS | SFB-580S | SFB-58KS | SFB-581S SFB-589S | SFB-582S | SFB-58DS | SFB-583S | SFB-584S
M10 SFB-929S SFB-594S
M12 SFB-522S SFB-521S
Screw size 40 45 50 55 60 70 80 85 90 110 115 120 125 130
M3 SFB-53VS SFB-53GS

M4 SFB-5D2S | SFB-545S | SFB-54TS

M5 SFB-55US | SFB-55PS |SFB-55WS | SFB-55QS | SFB-595S SFB-55XS | SFB-55RS | SFB-55SS | SFB-55YS | SFB-55TS

M6 SFB-565S | SFB-574S | SFB-56SS SFB-56GS | SFB-56TS | SFB-56US SFB-56VS
M8 SFB-588S | SFB-58AS SFB-58SS | SFB-58BS | SFB-58TS | SFB-58CS SFB-58QS | SFB-58RS

M10 SFB-596S SFB-5D4S

M12

H Cross-Recessed Flat Head Screw

Length (mm) Galvanized trivalent chromate treating products
Screw size 5 6 8 10 12 15 16 18 20 22 25 30 35 45
M3 SFB-530A | SFB-530 SFB-539
M4 SFB-54A | SFB-54B | SFB-54E SFB-54F
M5 SFB-54G | SFB-559 | SFB-557
M6 SFB-54J SFB-54K
m Length (mm)
Screw size 5 6 8 10 12 15 16 18 20 22 25 30 35 45
M3 SFB-9N3S | SFB-9N4S | SFB-530S | SFB-539S SFB-53QS | SFB-5D3S SFB-5D6S
M4 SFB-9N6S | SFB-54AS | SFB-54BS | SFB-54ES | SFB-54FS | SFB-5D5S SFB-9N7S | SFB-9N8S | SFB-9N9S SFB-9P6S | SFB-54ZS
M5 SFB-54GS | SFB-9P0S | SFB-9P1S | SFB-9P2S | SFB-9P3S SFB-9P4S SFB-9P5S | SFB-9P7S
M6 SFB-54HS | SFB-54JS | SFB-54KS SFB-571S

Hexagon Socket Head Cap Screw Cross-Recessed Flat Head Screw

137



Complex Parts

SF
(7]
v
Q
3
Q
Y
=
o
m
=
Y
3
(]

Bolt

H Hexagon Socket Flat Head Cap Screw

0 Length (mm) Galvanized trivalent chromate treating products

Screw size 6 8 10 12 15 16 18 20 25 30 35 40 45 50 55

M3 SFB-53A

M4

M5 SFB-55F | SFB-917 SFB-927 | SFB-502 SFB-55G SFB-55H | SFB-9C6 | SFB-9C7

Meé SFB-56J | SFB-914 | SFB-916 | SFB-915 SFB-56D

M8 SFB-926 | SFB-918 | SFB-928 SFB-58F

M10 SFB-920 | SFB-501

a Length (mm)
Screw size 6 8 10 12 15 16 18 20 25 30 35 40 45 50 55

M3 SFB-9L6S |SFB-53AS

M4 SFB-9L7S | SFB-9L8S SFB-9L9S SFB-9P8S

M5 SFB-55FS | SFB-917S | SFB-559S | SFB-927S | SFB-502S SFB-9B5S |SFB-55GS |SFB-9M1S|SFB-9M2S| SFB-55HS | SFB-9C6S | SFB-9C7S |SFB-9M7S

M6 SFB-56JS | SFB-914S | SFB-916S |SFB-915S SFB-9M3S|SFB-56DS | SFB-56NS | SFB-9M5S|SFB-9M8S | SFB-9M9S| SFB-9N0S

M8 SFB-926S |SFB-918S | SFB-928S SFB-58FS | SFB-58JS | SFB-9M6S SFB-9N1S|SFB-9N2S SFB-9R7S

M10 SFB-920S

M Truss Head Screw

0 Length (mm)

o Screw size 5 6 8 10 12 14 15 18 20 30 35!
g M3 SFB-538
=3 M4 SFB-548 SFB-54C | SFB-924 | SFB-925 SFB-54M | SFB-54N
[
x M5 SFB-558A | SFB-558 |SFB-558B SFB-558C SFB-55J | SFB-55K
e
% M6 SFB-56K | SFB-56L SFB-56M
2 3 Length (mm)

Screw size 5 6 8 10 12 14 15 18 20 30 35

M3 SFB-53US | SFB-538S | SFB-53JS

M4 SFB-548S |SFB-54US | SFB-54CS| SFB-924S | SFB-925S SFB-54VS
M5 SFB-597S | SFB-55LS | SFB-558S |SFB-55MS| SFB-598S | SFB-55NS
Mé SFB-56KS | SFB-56LS

H Tapping Screw (Stainless)

No. Part Code Description

1 SFE-100 Tapping Screw P (SUS) M4x10mm. (P8x3/8")

2 SFE-101 Tapping Screw P (SUS) M4x30mm. (P8x1x1/4")

3 SFE-102 Tapping Screw P (SUS) M4x40mm. (P8x1x1/2")

4 SFE-103 Tapping Screw P (SUS) M4x25mm. (P8x1")

5 SFE-104 Tapping Screw P (SUS) M4x16mm. (P8x5/8")

6 SFE-105 Tapping Screw P (SUS) M4x35mm. (P8x1x3/8")

H Plain Washer M Spring Washer H Hexagon Nut

Size Uni-Chrome m Size Uni-Chrome W Size Uni-Chrome m
M3 SFB-904 SFB-9H1S M3 SFB-9T4 SFB-9J1S M3 SFB-930 SFB-9F1S
M4 SFB-906 SFB-9H2S M4 SFB-547 SFB-9J2S M4 SFB-9F2 SFB-9F2S
M5 SFB-9T8 SFB-967S M5 SFB-9T5 SFB-9J3S M5 SFB-961 SFB-961S
M6 SFB-902 SFB-902S Mé SFB-9T6 SFB-9J4S M6 SFB-960 SFB-960S
M8 SFB-903 SFB-903S M8 SFB-9T7 SFB-934S M8 SFB-959 SFB-959S
M10 SFB-964 SFB-9H3S M10 SFB-965 SFB-9J5S M10 SFB-9F6 SFB-9F6S
M12 SFB-905 SFB-9H4S M12 SFB-9J6 SFB-9J6S M12 SFB-901 SFB-901S
M16 SFB-907 SFB-9H6S

.--——'-'-"""-'l.\'-

Hexagon Socket Flat Head Cap Screw Truss Head Screw Tapping Screw (Stainless)
Plain Washer Spring Washer Hexagon Nut
@ e How to order
Example ~ ltem No. Quantity (pcs)
138 doder] ® SFB-55F [ ][]




I STANDARD FRAME
- A S .
- j Door-Panel

Clean Equipment



Door<Panel Parts Fixed Hinge

SF
2
—
Q
=]
Q.
o
=
[=X
o
=
[
3
(]

Flat Hinge

Flat Hinge SS. S series Flat Hinge L series
Al At
Counterbore for 4M (C) = A - © Counterbore for 4-M (C) = A he o)
o o - ke
SN[ P~ 3
HipNZ o | £
I & ©
@ 11 ' 111
= @ L
d\} (] @ i&l
5 T 8 @ M-©
#5
R R
Material/A6N01SS-T5 Alumite Treatment 26.99(58) * . . 0_ 58.7g(L40) = . D_
MEnvironment RoHS Compliant 35.49(S) — 72.59(L45) 0 —F
Name Item No. A B Al | A2 | BT | B2 | (O D t R | !noieetionof ihe Load
Flat Hinge SS SFA-2A1
Flat Hinge SS Kit sFk2a1 | 21| B | 6 | 7S L T 49
(Flat Hinge SS (Stainless) Kit) (SFK-2A1S) 47
Flat Hinge S SFA-2A2
Flat Hinge S Kit SFK2A2 | 32 | 30 | 48 | 8 8.5
(Flat Hinge S (Stainless) Kit) (SFK-2A2S)
Flat Hinge L40(MB6) SFA-2A3
Flat Hinge L40(M6) Kit SFK2A3 | 42 | ¥ | 62 1 10 18 | 6 | 681 ] 45| & 73
(Flat Hinge L40(M6)Stainless Kit) (SFK-2A3S) 63
Flat Hinge L45(MB6) SFA-2A4
Flat Hinge L45(M6) Kit SFK-2A4 47 | 43 | 80 | 165 10
o OU (Flat Hinge L45(M6)Stainless Kit) (SFK-2A4S)
[}
3 _O" (Flat Hinge SS Kit) (Flat Hinge S Kit) (Flat Hinge L40(MB6)Kit) {Flat Hinge L45(M6)Kit)
m o kKt @Flat Hinge SSX1 @Flat Hinge SX1 @Flat Hinge L40(MB)x1 @Flat Hinge L45(M6B)x1
= Contents @Cross-Recessed Flat Head Bolt(M5X8)x4  @Cross-Recessed Flat Head Bolt(MBX12)x4  @Cross-Recessed Flat Head Bolt(MBX15)x4  @Cross-Recessed Flat Head Bolt(M6X15)X4
= @T Nut SS(M5)X4 @71 Nut S(MB)*x4 OT Nut L(MB)x4 OT Nut L(MB)x4
g 3 Bolt and Nut for (Stainless)Kit is stainless.
Flat Hinge for Irregular Shape Frame
A1
Counterbore for 4-M (C) |A2 A A2
NS
NZBi N
& o Ll
N NN
o & NZ
5
R
N i
Material/ AGNO1SS-T5 Alumite Treatment 58.79(L40-S, L45S) -~ ‘
BRs =
HEnvironment RoHS Compliant
Name Item No. A B Al | A2 | Bt B2 | (C) D t R | neicetRnet the Load
Flat Hinge L40-S SFA-2A5
Flat Hinge L40-S Kit SFK-2A5 37 125
Flat Hi L40-S (Stainl Kit SFK-2A5S,
(Fat Hinge LA0 S Gtainless) ki)« ) 37 | 62 63 | 13 | 6 | 61 | 45 | 6.1 73
Flat Hinge L45-S SFA-2A6
Flat Hinge L45-S Kit SFK-2A6 39 15
(Flat Hinge L45-S (Stainless) Kit) (SFK-2A6S)
{Flat Hinge L40-S Kit) {Flat Hinge L45-S Kit)
kit @Flat Hinge L40-SX1 @7 Nut L(MB)*x2 @Flat Hinge L45-SX1 @7 Nut L(MB)*x2
Contents @Cross-Recessed Flat Head Bolt(M6x12)x2  @T Nut S(MB)x2 @Cross-Recessed Flat Head Bolt(M6x12)x2  @T Nut S(M6)x2
@Cross-Recessed Flat Head Bolt(MB6X15)x2 @ Cross-Recessed Flat Head Bolt(MBX15)x2

%Bolt and Nut for (Stainless)Kit is stainless.

Parts
How to order
Item No. Quantity (pcs)

140 SFA-2A1 [[]



Slip-Joint Hinge / Irregular Shape Slip-Joint Hinge

Slip-Joint Hinge Irregular Shape Slip-Joint Hinge
Al al ¥This drawing is R

@C)p(D)Depth of Spot |\, )\, ¢(c) ¢ (d)Depth of Spot spec. L spec is
Facing (E) for 4-M(B) S ~ Facing (e) for 2-M(b) a2 _a_, a _ a3 symmetry to this.
1 | | |
[0 1 —
2 [RCMC]) = T 5 :
| 4 -

80

)
<

gl 32“

JlLiS 105g (3020

96g (SS) R7.5 114g

80

@ 11¢6.5 Depth of Spot
%8 Facing 4.4 for 2-M6

(3020)
(4020)
114g (S) 120g (4520)
Electroless nickel plating Acrylic Paint 132g (L40) 123g (4030) 5
HMEnvironment RoHS Compliant Green Procurement 144g (L45) = 129g (4530) =|
EMaterial  Aluminum Die-Casting (ADC12)
Item No.

Name Single Item (Bolt - Nut Kit (Stainless) ) A A1 A2 (B) (C) (D)
Electroless Nickel Plating  Acrylic Paint [Electroless Nickel Plating Acrylic Paint

Slip-Joint Hinge SS-L | SFA-2N2 | SFA-2N2P | (SFK-2N2S) | (SFK-2N2P)
Slip-Joint Hinge SS-R SFA-2N1 | SFA-2N1P | (SFK-2N1S) (SFK-2N1P)
Slip-Joint Hinge S-L SFA-2N4 | SFA-2N4P | (SFK-2N4S) (SFK-2N4P)
Slip-Joint Hinge S-R SFA-2N3 | SFA-2N3P | (SFK-2N3S) (SFK-2N3P)
Slip-Joint Hinge L40-L | SFA-2N6 | SFA-2N6P | (SFK-2N6S) | (SFK-2N6P)
Slip-Joint Hinge L40-R| SFA-2N5 | SFA-2N5P | (SFK-2N5S) (SFK-2N5P)
Slip-Joint Hinge L45-L | SFA-2N8 | SFA-2N8P | [(SFK-2N8S) (SFK-2N8P)
Slip-Joint Hinge L45-R| SFA-2N7 | SFA-2N7P | (SFK-2N7S) | (SFK-2N7P)

E) Indication of the Load
(N/Piece)

26 41 7.5 5 55 | 95 | 41 73

(Slip-Joint Hinge SS-L(R)Kit) (Slip-Joint Hinge S-L(R)Kit) (Slip-Joint Hinge L40-L(R)Kit) (Slip-Joint Hinge L45-L(R)Kit)
Kt @Slip-Joint Hinge SS-L(R)X1 @Slip-Joint Hinge S-L(R)X1 @Slip-Joint Hinge L40-L(R)X1 @Slip-Joint Hinge L45-L(R)X1
Contents @Hexagon Socket Low Head Bolt(M5X8)Stainlessx4  @Hexagon Socket Low Head Bolt(M6X12)Stainlessx4 @Hexagon Socket Low Head Bolt(M6X15)Stainlessx4 @Hexagon Socket Low Head Bolt(M6X15)Stainlessx4
@ST Nut SS(M5)x4 @ST Nut S(MB)x4 @ST Nut L(MB)x4 @ST Nut L(MB)x4
Item No. -
Name l Single Item (Bolt - Nut Kit_(Stainless) J a a |at a2 a3 |®]| @] @] (e Indication of the Load
Electroless Nickel Plating Acrylic Paint [Electroless Nickel Plating| Acrylic Paint (N/PIECE)
Slip-Joint Hinge 3020-L | SFA-2D2 | SFA-2D2P | (SFK-2D2S) | (SFK-2D2P)
T 155 | 48 12
Slip-Joint Hinge 3020-R | SFA-2D1 | SFA-2D1P | (SFK-2D1S) | (SFK-2D1P)
Slip-Joint Hinge 4020-L | SFA-2D4 (SFK-2D4S)
13 |205| 57 | 75| 16 | 5 | 55|95 4.1
Slip-Joint Hinge 4020-R | SFA-2D3 (SFK-2D3S) 73
Slip-Joint Hinge 4520-L | SFA-2D6 (SFK-2D6S) 23 | 62 185
Slip-Joint Hinge 4520-R | SFA-2D5 (SFK-2D5S) ’
Slip-Joint Hinge 4030-L | SFA-2E2 (SFK-2E2S) 205 | 64 16
Slip-doint Hinge 4030-R | SFA-2E1 (SFK-2E1S) ’
— 15.5 12 6 65| 11 | 44 98
Slip-Joint Hinge 4530-L | SFA-2E4 23 | 69 185
Slip-Joint Hinge 4530-R | SFA-2E3 ’

(Slip-Joint Hinge 3020-L(R)Kit) (Slip-Joint Hinge 4020-L(R)Kit) (Slip-Joint Hinge 4520-L(R)Kit) (Slip-Joint Hinge 4030-L(R)Kit) (Slip-Joint Hinge 4530-L(R)Kit)
@Slip-Joint Hinge 3020-L(R)X1 @Slip-Joint Hinge 4020-L(R)X1 @Slip-Joint Hinge 4520-L(R)x1 @Slip-Joint Hinge 4030-L(R)X1 @Slip-Joint Hinge 4530-L(R)X1
Kit ~ @Hexagon Socket Low Head Bolt(M5x8)Stainlessx2  @Hexagon Socket Low Head Bolt(MBx8)Stainlessx2  @Hexagon Socket Low Head Bolt(V5X8)Stainlessx2  @Hexagon Socket Low Head Bolt(M6X12)Stainlessx2 @Hexagon Socket Low Head Bolt(MBX12) Stainlessxe
Contents @Hexagon Socket Low Head Bolt(MBX12)Stainlessx2 @Hexagon Sacket Low Head Bot(M6X15)Stainlessx2  @Hexagon Socket Low Head Bolt(MBX15)Stainlessx2 @Hexagon Sacket Low Head Bolt (M6X15)Stainlessx2 @Hexagon Sacket Low Head Bolt (M6X15)Stainless @
@ST Nut SS(M5)x2 @ST Nut SS(MB)x2 @ST Nut SS(MB)x2 @ST Nut S(MB)x2 @ST Nut S(MB)x2
@ST Nut S(MB)x2 @ST Nut L(MB)x2 @ST Nut L(MB)x2 @ST Nut L(MB)x2 @ST Nut L(MB)x2

Plate Nut for Flat Hinge

7
= P
\‘
~.
~. > a HMaterial/Technical Data
~ S Material Stainless
N Weight  13g(SS)
5 - 16g(S)
oD - 20g(L40)
N 22g(L45)
% L Environment RoHS Compliant
) < Green Procurement
% Use it when the door is resin panel. P
Name Item No. A B L C
Plate Nut for SS Hinge SFB-303 75 25 40 M5
Plate Nut for S Hinge SFB-304 ' 30 45
Plate Nut for L40 Hinge SFB-305 9 37 55 M6
Plate Nut for L45 Hinge SFB-306 10 43 63

141

o
8
=
m
o
=
=3
3
@
=

SF
()
—
o
=]
Q.
o
=
o
m
=
Q
3
(2]

|oued - J00Q




SF
(7))
P
Q
3
o
Y
=
o
o
=
L
3
(1]

142

Door<Panel Parts Freec Hinge

At
L Courtetns for 446} e A Al A R o A A pg [ Couteiorefor 4M(C)
8 - - 8
ZNN Tz
N7 N7
m [ < 3 I o
| o ~ ) |
@&y Il j = L sy
ol 8 NZam M| BN vy
= IIZNY /Ay =
Il N\ - N Il
@ I & ® I @
tt @ @ it
35.2g (SS) o | | 5 Y
47.9g (S) . _J-Lﬁ‘s Lo .
71.2g (L40) R5.5 R5.5
Material/Aluminium Alloy ~Alumite Treatment y | @Nl | ) ! 1 @ | !
MEnvironment RoHS Compliant Green Procurement J‘* 4* jr* 44{
Item No. Indication of the Load
Name - - - A B | A1 | A2 | Bl |B2| B3| B4|(C) t (N/Piece)
Single Item Bolt - Nut Kit Bolt:Nut(Stainless)Kit
Free Hinge SS-L SFA-21L (SFK-21L) (SFK-21LS)
- 16 | 20 | 48 | 8 | 71 35| 5 4 49
Free Hinge SS-R SFA-21R (SFK-21R) (SFK-21RS) 75| 16
Free Hinge S-L SFA-22L (SFK-22L) (SFK-22LS) ’
- 21 | 25 62 | 10 | 81 40
Free Hinge S-R SFA-22R (SFK-22R) (SFK-22RS) 6 | as 73
Free Hinge LAO(MB)-L | SFA-23L | (SFK-23L) (SFK-23LS) '
26 | 30 [ 80 | 14 | 101 | 10 | 21 | 50
Free Hinge L4A0(MB6)-R | SFA-23R (SFK-23R) (SFK-23RS)
(Free Hinge SS-L(R)Kit) {Free Hinge S-L(R)Kit) {Free Hinge L40(MB)-L (R)Kit)
kit @Free Hinge SS-L(R)X1 @Free Hinge S-L(R)X1 @Free Hinge L40(MB)-L(R)X1
Contents @Cross-Recessed Small Flat Screw(M5Xx8)x4  @Cross-Recessed Small Flat Screw(MBX12)x4  @Cross-Recessed Small Flat Screw(MBX15)x4
@T Nut SS(M5)x4 @T Nut S(MB)x4 @T Nut L(MB)X4
% Bolt and Nut for [Bolt-Nut (Stainless) Kit] is stainless.
L Couterhore for 2 (© Al R Al Counterbore for 2-M(C)
A2 A A A3 A3 A" A A2
2 - - f N
2K \‘I N
o i 3 _3 HdI®
i & ! z = 1|y
@ NZallii HNENZAEPS
B 111 I S 8l 5
R NZa
i Il G 8 Iy i
A Al
41.7g (3020) H \\R W Hl E
7g T T
53.4g (4020) 8 _,u(ﬂs Counterbore for M6 | Counterbore for 2-M6 _,I_Lﬁ
53.4g (4520)
59.6¢ (4030) R85 0 0 R5.5
59.68 (4530) - o M} N S -
MEnvironment RoHS Compliant Green Procurement T i L -
Item No. ot
Name A |A | B |B |Al|A2|A3|B1|B2|B3|B4|B5|(C)| t |"=nsinetoxd
Single Item| Bolt:Nut Kit | Bolt:Nut(Stainless)Kit
Free Hinge 3020-L | SFA-25L | (SFK-25L) | (SFK-25LS)
- 21 25 | 55 10 | 76 | 75| 16 40
Free Hinge 3020-R | SFA-25R | (SFK-25R) | (SFK-25RS)
Free Hinge 4020-L | SFA-26L | (SFK-26L) | (SFK-26LS)
- 16 | 26 | 20 8 14 35 5 4 49
Free Hinge 4020-R | SFA-26R | (SFK-26R) | (SFK-26RS) 5 86
—— 4 —
Free Hinge 4520-L | SFA-27L | (SFK-27L) | (SFK-27LS)
285 115
Free Hinge 4520-R | SFA-27R | (SFK-27R) | (SFK-27RS)
- 30 10 | 185 —— 50
Free Hinge 4030-L | SFA-28L | (SFK-28L) | (SFK-28LS)
26 14
Free Hinge 4030-R | SFA-28R | (SFK-28R) | (SFK-28RS)
- 21 —— 25 71 10 —— 91 40 6 |45 73
Free Hinge 4530-L | SFA-29L | (SFK-29L) | (SFK-29LS)
285 115
Free Hinge 4530-R | SFA-29R | (SFK-29R) | (SFK-29RS)
{Free Hinge 3020-L (R)Kit) (Free Hinge 4020-L (R)Kit) (Free Hinge 4520-L (R)Kit) (Free Hinge 4030-L(R)Kit) (Free Hinge 4530-L (R)Kit)

@Free Hinge 3020-L(R)x1 @Free Hinge 4020-L(R)x1 @Free Hinge 4520-L(R)x1 @Free Hinge 4030-L(R)x1 @Free Hinge 4530-L(R)x1
kit @Cross-Recessed Small Flat Screw(MBX12)x2  @Cross-Recessed Small Flat Screw(MBX15)x2 - @Cross-Recessed Small Flat Screw(MEX15)x2 @Cross-Recessed Small Flat Screw(M6X15)x2 @Cross-Recessed Small Flat Screw(MBX15)x2
Contents @ Cross-Recessed Small Flat Screw(M5%8)x2 - @Cross-Recessed Small Flat Screw(M5x8)x2  @Cross-Recessed Small Flat Screw(M5x8)x2 @Cross-Recessed Small Flat Screw(MBX12)x2 @Cross-Recessed Small Flat Screw(MBX12)x2
@71 Nut S(MB)*x2 @T Nut L(MB)*x2 @T Nut L(MB)*x2 @T Nut L(MB)*x2 @T Nut L(MB)*x2
@T Nut SS(M5)x2 @T Nut SS(M5)x2 @T Nut SS(M5)x2 @T Nut S(MB)*x2 @T Nut S(MB)*x2

% Bolt and Nut for [Bolt-Nut (Stainless) Kit] is stainless.

How to order
Item No. Quantity (pcs)



SF
]
-
Q
=]
Q.
Y
=
o
mn
=
Y
3
o

Choice of Flat Hinge

In case door-side frame is SF30 series and the body frame is SF40 or 45 series. In case frames at door and body are the same series.

)N

Choice of Free Hinge and Slip-Joint Hinge

In case frames at door and body are the same series. (This drawing is L type)

N

(=N

In case frames

at door and body

are different
(This drawing
is L type)

Frame B

In case frame A

is SF-20 series.

' Frame B Hinge Name Item No.
) Free Hinge 3020-L(R) SFA-25L (SFA-25R)
F-

SF-30 series | 5u Joint Hinge 3020-L(R)| SFA-2D2(SFA-2D1)
) Free Hinge 4020-L(R) SFA-26L (SFA-26R)

- SF-40 series [ - -
z Hinge Name Item No. Slip-Joint Hinge 4020-L(R)| SFA-2D4(SFA-2D3)
Free Hinge SS-L(R) SFA-21L (SFA-21R) SF-45 seri Free Hinge 4520-L(R) SFA-27L (SFA-27R)

SF-20 series -45 series - . =
Slip-Joint Hinge SS-L(R) | SFA-2N2(SFA-2N1) Stip-Joint Hinge 4520-L(R)| SFA-2D6(SFA-2D5)

SE-30 seri Free Hinge S-L(R) SFA-22L (SFA-22R) In case frame A is SF-30 series.
- series "
Slip-Joint Hinge S-L(R) | SFA-2N4 (SFA-2N3) Frame B = ﬂ'_”ge 2'8‘;"& O Z'QGL”(‘S'\;(;\ 5
- . ree Hinge - . .

SF-40 series Free Hinge L40(M6)-L(R) | SFA-23L (SFA-23R) SF-40 series Shio-Joint Hinge 4030-L(R)| SFA-2E2 (SFA-2E1)
Slip-Joint Hinge L40-L(R) | SFA-2N6 (SFA-2NS) 45 soros |_Free Hinge 4530L(R) | SFA-29L (SFA-29R)
SF-45 series | Slip-Joint Hinge L45-L(R) | SFA-2N8(SFA-2N7) 49 SEMES ISlip-Joint Hinge 4530-L(R)| SFA-2E4 (SFA-2E3)

z Flat Hinge Name Item No.
SF-20 series Flat Hinge SS SFA-2A1
Y Flat Hinge Name Iltem No. SF-30 series Flat Hinge S SFA-2A2 oo
SF-40 series Flat Hinge L40-S SFA-2A5 SF-40 series Flat Hinge L40 (M6) SFA-2A3 g 5
SF-45 series Flat Hinge L45-S SFA-2A6 SF-45 series Flat Hinge L45 (M6) SFA-2A4 .é" §
T @
g2
@
=

143




SF
()
I~
o
=]
o
Y
=
o
o
=
o
3
o

EMaterial
HEWeight

MEnvironment RoHS Compliant Green Procurement

144

Stainless SUS304
54.9g

How to order
Item No.

Quantity (pcs)

Door<Panel Parts Free Size Hinge

73

70

2 8 @ O3 ))| 8 ¢
I
I
o | N
20 4-M3 Flat, 20 t=2
T
Maximum Attaching Pitch,
Name Stainless Door Lock
Item No. SFA-3A1
Example of mounting Small Flat Screw with Cross Hole (M3)2 pes
Length : See Table
Small Flat Screw with Cross Hole(M3)2 pcs
Length : See Table
Frame Screw Length (nn)
[JFor 20 6
[CFor 30 8

T Nut% (M3)
2 piece

T Nut 3 (M3)
2 piece

#%Please select by the Frame Shape.
It's usable with Lock Nut as well.




Pull

40
Pull G Type [ _ Inner Pull
8 o 100 |——]19010
¥ 90 T i
Weight/agg ~ (#o5) NN 110 | 2 [ 1 ]
Material/A6063  Alumite Treatment (119.5) 2 o i i
) top T 2-¢6 ‘
Setting Plate for Pull G ;59 T 119
5’5 o o 110 119] I 86 63 Panel Drilling Dimension
z ’\l | Ty
T <
H®4 4-R5 :
al SR it
L
f S| e
EWeight Refer Drawing [Countenvore for M4 = Weight/58g
MEnvironment % RoHS Compliant Material/A6063 Alumite Treatment Weight/35g Material/SUS304 ¥With 2 M4 Nuts
Green Procurement #Pull G can be attached from the surface.
Name Pull G Type Setting Plate for Pull G Inner Pull
Item No. *SFA-305 *SFA-306 *SFA-307
Pull A Type Pull B Type g Pull C Type 115
= f | |
——— 8 Ho——® EOE
Spét Facing for 2-M6 ‘ Countersink for 2:M5
|
o E o i o
[S2] 0E+ ~ L}F [S2]
© - HH
T 100 [
| 110 2-M6 Depth 8 615
Material/Polycarbonate Black Weight/19g Material/Glass Fiber Reinforced Nylon Black Weight/30g Material/ZDC  Satelite Chromeplating Weight/101g
Attaching Bolt for M6 Flat-Head Screw for M5
Name Pull A Type Pull B Type Pull C Type
Item No. ¥SFA-301 ¥SFA-308 SFA-304
Pull Rail With Pull Rail Cap Pull D Type
With Pull Rail Cap A With Pull Rail Cap B
5 ’ ’ )
3 With Pull Rail Cap A and B (1piece each)
© 3 3
) — PR 35 145
Q © @ ©
= ] (] .
o © o ©
N Q [ %
20 20 =~ 20 ]
o - with 2 T Nuts SS(M5)
Unit Mass/0.73kg/m .
Material/Aluminum Extrusion Weight/112g
Treatment/Alumite Treatment Usable Nut/SS Size (P26) Material/Polyamide (Light Gray) Weight/2g ¥ With 2 Slip Stoppers
Name (A Rail(2=4000) Pul Rail( {=50~4000) ~ Pull Rail Cap A Pull Rail Cap B Pull D Type
@ Handle Rail Cut Length 4M: £ =(4030mm)
It's material to be cut by customer  [tem No. ¥SFF-T05 ¥SFF-T02 ¥SFF-T04 *SFA-390 ¥SFA-391 *SFK-701
Effective use area ¢ =4000mm

How to install Pull G

@ You can open and close the doors in safety
if you install them to double door.

{Pull Rail)

o \0 y
7/ VAR
e ®a

®|t's effective to reinforce or to prevent flexure,
when a door is constructed only by Resin Plate.

How to install Pull Rail

(Indication of Panel

T Nut SS(P26) Processing Dimension)

Anti-Skid Cap SS(P26)

Q=

o
@D
1Y
=]
m
=)
=
=]
3
@
2

SF
2
<3
[
=}
o
Y
=
Q
T
=
Q
3
()

Joued . Jooq




o
(3
i
=]
m
=)
=5
=]
3
@
2

SF
2
<3
o
=}
o
Y
=
Q
o
=
Q
3
(]

Joued . Jooq

SF Door+Panel Parts \agnet Catch

Magnet Catch N (For Frame Rim Door)

Magnet Catch N(Adsorbability:29.4N)

Name

Magnet Catch N

Item No.

SFA-40A

Material Stainless

Countersink

HIn case of Door Frame [ 120mm (Include Panel Frame)

HMaterial/Technical Data
Magnet Catch Housing

Magnet MG Bracket
Ferrite  Aluminum

Dark Brown Painting
Weight 35g(Magnet Catch N)

Door Frame [ 120mm+ Body Frame [120mm
(MG Bracket SS Kit)

®
®\‘D/%&<? |
e 8

A 8
bijﬂ \ 3
ﬁ 20 \®@
20 27 =
o]
Weight 91.7g/set
Kit Contents

(MMagnet Catch Nx1
@MG Bracket SSx1
@Truss Screw(M4x5)x2
@Flat-Head Screw(M3x6)X1
®T Nut SS M3x1

®T Nut SS M5x2
(@Hexagon Socket Bolt (M5%25)x2

Name

MG Bracket SS Kit

Item No.

SFK-4AA

Door Frame [ 120mm+ Body Frame []30mm
(MG Bracket S Kit)

SF-30-30

SF-20+20 Frame |

or
Panel Frame SS

Name MG Bracket S Kit

SFK-4AB

Item No.

Kit Contents

(MMagnet Catch Nx1
@MG Bracket Sx1
@Truss Screw (M4x5)x2
@Flat-Head Screw(M3x6)X1
®T Nut SS M3x1

®T Nut S M5x2
(DHexagon Socket Bolt (M5x22)x2

Door Frame [ 120mm+ Body Frame [ 140mm+J45mm

{MG Bracket L Kit)
ha
SF-40-40

(SF-45-45)
) or
40
(45) 8

Kit Contents

(MMagnet Catch NX1
(@MG Bracket LX1
®Truss Screw (M4x5)x2
@Flat-Head Screw(M3x6)X1
®T Nut SS M3x1

®T Nut L M5x2

(DHexagon Socket Bolt (MBX15)x2

SF-40-45 Series

SF-20-20 Frame

or
Panel Frame SS

Weight

96g/set

Name MG Bracket L Kit

Item No. SFK-4AC

Door Frame []20mm- Body Frame [180mm (2 lines of grooves) *C90mm

(MG Bracket L80-90 Kit)

spao-so)“‘*l%lw % I

(SF-90-90 R —N

SF-20-20 Frame
or

Panel Frame
-80+80(SF-80+160)

SF-90-90(SF-90-180)

Weight 105g/set

Name MG Bracket L80-90 Kit

Item No. SFK-4AK

P

80
(90) ‘

Kit Contents

(M®Magnet Catch NX1
@MG Bracket L80-90x1
@Truss Screw (M4x5)x2
@Flat-Head Screw(M3X8)X1
®T Nut SS M3X1

®T Nut L M5x2

(DHexagon Sacket Bolt (M5X14)x2

HIn case of Door Frame [ 130mm

Door Frame [ 130mm- Body Frame [ ]30mm
{MG Bracket S-S Kit)

Kit Contents
(MMagnet Catch NX1

Door Frame [ 130mm+ Body Frame [ 140mm+J45mm

(MG Bracket L-S Kit)

Weight

101.9g/set

17
(45) (13)

Kit Contents
(MMagnet Catch NX1

%MG Bracket ?-SX] ) %MG Bracket %—SX] )
_ i Truss Screw (M4x5)x2 _ i Truss Screw(M4x5)x2
Name MG Bracket S-S Ki @FlatHead Screw(M3x8)X1 Name MG Bracket L-S Kit @FlatHead Screw (M3x8)1
®T Nut S M3x1 ®T Nut S M3x1
Item No. SFK-4AH ®T Nut S M5x2 Item No. SFK-4AE ®T Nut L M5x2
(DHexagon Socket Bolt (M5x10)x2 (DHexagon Socket Bolt(M5X12)x2
Parts
How to order
Item No. Quantity (pcs)

SFA-45A [ ]



Door Frame [ 130mm* Body Frame [/60mm (2 lines of grooves) Door Frame []30mm- Body Frame [180mm (2 lines of grooves)-[)90mm
(MG Bracket S60-S Kit) (MG Bracket L80-90-S Kit)

SF-80-80(SF-80-160)
SF-90-90(SF-90-180) N%

[\
SF-60-60-2S :*:
F-60-90)

(s
(SF-60-120)

SF-30-30)
80 3
(90) (8 on heinsie)
Weight 63g/set Weight 111g/set
Kit Contents
- (MMagnet Catch NX1
élt Contents %I\/IG Bracket %80'90)><1
N - i Magnet Catch NX1 N .90-S Kj Truss Screw(M4x5)x2
ame MG Bracket SBO-SKit i Seraw(ax 10)x2 ame MG Bracket LBO-90-S Kit i o Serew(Max@)x |
(®Flat-Head Screw(M3x8)X1 ®T Nut S M3x1
Item No. SFK-4AN @T Nut S M3x1 Item No. SFK-4AL ®T Nut L MB5x2
®T Nut S M4x2 (DHexagon Socket Bolt (M5X14)x2

HIn case of Door Frame [ J40mm

Door Frame [ 140mm- Body Frame []40mm

(MG Bracket L-L40 Kit) {Body Frame 0J40mm) {Body Frame (J45mm)

Weight 97g/set

Kit Contents
(®Magnet Catch NX1
@MG BracketlLx1

Name MG Bracket L-L40 Kit @Truss Screw(M4X5)x2

@Flat-Head Screw(M3x10)X1
®Accessory Nut L M3X1
Item No. SFK-4AM ®T Nut L M5x2

(DHexagon Sacket Bolt (M5X15)x2

HBracket for Magnet Catch Kit (For Frame Door)

{Square Bracket) {L-Shape Bracket)

2-M4 Depth 7

{(Square Bracket) Material : ABO63 Alumite Treatment {L-Shape Bracket) Material : ABO63 Alumite Treatment
Item No. Kit Name Bracket Name A B Cc D Item No. Kit Name Bracket Name A|lB|[C|D]|H
SFK-4AA MG Bracket SS Kit MG Bracket SS 20 | 15 | 15 5 SFK-4AH MG Bracket S-S Kit MG Bracket S-S 25[15[25|15| 3
SFK-4AB MG Bracket S Kit MG Bracket S 15 8 25 9 SFK-4AE MG Bracket L-S Kit MG Bracket L-S 35 1225/ 13 |55[25

(Unit : mm) (Unit : mm)
(MG Bracket L80-90) (MG Bracket L)

2-Long Drill

Material : AGO63 Alumite Treatment aterial : AGO63 Alumite Treatment

o
@
(-3
=1
m
o
=5
=]
3
[}
2

147

SF
(2}
-
[
3
o
[
=
o
o
=
Y
3
o

Joued - Jooq




Door<Panel Parts \Magnet Catch

SF
(7))
-
Q
=}
Q
Y
=
o
|
=
[
3
(]

Magnet Catch J(For Resin Panel Door)

Magnet Catch J(Adsorbability:14.7N)
Convex Part: Silver Name(Single Item) Magnet Catch J

Item SFA-40B

MG20P Bracket Kit

SF20 Series

Resin panel

%’ = HKit Contents EMaterial/Technical Data

] ®Magnet Catch JX1 Material Stainless (Magnet Catch Housing/MP20P Bracket)
m '-U ] @MG20P Bracketx1 Ferrite (Magnet)

o o Name (Bolt and Nut Kit) MG20P Bracket Kit @Truss Screw(M4x5)x2 -

53 @®Flat-Head Screw (M3x10)Xx1 Dark Brown Painting

3= @Hexagon Socket Bolt (M4x8)x2 Weight 38g(Magnet Catch J)

g Item No. SFK-4AD $Cap NuttaaIx1, 24g(MG20P Bracket)

Use Example of Magnet Catch Installation

(Dimension when using Resin Door)

MG20P Bracket Kit Magnet Catch J can be fixed to the frame directly in case of SF30:40-45 series.
5 5
5 Flat-Head Screw(M3x10) Flat-Head Screw (M3x10)

Cap Nut(M3)

Flat-Head Screw(M3x10) Cap Nut(M3) Truss Screw

Cap Nut(M3
— pY = Sorew(Max12)x2 (M4x12)x2

Truss Screw (M4x10)x2 qi N j; VTruss crew (M4x12) X;

= % ‘
~~Magnet Catch J Di Magnet Catch J
—A
MG20P Bracket T Nut S(M4)x2 T Nut L(M4)x2
2

*Please order by single item regarding screws for Magnet Catch in case of SF30-40-45.

Parts

How to order
Item No. Quantity (pcs)

148 SFA-45B [ ][]




Magnet Catch G (For Resin Panel Door)

Magnet Catch G (Adsorbability : T0ON)

Name(Single Item)

Magnet Catch G

Item No. SFA-498
Magnet Catch G-SS Kit Magnet Catch G-S/L Kit(Common)
Magnet Catch G Magnet Catch G
i 33 2-¢3X7-Long Drill
2:93X7-Long Dril Plate to attach Magnet Catch G 20 33 Plate to attach Magnet Catch G 30
H= G T :
— | T {{lﬁ\f% fi 991 7 56 7
@ 1 %, 2-M3 2.96,6x11-Long dil
40 & onls |20 | oqy 2:66
24 @ | 24 A =l
! ® 8 R HJ — - ) 4 —J‘ o 4 : B
r!j t T . T T px - T 6.6
© - la 185 33 . :
208 2-6 Drilling ~ Countersink for M3 EMaterial/Technical Data
‘ 6. | 228 . . Material ABS (Magnet Catch)
ITeT T 9.9 ‘ o = = SPCC Uni-Chrome
‘ by 16 + _@_7 - P (Door Side-Setting Plate)
Countersink for M3, & =32 e Weight 14g(Magnet Catch G)
Atraching Frame SF20 Series SF30 Series SF40-45 Series

Name (Bolt and Nut Kit)

Magnet Catch G-SS Kit

Magnet Catch G-S Kit

Magnet Catch G-L Kit

Item N

0.

SFK-4X4

SFK-4X5

SFK-4X6

{Magnet Catch G-SS Kit)

@Cap

SUBIUOY W]

@®Magnet Catch GX1
@Plate to attach Magnet Catch G 20X 1

Nut(M3)x2

@Truss Screw(M3x86)x2
@Hexagon Socket Bolt (M5x8)x2
@T Nut SS(MB)x2

@Flat-Head Screw (M3x8)x2

{Magnet Catch G-S Kit)
@®Magnet Catch GX1

@®Plate to attach Magnet Catch G 30X1

@Cap Nut(M3)

X2

@Truss Screw(M3x6)x2

@Hexagon Socket Bolt (MBX10)x2

@71 Nut S(MB)*x2
@Flat-Head Screw (M3x10)x2

{Magnet Catch G-L Kit)
@®Magnet Catch GX1

@Plate to attach Magnet Catch G 30X 1

@Cap Nut(M3)x2
@Truss Screw(M3x86)x2

@Hexagon Socket Bolt (MBx15)x2

@T Nut L(MB)X2
@Flat-Head Screw(M3%X10)x2

Magnet Catch CR-N (For Frame Rim Door)/J (For Resin Panel Door)

CR Plate-N
(CR Plate-J)

~

Clean Spec

-

Magnet Catch CR-N (Adsorbability:23N)
Magnet Catch CR-J (

2ong il

Adsorbability:13N)

CR Bracket

e

Magnet Catch Ch-J

Cap Nug)x2

Magnet Catch CR-J Example of installation

Flat-Head Sorew(M3x10)x2

“Truss Screw(M3x5)x2
Truss Screw(M4x10)x2
CR Plate

z 140 A
:’ : %o NIt stuae
g @ T Nut S(M4)x2
(Long drill details drawing) g ®)
Inside parenthesis is for MG CR-J % Inside parenthesis is for CR Plate-J =
Installing Example of Magnet Catch Cr-N Kit
in case of using S Kit In case of S-S Kit Name| Va€net Catch CR Magnet Catch CR-N CR Plate-N
CR Magnet PiatoSaiies) N J SKit S-SKit LKit L-SKit L40L40Kit L45LKit (CR Plate-J)
Magnet Catch CR-N
ltemNo. | SFA-44A SFA-44B  SFK-4EA SFK-4EC SFK-4EB SFK-4ED SFK-4EE SFK-4EF  SFA-EA(sFA<Es)
HKit contents
S Kit S-S Kit L Kit L-S Kit L40-L40 Kit L45-L Kit BMaterial/Technical Data
Door Aim £20mm 030mm £20mm £30mm £40mm 240mm Material  ABOB3 (CR Plate-CR Bracket)
Body Frame 030mm £30mm 040-045mm 040-045mm 040mm 040-045mm Resin(Housing)
@®Magnet Catch CR-NX1 |@Magnet Catch CR-Nx1 |@Magnet Catch CR-NX1 |@Magnet Catch CR-NX1 |@Magnet Catch CR-Nx1 |@Magnet Catch CR-NX1 Neodymium(Magnet)
@OCR Plate-Nx1 @T Slot Assist B55X1  |@CR Plate-Nx1 @CR Plate-Nx1 @CR Bracketx1 |@T St Assist B35X] @CR Magnet Plaiex | @CR Plate-NX1 @GR Bracketx1 a Ao N
. @OCR Bracketx1 OCR Magnet Platex1 OCR Bracketx1 @CR Magnet Platex1 @Cross-Recessed Small Flat Screw | @CR Magnet PlateX 1 Stainless (Fixing Disc-CR Magnet Plate)
Kit @Cross-Recessed Small Flat Screw | @Cross-Recessed Small Fiat Screw .ﬁvussﬂeeessen Small Flat Screw .ﬁnss—ﬁecessedﬁma” Flat Screw .VXBXWO(Sla\n\e’iISBXQL V3o .%)sﬁgfzscess‘ed SmaeH Flat Screw Weight 16‘7g(Magnet Catch CR:N (Single |tem))
( I ccessory Nut L-M3x; X10(Stainless)
Contents | @ST Nut SS(M3)x2  |@ST Nut S(M3)x2 @STNULSS(M3)x2  (@ST Nut S(M3)x2 @Truss Scren 114x10(Stailess) 2 | @Accessory Nut L-M3x2 89g(Magnet Catch CR-J (Single Item))
@Truss Screw MAXB( @Truss Screw MAX10( x4 | @Truss Scorew @Truss Screw M4x6(Stainless)x4 (@ST Nut S(M4)x2 @Truss Screw M4XB(Stainless)x4 Enironmet RoHS Compliant
@Truss Screw M4x10(Stainless)x2 | @ST Nut S(M4)x4 @Truss Screw M4x12(Stainless)x2 | @Truss Screw MAX @Truss Screw M4x] @Truss Screw M4x12(Stainless)x2
@ST Nut S(M4)x2 @ST Nut L(M4)x2 @ST Nut L(M4)x2 @ST Nut L(M4)x2 @ST Nut L(M4)x2

SF
(2]
P
Q
3
Qo
Y
=
o
m
=
o
3
(]

joued . Jooq

o
]
=]
m
=1
=
=]
3
@
=1
=

149



o
8
S
m
k=)
=
=)
3
@
=

SF
()]
—
Y
=}
Q.
Y
=
o
m
=
Y
3
[}

|oued - 100Q

150

Door<Panel Parts Magnet Catch with Limit Switch

Magnet Catch with Limit Switch

Magnet Catch with Limit Switch (Adsorbability:29.4N)

Counterbore
for 2-M3

Switch Spec: ON when door is closed. 1 o—>—o0 2

. . Rated Voltage V] | Resistant Load[A] |Lumped Load[A] |Induction Load[A]
Name | Magnet Catch with Limit Switch |["Ac125 5 15 3
AC250 5 — 3
DC30 5 — 1.5
Item No. SFA-42A
Puropose Example
Name Door Component

ML Bracket SS Kit SF-20-20 Series

SF-20-20 or

ML Bracket S Kit SF-30-30 Series

EMaterial/Technical Data ML Bracket LKit |2 F12" S8 |"5F 4045 Series

ML Bracket S-S Kit SF-30-30 Series

Material PBT (Case) ML Bracket LSKit | ' 20 0 | 5F-40:45 Series
Ferrite (Magnet) SF-20-20 Series
Weight 52.5g ML Plate Resin Panel | SF-30-30 Series

SF-40-45 Series

(Magnet Catch with Limit Switch)

3*Bolt and Nut isn't included to ML Plate.

HIn case of Door Frame [ 120mm (Include Panel Frame)

Door Frame [ 120mm+ Body Frame [ ]20mm
(ML Bracket SS Kit)

®@
@@ o _»
SF-20-20
6] - &
ok &
SF-20+20 Frame <67 - ‘9\
or ®
Panel Frame 7
L2o| w0 N2
Kit Contents

Weight 181g/set

(DMagnet Catch with Limit Switchx1
(@ML Bracket SSX1

®ML Platex1

@Flat-Head Screw (M3x6)x2

i ®For Flat Washer M4x2
Name ML Bracket SS Kit OT NULSS M3x2
@T Nut SS M5x2
Item No. SFK-4CA (®Hexagon Socket Bolt (M4x18)x2
(@Hexagon Socket Bolt (M5X15)x4

Door Frame [ 120mm+ Body Frame [ 130mm _5
(ML Bracket S Kit)

@

e L
ol

/@

©

8

8V}

T 9 N ©

SF-20-20 Frame @ t@ H "
or y ®

Panel Frame (] o) Q\®
w

30 29.8
Weight 221g/set
€ & Kit Contents

(MMagnet Catch with Limit Switchx1
@ML Bracket SX1 ®ML Platex1
@Flat-Head Screw(M3%6)x2

i ®For Flat Washer M4x2
Name ML Bracket SKit 7138 Maxe @ NutS M5x2
®Hexagon Socket Bolt (M4x18)x2
Item No. SFK-4CB (@Hexagon Socket Bolt (M5x15)x2
(@Hexagon Socket Bolt (M5X18)x2

Door Frame [120mm+ Body Frame [|40mm-C45mm _5
(ML Bracket L Kit)

(23)

SF-20-20 Frame e
or
Panel Frame

)

O ?% e
/

e

40 19.

(45) (15)

Weight 217.5g/set .

Kit Contents

(MMagnet Catch with Limit Switchx1
@ML Bracket X1~ ®ML Platex1
@Flat-Head Screw (M3x6)x2

i ®For Flat Washer M4x2
Name ML Bracket LKit 513 Maxe  OT NutL Msx2
(®Hexagon Socket Bolt (M4X18)x2
Item No. SFK-4CC @Hexagon Socket Bolt (M5x15)x2

(Hexagon Socket Bolt (M5x22)x2

Door Frame []20mm- Body Frame [180mm (2 lines of grooves)-90mm
(ML Bracket L80-90 Kit) 5

S

(O
SF-80+80(SF-80-160)
SF-90-90(SF-90-180)

4
90)
Kit Contents
(DMagnet Catch with Limit Switchx1
@ML Bracket L80-90%1

@T Nut SS M3x2
@T Nut L M5x2

SF20:200r \ g
Panel Frame

Weight 125g/set

Name ML Bracket L80-90 Kit ®For Flat Washer Max2
(®Hexagon Sacket Bolt (M4x18)x2
Item No. SFK-4CJ (@Hexagon Socket Bolt (M5X14)x2

(®Flat-Head Screw (M3x6)x2

HlIn case of Door Frame [ 130mm

Door Frame [ |130mm+ Body Frame [ 130mm
{ML Bracket S-S Kit)

Weight 145.2g/set

Kit Contents
(MMagnet Catch with Limit Switchx1
(DML Bracket S-SX1 ®ML Magnet Platex1

Door Frame []30: Body Frame [ 140mm+45mm
(ML Bracket L-S Kit)

(45) (24.8)

Kit Contents
(MMagnet Catch with Limit Switch X1
@ML Bracket L-SX1 ®ML Platex1
@Flat-Head Screw(M3x8)x2

Weight 284.7g/set

-S Ki @Flat-Head Screw (M3x8)x2 SKi ®For Flat Washer M4x2
Name ML BracketSSKit O F ot Washer Mdx2 Name ML Bracket LSKit G2 1's 'Maxo T NutL Msx2
®T NutS M3x2 @T NutS M5x2 ®Hexagon Socket Bolt (M4x18)x2
Item No. SFK-4CD ®Hexagon Socket Bolt (M4x20)x2 Item No. SFK-4CF (@Hexagon Socket Bolt (M5X15)x2
@Hexagon Socket Bolt (M5X10)x2 (@Hexagon Socket Bolt (M5x22)x2
Parts
How to order
Item No. Quantity (pcs)

SFA-42A [ ][]




SF
(]
—
Q
=}
Q
Y
=
Q
o
=
Q
3
(]

Door Frame []30mm* Body Frame [160mm (2 lines of grooves) Door Frame [130mm- Body Frame [80mm (2 lines of grooves)-C90mm
(ML Bracket S60-S Kit) (ML Bracket L80-90-S Kit)

o
SF-80-80(SF-80-160)
SF-90-90(SF-90-180)

SF-60:60-2S
(SF-60-90)
(SF-60-120)

SF-60-60-2S 6.6
(SF-60-90. SF-60-120) || 20onhe nsie
Weight 179g/set Kit Contents Weight 162g/set Kit Contents
(MMagnet Catch with Limit Switchx1 (MMagnet Catch with Limit Switchx1
@ML Magnet Plate 1X1 @ML Bracket L80-90x%1
%ML Platex1 ( ) %ML Magnet Plate 1X1
.S Ki Flat-Head Screw (M3X8)x2 .00-S Ki For Flat Washer M4x2
Name ML Bracket S60-S Kit ST NS M & NIt S MBX2 Name ML Bracket L80-90-S Kit OTNULS Moxo BT Nut L MSx2
@Hexagon Socket Bolt (M5x10)x2 (@DHexagon Socket Bolt (M4x18)x2
Item No. SFK-4CN @For Flat Washer M4x2 Item No. SFK-4CK ®Hexagon Socket Bolt (M5x14)x2
®Hexagon Socket Bolt (M4x18)x2 (©Cross-Recessed Small Flat Screw(M3x8)x2
HIn case of Door Frame [ ][40mm
Door Frame [140mm+ Body Frame [ ]40mm Door Frame [ ]40mm- Body Frame [145mm o
6
{ML Bracket L40-L40 Kit) 4014 /©® (ML Bracket L45-L40 Kit) 40 /9 .
7 @] 20)
[DWEJ ﬂ o o
v |\ (7
@Eé COEES S
*:Dé | 20 o O 1§
~ @ xd o
. O DL @O—H A \ N
60 T T =]
—H "o S e 23
g =
05 20 o 05,20 >
| =10 —10 m g
2 o
40 402 45 35) ==}
f f .g =
Weight 266g/set Kit Contents Weight 293g/set Kit Contents .'_=°.
(MMagnet Catch with Limit SwitchX1 (MMagnet Catch with Limit Switchx1
@ML Platex1 @Flat-Head Screw(M3x10)x2 @ML Bracket L-SX1 ®ML Platex1
@For Flat Washer M4x2  ®ML Bracketx1 @®ML Magnet PIa(te 1x1 )
| i ®T Nut L MB5x2 | i (®Flat-Head Screw(M3X10)x2
Name ML Bracket L40-L40 Kit ML Magnet Piate 1x1 Name ML Bracket L45-L40 Kit ®Acosssory Nut L (M3)x2
(®Hexagon Socket Bolt (M4X18)x2 (DHexagon Socket Bolt (M4x18)x2
Item No. SFK-4CL ®Accessory Nut L(M3)x2 Item No. SFK-4CM ®For Flat Washer M4x2  @T Nut L(M5)x2
(Hexagon Socket Bolt (M5x22)x2 (@Hexagon Socket Bolt (MB5x22)x2
HMBracket for Magnet Catch with Limit Switch Kit (For Frame Rim Door)
{ML Bracket SS) (ML Bracket S) (ML Bracket)

2-M5
Depth 15 2-M5
Depth 15

Material/A6063 Alumite Treatment Material/A6063  Alumite Treatment Material/A6063 Alumite Treatment

(ML Bracket S-S) (ML Bracket L-S)

2-M5 Depth 15

Material/A6063 Alumite Treatment Material/A6063  Alumite Treatment

151



Door<Panel Parts Magnet Catch with Limit Switch

SF
0
-+
Q
=]
o
Y
=
Q
i
=
Y
3
(]

(ML Bracket L80-90) * (ML Magnet Plate 1)
X {CR Magnet Plate)

Counterbore for 2-M3

EMaterial/Technical Data

MMaterial/Technical Data ML Magnet Platel CR Magnet Plate

Material ~ Aluminium Alloy Material  SPCC Stainless(SUS430)
Alumite Treatment Weight 25.2g 25.68

Weight 36.48 Environment % RoHS Compliant *Green Procurement

Environment RoHS Compliant
Green Procurement

(ML Plate)

EMaterial/Technical Data
Name ML Plate K
Material SUS304

SFA-42E Weight 70.98
Environment RoHS Compliant
Green Procurement

Item No.

[oued . Jooq

o
g
=]
m
=)
=
=]
3
[
=
=

Dimension Indication when using Resin Panel t5 Door

Flat-Head Screw (M3X10) X2

- X10) X
Flat-Head Screw (M3x10)x2 Hexagon Socket Bolt (M4x18)x2
5 Hexagon Socket Bolt (M4x18)Xx2
T Flat Washer (for M4) X2
Flat Washer (for M4) X2
Magnet Catch Limit
Cap NUt(M3)x2 Magnet Catch Limit Cap Nut(M3)x2 S
«©
® i o
i i o q
o Q- § = ca
b ‘ S Plat Q Q ML Plate
ate —
—— Hexagon Socket Bolt (M5X10) X2
o Hexagon Socket Bolt (M5x8) X2 O 3 ¢ )
T Nut SS(M5)x2 o5 o T Nut S(M5)x2.
20 | 248
' 30 |148

Flat-Head Screw (M3X10) X2

Flat-Head Screw (M3X10)x2
5 Hexagon Socket Bolt (M4X18)X2 o Hexagon Socket Bolt (M4x18)x2
Flat Washer (for M4) X2

Flat Washer (for M4) X2

Cap Nut(M3)x2 Magnet Catch Limit Cap Nut(M3) x2 Magnet Catch Limit
© @
i o
o q N N a
- Cay ~—1
ML Plate D

Hexagon Socket Bolt (M5X14)x2
Flat Washer (M5)Xx2

Hexagon Socket Bolt (M5X14)x2
Flat Washer (M5)x2

T Nut L(M5)x2

T Nut L(M5)x2

4.8

*Bolt and Nut aren't included,

Parts
How to order
Item No. Quantity (pcs)

152 SFA-42E [ ]



Magnet Catch G with Limit Switch

Magnet Catch G with Limit Switch
(Adsorbability: 19N)

3
Ik
I
R
4@%@%@
e
Name(Single Item) | Magnet Catch G with Limit Switch
Item No. SFA-499
MG-G Limit SS Kit MG-G Limit S/L Kit(Common)
2-6.5%3.4 Long Drill m "3 2-6.5%3.4 Long Drill m § 2. Long dill
COMNO NC | A 1</ COMNO NG I = 920
Zu: A =y o
o AN X 2-M3
36 T 2| (& :/M 36 t 7~oqy|‘ ’I —
52 =41 52 A =t o
o © %~ L] | —4 N
43 N 43 - <
— 8 SIS - 19 52 &
JE—L % JE=1 3
L6 I'T 260mme| 4| Y - = =
s 2
33 1265 L Countersink for 2-M3 [~ MMaterial/Technical Data
Countersirk for 23 | =2 SET ®E Material ABS (Magnet Catch with G Limit Switch)
S & mI . 06 = SPCC Uni-chrome (Door SiderInstalling Plate)
- ’ Weight 40g(Magnet Catch with G Limit Switch)
1.6 Retentivity 3
Attaching Frame SF20 Series SF30 Series SF40-45 Series
Name(Bolt and Nut Kit) MG-G Limit SS Kit MG-G Limit S Kit MG-G Limit L Kit
Item No. SFK-4X1 SFK-4X2 SFK-4X3
{MG-G Limit SS Kit) {MG-G Limit S Kit) {MG-G Limit L Kit)
= ®Magnet Catch G with Limit SwitchXx1 @Magnet Catch G with Limit SwitchX1 @Magnet Catch G with Limit SwitchX1
=~ @T Nut SS(MB)x2 @T Nut S(MB)x2 @T Nut L(MB)x2
9 @MG-G Limit Installing Plate 20X1 @MG-G Limit Installing Plate 30X1 @OMG-G Limit Installing Plate 30X1
% @Truss Screw(M3x6)x2 @Truss Screw(M3x6)x2 @Truss Screw(M3x6)x2
3 @Flat-Head Screw(M3X8)Xx2 @Flat-Head Screw(M3X10)x2 @Flat-Head Screw(M3x10)x2
©  @Hexagon Socket Bolt(M5X8)x2 @Hexagon Socket Bolt(MBX10)x2 @Hexagon Socket Bolt(MBX15)x2
@Cap Nut(M3)x2 @Cap Nut(M3)x2 @Cap Nut(M3)x2

o
8
=]
m
o
=
k=]
3
o
=
2

153

SF
(7]
-
Q
=
Qo
Y
=
[=3
m
=
Q
3
(]

[oued - Jooq




o
(3
i3
=]
m
=)
=5
=]
3
[}
2

SF
2
-
Q
=
o
(Y
=
o
m
=
Q
3
(]

Joued - Jooq

154

Door<Panel Parts Ball Catch

Ball Catch Exclusive Bracket

BW Bracket SS Kit

Kit Contents

@Ball Catchx1

@BW Bracket SSX1
@Flat-Head Screw(M4x6)x2
@Flat-Head Screw(M4x8)x2
@T Nut SS M4x2
@T Nut SS M5x2
@Hexagon Socket Bolt

Ball Catch

SF-20-20 Frame or
Panel Frame SS

(M5X8)x2
SF-20-20 Frame or
Panel Frame SS
Material/SPHC  Uni-Chrome Plating
BW Bracket L40 Kit Kit Contents
@Ball Catchx1

@BW Bracket L40X1
@Flat-Head Screw(M4x6)x2
@Flat-Head Screw(M4x8)x2
@7 Nut SS M4x2
@T Nut L M5x2
@Hexagon Socket Bolt
(MB5x12)x2

Material/A6063 Alumite Treatment

om the back
ounterbore for 2-M4

Name (Bolt and Nut Kit)

BW Bracket SS Kit

BW Bracket L40 Kit

Item No.

SFK-4BA SFK-4BC

EMMaterial/Technical Data

Material Zinc Alloy (ZDC) (Ball Catch)
Chrome Plating Treatment

Weight 24g(Ball Catch)

Pulling Load (Reference Value):18.6N

Inserting Load (Reference Value):27.5N

Name(Single Item) Ball Catch

Item No. SFA-41A
Parts
How to order
Item No. Quantity (pcs)

SFA-41A L[]



Use Example when using Ball Catch

<Dimension Indication when using SF-20-20 Frame or Panel Frame SS Door>

SF-20-20 Frame or
Panel Frame SS

B |

SF-20-20 Frame or
Panel Frame SS

16
Jogm . .
st D a8
o@ H O @ P
= = BW Bracket SS o 29 BW Bracket S
2018 30 |92
BW Bracket SS Kit BW Bracket S Kit
5 5
SF-20-20 Frame or g;@?gg{:eraénse or

Panel Frame SS

)5
o == ~
Od GO °
m EIL BW Bracket L40
U )
40 8

BW Bracket L40 Kit

e
N
O

)|

39.5

LI _SU)

.

45 8

BW Bracket L45

BW Bracket L45 Kit

o
(]
(9
=]
m
o
=
=]
3
[+]
2

155

SF
(2}
=+
[
3
o
Q
=
o
m
=
Q
3
[}

[oued - J00q




Door-Panel Parts

SF
2
-+
o
3
o
(Y
=
Q
i
=
Y
3
(]

Panel Clamp

Panel Clamp Panel Clamp
30(for T3) 20(for T3)30(for T5) 4045 (for T3) 4045 (for T5)
R17 11 10
R8.5 8.8 \ M\

10
37_2 43
TT
|
85
35 2 3
T T
|
16
54
J
14
5.5

-

Yo}
28] 28] © ‘ <
35
B Material/Technical Data
Material  CSM60°+5°(Synthetic Rubber)/Light Gray (=s000m) =5000m)
Weight 51.4g(30(for T3) ) 111g(for 4045T3) Panel Clamp(2=5000mn Panel Clamp(2=5000mn
2168(20(for T3)30(for T5)) 528g(for 4045T5)  Name 30(for T3) 20(for T3)30(for T5) 4045(for T3) 4045 (for T5)
A ORI ) e Item No SFA-125 SFA-121 SFA-126 SFA-123
Seal Cover
Seal Cover SS Seal Cover S Seal Cover L
o2 325
12
15 175
[eN=) 10 12 6-R0.2
] o TS5+ 3R02 N 2 o 6-R0.2
3 & o Y = /| e
By S | © (- o | T o [ 1iC—
53 S o F o f—1 1
g 4 4 w 4 gk
a 6 1 -
8 I
10
EMaterial/Technical Data
Material  CSMB0°+5° (Synthetic Rubber)
Light Gray = = =
Weight 327&(S9) Name Seal Cover SS(2=2500mm) Seal Cover S(2=2500mm) Seal Cover L(£=2500mm)
516g(S) 801g(L)
Eniommet - RoHS Compliant Green Procurement Item No. SFA-131 SFA-133 SFA-135

Parts
How to order
Item No. Quantity (pcs)

156 SFA-125 [ ][]



swel piepuels g"

How to install Panel Clamp

(Indication of Installation Size and Parts Selection)

Plate Dimension : W-+X Frame A
® Resin Plate needs to be notched
when using QC Joint.
X 5 i
z g Ma(nngl p?n is
cut aslnat
§ S
5 Resin Plate I w0
£ £
a o>
ST ~
o QC Joint —
Panel Clamp W:tching Dimension:Z %
7
W ~
Frame A Panel Clamp Resin Plate Thickngssy ~ QC Joint XlY|ZzZ

SF-20 Series |Panel Clamp 2030 3mm QC Joint SS [10| 6 |25.5
SF-30 Series |Panel Clamp 2030| 3mm or 5nm | QC JointS |16 9 |36 ® Insert Resin Panel into the groove ® Push Panel Clamp into ® Cover ~can be fixed with

before assembling the frames. the gap between Resin the simple appearance
SF-40 Series [Panel Clamp 4045 3mm or 5mm | QC JointL |23 |12 Panel and Frame's and Resin Panel won't jolt.

47 5| groove.

SF-45 Series | Panel Clamp 4045| 3mm or 5mm | QC JointL |24 |13

How to use Seal Cover

swdinb3 ues|)
[oued . Jooq

® |t can fill a gap between Resin Panel ® As a stopper when making a resin ® To protect Aluminum Frame.
and frame. door.

157



Door+Panel Parts Panel Frame[For Small and Medium Door]

SF
()
-
Y
3
Q
o
=
Q
o
=
o
3
o®

Panel Frame SS / Panel Hold T5 / TC Block SS

Panel Frame SS Panel Hold TS
20
10
6-R1 | 94.2
Y
o
o TpxL ﬁ 1
Al o
Vo [[Se!
ol | | I~ °°] 75
4.75 17.5
1.5

% Based on a groove shape SF20.

Panel Frame SS

Panel Hold T5 Name Panel Frame SS £=4000 Panel Frame SS £=50~4000 Panel Hold TS5 £=2000
& Item No. SFF-T62 SFF-T64 SFA-108
/ TC Block SS
lQ[—TC Block s3
& 30
g
el =] #M>5 Tapping is needed to the cut surface of Panel Frame. 0, 5 25
g 2 (Refer P199~ for details) o
:I =~ MMaterial/Technical Data
a g Material Aluminium Alloy (Panel Frame)
k=) Alumite Treatment 0| —
% Ethylene Vinyl Acetate(Panel Hold T5) 0 g
= ZDC2(TC Block SS)
Weight 0.6kg/m (Panel Frame)
14g/m (£=2000mn/pcs) (Panel Hold T5)
40g (TC Block SS) 3%
Enirnment RoHS Compliant Green Procurement .
View Z
$*Hexagon Socket Bolt M5X15 with 2 pcs
Name TC Block SS
Item No. SFK-QO01
Size indication for Panel Frame
(Size indication for Panel Frame, Resin Plate)
Do
Panel Frame SS
8
3 ~
& Vi @
-
TC Block
SS
/ O]
W-37
W=500 Panel Hold
There is a risk that the Panel Frame sags if cover size becomes more than 500 X 500. We recommend that you use SF20 or SF30 series to build the frame.

Parts
How to order
Item No. Quantity (pcs)

158 SFF-T62 []



Installment Indication for Resin Panel Door (Small door)

@ This drawing is example of using Flat Hinge (M6).

(In case of Single Swing Door) (In case of Hinged Double Door)
i &5 He =i
o N
SF-45-45 E[ tl E}
ﬂ <I't T D H ; T
N N
2 L-4 2 2 1/2L-3 12 1/2L-3 2
L L
Flat Hinge
(P140)

| % Refer from P140 for Hinge and Magnet Catch. |

Installment Indication for Panel Frame Door(Small and Medium Door)

SF-45-45

(CIN

(In case of Single Swing Door) (

z z
—\g Panel F}ame SS or SF-20-20 Frame &E ‘%ﬁ-

V4

In case of Hinged Double Door)

Panel Frame SS or SF-20-20 Frame /5
Z >

i

Free Hinge

(P142)

[ —
H-4
H

M
=

—
—
T
Ennany
H-4
H

L-A-B

L-AB 2B .AB A

L

2L

(Dimension Indication when creating Panel Frame Door)

V4

SF20 or SF30

SF40 or SF45

Lmm

200
§
329

330
§

699

700
and up|

200
§

329

330
§

700
land up|

699

Amm

4.6(SF20)

5.0(SF30-40-45)

SF
(2]
-
Q
3
Q.
o
=
[=8
m
=
Q
E
(]

Joued . JooQ

o
[}
Qo
=]
m
=)
=
=]
3
[}
2

® This drawing is example of using Free Hinge 4520L. Bmm 3 | 25 | 2 | 3 | 25 | 2 | *Refer from P140 for Hinge and Magnet Catch. |

Installment Indication for Frame Door(Medium and Large Door)

(In case of Single Swing Door) (In case of Hinged Double Door)

ijz yay4 yAy4 Z}ﬁ é; Ay
N N
M i M
I|T T
M b M
N N
B LAB A A LB-A BX2 LB-A A
L
2L
(Dimension Indication when creating Frame Door) When using Flat Hinge
ZSF20| SF30 SF40 or SF45
250|440|215|400|700 (1000
Lmm § pnrdug S | S | § fandup
439 399(699(999
Bonm |2 | 3|2 | 5[4 ]|3]|2
% Refer from P140 for Hinge and Magnet Catch. |
® This drawing is example of using Flat Hinge S. Amm | 1 2 2 g -

159



juawdinb3 ues|)

SF
»
[~d
Q
=3
Q
Y
=
Q
o
=
Y
3
(]

joued . Jooq

160

Door+Panel Parts Rail[For Small Sliding Door]

Panel Guard

Panel Guard T3 Panel Guard TS
5.5 7.5
|
—!— .
& N
Fix by two-sided tape or screw.
1 35 1 55

| Panel Guard T3 (2=3000) [ Panel Guard T3(2 =50~3000) Panel Guard T5 (2=3000) [ Panel Guard T5(2 =50~3000)

Item No. | SFF-K32 | SFF-K34 SFF-K52 [ SFF-K54

@ £=3000 Type is to be cut by customer. Effective range of use £ = (3000
EMMaterial/Technical Data e e v g e=( )
Material Aluminium Alloy

Alumite Treatment
Unit Mass 0.4kg/m
Environment RoHS Compliant Green Procurement

HMPanel Guard Slat Cut Service Processing Contents Processing Symbol

¢

3| f

) | \ M DVS

oy 45

o) L a

gl ¢

>

» M DVW

= 45° 45°

[0 b (

Panel Guard T5 800mm In case both sides are cut aslant
SFF-K54 800mm DVW (Or both sides are cut aslant)

=

Example
of order

| Panel Guard T3(Resin Type)

Item No. | SFA-109

12

B Material/Technical Data

Material Polyethylene(Silver)
UnitMass 21g/m(2=2000mm/PCS)

-(3.4)
5 Environment RoHS Compliant Green Procurement

I
‘ It becomes Spacer of t=5 by installing t=3 Panel.
|
|

SF Frame i Parts
Standard Length (Cut by Customer) 2=3100-Efective range of use 4=3000 In case of specifying the length (Cut by SUS) How to order

Item No. Quantity (pcs) ~ 'tem No. Length (mm) ~ #Order by 0.1mm unit § oy g, Quantity (pcs)
SFF-K32 [~ SFF-K34 =800 SFA-109 [



T8
7] Standard Frame

Door * Panel
Clean Equipment

161



Door+Panel Parts Rail[For Small Sliding Door]

SF
»
-~
Q
=
Q.
Y
=
o
i
=
Y
3
(]

Sliding Door Rail (Resin)

Slide Rail (2 Rows) Slide Rail (3 Rows)
18 26

2 6 2 6

25
25
e ==

Slot Connector L--- For SF40-50 series (Groove Width 10mm)

J= = ~ |o i
3
@ Standard Length Products ( 2 =2000)are to be cut by customer.
n Slide Rail (2 Rows) Slide Rail (2 Rows) Slide Rail (3 Rows) Slide Rail (3 Rows)
_ ame (8=2000) (2=50~2000) (8=2000) (2=50~2000)
% Item No. SFA-RO1 SFA-R04 SFA-R11 SFA-R14
/ Slot Connector SS Slot Connector S Slot Connector L
13
13 ol 13 &
1o} o
N
EMMaterial/Technical Data o
Slide Rail Slot Connector = o ©
Material ABS Polypropylene
Light Gray Light Gray
UnitMass 0.18keg/m (2 Rows) 0.08kg/m(SS) M 7
0.28kg/m (3 Rows) 0.07kg/m(S) 9
0.08kg/m(L)
Enionmet RoHS Compliant Green Procurement
@ Standard Length Products ( 2 =2000)are to be cut by customer.

o0 MUsable Frame e Slot Connector SS Slot Connector S Slot Connector L
@ 9O }.— (£=2000) (£=50~2000) (8=2000) (B=50~2000) (2=2000) (2=50~2000)
g 9‘ ‘-t
m '.U Sliding Rail--- Joint to each Slot Connector Item No. SFA-R51 SFA-R54 SFA-R61 SFA-R64 SFA-R71 SFA-R74
a2 ] Slot Connector SS---+-- For SF20 series (Groove Width 8mm)
g' @ Slot Connector S-++++++ For SF30 series (Groove Width 8mm)
@
=1

3 Rows (Aluminum)

Sliding Door Rail (2 Rows) Sliding Door Rail (3 Rows)
39
30
2,727 12 2
N1 W37,
T %T i o N
- HE=l
L g2
@ N |- lf'i" b~ | o
o 7 ~
#For T Nut S ® #For T Nut S

@ Standard Length Products (£ =4000)are to be cut by customer.

& Sliding Door Rail (2 Rows) Sliding Door Rail (2 Rows)  Sliding Door Rail (3 Rows) Sliding Door Rail (3 Rows)
ame (2=4000) (2=50~4000) (2=4000) (2=50~4000)
Item No. X*SFF-R02-T *SFF-R04-T ¥SFF-R12-T ¥SFF-R14-T
Attaching Plate (2 Rows) Slide Spacer

HMaterial/Technical Data

Sliding Door Rail Attaching Plate Slide Spacer
Material Aluminium Alloy SPCC (2 Rows) Polyethylene

m4
L

2.5
975 235 [ |75

Alumite Treatment SPHC (3 Rows) Black o N
Uni-chrome Plating 0
Weight 0.72kg/m (2 Rows) 28g (2 Rows)  60g
0.90ke/m (3 Rows) 35g (3 Rows)  (£=2000mn/pcs)
Enironment sk RoHS Compliant % Green Procurement
% Attaching Plate can connect Frames together as well.
o Attaching Plate Slide Spacer
ame (For 2 Rows) (2=2000)
Item No. *SFA-502 ¥SFA-107
SF Frame o Parts
Standard Length (Cut by Customer)  Effective range of use £=2000 In case of specifying the Iength (Cut by SUS), How to order
Item No. Quantity (pcs) Item No. Length (mm)  Order by 0.1mm unit § oy N Quantity (pcs)

162 SFA-RO1 ] SFA-R04  ¢-800 SFA-502  [1[]



SF
(7))
-~
Q
=
Q
Y
=
o
i
=
Y
3
(]

Dimensional Indication of Installing Slide Rail and Slide Door Rail

(Slide Rail)
@2 Directions Type @3 Directions Type
o 50
o 00
5} | Lo 0 @ u
1 N\_Slide Rail
3 T 3|z
T T
Plate t=5
a a
| ! oo Slide Spacer
oy ™ 0o oy ™ Slot Connect
(=r=]
|20 GAlb |20
8
05 20

45 45

k

(Sliding Door Raily

[oued - J00Q

Sliding Door )
e B
i3
Attaching Plate Pull

Sliding Door Rail

o
©
o
=
m
a
=5
=]
=
@
3
=

©
<«
<

Slide Spacer
— T Nut

] Ly '
b @ N _ Overlapping Part | MPlate size
5 % N_Attaching Plate *Plate Thickness' 't =5
5

* Lateral: L+15

(In case overlapping 30mm)
* longitudinal:

Slide Rail: H—34

Sliding Door Rail: A—26

163



Door<Panel Parts siiding Door Frame[For Medium Size Sliding Door]

SF
(2}
=+
[
3
o
Q
=
[=3
m
=
Q
3
()

Sliding Door Frame/Panel Joint Kit

Frame for Sliding Door’s Rim Panel Joint Kit
11.5
2| 75 ]2
4
=
o L T o
©! N
4l don 4 0
© | R % o
2 © ~ o N 5
P2
L2
S
[Te) L Q.
HEMaterial/Technical Data - S
Materialm.,.,. A|uminium Aﬂoy(Frame)
SUS304 (Panel Joint)
Alumite Treatment 275, 1.6 t=2
Environment - *RoHS Compliant
*Green Procurement
Geometrical Moment of Inertia-- Ix=2.47 X 10%mm* —
_ Sliding Door Frame Sliding Door Frame
ly=0.357 % 10m*+ Name Name Panel Joint Kit
Section Modulus Zx=1.247 X 10°m® 2=4000 £=50~4000
Zy=0.602X%10°mm® * *
Weight - 0.58kg/m (Frame) Item No. *SFF-D02 *SFF-D04 Item No. SFK-130
54g(Plate Bracket) @ Cut length is the material to be cut by customer. £ @S Plate Bracket SS-LX1
Effective range of use £ =4000 £ 2 OT Nut SS(M5)x4

S @Hexagon Socket Button Bolt(M5X6)x4

Rail Guide Kit/Sliding Door Wheel

the frame which is set to the bottom. (2- ¢ 4) %
Please refer “How to order” below about g
the Drilling.

Rail Guide Kit Sliding Door Wheel
7
2’] &
22
89
= Long Spot-Facing
oy JorM3Bot
[
S a @®Drilling to install wheel is needed for IR
E M
[+]
=

v

HMMaterial/Technical Data

Rail Guide Wheel

Material Polyacetal Polyacetal . . . -

Weight 2.8g 6.4g Name Rail Guide Kit Name Sliding Door Wheel
Include Lock Screw(M3x12)x1 Truss Screw(M3x5)x1

Environment RoHS Compliant Item No. SFK-5A3 Item No. SFA-504

Unit Construction

Resin Plate

/ t=5mm

Panel Hold TS

&
_________ F&f____________cféﬂ @
q '% Include Lock
Recommendation: I g I Screw 3X12
° Pull G Type I a I 26 (Self Tapping) e
S b= | % ia N Panel Joint Kit
u | o | T ‘IF Sliding Door Rail (3 Rows)
* o : = > (P162)
|
I T I Slot Connector SS.S.L
| (W./2)—47 5:Plate Dimension (P162)
R
s —————— =3 Body Frame
o SF-20.30.40-45 series
5 (w2)+9.5 5 o
W,2)+19.5 (Rail Pitch)
SF Frame Parts
Standard Length (Cut be Customer) How to order
Item No. Length (mm)  Drilling No. to install Corocon  Quantity (pcs) Item No. Quantity (pcs)

164 SFF-D04 £=800 CH 1] SFK-130 L]



SF
)
-
o
=}
Q
Y
=
Q
T
=
o
3
o

Folding Door Slider

Folding Door Slider S-SSA Folding Door Slider S-SSB Kit Contents
@Folding Door Slider

20 20 Block Sx1

Counterbore for 2-M4  Goynterbore for 2-M4 1 @Folding Door Slider
! Plate SSX1
{
- Tr Usable Frame Sge="
M4x8 Bolt 16 & (Structural )

23 23 SF-30 Series
8

{Doory

-t s SF-20-20

o T @ST Nut SS(M4)x2
o @Hexagon Socket
| Bolt(M4x8)

StainlessX1
8 @Flat Screw(M4x8)
| ——— Stainlessx2
@Spacerx1

57.5

Down when Door opens to right Down when Door opens to right
Up when Door opens to left Up when Door opens to left

Folding Door Slider S Kit antents .
@Folding Door Slider
Block SX1

20
4
@;\ @Folding Door Slider

55

Plate SX1
@ST Nut S(M4)x2
2-Counterbore for M4 @Hexagon Socket
- Bolt(M4x8)
StainlessX1
@Flat Screw(M4x12)
& Stainlessx2
@Spacerx1

60
16

29
61.5

15 |95,

Usable Frame
(Structural)

e
8
SF-30 Series
%E 9 % {Door)

¥For Left, Right, Up and Down SF-30-30

M4Xx8 Bolt

HMaterial/Technical Data . . i
) ) Folding Door Slider L-S Kit Contents :
Material Polyacetal (Slide) .Etljldll?ﬁ E])oor Slider
Stainless (Attaching Plate) ock Lx )
Weight 45g(S-SSA/B) @Folding Door Slider

Plate SX1
65g(S) @ST Nut S(M4)x2
63g(L-S)

2-Counterbore for M4 @Hexagon Socket
Environment RoHS Compliant

Bolt(M4x8)
Green Procurement

Joued . Jooq

o
@
Y
=]
m
=)
=5
=]
3
@
2

61.5

Stainlessx1
@Flat Screw(M4x12)
N Stainlessx2
@Spacerx|

Max8 Bolt Usable Frame Jg="
(Structural )
SF-40-45 Series
{Doory
SF-30-30

*For Left, Right, Up and Down

Name Folding Door Slider S-SSA  Folding Door Slider S-SSB  Folding Door Slider S Folding Door Slider L-S

Item No. SFK-801A SFK-802A SFK-803A SFK-804A

Size Indication for Folding Door Slider

L=500~1300 Olndication of Parts Choice
L4
Folding Door Slider L3 L2 L1 L5 Frame A Frame B Folding Slider Up |Folding Slider Down| Hinge a Hinge b

(Upper) . [ SF30 Series | SF20 Series Folding Slider S-SSB|Folding Slider S-SSA|Flat Hinge SS|Free Hinge 3020R

- Note) (SFK-802A) | Note) (SFK-801A) | (SFA-2A1) | (SFA-25R)

— [— Folding Slider S Folding Slider S | Flat Hinge S | Free Hinge S-R
Catch (SFK-803A) (SFK-803A) (SFA-2A2) | (SFA-22R)
(P166) . ) Folding Slider L-S | Folding Slider L-S | Flat Hinge S |Free Hinge L40-R

Na SF40 Series | SF30 Series | * ~(sFk-804A) (SFK-804A) | (SFA-2A2) | (SFA-23R)

Note:
1) When the folding door opens to the left, the folding door slider S-SS will become upside down.

EL 7/ i % 2) For SF45 series, it's not compatible for this structure.
/A % ODimension Indication

Pull Frame A Frame B L1 L2 L3 L4 | L5
L=Less than 500-700 --*
| < SF30 Series | SF20 Series |(L-L3-L4-L5-31.8)/2 | L1+31.8| L=Less than 700-1000 -
I L=1000-1300  --

Catch L=Less than 500-700 -
(P166) SF30 Series | SF30 Series | (L-L3-L4-L5-33)/2 | L1+33 | L=Less than 700-1000 ---
) [=1000-1300 -
~ 7 L=Less than 500-700 ---

i ider / SF40 Series | SF30 Series | (L-L3-L4-L5-38)/2 | L1+38 | L=Less than 700-1000 ---
Folding Door Slider Frame A L=1000-1300 -

SF30 Series | SF30 Series

s
T
Jo

Max.1000

=

Frame B

=

TNO|TN OO
aog|joagfggr o
N
o

(Lower) . . . .
(Door in this drawing opens to ”ght') When the folding door opens to the left, the folding slide S-SS will become upside down.

165



Door<Panel Parts Magnet Catch [for Folding Door]

SF
(]
-
Q
3
Q.
Y
=
o
n
=
Y
3
(1]

Magnet Catch Kit for Folding Door

MG Bracket S-SS Kit for Folding Door MG Bracket S Kit for Folding Door

Folding Door —
Slider S-SS s

40.5

-
7
30

Folding Door Slider S 2

(DMagnet Catch NX1 BT Nut S(M3)x1

@MG Bracket Sx1 ®T Nut S(MB)x2

@Truss Screw(M4x5)x2  (@DHexagon Socket Bolt(M5X10)x2
@Flat Screw(M3x8)x1

£ (DMagnet Catch Nx1 ®T Nut SS(M3)x2

= & @MG Bracket SX1 ®T Nut S(MB)x2

¥ € @Truss Screw(M4x5)x2  (DHexagon Socket Bolt(M5x22)x2
3 @Flat Screw(M3x12)x2  ®Magnet Plate for Folding Door SSX1

Kit
Contents

¥Refer from P1486 for details of Magnet Catch as Single Item.
(Choice Indiction of MG Bracket for Folding Door) ¢

MG Bracket L-S Kit for Folding Door

Frame B

e
Frame A Frame B MG Bracket for Folding Door Folding Door Sider L8 Foloing Door Slder 1S
SF-30 series SF-20 series MG Bracket S-SS,K“ for FOI(,img Door £ OMagnet Catch NX1 @Flat Screw(M3x8)x1  @Hexagon Socket Bolt(M5X15)x2
SF-30 sene_s SF-30 serfes MG Bracket S K|t_ for Foldl.ng Door| E% @MG Bracket L-SX1 ®T Nut S(M3)X1
SF-40-45 series SF-30 series MG Bracket L-S Kit for Folding Door| 8 ®@Truss Screw(M4x5)x2 ®T Nut L(MB)x2
o g Name MG Bracket S-SS Kit for Folding Door MG Bracket S Kit for Folding Door MG Bracket L-S Kit for Folding Door
@
8¢9
:l = Item No. SFK-4AJ SFK-4AF SFK-4AG
2 o
-.:E,' ci *Please refer from P146 to use for other purpose than Folding Door
3
=
Parts
How to order
Item No. Quantity (pcs)

166 SFK-4AJ [1]



._\r- Standard Frame

Door * Panel
Clean Equipment

167



Panel-Sheet

SF
9]
—
[
3
Q.
[
=
[=X
m
=
Y
3
(]

Wooden Board

Wooded board (MDF) Work board Meramin board

Products/Options
Material Board Thickness (mm) Include All Surface Color Maximum size (mm)
2/'\\//|0Dog;an ezl 9,12,16 White 1 Face, Wooden 1 Face (White End Face)
Work Board 11, 14, 18 (Included Mat) White 1 Face, ESD Rubber Mat (2mm) | Green (White End Face)
1200%2400
Yécr)cr)lfjr?do?)rgble) 11,14, 18 (included Mat) | White 1 Face, ESD Rubber Mat (2nm) | Green (White End Face)
Meramin Board 9,12, 16 White 2 Face White (White End Face)
29
D
£
£e
=
3
[}
2
Resin Panel
Products/Options
Standard color Panel thickness (mm) Density Atmospheric temperature Maximum size
Polyvinyl Chloride (PVC) Transparent 3or5 1.40 Up to 60 C
Acrylic (PMMA) Transparent 3or5 1.19 Up to 80 C
1200%x2400
Polycarbonate (PC) Transparent 3or5 1.20 Upto 130 C
Alumi Composit Panel (ACP) Silver 3 0.81 Upto70C

* If you require antistatic processing for panels, please notify when requesting for quotation.

168



:--I - Technical
' Data




Technical Data Free Unit

SF
(7))
—
[Y
=]
(=}
Y
=
o
m
=
Y
3
()

EASY To Check,
EASY To Order,
EASY To Assemble. R

2
[+
=
=
S
o
o
2
)

Please contact to SUS
in order to make your own image.

170



SF
(]
—
Q
3
Q
Y
=
Q
o
=
o
3
(]

Reference Example of Free Unit

SF-30 - 30 Frame

pd

o|~|o|o|n|w[v] |8

Name Quantity
SF2-30-30 640L
SF2-30-30 1340L
SF2-30-30 400L
SF2-30-30 1000L
D Bracket S Kit
D Bracket S Kit with Tap
Plate Bracket S-L Kit
Cover Support S Kit
9 | Fixed Hinge S Kit
10 | Pull A
11 | Magnet Catch N
12 | Sliding Door's Rail  1340L
13| Slide Spacer
14 | Plate
15| TNutS M6
16
17
18
19
20

I\
EIENIESNIE )

-
o

Hexagon Socket Bolt M6X10
TNutS M5

Truss Screw

Sliding Door Acrylict=5 Clear
Door Acrylict=5 Clear
21 | Cover A Acnylict=5 Clear
22 | Cover B Acrylict=5 Clear
23| Cover C  Acrylict=5 Clear

e LN N S S SR LD R ES

1000

No. Item No. Name Quantity Note

1 | SFF-324-T| SF-30-30 L =640 6

2 |SFF-324-T| SF-30:30 L = 1340 4

3 |SFF-324-T| SF-30-30 L =400 2

4 | SFF-324-T| SF-30-30 L = 1000 4

5 | SFK-018 D Bracket S Kit 22

6 | SFK-019 D Bracket S Kit with Tap 8

7 | SFK-104 Plate Braket S-L Kit 4

8 | SFK-K02 Cover Support S Kit 10

9 | SFK-221 Fixed Hinge S Kit 4

10 | SFA-301 Pull A 4

11 | SFA-45B Magnet Catch J 4

12 | SFF-R04 Sliding Door's Rail L = 1340 2

13 | SFA-107 Slide Spacer L = 2000 2

14 | SFA-502 Plate (For Sliding Door's Rail) 6

15 | SFB-002 TNutS (M6) 12

16 | SFB-561 Hexagon Socket Bolt (Uni-Chrome) M6x10 12

17 | SFB-001 T NutS (M5) 10

18 | SFB-558 Truss Screw M5X10 18

19 | SFY Sliding Door 914 X685 (Drilling included) 2 Acrylic t = 5 Clear
20 |SFY Door 938%317 (Drilling included) 2 Acrylic t =5 Clear
21 | SFY Cover A 694 X494 (Drilling included) 2 Acrylic t =5 Clear
22 | SFY Cover B 998638 (Drilling included) 1 Acrylic t =5 Clear
23 | SFY Cover C 1338x998 (Drilling included) 1 Acrylic t =5 Clear

171



SF
(2]
—
Q
=2
o
QO
-
o
T
Q
3
()

172

Technical Data Free Unit

Reference Example of Free Unit

SF2-40-40 Frame No. Name Quantity

1 |SF2-40-40 720L 4

2 |SF2-40-40 800L 2

3 |SF2-40-40 420L 8

4 | SF2-40-40 1900L 2

5 |SF2-40-40 1110L 2

6 |SF2-40-40 710L 2

7 | D Bracket L Kit 48

8 |Frame Cap 4040 6

9 | Level Adjuster Kit L 4

8
SF-K+45-45 Frame No. Name Quantity

1 |SF-K-45-45 1910L TW 4

2 | SF-K-45-45 510L TW 4

3 | SF-K-45-45 510L 5

4 | SF-K-45-45 360L 4

5 | SF-K-45-45 450L TGM 4

A 6 | D Bracket L Kit 40

7 | TG Joint Kit 40-45 16

8 | Level Adjuster Kit with CasterL| 4

450




SF-K+45-45 Frame
(How to use Clean Booth)

1845

Name

Quantity

SF-K-45-45 1500L

SF-K-45-45 1600L

Adjuster M12

SF-K-45-45 520L

SF-K-45-45 1755L

SF-K-45-45 1845L TR

~N|o|a|s|w|n=|Z

D Bracket L Kit

N
IR B RS

SF2-45-45/1F/2F Frame
(How to use Clean Booth)

2000

Name

Quantity

SF2-45-45-2F 1610L

4

D Bracket L Kit

72

SF2-45-45-2F 2000L

Frame Cap 45-45(Black)

SF2-45-45-1F 560L

SF2-45-45-1F 1610L

SF2-45-45 1610L

JINISNEIENTMINIERP4

SF2-45-45 910L

NINO ™I

173

SF
(2}
[~
[
=}
o
[
=
o
o
=
[
3
o




SF
(7]
[~
[
=}
o
[
=
o
o
=
Y
3
o

174

Technical Data Free Unit

Reference Example of Free Unit

SF-60-60-2S Frame
(How to use Clean Booth)

2000

Name

Quantity

SF-60-60-2S  1880L

4

Hard Bracket S3060 Kit

44

SF-60-60-2S  2000L

SF-60-60-2S  2380L

SF-60-60-2S 575L

o|o|nlw(p| =2

SF-60-60-2S 610L

AN O A

SF-60-60-2S Frame
(How to use Clean Booth)

2100

Back (1:25)
4

2040

Name

Quantity

SF-60-60-2S  1180L

6

Hard Bracket S3060 Kit with Tap

40

SF-60-60-2S  2600L

Frame Cap 60:60+2S (Light Gray)

SF-60-60-2S 2040L TL

Foot Base 60602S

Adjuster M16

SF-60-60-2S 2480L

SF2-30-30 1280L

Hard Bracket S Kit with Tap

:acooo\lmmhwm—sg

Truss Screw M5x10
(Include to install Cover D and E)

o=
IR LB SRS E L]

Cover Holder S

Cover A

Cover B

Cover C

Cover D

Cover E

Truss Screw M5X15

After Nut S M5
(Include to install Cover D and E)

NSENNENES

After Nut Support S (50 pieces)

—_

N

{m\ 4X4-M8 Depth 24
7




SF
0
-
Q
=]
o
Y
=
Q
i
=
Y
3
(]

SF2-40-40 No. Name Quantity
(How to use Clean Booth) 1 |SF2-40-40 3740L 4
2 | D Bracket L Kit 60
3 | SF-40-40-R 2307L TL50 4
4 | Level Adjuster(KC-280-4:Takigen) | 4
5 | Frame Cap 40+40-R (Black) 4
6 |SF2-40-40 2160L 7
7 | SF2-40-40 250L 4
%
4-M10 Depth 50,
, Bg || "
¥ ~—®
&
SF-60-60-1S+SF-20-20 Name Quantity
(How to use Equipment Rack+Safty Cover) SF-20-20 660L 6
d

Hard Bracket SS Kit with Tap 40
SF-20-20 1000L

Frame Cap 20-20 (Black)
SF-20-20 1160L

Blind Bracket SS

SF-20-20 980L

Level Adjuster Kit with Caster L
SF-60-60-1S  830L

10 | Hard Bracket L Kit

11 | SF-60-60-1S 800L

12 | SF-60-60-1S 1080L

13 | SF-60-60-1S 680L

14 | SF-20-20 524L

15 | SF-20-20 572L

16 | Pull A Type

17 | Flag Hinge SS-R Kit

18 | Flag Hinge SS-L Kit

19 | ML Bracket SS Kit

20 | Truss Screw M6X10

21 | Cover A

22 | Cover B

23 | Cover C

24 | Cover D

25 | Truss Screw M5X10

26 | Cover Holder SS(To install Cover)
27 | Truss Screw M5X15(To install Cover)
28 | SF-20-20 960L

29 | Angle Bracket SS2040 Kit

Q

©|m|~|o|o|nw(v[ =2

1000

2070

800

RS NSIRISENIS N NIENENTSENENF R A FENENEN TR RN

90

175



Technical Data wmaterial Property

SF
()]
[~
o
>
o
Y
=
o
m
=
Y
3
()

Material Property

6061:Heat-treated type corrosive-resistant alloy. It's used for bolt and rivet component because the welded
joint's strength is low, though it has pretty high bearing value by T6 treatment.

6NO01:Alloy with moderate strength for extrusion. With the intermediate strength between 6061 and 6063, it has
good property for extrusion and press-hardening heat treatment. Therefore, big and thin material with
complicated sectional shape can be produced. It's also good in corrosive-resistance and weldability.

SF

series

6063:Representative alloy for extrusion. Although the strength is lower than 6061, it has good property for extrusion.
Complicated sectional shape can be produced and it's good in corrosive-resistance and for surface treatment.

Aluminum Material Data

SUS will use both materials depending on Usage

Material ABN01SS-T5 A6063S-T5

Tensile Strength 270N/mm?® 187N/mm’

Bearing Force 225N/mm’ 147N/mm’®

Longitudinal Elastic Modulus 69972N/mm’? 68600N/mm’*

Hardness Brinell Hardness 88HB Brinell Hardness 60HB
Treatment Anodizing Thickness: More than 9 um

Frame Material Data

@Technical Data Table

Geometrical Moment of Inertia X10'mm* | Section ModulusX10°mm’ | |y x E ly X E |Cross Section| Unit Mass |Frame Slot Width
Aluminum Frame Ix ly Zx zy X10°N-mm* | X10°N-mm’ mm® kg/m mm
SF-20-20 0.74 0.74 0.74 0.74 0.52 0.52 182 0.49 6
SF-20-20-1F 0.83 0.75 0.78 0.75 0.58 0.52 194 0.52 6
SF-20-20-2F 0.81 0.81 0.79 0.79 0.57 0.57 195 0.53 6
SF-20-20-3F 0.81 0.89 0.78 0.89 0.57 0.62 208 0.56 6
SF-20-20-2H 0.74 0.89 0.74 0.89 0.52 0.62 200 0.54 6
SF-20-40 5.12 1.36 2.56 1.36 3.58 0.95 324 0.88 6
SF-20-40-1F 5.40 1.58 2.70 1.44 3.78 1.07 344 0.93 6
SF-20-60 15.97 1.97 5.30 1.97 11.17 1.38 465 1.26 6
SF-20-80 36.13 2.58 9.03 2.58 25.28 1.81 607 1.64 6
SF-40-40-2S 8.89 8.89 4.45 4.45 6.22 6.22 478 1.29 6
SF-40-40-2S-1F 9.78 9.32 5.08 4.66 6.84 6.52 522 1.41 6
SF-40-40-2S-2F 9.60 9.60 4.89 4.89 6.72 6.72 497 1.35 6
SF-40-60-SS 27.03 12.63 9.01 6.31 18.91 8.84 665 1.80 6
SF-40-80-SS 63.52 18.39 15.88 9.20 44.45 12.87 994 2.70 6
SF-20-40-40 6.61 6.61 3.82 3.82 4.63 4.63 429 1.16 6
SF-20-20°R 0.55 0.55 0.48 0.48 0.38 0.38 150 0.40 6
SF-20-DE30 0.80 0.98 0.60 0.77 0.56 0.69 228 0.61 6
SF-20-DE45 0.82 0.92 0.59 0.69 0.57 0.64 221 0.59 6
SF-20-DE60 0.86 0.92 0.63 0.73 0.60 0.64 227 0.61 6
SF-25-25 1.64 1.64 1.31 1.31 1.15 1.15 288 0.78 6
SF2-30-30 2.84 2.84 1.89 1.89 1.99 1.99 332 0.90 8
SF2-30-30-1F 3.03 2.76 1.98 1.84 212 1.93 339 0.92 8
SF2-30-30-2F 3.05 3.05 1.96 1.96 2.13 213 351 0.95 8
SF2-30-30-3F 2.99 3.24 1.91 2.16 2.09 2.27 361 0.98 8
SF2-30-30-2H 2.69 3.23 1.79 2.15 1.88 2.26 345 0.93 8
SF2-30-60 20.56 5.33 6.85 3.56 14.39 3.73 592 1.60 8
SF2-30-60-1F 20.92 5.81 6.97 3.75 14.64 4.07 615 1.66 8
SF-30-90 66.26 8.44 14.72 5.62 46.36 5.91 905 2.44 8
SF-30-120 152.58 11.24 25.43 7.49 106.76 7.86 1191 3.22 8
SF-30-60-2H 21.23 6.23 7.08 4.21 14.86 4.36 631 1.70 8
SF-K-30-30 2.38 2.38 1.59 1.59 1.67 1.67 270 0.73 8
SF-K-30-60 16.68 4.63 5.56 3.09 11.67 3.24 483 1.30 8
SF-50-50-2S 21.67 21.67 8.67 8.67 15.16 15.16 859 2.32 8
SF-50-50-2S-1F 22.23 21.40 8.87 8.56 15.55 14.97 862 2.33 8
SF-50-50-2S-2F 22.26 22.26 8.77 8.77 15.58 15.58 874 2.36 8
SF-50-100-2S 153.40 42.48 30.68 16.99 107.34 29.72 1614 4.36 8

176



SF
(]
P
Q
=]
o
Y
=
Q
m
=
Y
3
o

@Technical Data Table

Geometrical Moment of Inertia X10'mm* | Section Modulusx10°mm® | |x x E ly X E |Cross Section| Unit Mass |Frame Slot Width
Aluminum Frame Ix ly Zx Zy X10°N-mm’ | X10°N-mm’ mm?® kg/m mm
SF-35-35 5.12 5.12 2.93 2.93 3.58 3.58 412 1.11 8
SF-35-35-1F 4.98 5.17 2.84 2.92 3.48 3.62 394 1.06 8
SF-35-35-2F 5.37 5.37 2.98 2.98 3.76 3.76 405 1.09 8
SF-35-35-2H 4.83 5.23 2.76 2.99 3.38 3.66 376 1.02 8
SF-35-70 35.09 9.04 10.03 5.16 24.55 6.33 667 1.80 8
SF-35-70-1F 33.94 9.47 9.70 5.36 23.75 6.63 659 1.78 8
SF-35-70-2F 34.26 9.42 9.79 5.27 23.97 6.59 656 1.77 8
SF-60-60-2S 41.38 41.38 13.79 13.79 28.95 28.95 971 2.62 8
SF-60-60-2S-1F 45.34 43.31 14.65 14.44 31.73 30.30 1071 2.89 8
SF-60-60-2S-2F 43.75 43.75 14.66 14.66 30.61 30.61 1011 2.73 8
SF-60-90 111.61 52.65 24.80 17.56 78.10 36.84 1156 3.12 8
SF-60-120 242.90 65.97 40.48 21.99 169.96 46.16 1526 412 8
SF-30-60-60 27.28 27.28 7.88 7.88 19.09 19.09 863 2.33 8
SF-30-30-R 2.42 2.42 1.53 1.53 1.69 1.69 305 0.82 8
SF-30-DE30 3.15 3.86 1.58 2.00 2.20 2.70 412 1.11 8
SF-30-DE45 3.21 3.72 1.56 1.86 2.25 2.60 401 1.08 8
SF-30-DE60 3.33 3.70 1.67 1.89 2.33 2.59 410 1.10 8
SF2-40-40 10.48 10.48 5.24 5.24 7.33 7.33 643 1.74 10
SF2-40-40-1F 9.76 10.08 4.69 5.04 6.83 7.05 704 1.90 10
SF2-40-40-2F 9.66 9.66 4.74 4.74 6.76 6.76 589 1.59 10
SF2-40-40-3F 9.97 10.51 4.94 5.25 6.98 7.35 618 1.67 10
SF2-40-40-2H 9.74 10.44 4.87 5.22 6.82 7.31 612 1.65 10
SF2-40-80 72.30 19.92 18.07 9.96 50.59 13.94 1114 3.01 10
SF2-40-80-1F 70.50 20.32 17.62 10.14 49.33 14.22 1105 3.11 10
SF-40-160 498.81 38.58 62.35 19.29 349.03 27.00 2049 5.54 10
SF-K-40-40 7.50 7.50 3.75 3.75 5.25 5.25 492 1.33 10
SF-K-40-80 55.37 14.44 13.84 7.22 38.74 10.10 856 2.31 10
SF-80-80 129.84 129.84 32.46 32.46 90.85 90.85 1703 4.60 10
SF-80-160 1000.9 295.39 125.11 73.84 700.35 206.69 3891 10.51 10
SF-80-80-H 182.84 182.84 45.71 45.71 127.94 127.94 2616 7.06 10
SF-90-90-H 303.40 303.40 67.42 67.42 212.30 212.30 3270 8.83 10
SF-40-80-80 94.15 94.15 27.56 27.56 65.88 65.88 1550 4.19 10
SF-40-40-R 7.82 7.82 3.53 3.53 5.47 5.47 566 1.53 10
SF-40-DE30 9.89 10.64 3.73 4.20 6.92 7.45 694 1.88 10
SF-40-DE45 9.87 10.37 3.59 3.99 6.91 7.26 676 1.83 10
SF-40-DE60 9.99 10.53 3.74 4.14 6.99 7.37 679 1.84 10
SF2-45-45 15.24 15.24 6.78 6.78 10.66 10.66 783 2.10 10
SF2-45-45-1F 13.91 14.65 5.90 6.51 9.73 10.25 732 1.98 10
SF2-45-45-2F 14.09 14.09 6.14 6.14 9.86 9.86 717 1.94 10
SF2-45-45-3F 14.41 15.02 6.39 6.67 10.08 10.51 736 1.99 10
SF2-45-45-2H 14.3 14.71 6.35 6.53 10.01 10.29 731 1.98 10
SF2-45-90 125.54 32.50 27.90 14.44 87.84 22.74 1543 417 10
SF2-45-90-1F 117.42 32.07 26.09 14.10 82.16 22.44 1438 3.88 10
SF-45-180 804.81 60.75 89.42 27 563.14 42.51 2636 712 10
SF-K-45-45 11.74 11.74 5.22 5.22 8.21 8.21 628 1.70 10
SF-K-45-45-1F 10.88 11.33 5.04 5.03 7.61 7.93 590 1.60 10
SF-K-45-45-2F 11.13 11.13 4.99 4.91 7.79 7.79 585 1.58 10
SF-K-45-90 87.17 22.87 19.37 10.17 60.99 16.00 1102 2.98 10
SF-90-90 204.97 204.97 45.55 45.55 143.42 143.42 2143 5.79 10
SF-90-180 2136.6 598.51 237.4 133 1495.02 418.79 6320 17.07 10
SF-45-90-90 149.53 149.53 28.83 28.83 104.63 104.63 2052 5.54 10
SF-45-45-R 11.33 11.33 4.52 4.52 7.93 7.93 664 1.79 10
SF-45-DE30 14.91 15.95 4.95 57 10.43 11.16 851 2.30 10
SF-45-DE45 14.73 15.49 4.72 5.36 10.31 10.84 821 2.22 10
SF-45-DE60 14.94 15.93 4.86 5.73 10.45 11.15 834 2.26 10
SF-60-60-1S 49.32 49.32 16.44 16.44 34.51 34.51 1380 3.73 10
SF-80-80-1S (L=4000) 90.46 90.46 16.35 16.35 63.30 63.30 1461 3.94 10
. . 4 oo . 2
| X E Unit Mass | X E = Geometrical Moment of Inertia mm* X Longitudinal Elastic Modulus N,/ mm

Steel Frame X10°N-mm’ kg/m @Indication of Frame Selection

& | L30x30xt3 2.92 1.32 Ix X E (Aluminum Frame) = | X E (Steel Frame)

;% ::‘5182‘518::2 ;;;i g?g ly X E (Aluminum Frame) = | X E (Steel Frame)

‘; L65%X65%X1t6 60.51 5.91

S L75X75Xt6 94.87 6.85

B [[150%x50%t2.3 32.72 3.34

§ | [150x50xt3.2 41.98 4.50

2 | [eoxe0xt2.3 58.24 4.06

E] [J75X75%12.3 11.75 5.14

177



Technical Data indication of Allowable Load

SF
(7))
-
o
=
Q.
o
=
Q
o
=
Y
=
(]

Indication of Frame's Allowable Load

@Calculated as center-concentrated load by both ends supported beam.
@Assumed the load when flexure volume reaches 1/1000mm of the frame's length as the allowable load.

178

Both Ends Supported

Allowable Load

Both Ends Supported

Allowable Load

Name L=1000 Centralized Flexure 1mm | L=500 Centralized Flexure 0.5mm Name L=1000 Ci d Flexure imm | L=500 Centralized Flexure 0.5mm
Allowable Load (N) Allowable Load (N) Allowable Load (N) Allowable Load (N)

SF-2020 25 929 SF-3535 172 688
SF-2040 (Width) 45 181 SF-3570 (Width) 304 1214
SF-2040 (Height) 172 688 SF-3570 (Height) 1179 4714
SF-2060 (Width) 66 265 SF2-4040 349 1397
SF-2060 (Height) 537 2147 SF2-4080 (Width) 665 2660
SF-2080 (Width) 86 344 SF2-4080 (Height) 2415 9659
SF-2080 (Height) 1208 4832 SF-40160 (Width) 1296 5183
SF-40402S 299 1194 SF-40160 (Height) 16753 67013
SF-4060SS (Width) 424 1697 SF-K4040 252 1008
SF-4060SS (Height) 908 3631 SF-K4080 (Width) 485 1940
SF-4080SS (Width) 614 2457 SF-K4080 (Height) 1860 7439
SF-4080SS (Height) 2125 8499 SF-8080 4336 17344
SF-204040 222 888 SF-8080H 6130 24518
SF-2020R 18 74 SF-9090H 10190 40761
SF-2525 55 221 SF-80160 (Width) 9921 39685
SF2-3030 95 380 SF-80160 (Height) 33617 134467
SF2-3060 (Width) 179 715 SF-408080 3162 12649
SF2-3060 (Height) 678 2714 SF-4040R 262 1049
SF-K3030 80 320 SF2-4545 508 2033
SF-K3060 (Width) 156 622 SF2-4590 (Width) 1085 4338
SF-K3060 (Height) 560 2241 SF2-4590 (Height) 4188 16753
SF-3090 (Width) 283 1134 SF-45180 (Width) 2040 8162
SF-3090 (Height) 2226 8904 SF-45180 (Height) 27031 108123
SF-30120 (Width) 376 1503 SF-K4545 394 1576
SF-30120 (Height) 5111 20442 SF-K4590 (Width) 768 3072
SF-60602S 1390 5562 SF-K4590 (Height) 2927 11710
SF-6090 (Width) 1767 7067 SF-9090 7026 28105
SF-6090 (Height) 3728 14912 SF-90180 (Width) 20102 80408
SF-60120 (Width) 2217 8867 SF-90180 (Height) 71761 287044
SF-60120 (Height) 8162 32646 SF-459090 5024 20094
SF-306060 917 3666 SF-4545R 381 1522
SF-3030R 81 325 SF-60601S 1655 6619
SF-50502S 725 2902 SF-80801S 3038 12153
SF-501002S (Width) 1389 5555

SF-501002S (Height) 5048 20192

Indication of Unit's Allowable Load

Uniformly-Distributed Load

Loaded evenly to the frame  Condition: Calculated based on that each frame's flexure volume is 1mm at the center of the frame in the flat surface of 1000mmx1000mm.
Unit's Allwable Load L=1000

Unit's Allwable Load L=1000

Name Uniformly-Distributed Load | Concentrated Load Name Uniformly-Distributed Load | Concentrated Load
Allowable Load (N) |Allowable Load (N) Allowable Load (N)|Allowable Load (N)

SF-2020 180 112 SF-3535 1101 688
SF-2040 (Width) 279 174 SF-3570 (Width) 1943 1214
SF-2040 (Height) 1079 674 SF-3570 (Height) 7543 4714
SF-2060 (Width) 398 249 SF2-4040 2146 1341
o SF-2060 (Height) 3366 2104 SF2-4080 (Width) 3916 2447
=] SF-2080 (Width) 506 316 SF2-4080 (Height) 14837 9273
- SF-2080 (Height) 7577 4736 SF-40160 (Width) 6966 4354
SF-40402S 1835 1147 SF-40160 (Height) 102932 64333
SF-4060SS (Width) 2552 1595 SF-K4040 1548 967
SF-4060SS (Height) 5578 3486 SF-K4080 (Width) 2856 1785
SF-4080SS (Width) 3617 2261 SF-K4080 (Height) 11426 7141
SF-4080SS (Height) 13054 8159 SF-8080 25531 15957
SF-204040 1364 853 SF-8080H 36091 22557
SF-2020R 116 72 SF-9090H 65217 40761
& SF-2525 344 215 SF-80160 (Width) 53336 33335
SF2-3030 590 369 SF-80160 (Height) 180724 112952
Concentrated Load Loaded to the center of the frame ~ SF2-3060 (Width) 1075 672 SF-408080 18619 11637
SF2-3060 (Height) 4212 2632 SF-4040R 1612 1007
® SF-K3030 512 320 SF2-4545 3106 1941
A0 0p, 0 SF-K3060 (Width) 995 622 SF2-4590 (Width) 6316 3948
SF-K3060 (Height) 3585 2241 SF2-4590 (Height) 25599 15999
SF-3090 (Width) 1651 1032 SF-45180 (Width) 10708 6692
SF-3090 (Height) 13820 8637 SF-45180 (Height) 165212 103258
SF-30120 (Width) 2117 1323 SF-K4545 2408 1505
SF-30120 (Height) 31726 19829 SF-K4590 (Width) 4474 2796
o SF-60602S 8365 5228 SF-K4590 (Height) 17892 11183
3 SF-6090 (Width) 10289 6431 SF-9090 40921 25576
- SF-6090 (Height) 22428 14018 SF-90180 (Width) 105495 65934
SF-60120 (Width) 12485 7803 SF-90180 (Height) 417936 261210
SF-60120 (Height) 49100 30687 SF-459090 29257 18286
SF-306060 5514 3446 SF-4545R 2326 1454
SF-3030R 505 315 SF-60601S 9955 6222
SF-50502S 4411 2757 SF-80801S 19445 12153

SF-501002S (Width) 8000 5000

SF-501002S (Height) 30692 19183

-3



SF
(7))
-
Q
=}
Q
Y
=
Q
o
=
o
3
o

Indication of Bracket's Allowable Load (Slip)

Size Bracket Name Allowable Load(N) ~_Size Bracket Name Allowable Load (N)
SS | D Bracket SS 833 L D Bracket L 2058
D Bracket 2040 1887 D Bracket 4080 5055
Hard Bracket SS 833 D Bracket 4590 5055
Hard Bracket SSG 833 Hard Bracket L 2058
Hard Bracket SSW 2020 1290 Hard Bracket LG 2058
Hard Bracket SS 2040 1470 Hard Bracket LW 5422
Hard Bracket SSG 2040 1470 Hard Bracket L 4080 2940
Hard Bracket SSW 2040 2233 Hard Bracket G 80 3920
Hard Bracket SS 2060 1960 Hard Bracket G 80160 7056
Hard Bracket SSG 2060 1960 Hard Bracket LW4080 8542
Hard Bracket SSW2060 4360 Hard Bracket GW80 8542
Angle Bracket SS 686 Hard Bracket L 4590 2940
Angle Bracket Hard SS 686 Hard Bracket G 90 3920
Angle Bracket SS 2040 1176 Hard Bracket G 90180 7056
Angle Bracket SS 2060 1617 Hard Bracket LW4590 8542
QC Joint SS 345 Hard Bracket GW90 8542
S Blind Bracket SS 196 Angle Bracket L 40 1666
S D Bracket S 1176 Angle Bracket Hard L40 1666
D Bracket 3060 2825 Angle Bracket L 4080 2352
Hard Bracket S 1176 Angle Bracket L 45 1666
Hard Bracket SG 1176 Angle Bracket Hard L45 1666
Hard Bracket SW 3030 3035 Angle Bracket L 4590 2352
Hard Bracket S 3060 1960 Offset Angle L4080 2352
Hard Bracket SG 3060 1960 Offset Angle L4590 2352
7 Hard Bracket SW 3060 4307 S Blind Bracket L 1274
\ Bracket Hard Bracket S 3090 2744 QC Joint L 800
Hard Bracket SG 3090 2744 TG Joint 4045 1560
Hard Bracket S 50 1960 TG Joint 60 1560
Hard Bracket SG 50 1960 TG Joint 80 Kit(When using [180 Frame) 7687
Hard Bracket SW 3090 5737 S Double Joint 40 1200
Angle Bracket S 980 S Double Joint 45 1200
Angle Bracket Hard S 980 S Double Joint 60 1200
Angle Bracket S 3060 1568 S Double Joint 80 1200
Angle Bracket S 3090 2352
Angle Bracket S 50 1568
S Blind Bracket S 686
QC Joint S 395
TG Joint 30 945
S Double Joint 30 1200
KF Joint 535

179



Technical Data

SF
(7))
-
Q
=
Q.
o
=
o
o
=
Y
3
(]

Deflection Calculating Abridged List

@ Determine the load on the frame. @ Determine the moment of inertia of the frame area to use and draw a
. horizontal line to the left.
@ Determine the length of the frame used.
o . . . @ Draw a diagonal line from ), parallel to the diagonal line on the graph,
Draw a horizontal line from (@ to the right. and find ®, which is the intersection with @.
Draw a vertical line from @ upward. Draw a vertical line from ® upward, and the deflection quantity is found
Find @, which is the intersection of O and @. at the intersection with the scale of each fixing method.
0.1 0.5 1 5 10 50 100 (mm)
L H‘HHl | H‘\\Hl anm Cantilever beam
.
:
:
0.01 0.5 0.1 : 0.5 1 5 10 50 100
:
L \‘HHl L \‘HHl L \‘HHl mm Both ends supported beam
)
i
0.001 0.005 0.01 0.05 0.1 0.5 1 5 10 50 100
‘ L1l HHl L1l HHl ! H‘\\Hl ! H‘HHl ! H‘HH‘ Both ends fixed beam
E I (mm?)
i X10°
P(N) '
i
i
200000 : 2000 ———SF90-180 (Vertical)
i
i
i
i
i
100000 i 1000 SF80-160 (Vertical)
' SF45-180 (Vertical)
; SF90-180 (Horizontal)
50000 ¢ 500 SF40-160 (Vertical)
A
i
b 300 Jgggg-?go’?Horizomal)
1 SF60-120 (Vertical)
20000 A 200 SF90-90
! ———————————————SF80-80"H
b %s%o-mo-zsmmcau
1 JSFAS-QO(Vemca\) SF45-90-90
: SF60-90 (Vertical)
10000 r 100 SF40-80-80 SF80-80-1S
gggg 70-50 (ortoa) SFK45-90 (Vertical)
SF- - ‘ertical .
7000 : /7 SFa0-90Vertea) /" SFa0.50os6 (verica)
6000 : SF45-180 (Horizontal)
5760790 (Horizon@l) - SFK40-80 (Vertical
5000 50 CSFGO'SO'ZS . (vertica)
4000 SF50-100-2S (Honzontal)smo. 160 (Horizontal)
SF20-80 (Vertical) SF35-70 (Vertical)
3000 30 SF45-90 (Horizontal) SF60-60-2S-R
~SF30-60-60 SFK45-90 (Horizontal)
T \-SF40-60-SS(Vertical) / _SF50-50-2S
/) SF30~60-(\2/H!(VeIr)lical)
2000 20 ‘\—SF30~60 fertical
——_SF40-80-SS (Horizontal) ging‘%gé*‘\%ﬁf’c’:@‘)
S A R W I _______(4'\—5F20-60 lertical)
Y T\ SFK40-80 (Horizontal) - SF45-45
—giﬁ%;\(‘igésfsmonzomal)
- SF30-120 (Hori: 1) \\- . '
1306 10 \SFa0.ao o\ Sk s,
’/1\ 300 Y SF30-90 (Horizontal) SF35-70 (Horizontal)
@ Rt
700 €) SF20-40-40 \C§F40:40:25-R
SFK40-40 )
600 __ SF30-60 (Horizontal) —SF30-60-2H (Horizontal)
500 5 SF20-40 (Vertical) SF35-35
SFK30+60 (Horizontal)
400
300 8 SF30-30 ~SF20-80 (Horizontal)
—_—————————SF30-30°R
SFLight30-30 \_sFk30-30
200 2 -SF20-60 (Horizontal)
SF25-25
SF20-40 (Horizontal)
100 1
90
E;g SF20-20
%0 er020m (D Load 800N
50 05 (2 Length of Frame 500mm
40 3 Intersection of M and ®
30 SFLight15-15 (4) Frame used SF-45-45
» o ®) Intersection of the horizontal
o s o o osoccss e o o line from ® and @
8 S 8 8 888s8ss8 g 8 8
‘\2/‘
- L(mm)

180



Frame Recommended Load

Requirements: Fix both ends of frame, use the recommended load when
the load F is concentrated in the direction of the arrow.

Recommended load: Sliding load of the load bracket where deflection O

B SF-20-20 SFF-204
F

A

L

(

Hl SF2-20-40 SFF-244

7

B SF-40-40-2S SFF-404W
F

e

B SF2-30-30 SFF-324

Calculation formula
€ Recommended load

— 5 FLS
b 1/1000 of the length of f L di ded g 48El
ecomes of the length of frame, L disregarded. % @ Limit load
L: Frame length 2 FL
- —=— = = O [0 e r—
4z
Frame length Deflection tolerance (mm) | Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 90 1200
1000 1 24 600
1500 1.5 10 400
2000 2 6 300
{Horizontal>
Frame length Deflection tolerance (mm) | Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 180 2200
1000 1 45 1100
1500 1.5 20 740
2000 2 10 550
{Vertical >
Frame length Deflection tolerance (mm) | Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 680 4100
1000 1 170 2000
1500 1.5 75 1300
2000 2 40 1000
Frame length Deflection tolerance (mm) | Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 1100 7200
1000 1 290 3600
1500 1.5 130 2400
2000 2 70 1800
Frame length Deflection tolerance (mm) | Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 380 3100
1000 1 95 1500
1500 1.5 40 1000
2000 2 20 770
{Horizontal>
Frame length Deflection tolerance (mm) | Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 710 5800
1000 1 170 2900
1500 1.5 75 1950
2000 2 40 1450
{Vertical>
Frame length Deflection tolerance (mm) | Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 2790 11300
1000 1 690 5600
1500 1.5 310 3700
2000 2 170 2800

SF
(7))
-
Q
=}
Q
Y
=
Q
o
=
L
3
(]

181



SF
(7))
-
Q
=
Q.
Y
=
o
o
=
o
=
(]

182

Technical Data

B SF2-40-40 SFF-424

B SF2-40-80 SFF-434

Frame length Deftection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 1400 8600
1000 1 350 4300
1500 1.5 150 2800
2000 2 80 2100
{(Horizontal
Frame length Deflection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 2650 16300
1000 1 660 8100
1500 1.5 290 5440
2000 2 160 4050
{Vertical
Frame length Deflection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 9700 29600
1000 1 2400 14800
1500 1.5 1080 9800
2000 2 600 7400




B SF2-45-45 SFF-444

B SF2-45-90 SFF-474

Frame length Defiection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 2000 11000
1000 1 500 5500
1500 1.5 200 3700
2000 2 120 2700
{Horizontal
Frame length Deflection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N)
500 0.5 4400 24000
1000 1 1100 12000
1500 1.5 450 8000
2000 2 250 6000
{Vertical
Frame length Deflection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 17300 47100
1000 1 4300 23500
1500 1.5 1900 15700
2000 2 1000 11700

SF
(7))
-
Q
=}
Q
Y
=
Q
o
=
L
3
(]

183



SF
(7))
-
Q
=
Q.
Y
=
o
o
=
o
=
(]

184

Technical Data

B SF2-50:-50-1S SFF-544
F

B SF2-60:60-2S SFF-6A4

A

Frame length Deftection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N) (N)
500 0.5 3570 19440
1000 1 890 9720
1500 1.5 390 6480
2000 2 220 4860
Frame length Deflection tolerance (mm) Recommended load Limit load
(mm) 1/1000 (N)
500 0.5 5500 22600
1000 1 1350 11300
1500 1.5 600 7500
2000 2 340 5650




SF Bracket/Joint Load Tolerance Guideline

Frame junction point (cantilever fixed tolerance) [Half value calculated from experimental values.]

(Sliding: N, Moment: N-m)
F F F F
l L L L
P B Y |
E | [[E | TTES l 0y
D Bracket . > et | ||l=t
7 A
| 2
Frame size  |Proper tightening torque Sliding Moment @O Moment @ Moment @ Moment @ Moment ®
20 74N-m 382 3.6 12.8 26.0 2.0 6.9
30 10.8N-m 798 12.6 29.6 62.4 10.5 32.0
40 24.9N-m 100 36.0 70.0 98.0 22.5 36.7
45 24.9N-m 1000 40.0 73.0 130.0 23.5 38.9
60-2S 10.8N-m 1490 46.1 107.4 161.5 30.4 47.5
80-2S 24.9N-m 2030 53.2 233.7 294.5 49.9 117.8
90-2S 24.9N-m 2230 57.0 236.6 335.4 89.3 159.6
(Sliding: N, Moment: N-m)
F F
L F
l L
] Y ]
Hard Bracket 1 ? . B, v
]
i ——
Frame size  |Proper tightening torque Sliding Moment O Moment @ Moment 3 Moment @ Moment ®
20 74 N-m 375 6.7 27.4 36.6 1.9 7.1
30 10.8N-m 555 25.3 727 90.9 2.8 38.9
40 24.9N-m 860 394 778 122.2 14.7 35.9
45 24.9N-m 1140 36.4 98.0 167.7 11.1 41.4
60-2S 10.8N-m 1260 64.1 123.2 195.9 23.6 57.6
80-2S 24.9N-m 2130 114.1 186.9 303.0 42.4 144.4
90-2S 24.9N-m 1910 104.0 205.0 338.4 727 184.8
(Sliding: N, Moment: N-m) (Sliding: N, Moment: N-m)
F F I F
. i Blind \ |
TG Joi o e%  F
Frame size |Proper tightening torque Sliding Moment load Frame size |Proper tightening torque Sliding Moment load
30 10.8 N-m 500 40.0 20 74N-m 105 1.3
40 249 N-m 500 50.0 30 10.8N-m 500 6.0
45 249 N-m 500 50.0 40 24.9N-m 500 14.0
60-1S 10.8 N-m 2210 57.0 45 24.9N-m 500 13.8
80-2S 249 N-m 2440 240.0
(Sliding: N, Moment: N-m)
F F
A 4
QC Joint
Frame size |Proper tightening torque Sliding Moment load
30 10.8 N-m 126 12.0
40 249 N-m 361 39.5
45 249 N-m 510 48.8
60-2S 10.8 N-m 290 162.6
80-2S 249 N-m 560 281.1
90-2S 249 N-m 620 273.9

SF
(]
—~
Q
=}
Q
Y
=
[=3
o
=
L
3
(]

185



SF
0
—
)
=]
o
Q
=
o
ul
o
3
o

186

Technical Data Hexagon Socket Bolt, SI Unit List

Hexagon Socket Bolt Excerpt from JISB1176 (1988)

30° Cone Base Remarks 1. Don't use the staff which the name is in parenthesis as
. possible as you can.
R d JAs) 2. l_)eveloped length (_I), length of t_hread part (s) and length of
incomplete thread is by appendix table 2.
\ _ / [ [ H‘ 3. Base shape of hexagonal hole can be circular cone or circle.
o \ a NN 1) _2 T\ w 4. There must not have significant eccentric to the hexagonal
N =7 'c\‘/ Ud/ t=1/ 4) I ‘J hole.
S K L[] [ [T 5. Inner chamfering can be done to the hexagonal hole.
e 6. Put parallel or slash knurling to the side of the head.
% m X S m However, knurling in not needed by specification. In this
H a b case, allowable difference of D is h13 according to JIS B
H I < 0401 (Dimensional tolerance and engaging).
7. Spanner for this bolt is JIS B 4648 (Hexagonal bar spanner).
Unit mm
Size of Screw (d) | M3%0.5 | M4X0.7 | M5x0.8 M6 M8 M10 Mi12 | (M14) M16 | (M18) | M20 | (M22) | M24 | (M27) | M30
Pitch P 0.5 0.7 0.8 1 1.25 1.5 1.75 2 2 25 25 2.5 3 3 3.5
Basic Dimension 3 4 5 6 8 10 12 14 16 18 20 22 24 27 30
o Allowable Tolerance o o o
—0.1 —0.15 —0.2
5 Basic Dimension | 5.5 7 [ 8s | 10 13 | 1e 18 21 24 | =27 30 a3 | 36 [ 40 [ as
Allowable Tolerance 78_3 78.36 78_43 —8_52 —0.62
Ny Basic Dimension 3 a | 5 | e s | 10 12 14 | 16 | 18 20 22 [ 24 27 [ so
Allowable Tolerance 78_25 78_3 —0.36 —0.43 —0.52
e About 0.2 0.3 0.3 0.4 0.5 0.6 0.7 0.8 1 1 1 1 1 1.5 1.5
Basic Dimension 25 3 4 5 6 8 10 12 14 14 17 17 19 19 22
= Alowable Tolerance +0.080 +0.105 +0.130 +0.230 +0.275
+0.020 +0.030 +0.020 +0.050 +0.065
C About 29 3.6 4.7 59 7 9.4 11.7 14 16.3 16.3 19.8 19.8 221 221 25.6
m MIN 1.6 22 25 3 a4 5 6 7 8 9 10 11 12 13.5 15
R MIN 0.1 0.2 0.2 0.25 0.4 0.4 0.6 0.6 0.6 0.6 0.8 0.8 0.8 1 1
da MAX 3.6 4.7 57 6.8 9.2 11.2 14.2 16.2 18.2 20.2 22.4 24.4 26.4 30.4 33.4
k About 0.6 0.8 0.9 1 1.2 1.5 2 2 2 2.5 25 25 3 3 3.5
a—b MAX 0.2 0.2 0.3 0.3 0.4 0.5 0.7 0.7 o.8 0.9 0.9 1.1 1.2 1.3 1.5
E MAX 1
Hexagon Socket Bolt Drilling Dimension (Reference Value)
' o' Unit mm
D Size of Screw(d)) M3 M4 M5 M6 M8 | M10 | M12 | M14 | M16 | M18 | M20 | M22 | M24 | M27 | M30
di 3 4 5 6 8 10 12 14 16 18 20 22 24 27 30
=[] T d 34 | 45 | 55 |66 | o |11 | 1a | 16 | 18 | 20 | 22 | 24 [ 26 | 30 | 33
Q‘ g‘; T D 55 8.5 10 13 16 18 21 24 27 30 33 36 40 45
d] '
- d:: D' 6.5 9.5 11 14 175 20 23 26 29 32 35 39 43 48
! d ! d H 3 4 5 6 8 10 12 14 16 18 20 22 24 27 30
| | ||| H' 27 | 36 | 46 | 55 | 74 | 92 11 | 128 | 145 | 165 | 185 | 20.5 | 225 | 25 28
\\ \\ H" 33 4.4 54 6.5 86 | 108 13 152 | 175 | 195 | 215 | 235 | 255 29 32
Remarks Bolt Hole Dimension (d') above is according to JIS B 1001.
List of Sl Unit for Main Amount
Name of . f f - Name of . . . .
Jcirt Existing Unit S| Unit Equivalent TR Existing Unit Sl Unit Equivalent
um 1u=1um t kg(t can be used together) | 1t=10%g
- Weight
1A=10"""m car mg 1car=200mg
_ —1 Density* a2 /md 3 o2 /i 3
Length | ft m 1ft=3.048X10"'m Conceniration kgf-s*/m kg/m 1kgf-s°/m*=9.80665kg/m
in (A can be used together)| 1in=2.54x10"?m Momentum | kgf-s kg-m/s 1kgf-s=9.80665kg'm/s
mile 1mile=1.60934x10°m  Moment ofycgy. . g2 kg-m? 1kgf-m-s?=9.80665kgm?
a 1a=10°m? kgf 1kgf=9.80665N
Power N
yd? 1yd?=2.01168%10m? dyn 1dyn=10"°N
f? m? 1ft?=9.29030x102m? Momem off kgf-m N'm 1kgf-m=9.80665Nm
Area ower
in? (a can be used together)| 1in®=6.4516%x10"*m? , 1kgf/cm®=9.80665x10*Pa
kgf/cm
acre 1acre=4.04686x10°m? 1kgf/cm?=9.80665%10""'bar
mile? 1mile?=2.58999x 10°m? bar 1bar=10°Pa
cc cm® 1cc=1cm® at(Technical Atmosphere) | Pa 1at=9.80665%10"Pa
Pressure
L. dm®(L.I can be used together)| 1L=1dm? atm (Presure) (bar can be used together) | 1atm=101325Pa
Volume| gal 1gal=4.54609%107° mHz20,mAg 1mH20=9.80665%10°Pa
gal m® 1gal=3.78541x107° mmHg 1mmHg=133.322Pa
barrel 1barrel=1.590x107" Torr 1Torr=133.322Pa




Technical Data How to use Nut

SF
(2}
[~
[
=}
o
[
=
o
o
=~
[
3
o

How to use Nut

T Nut + Anti-Skid Cap

e TN
: - "-i'] for SF20 Seres LU SS___| b

w L= Anti-Skid Cap SS
/| =8 Ly 1 .
| i . TN
1 for $F-30 Serios |Vt S P56
= Anti-Skid Cap S
.~ | T NutL
Please insert Nut from SRR Anti-Skid Cap L40 P95

g

the edge of the frame
T NutL
R
I
ot o J N Y
. ‘ =2

T-Shape =
Surface

L]

k]

It's hardly slide with Anti-skid

Anti-Skid Cap L45
= Cap.

for SF-45 Series P95
| J
bt
J" “%_ Anti-Siid Cap

Fit in surface with projection to T-shape surface of Nut.

*If the direction is not right, fixing may not enough

After Nut + After Nut Support

After Nut Support After Nut SS
for SF-20 Series P27
Insert the After Nut Alfer Nt Support S5
S Press and set the After After Nut /ﬁ@\ﬁ After Nut S
\¢* upport. Nut between the claws %Sg; for SF-30 Seres P57
‘ of After Nut Support. = After Nut Support $
After Nut L

for SF-40+45 Se P96
7 Ater Nut Support L

Y

T O D¥

Nut can be positioned in the
right place by After Nut Support,
and it hardly displace because
of the convenient lock function.

After Nut Support

for SF-20 Series| Lock Nut SS | P27

Lock Nut

=
%\ng; for SF-30 Series | Lock Nut S P57

for SF-40-45 Series| Lock Nut L P96
£
®
O
By tightening the set screw,
position of the Nut is fixed and
hardly moves. After Nut Support
can also be used and hardly
L - moves as a temporary setting.
~l1

for SF-20 Series| Free Nut SS | P27

for SF-30 Series | Free Nut S P57

for SF-40-45 Series| Free Nut L P96

Nut can be inserted in the condition
that is remained in bracket, etc.

Insert Free Nut and rotate
in the groove.

187



Technical Data How to joint Bracket

SF
()
-
o
3
Qo
Y
=
o
o
=
Y
3
o

QC Joint Kit
1

QC-processed frame

Drill-Processed Frame 2
for QC Joint

QC-Round Metal Tool

Insert QC Joint.
+ Drill-processing for QC Joint is
needed on one of the frames.

I ‘ﬁ' e <
& G QC Joint Hexagon Socket Bolt e '
¥ :

F':it
| | - :
_ _ || 1===2R 4
Tighten QC Joint and Bolt J [
[

with Hexagonal Wrench.

?C Joint )
with Tay
&5 P.

Rotate QC Joint 90°, and connect
to the QC-Processed Frame.

TG Joint Kit

1 QL® -x 2
@ Q‘ \TG Plate 2
\ Bolt for TG

+ Tapping for bolt
tightening is needed
to one frame, and
wrench hole processing
is needed to another
frame.

Put the Bolt for TG through

> the TG Plate, and fix
temporary with spacing.

Drilling

Set the head of the bolt
and TG Plate to another
frame, and slide to the
specific position.

-

\2) Tighten with Hexagonal Wrench and fix it.

Instruction for use of TG Joint
When using TG Joint Kit 30 with

Set the rotation stopper to the top. %
Adjuster Plate S and Adjuster Caster

(Xﬂ}ﬁgr%?;esr Plate S) Plate S together, please pay attention to
the direction of TG Plate.

Double Joint Kit

Insert Double
Joint to the
drilled frame.

1

; Bolt first.
‘-'f \Double Joint

ﬁ ﬁ\ Hexagon Socket Bolt 2 Insert T Nut and
=

+ Drilling is needed to
one of the frames.

Frame @

Fix up Frame 2 to Frame
1, and slide T Nut and
Bolt from both sides to
connect to Double Joint.

Tighten with Hexagonal Wrench

E
with adjusting the position. rame ©

188



Tapping Bolt

SF
2
-
[
3
o
Y
=
Q
o
=
Q
3
(v}

1 Drilling is needed to the frame which fixes with Tapping Bolt.

Tapping Bolt

Drilling. &

2 Fix Tapping Bolt temporary by Electric Driver.

T

4 Tighten by Torque Wrench to fix.

* Manual tool is recommended,
because the reaction of torque up
is big if electric drill is used.

How to assemble KF Joint

3 Insert the head of the l

bolt to another frame's
groove, and slide to
the specified position.

1 Drilling for KF Joint is needed to one of the frames.

Drill-processed Frame for KF Joint
KF Joint
Holder

% Drilling for KF
KF Joint Joint is needed
to one of the
Frames.

J

2 Put the frame to KF Joint pin.

>

4 Appearance from the opposite side is clear because
the drilling for KF Joint is not penetrated.

&=

Flat Surface>\

Inside Qutside (Joint processing cannot be seen.)

Maintain the beauty of flat face.

3 Tighten set screw (sharp edge) by Hexagonal Wrench. '

-

189



Technical Data Free Unit

SF
(2]
-
o
=
o
Y
=
[=3
m
=
[V
3
(]

Each L-Shape Bracket

1
S Insert the bracket kit to
R frame's groove.
Sz
& |
Fix bolt and Nut temporary to bracket. | 5,
N~
4 o 3
Adjust the frame's
position, and tighten
finally.
Angle Bracket
1 2 .
Insert T Nuts to both Adjust positioning and
frames at first. fix temporary for only

one of the frames.

>

Blind Bracket

1 ' 2 | F
Fix Blind Bracket

temporary to frame. . A,_J-‘i-’,;

Insert the Blind Bracket fixed in 1 to

I - =1 another frame's groove.

;1'.;__. ? .__’,._:f'__’_"'f"'_..-"' Position well and tighten

fLgal - p:“ff the set screw by
5 wrench.

R Bracket (Block Bracket)

1 2 v 3

Fit R Bracket and
tighten to the tap
on the frame's end
faces.

Tap processing is needed
to the frame's end faces.
(P209~)

Attach R Cap.

190



._“.v Standard Frame

Technical Data

191



Technical Data How to Assemble SF Unit

SF
(2]
-
[
3
o
Y
=
Q
m
=
Q
3
()

How to Assemble SF Unit

Before Assembly | 1. Please assemble in wide space on flat floor. 2. Classify the Frames by dimensions and parts.

* Example of using TG Joint Kit and Hard Bracket

1 Base Assembly » 2 put up poles

Bracket is fixed temporary.

Top Surface 4 T Nuts

¢ 4 T Nuts

@

-4
® Top Surface 2 T Nut

Top Surface

2T Nuts 4 T Nuts

Insert 4 T Nuts to back EN ®

(Install Adjuster Plate) °
Wrench Hole
How to assemble
TG Joint(P188)
E @

* Please confirm the directions.

* Please don't forget to insert Nuts.

5 Assemble top surface (2) » 6 Tumn unit upside-down, and install Adjuster and Caster

Insert 2 T Nuts
to undersurface.

192



SF
()
I~
Q
>
(=3
Q
=
o
T
=
Q
3
(]

* Don't forget to prepare T Nut and Free Nut to install Top Plate and Cover.

3. Scratch marking-off on Frame 4. Confirm the quantity of Nuts to insert before assembly.

3 Put up intermediate poles » 4 Assemble top surface (1)

Fix Bracket temporary.

Fix TG Joint temporary

°

Insert 2 T Nuts to
inner side of each frame.

* Please clean the surface with alcohol,
etc after assembly.

193



SF
(2
-
o
=]
o
9
Q
m
=
o
3
(]

194

Technical Data How to install

How to install Panel

How to fix by Bracket's Tap

(How to install)

® Fasten Resin Panel to the tap
of D Bracket or Hard Bracket
by bis.

(Selection Indication)

® Panel installation is easy even
after assembling frame, and
the Panel's surface becomes
as same as Frame's surface.

(How to install)

®Insert After Nut in frame's
groove, and fasten Resin Panel
by bis.

(Selection Indication)

® High-airtightness  component
with lessen the gap with frame.

(How to install)

@ Fit Resin Panel into the frame's
groove before assembling the
frame, and fix by Panel Clamp
completely.

(Selection Indication)

® Appearance is clear.

® Frame assembly and inserting
Panel is done at the same time,
so it's suitable for unit in face.

(How to install)

® Resin Panels become a Sliding
Door, using Slide Rail and Slide
Spacer.

(Selection Indication)

® Sliding Door Structure at low
cost.

(How to install)

@ Sliding Door's rim frame is used
as a Sliding Door with installing
rollers to the convex part of the
slide rail.

(Selection Indication)

@ Suitable for medium size.

(How to install)

® Attach hinges to Resin Panel
and use as a door.

(Selection Indication)

® Door structure at low cost.

(For details)
Bracket with Tap

SF-20 series P28~

SF-30 series P60~

SF-40 - 45 series | P99~

(For details)
After Nut to fix Resin Panel.

After Nut SS P27~
After Nut S P57~
After Nut L P96~
(For details)

Panel Clamp P156

(For details)

Slide Rail
Slot Connector P162
Slide Spacer

(For details)

Slide Rail

P162
Slot Connector 6

Frame for Sliding Door's Rim
Panel Joint Kit
Rail Guide
Sliding Door Wheel

P164

Panel Guard P160

(For details)

Installation size] P159

Fixed Hinges | P140~




| Panel Frame Door, Frame Door

(How to install)

® Make a rim by various kinds of
Frame to use as a door.

(Selection Indication)

® Medium to large size door
structure.

(For details)

Installation size| P159

Panel Frame

TC Block P158

Fixed Hinges | P140~

(How to install)

® Make a rim by Frames, and
attach Folding Door Slider to
slide the frame's groove.

(Selection Indication)

® You can use the covering's
outer space effectively when
opening and closing.

(For details)

Folding Door Slider | P165

SF
(2}
—
o
=]
o
L
o
m
=
N
=
©

195



SF
(2
-
o
3
o
9
Q
m
=
o
3
(]

A

> 0

Q
A

Q
A

Q
A

Q
B

Q
A

196

Technical Data as A

Q What is the indication of selecting aluminum frame?

SF series is composed of 3 series as follows.

SF20 series (groove width 6mm). For small size covering, rack for small parts, etc.

SF30 series (groove width 8mm). For medium size covering, conveyer frame, etc.
SF40-45 series (groove width 10mm). For large size clean booth, equipment table,
component material, etc.

Please solve the mass of the products at first, and select the frame referring indication of
allowable load (P178).

What is the indication of selecting bracket?

Usable bracket is written separately by each series. Please refer indication of bracket's allowable load (P179).

-In case that L-shaped bracket interferes product or panel, please select QC Joint, TG Joint, KF Joint, S Double
Joint, Tapping Bolt, S Blind Bracket or Plate Bracket.

-In case that aluminum frame overhangs to cantilever, please use Truss Joint, Turn Bracket or Hard bracket
DE135/45 and construct large size stay.

How much is the cutting tolerance of aluminum frame?

+0.5mm less than specified size.

How is aluminum frame finished?

A. In SF series, frame's surface is anodized to finish (more than 9um). Cut surface is not anodized.
* Black anodizing is also available. Black anodizing cost will be added to our price list.

N

* Please refer the standard black anodized Frame and Bracket in the series page.

* Frame without anodizing for conduction measure can also be ordered specially.

How is aluminum frame cut?

It's cut by tip saw for mild steel. Please cover the cut surface by Frame Cap after assembling frame.

Can JIS standard hexagon nut and square nut be used for SF series?

No. The area of pressure by sitting is cordoned by using the exclusive nut, and SUS is

manufacturing the nut to prevent aluminum material from buckling.
* Exclude SF Light series.

Coution
Does Nut fall down when frame is stood vertically?

Please attach "Anti-Skid Cap" to T Nut and insert to the frame's groove. Or in case of inserting later, please use
"Easy Nut", "After Nut Support" and "Lock Nut". "Anti-Skid Cap" and "After Nut Support" is provided as 50pieces/
pack.




SF
(2]}
—
[
=]
o
L
o
m
-
N
=
©

@ What is appropriate tightening force in using Nut or Hexagon Socket Bolt?

A Size of screw  Appropriate tightening force  (Appropriate tightening torque-reference)
M3 3.2KN ( 1 '9N.m) Aluminum may buckle or Nut
M4 5.1KN ( 41N m) may break if you tighten harder m
M5 7.4KN ( 7.4N-m) than the appropriate tightening =
force. We recommend using T g
M6 9OKN (1 08N : m) Nut to the tightening part which =
M8 15.5KN (249N m) intensity applies. Coution

@ How can we fix Resin Panel to Aluminum Frame?

A Please select fixing method according to your purpose.

In case you stick Panel to outer frame --- Please insert T Nut (with Anti-Skid Cap) to frame's
groove at first, and fix by Truss Screw.

In case you fasten Panel to inner---Fixing method is in P45, 81 and 125. With this method,

frame by bis the appearance is good and removing Panel is easy, so
it's suitable for Safety Cover, etc.

In case you fit into inner frame. ---Fixing method is in P156 and 157. With this method,
drill-processing or fastening with bis aren't necessary, so
it's suitable for the purpose of emphasizing design.

@ How can we install doors to Aluminum Frame?

A

Please select the installing method according to your purpose.

Resin Panel Door---Please refer Resin Panel (P168) and Hinge-Pull, etc (P140 ~ ).

Frame Rim Door--+-+ Please select Panel Frame (P158) or SF20 series (P20 ~ ) and create the door.
* Please construct frame rim with SF30 series for large size door.

(@ How can we fix Adjuster or Caster?

A Usable adjuster and caster are provided by each frame size.

SF20 series (P41, 42)
SF30 series (P76, 77)
SF40 - 45 series (P119, 120)

(@ What are the precautions for assembly?

A -Please assemble frames in wide space on flat floor.
‘Regarding squaring and surface matching in assembling frame, it's convenient to fit Chamfering Jig from outside.
- Purchasing Lock Nut at the beginning is recommended as reserve parts.

- Please check whether you forgot to tighten all bolts or not after assembly.
- SUS also responds Unit Assembly Service.

Coution

197



Technical Data Frame Processing

SF
(7))
—
)
=}
o
)
=
o
Ly
o
3
)

Frame Processing List

Please specify by processing No. (P198~209) or in the drawing when you want the frame processing below.

Item No. Length(mm) ProcessingNo.

(SF2-30-30 | 4=800] TGS | Specify by drawing in case of no Processing No.

Processing Name Processing Contents Note Category
Drilling A Drilling Please refer the processing number list in P204~209
| In case A=8/11.1/13.1/15.1 for drilling TG Joint, S Double Joint, Tapping Bolt and SFZ-002
‘ KF Joint.
‘ ‘ In case A<20 and other than above SFZ-003

Specify by drawing.

In case A=20 SFZ-009

Counterbore A B c

SF30 series
(for M6 Hexagon Socket Bolt) 66 " °

o
,—t‘ j—rf £ ol SF40(45)series 125 " ’
13 PR (for M8 Hexagon Socket Bolt)|  © 4 a3 Specify by drawing. SFZ-004

i i ] T o SF20 series (Refer P186)
e | (for M5 Hexagon Socket Bolt) 55 95 6
PA
(for M12 Hexagon Socket Bolt)| 14 20 | specify
Spot Facing other than above SFZ-009
A M5 Depth15 -
End Face Tapping  urjoun s Refer P199~201 | SFZ-005

+ M8 Depth 24 3%

- M12 Depth 363 Drilled ’Fo the deapth of 50 SFZ-008
- Specify by drawing. .
M12 Helisert 1.5D SFZ-006
M14 Depth 42 Specify by drawing. SFZ-007
Side Tapping MO
, Ry Taping on Frame Side Specify by drawing. SFZ-009
] 3
QC Joint Processing
Drilling for QC Joint Refer P202~203 SFZ-002
High Accuracy Cut %, A=0.5 Standard Cutting Size Tolerance
(HC) e A=0.2~0.4 ) )
/E (2<1000mm) Specify by drawing. SFZ-015
Slant Cut S~ X=45° Specify by Processing No. below. SFZ.016
s\ ?’C _ ______ Specify by drawing for others.
S\ Y 45°<X<90°(0.5° Unit) Soecify by drawin SFZ-013
(7 ] ) . o
X<45 pectly by s SFZ-014
Cost to cut nonstandard size L=A , o L
Cut the dimension of 30mm=A=<50mm It's adapted when receiving the specification to cut SFZ-009
more than 30mm and below 50mm.
Notching «B< , L=100mm
. A AXB=000m 1 650 mm<L=200mm
N
[og | 99| 900mi<AXB L=100mm i .
N # =2700mi 100mm<L=200mm Specify by drawing. SFZ-009
T
, L=100mm
X
2700mi<AXB ™ 50mm<L=200mm

C Below 0.5

C-Chamfering o
ac | 59 C0.6~C5 . X
% B s Srecity by rawing, SFz.000
‘ C 10.1 and up

45°Slant Cut Frame Processing Number List

Please specify Processing No. below to the Frame when using Hard Bracket DE135/45 in P39:73-110

Item No. Length(mm) Processing No. . . . .
= % Specify by drawing in case of no Processing No.
[SF2'3O'GOI 3—8001 DHS ] % Specify in drawing other than intended Frames.
Processing No, 45°Slant Cut Shape Intended Frame Processing No. 45°Slant Cut Shape Intended Frame
- gigggg . SF-30-60-2H }
SF 205025 SF3060
DSS SF-30-30 DHW -
SF-R-30-50 SF-30-120
SF.35.35 SF-60-90
SF-50-50-2S SF-50-100-2S
SF-60-60-2S SF-60-120
SF-40-40 SF-40-80
2E:§94%9 ig> SF-40-160
Dsw SF-K-45-45 DVS SF-45-90
SF-90-90 SF-K-40-80
SF-60-60-1S SF-K-45-90
SF-80-80-1S SF-80-160
SF-90-180
SF-20-40 SF-45-180
SF-20-60 Panel Guard T3(SFF-K34)
DHS Si-ig'gg DVW Panel Guard T5(SFF-K54) %
-40- SF-35-703%
SF-40-80-SS #0nly DVS-DVW
SF-30-60 fl

198



Tapping on Frame's Cut Surface

* You can order in your drawing, too.
* Please inquire regarding the nonstandard depth.

* Only when YG Joint, S Double Joint and KF Joint will be drilled together with tapping, please specify L or R.

SF20 Series
SF-20:20(1F-2F-3F-Black-2H Included) "
%
M5 Depth 15
Item No Length(mm) Tapping

[ SF-20-20 I 2 =SOOI TL or TR(In case of both sidesTW)J

SF-20:40(1F-Black Included) 20

)

L R

2-M5 Depth 15, g
Item No. Length(mm) Tapping

[ SF-20-40 I £ =8001 TL or TR(In case of both sides TW) J

SF-20-60

SF-40:40-2S(1F-2F-Black Included)

40
"""" : : 7,
L R Ll s [,(( >] E
SF-20-80 SF-40-80-SS
L R L R

SF-20-40-40

SF-40-60-SS

r
D
7]

d .
bl
4-M8 Depth24 %M

L R L R
4-M5 Depth 15
SF-20-20- SF-20°DE45 (DE30-DE6O Inclued) , ®
A pean 12 M5 Depth 15 ﬁ
SF-25+25 (Black Included)
[ — 1
L R m
M8 Depth 24
SF30 Series
SF2-30:60(1F-2H Included) 30 SF2-30-30(1F-2F-3F-2H Included)
L - i R
2-M8 Depth 24
SF-K-30-60 30 SF-K-30-30 "
Lo = 3
L] LY
M8 Depth24
2-M8 Depth24
SF-30-120 SF-30-90
L R [ 1R
SF-60-90 SF-60-60-2S(1F-2F-Black Included)

199

SF
)
P
o
=}
Q
Y
=
Q
T
=
Q
3
(v}




Technical Data Frrame Processing

SF
(]
—~~
(Y
=}
o
Y
=
o
m
=
Y
3
()

Tapping on Frame's Cut Surface

SF30 Series

SF-30-60-60 o SF-50-50(1F-2F Included)

Ol
3-M8 Depth 24

F4
4-M8 Depth 24

‘,%

| oo ]

M8 Depth 24

60

SF-60:120
L R
4-M8 Depth 24 #©
SF40 Series
SF2-40-80(1F) SF2-40+40(1F-2F-3F-2H Included)
L R L D R
SF-80-80 Black-H Included) SF-40-160
L R L R
4-M12 Depth 364
SF-K:40-40 SF-80:160 80
L L R
4-M8 Depth 24 %
SF-40-80-80 SF-K-40-80
L R
SF-40:40-R SF-40-DE45 (DE30-DE6O Included)
40
L R E[ L R
M10 Depth 30
M12 Depth 36

200



SF
)
—
Q
=]
Q
Y
=
[
m
=
Q
3
(]

SF45 Series

SF2-45-90(1F Included) " SF2-45-45 (1F-2F-3F2H Included)
T 45
L R L 5T R
- M12 Helisert 1.5D
2-M12 Helisert 1.5D
SF-90:180 SF-45-180
L R v R
4-M8 Depth 24
SF-K+45-45 (1F-2F Included) SF-90:90(H Included) %
777777 [J ﬂ5€ L)
L R L R Ei :i} 8
D S D €
;fm D 6o |
4-M8 Depth 24
SF-45-90-90 SF-K:45-90
45
L R L R
2-M12 Helisert 1.5D,
SF-60-60-1S SF-80-80-1S 50
60
T ]
L < R L R R
M12 Helisert 1.5D, M12 Helisert 1.5D
SF-45-DE45 (DE30-DE6O Included) SF-45-45-R
45
L ) R L R @% Q
M12 Helisert 1.5D 45
M12 Depth 36
Panel Frame
20
L R j Q
M5 Depth 15 g

201



Technical Data Driling Symbol for QC Joint

Drilling for QC joint

SF
2
——
[
3
o
Y
=
Q
il
=
o
3
()

Drilling Symbol for QC Joint

< QC Joint Assembly Contents > <Position and size of the hole to insert round metal for QC Joint>

Processed frame
-l 4
Drilling for QC joint . AR, A A
QC Round . L g,
Metal Tool = Qc joint |} | =L == ( [

: {f 4 & AN ]
e g joint with Tap e B Drilling _ ,
!h‘_ﬂ'? Qc joint £' % Heragon Socket ol @"f A size B size
SF-20 series 9.8 741
SF-30 series 14.8 11.1
Tighten QC Joint and Bolt with H | Wrench e SF-40 series 20 18.1
ighten QC Joint and Boltwith Hexagonal Wrencl - -
- SF-45 series 19.5 13.1
SF-K-45 series 20 13.1
€QC Joint:-+ Insert QC Joint to frame's groove (last-in is possible), and fit another frame with QC round metal installed to combine by tightening bolt.

It's easily squared and hardly makes gap because 2 frames pull each other. Appearance is clear without outer joint part's overhang.
Also, assembly process is shortened because there's no need to set Nuts to frame before.

 Please specify by QC Joint processing number when you use each QC Joint ftem No. Length(mm) Processing No.

in P35,67,114 —) 4=] - —
® Please mind the direction because QC Joint cannot be inserted to the [ SFF-324 I ¢ _SOOI QCS ]

surface without groove.

QC Joint Processing List

1 Row X1 Row 1 Row X 2 Rows 1RwX3Rws 1 Row X 4 Rows 2 Rows X 2 Rows 2RwsX3Rws 2 Rows X 4 Rows

T [SF-2020  [SF-2020F [SF-2040  [SF-20-40-1F [SF-20-60 |SF-30120 |SF-20-80 |SF-40-40:2 |SF40:4025-1F | SF-40-60-SS [SF-60120 | SF-40-80-2S
Z |SF230-30 |SF-2020-2H |SF2-30-60 | SF2-30+60+1F | SF-30-90 SF-40-160  |SF-50-50-25 |SF-50:50-25+1F | SF-60-90 | SF-50-100+2S | SF-80-160
o\ = |SFK:30:30 |SF2:30-30-1F |SF-K-30-60 |SF2-30:60-2H SF-45-180  |SF-60-602S |SF-60-60-25+1F SF-90-180
T\ B |SF240:40 |SF2-30-30-2H [SF2-40-80 | SF2-40-80-1F SF-80+80
3 SF-K-40-40 |SF2-40-40-1F | SF-K-40-80 |SF2-45-90-1F SF-80+80-H
@ SF2-45-45 | SF2-40-40-2H | SF2-45-90 SF-90-90
E SF-K+45:45 |SF2-45:45-1F |SF-K+45-90 SF-90-90-H
= SF-60-60+1S | SF2-45-45-2H
s SF-80-80+1S | SF-K-45+45+1F
R
QCcw
Qcv
QCY

202



Reference Example of QC Joint

QC Joint Kit Table

(IR  Frame Name QCs Qcw QccC (e]03) QCY
SF-20-20 SS Kitx2
SF-20-20-1F SS Kitx1 SS Kitx2
SF-20-20-2H
F2-30- .
gF'K?gO?gO S Kitx1 S Kitx2 S K2
SF2-30-30-1F
SF2-30-30-2H
SF2-40-40 L40 Kitx2
1 Row x 1 Row | SF;K-40-40 ) )
SF2-40-40-1F L40 Kitx1 L40 Kitx2
SF2-40-40-2H
SF2-45-45 .
SF-K-45-45 L45 Kitx2
SF2-45-45-1F L45 Kitx1 L45 Kitx2
SF2-45-45-2H
SF-K-45-45-1F
SF-60-60-1S L60 Kitx1 L60 Kitx2 L60 Kitx2
SF-80-80-1S L80 Kitx1 L80 Kitx2 L80 Kitx2
SF-20-40 SS Kitx2 SS Kitx4 SS Kitx2/SS40 Kitx1 . .
SF-20-40-1F S840 Kitx1 SS40 Kitx2
2?&330620 S Kitx2 S Kitx4 S Kitx2/S60 Kitx1 ) )
SF2-30-60-1F S60 Kitx1 S60 Kitx2
1 Fow x 2 Rows [ SE-0-60-2H
SF-K-40-80 L40 Kitx2 L40 Kitx4 L40 Kitx2/L80 Kitx1 L80 Kitx1 L80 Kitx2
SF2-40-80-1F
SF2-45-90 . R - .
SF-K-45-90 L45 Kitx2 L45 Kitx4 L45 Kitx2/L90 Kitx1 L90 Kitx1 L90 Kitx2
SF2-45-90-1F
1 Row X 3 Rows SF-20-60 SS Kitx2 SS Kitx4 SS Kitx2/SS60 Kitx1 SS60 Kitx1 SS60 Kitx2
g S Kitx2 S Kitx4 S Kitx2/S90 Kitx1 S90 Kitx1 S90 Kitx2
- SS Kitx4 SS Kitx8
1 Row X 4 R 30" S Kitx4 S Kitx8 S Kitx4/5120 Kitx1 S120 Kitx1 S120 Kitx2
ow ows 40- L40 Kitx4 L40 Kitx8
45- L45 Kitx4 L45 Kitx8
SF-40-40-2S - ) SS40 Kitx4
SF-40-40-2S-1F S840 Kitx2 S840 Kitx4
SF-50-50-2S - ; S50 Kitx4
SF-50-50-2S-1F S50 Kitx2 S50 Kitx4
2 Rows X 2 Rows | SF-60-60-2S . . S60 Kitx4
SF-60-60-25-1F S60 Kitx2 S60 Kitx4
SF-80-80 . R )
SF-80-80(H) L80 Kitx2 L80 Kitx4 L80 Kitx4
SF-90-90(H) L90 Kitx2 L90 Kitx4 L90 Kitx4
2 Rows X 3 Rows SF-40-60-SS SS40 Kitx2 SS40 Kitx4 SS40 Kitx2/SS60 Kitx2 SS60 Kitx2 SS60 Kitx4
SF-60-90 S60 Kitx2 S60 Kitx4 S60 Kitx2/S90 Kitx2 S90 Kitx2 S90 Kitx4
SF-40-80-2S SS40 Kitx4 SS40 Kitx8
SF-50-100-2S S50 Kitx4 S50 Kitx8 S50 Kitx4/S100 Kitx2 S100 Kitx2 S100 Kitx4
2 Rows X 4 Rows | SF-60-120 S60 Kitx4 S60 Kitx8 S60 Kitx4/S120 Kitx2 S120 Kitx2 S120 Kitx4
SF-80-160 L80 Kitx4 L80 Kitx8
SF-90-180 L90 Kitx4 L90 Kitx8

Precautions for using QC Joint

Series A Size(mm)
SF20 Series 13.35
SF30 Series 20.35
SF40-45 Series 26.55

* There is a part which cannot use on frame's groove after
QC Joint processing.

* In case of using plate like Level Adjuster Kit, etc together

Please do the
Tapping on vertical
frame, and fix the
plate at 3 points,
because QC Joint
and the holes with *
mark overlap.

203

swel piepuels ‘_g



Technical Data Driling Symbol for Double Joint

SF
(7))
-
(Y
=}
o
Y
=
o
m
=
Y
3
[}

Drilling Symbol for Double Joint

<Double Joint Assembly Contents> <Position and Size of the Hole to insert Round Metal for Double Joint>
i {
|
)
A A
Drilling M M
e N = =5
\ ) 5¢ 9
8 Driling A Size B Size
SF30 series 15 1.1
SF40 series 20 14.1
SF45 series 20 14.1
SF60-60-1S 20 14.1
SF80-80/1S/H 20 14.1
@ Double Joint -+ Drill a hole to insert Double Joint metal on frame @ and insert nuts to frame @ then fix from the both sides of metal for joint by bolt.
It's easily squared and hardly makes gap because 2 frames pull each other. Appearance is clear without outer joint part's overnang.
Item No. Length(mm) Processing No.
Please specify Double Joint Drilling No, below to the Frame when using
Double Joints in P69-115 . —) [ SFF-324 I 2 =SOOI WJAS ]
Double Joint Processing List
1 Row X 1 Row Type
Groove Type (Include 1F-2H Types) 1 Row X 2 Rows Type 1Row X 3 Rows Type 1Row X 4 Rows Type 2 Rows X 2 Rows Type
SF2-30-30 SF2-30-60 SF-30-90 SF-30-120
. e SF2-30-30:1F SF-K-30-60
SF30 Series | Double Joint Kit 30 SF2-30-30-2H
SF-K-30-30
SF2-40-40 SF2-40-80 SF-40-160
. o SF-K-40-40 SF-K-40-80
SF40 Series | Double Joint Kit 40 SF2-40-40-1F
SF2-40-40-2H
SF2-45-45 SF2-45-90 SF-45-180
SF-K-45-45 SF-K-45-90
Double Joint Kit 45 SF2-45-45-1F
SF45 Series SF-K-45-45-1F
SF2-45-45-2H
Double Joint Kit 60 SF-60-60-1S
Double Joint Kit 80 SF-80-80-1S SF-80-80(H)

WJAS

WJAW

WJAC

204



Reference Example of Double Joint

WJAS WJAW

WJAY

205



SF
(72}
—
[Y
=}
o
Y
=
o
m
=
Y
3
()

Technical Data Driling Symbol for TG Joint and Tapping Bolt

Drilling Symbol for TG Joint and Tapping Bolt

<TG Assembly Contents>

<Position and Size of the Hole to insert Round s [7c_ & oriing C13
Metal for TG Joint and Tapping Bolt> / 1
A Size | B Size | C Size O 1 = D
#1 SF20 Series| 10 20 | A-3(7) Al B 5 | A
SF30 Series| 15 30 |A-3(12) A B B A
-) SF40 Series| 20 40 |A-3(17) i i i oC 50
#2 SF45 Series| 225 | 45 |A3(195) [y @) G @)
\/3’ #25F606018] 30 | — | — AN ] ‘ o %
31 Only Tapping Bolt 32 Only TG Joint SBJLC] \8Driling LellL3
Drilling for SF20 : 6 Drilling
@ TG Joint----- After Tap processing on the end face of one frame, fix metal for TG Joint temporary to tighten from wrench hole of another frame to combine.

It's easily squared and hardly makes gap because 2 frames pull each other. Appearance is clear without outer joint part's overhang.
@ Tapping Bolt:--  Joint as same as TG is possible without tap-processing or metals for TG Joint.

Please specify TG processing number below for frame to be drilled wrench tem No. Length(nm) ProcessingNo.
hole, when you use any TG Joint or Tapping Bolt. = —
mp (=) sFF-324 | ¢=800] TGS |
#<Optional Specification for Frame Cap> Within Outer Size Item No. Length(mm) Processing No. ] 3 | (A Size—3:Both end surfaces)

If you want to make Frame Cap within outer _ 3R |(A Size—3:0nly right side)
—) [ SFF-324 I ¢ _BOOI TGS ] L1501 |(a Size—3:0nly Ieft side)

size, please use options.

TG Joint - Tapping Bolt Processing List 1 Only Tapping Bolt 2 Only TG Joint

F-" "q %1 %2 %2
Groove Type 1RowX1Row X TSRSl SF-20-20 W SF2-30:30 SF-K:-30-30 W SF2-40-40 ~SF-K-40-40 W SF2-45-45 @ SF-60-60:1S

A = =
’}{ Groove Type 1RowX1Row<{2 Flat Surfaces) @O0bject Frame- A EEZEEFE B2 B2y

W Groove Type 1RowX1Row(3 Flat Surfaces) .. IF){‘ Groove Type 1RowX1Row{2H) o
VIR QoIS da R SF-20-20-3F @il SF2-30-30-3F SF2-40-40-3F Tap YR JolWEEZENPY SF-20-20-2H [l SF2-30-30-2H [ SF2-40-40-2H

TGS [TGSW]| [TGSW]|




_.Sr Standard Frame

1
L JelJEIGRSETRE SF-40-40-2S W SF-60:60:2S

ﬁ Groove Type 2RowsX2Rows

@Object Frame-+ SF-40-40-2S-1F [ SF-60-60-25-1F

Groove Type 2RowsX2Rows{1 Flat Surface)

SF-60-60-2S-2F

SF-40-40-2F

@ Groove Type 2RowsX2Rows(2 Flat Surfaces) #0Object Frame

8
8
.

L Zol RSB SF-20-40 [ SF2-30-60.SF-K-30-60 |l SF2-40-80 SF-K-40-80 | SF2-45-90

TGMW

TGF ES

TGM

% TGC %

% % TGWW
TGD
TGE

R

L
TGU
TGA

TGCW
(Only SF-30-60)

%1

)
S
0
o
Qq
X
=
]
Tl 8
SINE
emw
ol ==
S| Es
e S
)
>
o
o
j -
(O]

TGDW

2 (Only SF-30-60)

TGU

)

(Only SF-30-60;

TGV

-45-90-1F

SF2

SF2-40-80-1F

31

§ SF-20-40-1F W SF2-30-60-1F

1RowX2Rows{1 Flat Surface) ®Object Frame-

Groove Type

5]
21

“
]
st

o
m
st

m
[Y]
st

TRowX4Rows
oA SF-20-80 el SF-30-120 | SF-40-160 | SF-45:180

Groove Type

2

120200

1RowX3Rows

Groove Type

SR T CRETEN SF-20-60 [l SF-30-90

50503

207



Technical Data Driling Symbol for KF Joint

SF
(2}
Pd
o
=
(<X
Y
=
o
m
=
Q
3
(]

Drilling Symbol for KF Joint

<KF Joint Assembly Contents> <Drawing of Position, Size and Depth of the Hole for KF Joint>
' @Object frame--SF-35-35 1F 2F 2H-SF-35:701F/2F

Drilling for KFJoint
Frame with a flat surface

20 15.1 Drillin 20 )
L / R |Frame with groove on all surfaces

- -

Hole doesn't penetrate through the flat
surface as drawing above.

!
1

@KF Joint:--- After KF Joint processing on one of the frame, insert KF Joint Holder. Insert KF Joint Pin to another frame and inset to KF Joint Holder, and tighten
by set screw to combine. Tightening is easier from one side as drawing above. Frame with a flat surface doesn't disturb the appearance to joint.

Item No. Length(mm) Processing No.

Please specify KF Processing No. below to the Frame to drill a hole for KF Joint
in case using KF Joint in P69. —) [ SFF-3A4 I 2 =8OOI KFS ]

Joint Processing List

Groove Type 1RowX1Row A SF-35-35 |

[’}{‘] Groove Type 1RowX1Row{Opposite Faces Flat) L G SF-35:35-2H |

L § §
R

208



T8
» Standard Frame

209

KFY

Rl

/,
1%
\

{/

7

SF-35-70
SF-35-70-1F
KFV

@Object Frame-+
@O0bject Frame- -

KFE

M Simple looking by using KF Joint because drilled hole cannot be seen externally

1RowX2Rows{1 Flat Surface)

KFD

Groove Type

; Groove Type 1RowX2Rows

e

R
@ Groove Type 1RowX2Rows{2 Flat Surfaces) @O0biject Frame - s




SUS



AZ Safety Fence Series Catalogue

21



AZ
n
D
@
<
n
o
3
5]
o

212

SAFETY FENCE

A Z \NDEX

30 Series

| e W
AZ30 AZ30
Safety Fence »218 Open Door »218

Anchor Bracket P.219 AZ Bracket Spacer P.219 Coupling Metal Kit P.220 AZ Frame Cap P.220 Part Mounting Nut P, 221

Lock Type
1
4 -

-
Cable Clamp S P 221 Slot Cap S P 221 Door Stopper Kit P 222 Magnet Catch Kit P 222 Cable Holder P 222
Slot Hook S ' ' ' for Open Door ' ’

Cable Ring P 221

40 Series High-Rigidity

’ ]
AZ40 p 224 AZ40SafetyFence 2295 AZ40 p.225
Safety Fence ’ Connect type ’ Open Door ’

Anchor Bracket 226 AZ Bracket Spacer 226

i,
/14 l'iuJI

Slot Cap L p.228 Door Stopper Kit 229

i
Coupling Metal Kit P.227 AZ Frame Cap

p.227 PartMounting Nut , 228
Lock Type ' '

Cable Clamp L

Magnet Catch Kit
Slot Hook L P'zzg

for Open Door



oous4 Ajojes =

Common Parts

|27 %%

AZ Pillar P, 232, 233 AZ Pillar P.233 AZ Beam )P.232,233 Flat Hinge Kit

Connect type (For panel thickness of 3mm

il - ' |
] N | l .-'.
P I
= ' ] | ]
i ] Il
Door Caster Kit 234 Door Stopper Kit 5234 Pull G Type p.235 Door Lock Kit p.235 Magnet CatchKit 5 235

for Open Door

gl

AZ Frame Cap P 236 Cable Clamp P 236 Slot Cap P 236 Panel Fix Piece P 236
Lock Type ' Slot Hook ' ’ '

Technical Data

Technical Data P_241~

213



L Ly

B ———
v

LR b e L

10 0 B

5% NGO, Y

[ o

e i St

vl
-

" Tl R e R, R PR D

h.-.
e
=

e e ™ . TSR

4ff
-
l
5
A
iy
i
g
5
¥
¢
¥
#
3

P T M T Rl T A I T D L

ENTEERE Rt
-r—'!‘ ]

==




M Feature

1.

The safety fence can be easily installed,
simply by joining the fences.

The W dimension can be freely designed.

The H dimension can also be freely
designed.

The frame color is selectable from silver
or yellow. The surface members are also
standardized, ranging from wire mesh

to a resin panel.

An aluminum frame is exclusively adopted

for the safety fence, allowing a

cost-effective and exceptionally durable 23"/
end product. The aluminum safety fence L\
is also visually appealing and

environmentally friendly.

The design-support service (free of charge)

can assist with height/form/surface 2 o
members for non-standard products. —
You can consider a design for the space ‘7

that meets your needs. For details,

please contact your nearest sales office.

(P264)

215

aoua Ajajes =




216






A Z 3 0 SERIES

Safety Fence AZ30 Type

.V 4
(2
a
o)
<
m
o)
=]
Q
o

Sample Dimensions
AZ Beam 2540

o| 30, 910 30 30
<

940

2150
40

S
o
SRR 1 o
| i -
| . =t o AZ Pillar 3030
wn
101 -
-I' i
i -
1 EMaterial/Technical Data
1 . L1 Frame material : AG063
- - Ewil Environment : RoHS Compliant
| | -—1-SE0 Frame color  : Silver Alumite Treatment
== EEE =1 Yellow Baking finish
1" AZ Beam 2540 AZ Pillar 3030
mER =gt Geometrical 1 [x=3.74X10*m*  Ix=2.16%10%mn*
i I LELES .
o Moment of Inertia ly=1.57x10%m* ly=2.21x10%mm*
Section Modulus : Zx=1.87x10°m° Zx=1.40x10%m3

Silver

Yellow

Zy=1.26x10°m?3

Zy=1.47x103%m3

Unit Mass 1 0.69ke/m 0.66kg/m

Panel variation Environment : RoHS Compliant
A B C D

Wire Mesh (steal) pitch 50 Wire Mesh (steal) pitch 30
Wire diameter: 3.2 Wire diameter: ¢ 3.2

Aluminum Composite Panel (ACP)
Silver t3

Acrylic
Transparent t3

Black baking finish /welded wire netting Black baking finish /welded wire netting

: L

For details of the panels, please see P168, 238.

Open Door (Left-opening)

Sample Dimensions

7( b
o
® 800

Hinge Door dimension

(Option ©
Door Stopper p222 &

“H

30
.

2000 (1650) {1020)
Door dimension

Structure of the Open Door ] B 80: i Caster
o *Opening dimension unit Fi )
® Figuresin () are the
: open Door BOdy - dimensions for the H1800 type.
- Fixed Hinge Figuresin { )are the
-quwpmem side dimensions for the H1170 type.
-Pull G (Hazard side) ~ (The intermediate frame is not
- Caster Unit available for the H1170 type.)
=
& - - Door Lock
L - y

218

The panel variation is the same as above.



Accessory

Anchor Bracket L Type-1 30 Kit
|

Name Anchor Bracket L Type-1 30Kit

Item No. AZK-300

Anchor Bracket C Type-1 30 Kit

Name Anchor Bracket C Type-1 30 Kit

Item No. AZK-302

Anchor Bracket L Type-2 30 Kit

[l

Name Anchor Bracket L Type-2 30 Kit

Item No. AZK-301

EMaterial/Technical Data
Material : SS400
Galvanizing trivalent
chromate treatments
Environment : RoHS Compliant
Weight : 357g

HMUsable Frame
AZ Pillar 3030 (including yellow)

HKit Contents
+ Anchor Bracket L-Type 1-piece (Type 30)
+ Hexagon Socket Bolt
+ ST Nut S
+ Anti-Skid Cap

EMaterial/Technical Data
Material : 5S400/SPCC
Galvanizing trivalent
chromate treatment3
Environment : RoHS Compliant
Weight : 6218

MUsable Frame
AZ Pillar 3030 (including yellow)

HKit Contents
« Anchor Bracket C-Type 1-piece (Type 30)
+ Hexagon Socket Bolt
+STNutS
+ Anti-Skid Cap

EMaterial/Technical Data
Material : SS5400
Galvanizing trivalent
chromate treatments
Environment : RoHS Compliant
Weight : 744g
MUsable Frame
AZ Pillar 3030 (including yellow)

HKit Contents
+ Anchor Bracket L-Type 2-piece (Type 30)
+ Hexagon Socket Bolt
+ ST Nut S
+ Anti-Skid Cap

Anchor Bracket C Type-2 30 Kit

Name Anchor Bracket C Type-2 30 Kit

Item No. AZK-303

AZ Bracket Spacer 30 Kit

Name AZ Bracket Spacer 30 Kit

Item No. AZK-30G

EMMaterial/Technical Data

Material : SS400/SPCC
Galvanizing trivalent
chromate treatments

Environment : RoHS Compliant

Weight : 1122g

MUsable Frame

AZ Pillar 3030 (including yellow)

HKit Contents
+ Anchor Bracket C-Type 2-piece (Type 30)
+ Hexagon Socket Bolt
+ ST Nut S
+ Anti-Skid Cap

EMaterial/Technical Data
Material : Aluminum Extrusion
Environment : RoHS Compliant
Weight : 34g

HKit Contents
+ AZ Bracket Spacer
+ Hexagon Socket Bolt
+ ST NutS

AZ30

Anchor
Bracket Anchor
L Type-1 Bracket

30Kit C Type-1

30Kit

AZ Bracket
Spacer

Bott Flat washer M8
Flat washer M6

X
Hexagon
SOCkegt

When using a combination of C- and L-Type anchor brackets, the product is
used to adjust the height of the frame at the side of the L-Type anchor bracket.

219



AZ
n
]
®
<
n
o
3
53
o

Az 3 0 SERIES

Accessory

Coupling Metal Kit

Plate Bracket S-H2

HMMaterial/Technical Data
Material : SUS304
Environment : RoHS Compliant

Flat Hinge S (For 30)

48

Counterbore
for4-M6 |8, 32 8| o~
) o
|
ey 1T
N~ o # %
NN
B 4
0| 45
R5.5 =
':Z ©

MMaterial/Technical Data
Material : ABNO1SS-T5 Alumite Treatment
Environment : RoHS Compliant

Offset Bracket S3060

4-7 Drilling

MMaterial/Technical Data
Material : ABOB3 Alumite Treatment
Environment : RoHS Compliant

Weight : 28g Weight : 308 Weight : 42g
Name Plate Bracket S-H2 Kit |Flat Hinge S Kit (For 30)|Offset Bracket S3060 Kit ~ M-sable Frame
« AZ Pillar 3030

Item No. SFK-1258 SFK-2A2 SFK-A21

. + Plate Bracket S-H2 + Flat Hinge S + Offset Bracket S3060
E't + Hexagon Socket Bolt + Hexagon Socket Flat Head Bolt | + Hexagon Socket Bolt

ontents | . grnyts STNUtS -TNUtS

AZ Frame Cap Lock Type
EMaterial/Technical Data 30

Material : Polyamide (Cap)
Stainless (Screw)
Environment : RoHS Compliant
Weight : 3.7g
MUsable Frame
AZ Pillar 3030 (including yellow)
HKit Contents

* Frame Cap
» Cross-Recessed Small Flat Screw (Stainless)

N

AZ Frame Cap Lock Type 3030 Jz 1 TT ‘: T
Name (Light Gray) mf ; ,
| L =
Item No. AZK-304G

Coupling procedure

Straight coupling 90° coupling

Temporarily assemble the coupling
plates and insert into the pillar groove.

Fix the coupling plates.

How to order standard products
Item No. Quantity (pcs)

SFK-125S L]

220



oous4 Ajojes =

Part Mounting Nut

Ly

ST Nut S

7.5

15

S Easy Nut S
8.2 17
0.8 65
B
L — —
e
i ——
M

Pre-assemblynut | ST Nut S (M6) | ST Nut S (M5) | ST Nut S (M4) | ST Nut S (M3)
EMMaterial/Technical Data EMMaterial/Technical Data
Item No. SFN-TS6 SFN-TS5 SFN-TS4 SFN-TS3 Material : Stainless Material : Stainless
With Conductive Function With Conductive Function
Environment : RoHS Compliant Environment : RoHS Compliant
Post-assembly nut | S Easy Nut S (M6) | S Easy Nut S (M5) | S Easy Nut S (M4) | S Easy Nut S (M3) Weight : 8g Weight : 6g
Item No. SFN-ES6 SFN-ES5 SFN-ES4 SFN-ES3 EUsable Frame
+ AZ Pillar 3030 + AZ Beam 2540
Support bolt
Hexagon Socket Bolt (Uni-Chrome) Galvanizing trivalent chromate treatment RoHS Compliant
Screw size 6 ] 10 12 14 15 18 20 22 25
M3 SFB-531 SFB-532 SFB-533 SFB-534 - - SFB-535 - - -
M4 SFB-540 SFB-541 SFB-542 - - - SFB-546 SFB-543 SFB-54D SFB-544
M5 SFB-55E SFB-550 SFB-551 SFB-55C SFB-55A SFB-554 SFB-55B SFB-555 SFB-552 SFB-553
M6 - SFB-56E SFB-561 SFB-560 SFB-56B SFB-562 SFB-56C SFB-563 SFB-56A SFB-566
Cable Clamp S/Slot Hook S Cable Clamp S Siot Hook S
20 12 (9)
U Type ‘ @‘
PR = g
(9)
& 20 ety
—‘@ ’ 2 JType — s
A=A 8 &8 i
Nl ' =
™
20 ﬂ -
Cable Clamp S (50 pcs.) Slot Hook S . .
Name (Light Gray) (Black) (U Type) (J Type) MMaterial/Technical Data
Material : Polyamide
Item No. C1P-004C C1P-BO4C SFK-K32U SFK-K32J Environment : RoHS Compliant

MUsable Frame
« AZ Pillar 3030 + AZ Beam 2540

Weight : Cable Clamp S 2g/pcs
Slot Hook S U Type 3g/pcs
Slot Hook S J Type 4g/pcs

Load capacity: Slot Hook S 1.5kg

Slot Cap S

Name

(Light Gray)

(Black)

Slot cap S (I=2000 mm/piece)

(Blue)

(Green)

(Yellow) (Red)

Item No.

SFA-104G

SFA-104

SFA-104L

SFA-104M

SFA-104Y SFA-104R

22—

EMaterial/Technical Data
Material : Polyethylene
Environment : RoHS Compliant
Unit Mass : Slot Cap S 25g/m

EUsable Frame
+ AZ Pillar 3030 + AZ Beam 2540

221



AZ 3 0 SERIES

Accessory
Door Stopper Kit (For 30)

Il
il

AZ
n
D
@
<
n
o
3
5]
o

MMaterial/Technical Data
Material : SPCC

Envionment : RoHS Compliant N N\ _g
Weight : 1428 15

MUsable Frame ] -
AZ Pillar 3030

HKit Contents
« Stopper Plate §
+ Hexagon Socket Bolt |L

+ ST Nut S
+ Anti-Skid Cap

T
10

80
60

1

Name Door Stopper Kit (For 30)

2-46.5 4-C3

sz

Item No. AZK-30D

Magnet Catch Kit for Open Door
(MG Bracket S-S Kit)

\—'—‘ T Magnet
N I ) Catch N
Countersink [y
for M3 MG Bracket S-S | 35
MMaterial/Technical Data MUsable Frame HKit Contents
. Material : Magnet Catch Housing: Stainless Dark Brown Painting AZ Pillar 3030 + Magnet Catch N
Name MG Bracket S-S Kit Magnet: Ferrite + MG Bracket S-S
MG Bracket: Aluminum + Truss Screw
Item No. SFK-4AH T Nut: Equivalent to S10C Uni-Chrome plating * Flat-Head Screw
Environment : RoHS Compliant + T Nut S (M3)
Weight : 93g + T Nut S (M5)

+ Hexagon Socket Bolt

Cable Holder/ Cable Ring (Middle) (Small) (Minimum)

Cable holder/ring capable of simply getting the
cable in and out. Detachable in a single operation
and eliminates the need for a bolt or screw.
Connectable via a special hook, so also when
coupling, can be arranged evenly and in a
straight line.

—-P.135

Cable Holder Cable Ring

How to order standard products
ltem No. Quantity (pcs)

AZK-30D L]

222






Az 40 SERIES

Safety Fence AZ40 Type Sample Dimensions

Az
(2]
[
=
)
—~
<
T
[+]
3
[2]
(]

AZ Beam 2540 990
ol 40 ‘ 910 ‘ 40 40
—- ——— Sy i
= i T
A RANNN SRR ENEEEE |
el B - HiE B :——-—1 -
B | el 3
I | ¥ ==
| i I
v ! 3| ey
R ETEE R &
i | I o
| | L | )
SEENEEE AN RN
- an R R
! Lt R < :M%‘
] 3 AZ Pillar 4040
F | HEMaterial/Technical Data
" Frame material : AB063
M Environment : ReHS Compliant
Frame color  : Silver Alumite Treatment
] Yellow Baking finish
AE AZ Beam 2540 AZ Pillar 4040
Geometrical 1 Ix=3.74x10%m*  1x=5.98%10%mm*
—= Moment of Inertia ly=1.57x10%m* |ly=6.17x10%m*
Section Modulus : Zx=1.87x103m3 Zx=2.87%103%m3
Silver Yellow Zy=1.26X10%m® Zy=3.09%10%m>
ity H2150AA Unit Mass 1 0.69kg/m 1.08kg/m
Panel variation Environment : RoHS Compliant
A =] C D
Wire Mesh (steal) pitch 50 Wire Mesh (steal) pitch 30 Acrylic Aluminum Composite Panel (ACP)
Wire diameter: 3.2 Wire diameter: 3.2 Transparent t3 Silver t3
Black baking finish /welded wire netting Black baking finish /welded wire netting

For details of the panels, please see P168, 238.

224



High-Rigidity Connect Type

oous4 Ajojes =

AZ40 Connect Type

Sample Dimensions

AZ Beam 2540

40

4Q[ 910

T T

=}
<

\140 i

=
3|
|

2150
40
i

940

=4LL]

AZ Pillar 4040
(Connect type)

AZ Pillar 4040

150

HMaterial/Technical Data
Frame material : ABO63
Environment : RoHS Compliant

e

Moment of Inertia ly=1.57x10%m*

Yellow Section Modulus : Zx=1.87X10%m?

Frame color  : Silver Alumite Treatment
Yellow Baking finish
AZ Beam 2540 AZ Pillar 4040
Geometrical  : [x=3.74x10%m*  1x=5.98x10%m*

ly=6.17x10%m*
Zx=2.87Xx10%m3

3 When connecting

AZ Pillar 4040 (Connect type)
Ix=3.13x10%m*
ly=2.26%10%m*
Zx=1.26x10%m3

=126x10%m°  Zy=3.09x10%m°® Zy=1.06X10°m3
Unit Mass :0.69g/m 1.08ke/m 0.65keg/m
Panel variation Environment : RoHS Compliant
A B C D
Wire Mesh (steal) pitch 50 Wire Mesh (steal) pitch 30 Acrylic Aluminum Composite Panel (ACP)
Wire diameter: 3.2 Wire diameter: 3.2 Transparent t3 Silver t3
Black baking finish /welded wire netting Black baking finish /welded wire netting
For details of the panels, please see P168, 238.
H|gh Rigidity Open Door for Panel thickness of 3mm (left-opening)
I Sample Dimensions
:T <
= il
< (Option)
Hinge Door 8.'20 , Door Stoppeerzg 3 jU(L
85 ‘ g
Sy z
3£ gl p
593 1 )
i, =8 =Y
go PUllG &
Door Lock
Structure of the Open Door 7 822 Caster
| *Opening dimension unit i :
e Figuresin () arethe

- Open Door Body
- Fixed Hinge
-Pull G

- Caster Unit

- Door Lock

The panel variation is the same as the P224.

150

dimensions for the H1800 type.
Figuresin{ )are the
dimensions for the H1170 type.
(The intermediate frame is not
available for the H1170 type.)

(Hazard side)

225



226

Accessory

Anchor Bracket L Type-1 40 Kit
i

Name Anchor Bracket L Type-1 40 Kit

Item No. AZK-400

Anchor Bracket C Type-1 40 Kit

Name Anchor Bracket C Type-1 40 Kit

Item No. AZK-402

Anchor Bracket L Type-2 40 Kit

(1

Name Anchor Bracket L Type-2 40 Kit

Item No. AZK-401

Anchor Bracket C Type-2 40 Kit

Name Anchor Bracket C Type-2 40 Kit

Item No. AZK-403

AZ Bracket Spacer 40 Kit

Name AZ Bracket Spacer 40 Kit

Item No. AZK-40F

EMMaterial/Technical Data
Material : S5400
Galvanizing trivalent
chromate treatment3%
Environment : RoHS Compliant
Weight : 4968
EUsable Frame
AZ Pillar 4040
AZ Pillar 404015 (including yellow)
HKit Contents
+ Anchor Bracket L-Type 1-piece (Type 40)
+ Hexagon Socket Bolt
+ ST Nut L
+ Anti-Skid Cap L

EMMaterial/Technical Data
Material : SS400/SPCC
Galvanizing trivalent
chromate treatment3
Environment : RoHS Compliant
Weight : 838g
EUsable Frame
AZ Pillar 4040
AZ Pillar 404015 (including yellow)
HKit Contents
+ Anchor Bracket C-Type 1-piece (Type 40)
+ Hexagon Socket Bolt
+ ST Nut L
+ Anti-Skid Cap L

EMMaterial/Technical Data
Material : S5400
Galvanizing trivalent
chromate treatment3%
Environment : RoHS Compliant
Weight : 1001g
EMUsable Frame
AZ Pillar 4040
AZ Pillar 404015 (including yellow)
HKit Contents
+ Anchor Bracket L-Type 2-piece (Type 40)
+ Hexagon Socket Bolt
+ ST Nut L
+ Anti-Skid Cap L

EMaterial/Technical Data
Material : SS400/SPCC
Galvanizing trivalent
chromate treatment3
Environment : RoHS Compliant
Weight : 1196g
EUsable Frame
AZ Pillar 4040
AZ Pillar 404015 (including yellow)
HKit Contents
+ Anchor Bracket C-Type 2-piece (Type 40)
+ Hexagon Socket Bolt
+ ST Nut L
+ Anti-Skid Cap L

EMMaterial/Technical Data
Material : Aluminum Extrusion
Environment : RoHS Compliant
Weight : 34g
HKit Contents

+ AZ Bracket Spacer

+ Hexagon Socket Bolt

+ ST Nut L

How to order standard products
Item No. Quantity (pcs)

200

® &)
z U
o
® =
</’
AZ40 AZ40
Anchor
% Bracket
75 L Type-1
\ 7] 40Kit
2-9 Drilling <
8
Angle
Bracket L40 Q
Hexagon |y -
Socket l>
M8X15 Easy Nut L (M8)

When using a combination of C- and L-Type anchor brackets, the product is

used to adjust the height of the frame at the side of the L-Type anchor bracket.

Anchor
Bracket
C Type-1



oous4 Ajojes =

Coupling Metal Kit

Plate Bracket L40-H2

HMaterial/Technical Data
Material : SUS304
Environment : RoHS Compliant
Weight : 54g

1l

Name Plate Bracket L40-H2 Kit | Flat Hinge L40 (MB6) Kit | Offset Bracket L4080 Kit

Item No. SFK-126S SFK-2A3 SFK-A22

Ki « Plate Bracket L40-H2 « Flat Hinge L40 (MB) « Offset Bracket L4080
it + Hexagon Socket Bolt + Cross-Recessed Small Flat Screw |+ Hexagon Socket Bolt

Contents

«STNutL

+TNutL +TNutL

AZ Frame Cap Lock Type

EMMaterial/Technical Data
Material : Polyamide (Cap)
Stainless (Screw)

Environment : RoHS Compliant
Weight : 7.3g
MUsable Frame

AZ Pillar 4040

AZ Pillar 404015 (including yellow)
HKit Contents

+ Frame Cap

+ Cross-Recessed Small Flat Screw (Stainless)

Name

AZ Frame Cap Lock Type 4040

(Light Gray)

Item No.

SFK-02LG

Coupling procedure

Temporarily assemble the coupling
plates and insert into the pillar groove.

Straight coupling

90° coupling

Flat Hinge L40 (M6) Offset Bracket L4080

62

Counterbore | 42 10
for 4-M6 12 g s
) o
|
i D1
8| 5
& @
(& %
o
R5.5 # e
© - b5 &

4-9Drilling

EMaterial/Technical Data
Material : ABO63 Alumite Treatment
Envionment : RoHS Compliant
Weight : 678

B Material/Technical Data
Material : AGNO18S-T5 Alumite Treatment
Environment : RoHS Compliant
Weight : 58.7g

HUsable Frame
« AZ Pillar 4040
« AZ Pillar 4040t5
(including vellow)

Fix the coupling plates.

227



AZ
n
=
o)
<
m
o
=]
Q
o

AZ 40 SERIES

Accessory
Part Mounting Nut
ST Nut L S Easy Nut L
173.5 8.3 08 20 o
— 1 L
R, GiRea,
f Bs
M M

Pre-assembly nut | ST Nut L (M8) | ST Nut L (M8) | ST Nut L (M5) | ST Nut S (M4) M Material/Technical Data EMaterial/Technical Data
Material : Stainless Material : Stainless
Item No. SFN-TL8 SFN-TL6 SFN-TLS SFN-TL4 With Conductive Function With Conductive Function
Environment : RoHS Compliant Environment : RoHS Compliant
Postassembly nut | S Easy Nut L (8) | S Easy Nut L (MB) | S Easy NutL (M5) | S Easy NutL (a) ~ \VeiBnt = 14 Weiett =102
MUsable Frame
Item No. SFN-EL8 SFN-EL6 SFN-EL5 SFN-EL4 « AZ Pillar 4040 « AZ Pillar 4040t5
+ AZ Pillar 4040 Coupling (including yellow)
Support bolt
Hexagon Socket Bolt (Uni-Chrome) Galvanizing trivalent chromate treatment RoHS Compliant
Screw size 6 8 10 12 14 15 18 20 22 25
M4 SFB-540 SFB-541 SFB-542 - - - SFB-546 SFB-543 SFB-54D SFB-544
M5 SFB-55E SFB-550 SFB-551 SFB-55C SFB-55A SFB-554 SFB-55B SFB-555 SFB-552 SFB-553
M6 - SFB-56E SFB-561 SFB-560 SFB-56B SFB-562 SFB-56C SFB-563 SFB-56A SFB-566
M8 - - — SFB-580 - SFB-581 SFB-589 SFB-582 - SFB-583
Cable Clamp L/Slot Hook L
Cable Clamp L Slot Hook L
20 12 13.1
N U Type 2
90" 8”1_ PRt Qs ) ’(—)%
= . Turning \[\
20 -
¥ Lp 20 J Type <—)‘ &
- &
{T | g w 10
Sy E
Cable Clamp L (50 pcs.) Slot Hook L . .
Name (Light Gray) (Black) (U Type) (J Type) IMat.erlaI/Techr!lcal Data
Material : Polyamide
Item No. C1P-012C C1P-B12C SFK-K33U SFK-K33J Environment : RoHS Compliant
Weight : Cable Clamp L 2.5g/pcs

MUsable Frame
+ AZ Pillar 4040 « AZ Pillar 4040t5
+ AZ Pillar 4040 Coupling (including yellow)

Slot Hook L U Type 3.7g/pcs
Slot Hook L J Type 4.58/pcs

Load capacity: Slot Hook L 2kg

Slot Cap L

12

(6)
11

T St cap L (2000 /)
(Light Gray) (Black) (Blue) (Green) (Yellow) (Red) B * RoHS Compliant
Item No. SFA-102G SFA-102 SFA-102L SFA-102M SFA-102Y SFA-102R Unit Mass: Slot Cap L 468/m

MUsable Frame
+ AZ Pillar 4040 + AZ Pillar 4040t5
+ AZ Pillar 4040 Coupling (including yellow)

How to order standard products
Item No. Quantity (pcs)

SFN-TL8 L]

228



oous4 Ajojes =

Door Stopper Kit (For 40)

HMMaterial/Technical Data
Material : SPCC
o Environment : RoHS Compliant
L ] Weight : 155g
MUsable Frame
AZ Pillar 4040

AZ Pillar 4040t5
AZ Pillar 4040 Coupling
(including yellow)

HKit Contents
+ Stopper Plate
+ Hexagon Socket Bolt
+ ST Nut L
+ Anti-Skid Cap L

I

Name

Door Stopper Kit (For 40)

Item No.

AZK-40C

T
10

80
60

2-46.5 4-C3

Magnet Catch Kit for Open Door

(MG Bracket L-L40 Kit)

Countersink
for M3 MG Bracket L

40

Magnet
Catch N

27

HMaterial/Technical Data EUsable Frame HKit Contents
. Material : Magnet Catch Housing: Stainless Dark Brown Painting AZ Pillar 4040 « Magnet Catch N
Name MG Bracket L-L40 Kit Magnet: Ferrite AZ Pillar 4040t5 + MG Bracket L
MG Bracket: Aluminum AZ Pillar 4040 Coupling  « Truss Screw
Item No. SFK-4AM T Nut: Equivalent to S10C Uni-Chrome plating (including yellow) + Flat-Head Screw

Environment : RoHS Compliant
Weight : 97g

+ Accessory Nut (M3)
+ ST Nut L (M5)
* Hexagon Socket Bolt

Cable Holder (Large) (Middle) (Small)/ Cable Ring (Large) (Middle) (Small)

Cable Holder Cable Ring

Cable holder/ring capable of simply getting the
cable in and out. Detachable in a single operation
and eliminates the need for a bolt or screw.
Connectable via a special hook, so also when
coupling, can be arranged evenly and in a
straight line.

—-P.135

229



230







Common Parts

.¥ 4
(2
D
@
<
n
o
3
5]
o

AZ P'”ar 3030 M For panel thickness of 3mm

30
EMaterial/Technical Data 4R 254
=] )< = 3.6
Material : A§OBBSS TB 2l 1
Silver Alumite Treatment 4

Environment : RoHS Compliant ! o
Geometrical Moment of Inertia : _J—\ \ /§l_ 7
Ix=2.16x10%m* ) ;

ly=2.21x10m*

30
16.5
8
>
|
|
|
q
ﬁ
[
|
|
8

i . A
Name AZ Pillar 3030 . MOdgi; 40x10°%m® L TR
2=50~4000 -l 1] [ ‘ g (]
Zy=1.47x10%m? \ oo
Item No. AZF-304 Unit Mass : 0.66ke/m !2 7 12 \_@
*Separate processing required. (see P243~)
*For the coupling with the AZ beam 2540, a tapping bolt for assembly is required. (See bottom of this page)
AZ Beam 2540 Common for the 30/40 series
M For panel thickness of 3mm
MMaterial/Technical Data 25
Material : AGOB355-T6 sty

Silver Alumite Treatment
Environment : RoHS Compliant
Geometrical Moment of Inertia :

IXx=3.74%10%m*

ly=1.57x10%m*

.
| |

Section Modulus : i
Name AZ Beam 2540 Zx=1.87x10°m° \
2=50~4000 Zy=1.26x10°m? ‘7 a7
Item No. AZF-014 Unit Mass : 0.69kg/m

A Please note the dimension with the mark 3 has a
*Separate processing required. (see P243~) different groove shape from the AZ pillar 4040.
*For the coupling with the AZ pillar 3030, a tapping bolt for assembly is required. (See bottom of this page)

Assembly of beam/pillar Coupling frame assembly

Beam
Frame Cap

Surface
member

D@é

Surface

Tapping screw member

When assembling the AZ pillar

\STNut 4040 coupling frame, please do
~~._ Anchor Bracket not fasten the hole at the bottom
with a screw.

Anti-Skid Cap

Tapping Bolt for AZ Frame Assembly Tapping bolt for the AZ pillar 4040 coupling frame assembly

Name Round Head Tapping Screw M4x45(Stainless) Name Sun Lock Screw M4x20 (Screw length 15)
Item No. SFB-9D1S Item No. SFB-57C

M Application Location M Application Location
Assembly of AZ pillar 3030 and AZ beam 2540 Assembly of the AZ pillar 4040 coupling frames

Assembly of AZ pillar 4040 and AZ beam 2540
Assembly of AZ pillar 4040 coupling frame and AZ beam 2540

W Environment
RoHS Compliant

W Environment
RoHS Compliant

How to order
Item No. Length Quantity (pcs)

AZF-304 2=1500 L]

232



AZ Pillar 4040

EMaterial/Technical Data
Material : ABO63SS-T6
Silver Alumite Treatment
Environment : RoHS Compliant
Geometrical Moment of Inertia :
IXx=5.98%10%mn*
ly=6.17x10%mm*
Section Modulus :
Zx=2.87%10°mm3
Zy=3.09%10°m3
Unit Mass : 1.06kg/m

Name

Item No.

*Separate processing required. (see P243~)

*For the coupling with the AZ beam 2540, a tapping bolt for assembly is required. (see P232)

 For panel thickness of 3mm

oous4 Ajojes =

20

%ﬁ*

|

2
1

40

12

14.5

AZ Pillar 4040 (Connect type)

EMaterial/Technical Data
Material : ABOB3SS-T6
Silver Alumite Treatment
Environment : RoHS Compliant
Geometrical Moment of Inertia :
Ix=3.13X%10%m*
ly=2.26X10%m*
Section Modulus :
Zx=1.26x10°m3
Zy=1.06%10°m3
Unit Mass : 0.65kg/m

Name

0 (Connect type)
50~4000

Item No.

*Assembly of coupling frames requires separate processing and tapping screws. (see P244~)

Y
connecting : $10.5 |
I

H For panel thickness of 3mm

12 A




Common Parts

AZ
(2
D
@
<
n
o
3
5]
o

Open Door Parts

Flat Hinge Kit

EMMaterial/Technical Data
Material : ABNO1SS-T5 Alumite Treatment Flat Hinge S Flat Hinge L40 (M6)
Environment : RoHS Compliant
Weight : 34g (For 30)/58.7g (For 40)

Counterbore

EUsable Frame for 4-M6

AZ Pillar 3030 (For 30) ©
AZ Pillar 4040 (For 40) |

48 62
Counterbore
for 4-M6 10 42 10

(3.5)

e

(including yellow) I JLL D
, b= |
HKit Contents )
+ Flat Hinge
+ T Nut
+ Cross-Recessed Small Flat Screw

13
\/

A

N

47

@
=E
63
37
@
=E
©

13

Name Flat Hinge S Kit (For 30) Flat Hinge L40 (MB) Kit (For 40)

Item No. SFK-2A2 SFK-2A3

Door Caster Kit

38

EMaterial/Technical Data 10 18 36
Material : Rubber (Caster) 447
SS400 (Bracket) il

Weight : 333g (For 30)/343g (For 40) O
MUsable Frame

AZ Pillar 3030 (For 30)

AZ Pillar 4040 (For 40)

(including yellow)
HKit Contents

+ Caster M8

+ Bracket

+ T Nut

+ Hexagon Socket Bolt

T%cn
T

15

Bolted for left-opening

35

150

Bolted for right-opening

Y

Name Door Caster Kit (For30) Door Caster Kit (For40)

Item No. AZK-30E AZK-40D [

Door Stopper Kit
| HMaterial/Technical Data
Material : SPCC
i Environment : RoHS Compliant 3.2 60
P 1 Weight : 139g (For 30)/151g (For 40) 15
MUsable Frame H
AZ Pillar 3030 (For 30) ®-
AZ Pillar 4040 (For 40) ‘
(including yellow)
HKit Contents
+ Stopper Plate
+ T Nut
+ Hexagon Socket Bolt
+ Anti-Skid Cap H

10

80
60

i

Name Door Stopper Kit (For30) Door Stoper Kit (For40)

Item No. AZK-30D AZK-40C

Flat Hinge Kit

Open Door
Configuration Diagram
Door Stopper

Pull G Type

Door Lock Kit

Door Caster Kit

How to order
Item No. Quantity (pcs)

234 SFK-2A2




oous4 Ajojes =

Pull G Type

EMMaterial/Technical Data

Material : ABO63 (Pull/Plate)
Environment : RoHS Compliant
Weight : 83g (For 30)/93g (For 40)

EUsable Frame
AZ Pillar 3030 (For 30)
AZ Pillar 4040 (For 40)
(including yellow)

HKit Contents
+ Pull G Type - Setting Plate for Pull G
+ T Nut - Cross-Recessed Small Flat Screw
+ Anti-Skid Cap

Name Pull G Type Kit (For30) Pull G Type Kit (For40)

Item No. AZK-30B AZK-40A

Door Lock Kit

EMMaterial/Technical Data

Material : SUS304 (Door Lock)
Environment : RoHS Compliant

Weight : 97g (For 30)/101g (For 40)

MUsable Frame
AZ Pillar 3030 (For 30)
AZ Pillar 4040 (For 40)
(including yellow)
HKit Contents
+ Door Lock
+ Easy Nut
+ Cross-Recessed Small Flat Screw

!

Name Door Lock Kit (For30) Door Lock Kit (For40)

Item No. AZK-30C AZK-40B

Magnet Catch Kit for Open Door
MG Bracket S-S Kit/MG Bracket L-L40 Kit

—

oy

Housing

Name MG Bracket S-S Kit| MG Bracket L-L40 Kit

Item No. SFK-4AH SFK-4AM

eﬁe
I g o
o ‘ﬂ (=]
@ - @
— ]
~ Magnet Catch N
o

MG Bracket S-S

HKit Contents
* Magnet Catch N « MG Bracket S-S « Truss Screw * Flat-Head Screw

* Hexagon Socket Bolt « T Nut

EMaterial/Technical Data
Material : Magnet Catch : Stainless Dark Brown Painting

Magnet: Ferrite

MG Bracket: Aluminum
Environment : T Nut: Equivalent to S10C Uni-Chrome plating
Weight : RoHS Compliant

35g (Magnet Catch)

40

N4
($0.5) | [N\2MaDeghs || 110 |
(119.5)

40

150
o o 211 110 119
L il

- \_4-R5

(3.2

Counterbore for 4-M4

73

49

HKit Contents
+ Magnet Catch N « MG Bracket L « Truss Screw * Flat-Head Screw
+ Accessory Nut « T Nut + Hexagon Socket Bolt

35

-

MG Bracket L /

20 4-M3Flat |
@

(Maximum Attaching Pitch)

Countersink

MUsable Frame HKit Contents
« AZ Pillar » Magnet Catch N
3030 (S-S Kit) + MG Bracket S-S/L
+ AZ Pillar « Truss Screw

+ Flat-Head Screw

+ Accessory Nut L (M3)
+ T Nut

* Hexagon Socket Bolt

4040 (L-L40 Kit)
(including yellow)

40

~
o

235



.V 4
(7]
L
o
<
m
o
]
5]
®

Common Parts

AZ Frame Cap Lock Type

MMaterial/Technical Data

Material : Polyamide (Cap) Stainless (Screw)
Environment : RoHS Compliant
Weight : 3.7g (For 30) 7.3g (For 40)

MUsable Frame
AZ Pillar 3030/AZ Pillar 4040

HKit Contents
+ Frame Cap
+ Cross-Recessed Small Flat Screw (Stainless) mz T
Name AZ Frame Cap Lock Type 3030 AZ Frame Cap Lock Type 4040
(Light Gray) (Light Gray)
Item No. AZK-304G SFK-02LG
Cable Clamp/Slot Hook Cable Clamp Slot Hook
MMaterial/Technical Data S L UType o4
Material : Polyamide — 20 12 (13.1)CD
Environment : RoHS Compliant N ol 17 173 1 ~
Weight : Cable Clamp 28/pcs (S) 8 ﬁg h r L @\ Q I
T 2.5g/pes (L) AN
) ﬂ.‘l‘ % Slot Hook U Type  3g/pcs(9) 20 .28_0J ;
L . = 3.7g/pcs (L) 9.1
= Slot Hook J Type 4.0g/pcs (S) e 20 20 JTpe (31
4.5g/pes (L) H ® 7 ~
Load capacity: Slot Hook 1.5kg (S) {TT"[ ]
2ke(L) d(# 9 10
20
@
M For 30 W For 40 )
Name Cable Clamp S (50 pcs.) Slot Hook S Name Cable Clamp L (50 pcs.) Slot Hook L
(Light Gray) (Black) (U Type) (J Type) (Light Gray) (Black) (U Type) (J Type)
Item No. C1P-004C C1P-BO4C | SFK-K32U SFK-K32J Item No. C1P-012C CI1P-B12C | SFK-K33U SFK-K33J
Slot Cap S
. . Slot Cap Slot Cap
EMaterial/Technical Data S
Material : Polyethylene 7 8
Environment : RoHS Compliant '
Weight : Slot Cap S 25g/m oz
Slot Cap L 46g/m / o ~
% )y
(5) ‘
9
1
N Slot Cap S (2=2000mm/pcs)
ame (Light Gray) (Black) (Blue) (Green) (Yellow) (Red)
Item No. SFA-104G SFA-104 SFA-104L SFA-104M SFA-104Y SFA-104R
H For 40
Name Slot Cap L (2=2000mm/pcs)
(Light Gray) (Black) (Blue) (Green) (Yellow) (Red)
Item No. SFA-102G SFA-102 SFA-102L SFA-102M SFA-102Y SFA-102R

Panel Fix Piece (For Resin Panel)

8.5
MMaterial/Technical Data 20
* 3 Material : SECC (Electrogalvanized Steel Sheet) F | ’I

Weight : 0.9g ”””i’ ”””

i

7 —Hp-—-—- = — -t

i

!

f 0.3

' 0.7

Name

*Please mount panel-fix pieces to the sides and upper and lower parts

Panel Fix Piece (For Resin Panel) of the panel. (4 pieces for each panel)

Item No.

AZP-001 *Wire mesh not required

236

How to order
Item No. Quantity (pcs)

AZK-304G L]



B Guidelines for steel/aluminum panel
dimensions

® Method of calculating panel dimensions

. 4
(2]
1)
=
)
—~
<
T
[+]
3
[2]
(]

s amit
| §

3 £t
| 7 5

I

] 7
7 = e
I
8 = ® Detailed dimensions of wire mesh
g 5
E| @ wi
'g g A Wm1
3| © o ‘
£l ®
w
j/ R How to determine the A/B dimension
The minimum required dimension for A
|___ Frame inside dimension W = shall be 12mm.
— | o E W1—(12X2) =Wm1
Panel dimension W1 Wm1/P=n—n is a integer
) . ) A= (W1—Pxn)/2
Method of calculating panel dimensions The minimum required dimension for 8
Panel type Wire mesh Resin panel shall be 12mm.
Height H1 H+23 H+21 H1—(12X2) =Hm1
Width W1 wW+25 W+23 Hm1/P=n—n is a integer
Common to the 30/40 Series. el B=(H1—PXn)/2
B Design procedure/material
+ AZ coupling method + + == -+« -- P.242 * Resinpanel -------- P.168
- AZ Strength data - e P246 « Wiremesh -------- P238
+ AZ safety-distance material = -« * * P.248

237



.¥ 4
(0]
=l
@
<
m
o)
=
(=]
®

238

Wire Mesh

Wire Mesh

Item No. Material P (Pitch) Wire diameter Surface treatment Guidelines for mass (kg/ni) Size MAX  (mm)
AZY-002 30 o 42
AZY-001 Steel 50 3.2 Black baking finish o5 963x935

M Material/Technical Data
Environment : RoHS Compliant

Method of calculating wire mesh dimension

(using AZ series)

Detailed dimension of wire mesh

W1
A Wm1
1]
—
| E
I
v

el

How to determine the A/B dimension

The minimum required dimension for A

shall be 12mm.
W1—(12X2) =Wm1
Wm1/P=n—n is a integer
A= (W1—Pxn)/2

The minimum required dimension for B

shall be 12mm.

H1— (12%x2) =Hm1
HmM1/P=n—n is a integer
B=(H1—Pxn)/2

i
9

=
AT S T N M

g s




ﬂ Safety Fence

M L N

: .|.||-.|||||.I..I..l.'_.._1|.___ =

239



240






242

Technical Data  Assembly method

AZ Coupling Method

(D Couple safety fences to form the corner of the safety fence (standard).

* Coupling plates shall be installed in at least two locations (the upper/center parts of the frame), and the lower part
shall be coupled with anchor bracket 2.

e ©

Coupling procedure

@
/ %&
TSP
Q) J
Q)
Temporarily assemble the coupling Fix the coupling plates.

plates and insert into the pillar groove.

Straight coupling 90° coupling

T coupling Cross coupling Angle-free coupling

N K : - \ |
TSN
® ) @
N N
@ Mounting of the door part ° 5
(Hazard side)
M In the case of a open door
* Mount with a flat-type hinge. o o
Fix the metal to the side of the inside lock.

@ Anchor fixing with anchor bracket
* Please set at least one anchor per pillar, in principle.
* Fix with an M10 or M12 anchor bolt.
* |f the anchor is incorrectly set, the strength of safety fence may be affected. Please note.



Technical Data Dimension material

oous4 Ajojes =

Dimension material

Structural drawing of a fence

Frame cap
(option)

Pillar Frame

Surface member

Tapping screw Surface member
N

~

e ST Nut
S~ Anchor Bracket
Anti-Skid Cap _—° N
® Dimension of AZ beam frame 2540
) Lbo=W—f—f+2
AZ frame process drawing * f indicates AZ pillar frame 3030 -----30
AZ pillar frame 4040 - 40
AZ Beam Erame 2540 @ Dimension of AZ pillar frame 3030/4040
AZ Pillar Frame ‘ w ‘ Lp=H
3030/4040 ‘ / ‘ 2 * Hole processing is as per the following drawing
AZ Pillar 4040 (For the connect type frame, see P233)
Lp
wi h3+20 _ h2+40 _ h1+40 ‘ 20
= o [ — /\) T /\) /\) ]
B L == =< &
S R R For
&
AZ Pillar 3030
T Lp
h3+20 h2+40 h1-+40 20
: B >3
< < < < )
B’Y‘?
S
When placing the frame cap flush with the surface ¥AZ pillar 3030 only
Lp-3
y 2 h3+20 h2+40 h1+40 17
8 ‘LQ : 7 z 7 a %
§ f < < < < l;:z‘
&
/\ Caution
Method of calculating panel dimensions The guideline for the W dimension is 300~2000 <1500 » mm or so.
P_anel type Wire mesh Resin panel Figures in ¢ > are for the pillar frame 3030. The guideline for H dimension is
Height hh2 | h1(h2)+23 h1(h2)+21 h1 (h2) dimension of 940 or less and maximum 2500mm.
Width w1 wi+25 wi+23 (However, for cases of 2150mm or more, please contact us.)
When there is one surface member, please calculate assuming no h2.

243



Technical Data  Dimension material

AZ
0
D
@
<
n
o
3
5]
o

Dimension material

Connect typle frame diagram

AZ frame process drawing (articulating) ® Dimension of AZ beam frame 2540
Lb=(WW-120) /2+2

However, when wl and w2 are not equal,

Lb1=w1+2
Lb1=w2+2
Pillar frame Connect type frame . . . . . .
b ® Dimension of AZ pillar frame 4040 (integrated and articulating)
Lp=H
WW | * Hole processing is as per the following drawing
AZ Pillar 4040
wi w2 Lp
h3+20 h2+40 h1+40 20
= > >y
S o
< K
;a'Yo
I
AZ Pillar 4040 coupling frame
p
N a (Lp-2a) /b (Lp-2a)b_, a
s > 2 > 2 > 2
7 < 7« 7« o
| Es
\ 2 qﬂ)ex Lp
40 40 40 I h3+20 h2+40 h1+40 |20
Coupling state Dividing state = 1 | IS > 2 T‘ 1
* |f there is interference with the nut at the time of anchor mounting, g S [ ] ﬂﬁ%
screwing is not necessary. Please process as necessary. < < &3
*To fix the 40 square consolidated type, a C-Type anchor bracket is ‘a'?
recommended. &
AZ Pillar 4040 coupling frame machining dimension A\ Caution
Lp a b c The guideline for the WW dimension is 600~1940mm or so.
2150~1700 50 5 6 The guideline for the H dimension is that h1(h2) dimension of 940 or
1699~1301 50 4 5 less and a maximum of 2500mm.
1300~1170 60 3 4 (However, for cases of 2150mm or more, please contact us.)
When there is one surface member, please calculate assuming no h2.

* For wire mesh/panel dimension, please see P237.

244



oous4 Ajojes =

Open door diagram
N
N
N
N
N
NN NN
NN NONCN
\\\ NONON
N N
: : \\\\\\\\ |E
NN RN
NN N \\
NN NN ;
\\\\\ \\\\\\
NN NN
\\\\\ N \\\\
NN NN
E NN NN
NN NN
NN NN
NN NN
NN NN
\\ \\\\ N
NN
\\\\ N
NN
AZ frame process drawing (open door) ® Dimension of AZ beam frame 2540
Lb=W—f—f+2
* findicates AZ pillar frame 3030 ------30
AZ beam frame 2540 AZ pillar frame 4040 - 40
Ws1
Opening dimension ® Dimension of AZ pillar frame 3030/4040
w AZ pillar frame 3030/4040 Lp =H—h3
— / * Hole processing is as per the following drawing
AZ Pillar 4040
wi Lp
20 h2+40 h1+40
= olg :
I .
i AZ Pillar 3030 p
T £
Lyl 20 _ h2+40 __ h1+40 _ | 20
o|wn ’
o oL <
b <
When placing the frame cap flush with the surface
*AZ pillar 3030 only
Lp-3
20 _ h2+440 __ h1+40
Vo | E 7 7 7

A\ Caution

|

30

fence.

For the door dimension W for the opening dimension Ws1, please
refer to the guideline for frame door mounting in the catalogue.

The guideline for the door dimension is the same as for the fence.
The machining dimension of the surface member is the same as the

* For wire mesh/panel dimension, please see P237.

245



Technical Data  Dimension material

.V 4
n
o
o)
<
m
o
=]
Q
o

AZ strength data

Guideline to deflect the safety fence frame

100

30 Safety Fence H2150

e e e et B P o S

7777777777 ) 40 Safety Fence High-Rigidity
! ! | j | ' ! ! | Connect type H2150

Displacement X (mm)

40 Safety Fence High-Rigidity
H2150

—— L-Type anchor load side (30 square)
—— C-Type anchor (30 square)

C-Type anchor (40 square connect type)
—— L-Type anchor load side (40 square)
—— C-Type anchor (40 square)

° 0 200 400 600 800 1000
Load F (N)
Frame 30 Safety Fence 40 Safety Fence High-Rigidity Higt?- F%gg%%gr?:ect
Anchor (t&gﬁpgigg%ﬁy’—) C-Type anchor (téﬁpgigg%?]?;) C-Type anchor C-Type anchor
Load F (N) Displacement X (mm)
0 o] o] 0 6] o]
200 19 12 8 5 8
400 38 26 15 10 16
600 57 40 22 15 24
800 76 54 28 19 31
1000 95 68 35 24 39

246



oous4 Ajojes =

AZ strength data

Test procedures/conditions

aE o]

[ o o]

T —i—

Displacement X | |

|JH Load F _>7L7‘
U

2150

1000

‘A
-

B Test conditions

1. 30 safety fence/40 safety fence high-rigidity/40 safety fence high-rigidity coupling each of the H2150 type (upper/lower wire mesh
Pitch 50) inspected by connecting the three sides.

2. For the connection, attach the anchor bracket L-type 2-piece or the anchor bracket C-type 2-piece to the coupling plate at the top.
3. For the anchor brackets, use anchors with an M10 screw thread 15mm deep and fix with bolts.

*1 40 safety fence high-rigidity coupling shall be coupled as in the following drawing.

DNt%D

H Test procedures

1. Horizontally add static load to the position of center of width direction/height 2000mm.

2. Measure displacement X when adding Load F.

247



Technical Data

Safety distance material

Safety distance of arms (at high risk) (JIS B9709 SO 13852)

Unit/mm
Height of protective structure
1000 | 1200 | 1400 | 1600 | 1800 | 2000 2200 2400 2500 2700
Height of danger zone Horizontal distance to danger zone
2700 - - - - - - - - - -
2600 200 800 700 600 600 500 400 300 100 -
2400 1100 1000 9200 800 700 600 400 300 100 -
2200 1300 1200 1000 9200 800 600 400 300 - -
2000 1400 1300 1100 9200 800 600 400 - - -
1800 1500 1400 1100 9200 800 600 - - - -
1600 1500 1400 1100 9200 800 500 - - - -
1400 1500 1400 1100 9200 800 - - - - -
1200 1500 1400 1100 9200 700 - - - - -
1000 1500 1400 1000 800 - - - - - -
800 1500 1300 9200 600 - - - - - -
600 1400 1300 800 - - - - - - -
400 1400 1200 400 - - - - - - -
200 1200 200 - - - - - - - -
0 1100 500 - - - - - - - -
Safety distance extending through opening part of protective structure (part of arm) Unit /m
Body part lllustration Opening SR .

Rectangle Square Circle

30<e= 40 2850 2200 z120
Arm from base sr (20<e= 30) (=900) (=550) (z120)
of shoulder 6 40<e =120 2850 2850 2850
w1 (30< e =100) (=900) (=900) (=900)

Safe distance of the legs (JIS B9708 1SO 13853)

* For values in (), the assumption is a person
aged between 3 and 14.

Unit /mm

Height up to the Safety distance for inhibition S
structure to protect Case 1 Case 2 Case 3
h= 200 = 340 = 665 = 290
200<h= 400 = 550 = 765 = 615
400< h= 600 = 850 = 950 = 800
600< h = 800 = 950 = 950 = 900
800< h =1000 =1120 =1195 =1050

Danger Danger Danger
zone zone zone
Minimum clearance to prevent crushing (JIS B9711 1SO 13854) Unit /am
Body part Body Head Legs Foots Toes Arms Wrists Fingers
Minimum
clearance 500 300 180 120 50 120 100 25

248



M_ Safety Fence

30 Series

40 Series

Common Parts

Technical Data

249



250

INDEX

_ CIR-S2C Cable Ring S (Small)(Semi-Transparent)(10pcs/Pac) 136
AZF-014 AZ Beam 2540 (L=50~4000) CI1R-S2R Cable Ring S (Small)(Red)(10pcs/Pac) 136
AZF-304 AZ Pillar 3030 (L=50~4000) 232 CIR-S2W Cable Ring S (Small)(White)(10pcs/Pac) 136
AZF-404 AZ Pillar 4040 (L=50~4000) 233 CI1R-S2Y Cable Ring S (Small)(Y ellow )(10pcs/Pac) 136
AZF-414 AZ Pillar 4040(Connect type) (L=50~4000) 233 C1R-S3C Cable Ring S (Middle)(Semi-Transparent)(10pcs/Pac) 136
AZK-300 Anchor Bracket L Type-1 30Kit 219 CIR-S3R Cable Ring S (Middle)(Red)(10pcs/Pac) 136
AZK-301 Anchor Bracket L Type-2 30Kit 219 C1R-S3W Cable Ring S (Middle)(White)(10pcs/Pac) 136
AZK-302 Anchor Bracket C Type-1 30Kit 219 C1R-S3Y Cable Ring S (Mlddle)(YeIIow)(lopcs/Pac)
AZK-304G AZ Frame Cap Lock Type 3030 (LG) 220, 236 GFN-000 Small Diameter Adjuster M12
AZK-30B Pull G Type Kit(For30) 235 GFN-002 Small Dia, Adjuster M12-60T 131
AZK-30C Door Lock Kit(For30) 235 GFN-003S Small Diameter Adjuster M12 (Stainless) 131
AZK-30D Door Stopper Kit(For30) 222,234 GFN-500 Free Caster ¢ 100 with Brake 134
AZK-30E Door Caster Kit(For30) 234 GFN-502 Fixed Caster ¢ 100 134
AZK-30G AZ Bracket Spacer 30Kit 219 GFN-504 Free Caster ¢ 100 134
AZK-400 Anchor Bracket L Type-1 40Kit 226 GFN-507 Free Caster ¢ 150 w ith Brake 134
AZK-401 Anchor Bracket L Type-2 40Kit 226 GFN-508 Free Caster ¢ 100 w ith Brake (Urethane) 134
AZK-402 Anchor Bracket C Type-1 40Kit 226 GFN-510 Free Caster ¢ 150 (E) 134
AZK-403 Anchor Bracket C Type-2 40Kit 226 GFN-511 Free Caster ¢ 100 (Urethane) 134
AZK-40A Pull G Type Kit(For40) 235 GFN-512 Caster ¢ 50 with Brake 133
AZK-40B Door Lock Kit(For40) 235 GFN-513 Caster ¢ 50 133
AZK-40C Door Stoper Kit(For40) 229,234 GFN-516 Free Caster ¢ 150 w ith Brake (E) 134
AZK-40D Door Caster Kit(For40) 234 GFN-517 Free Caster ¢ 150 w ith Brake (Urethane) 134
AZK-40F AZ Bracket Spacer 40Kit 226 GFN-521 Free Caster ¢ 150 134
AZP-001 Panel Fix Piece(For Resin Panel t=3) 236 GFN-522 Free Caster ¢ 150 (Urethane) 134
AZY-001 Wire Mesh P50 (963x935) Dia 3.2mm 238 GFN-524 Caster ¢ 75 with Brake (E) 133
AZY-002 Wire Mesh P30 (963x935) Dia 3.2mm 238 GFN-526 Caster ¢ 75 (E) 133
© GFN-531 Free Caster @ 75w ith Brake (E) 134
ClF-A2C Cable Holder SS (Small)(Semi-Transparent)(4pcs/Pac) 135 GFN-532 Free Caster ¢ 75 with Brake 134
CIF-A2R Cable Holder SS (Small)(Red)(4pcs/Pac) 135 GFN-533 Free Caster @ 75 with Brake (Urethane) 134
C1F-A2W Cable Holder SS (Small)(White)(4pcs/Pac) 135 GFN-537 Caster ¢ 75 (Urethane) 133
C1F-A2Y Cable Holder SS (Small)(Yellow )(4pcs/Pac) 135 GFN-538 Free Caster ¢ 75 (E) 134
C1F-A3C Cable Holder SS (Middle)(Semi-Transparent)(4pcs/Pac) 135 GFN-539 Free Caster ¢ 75 134
C1F-A3R Cable Holder SS (Middle)(Red)(4pcs/Pac) 135 GFN-540 Free Caster ¢ 75 (Urethane) 134
C1F-A3W Cable Holder SS (Middle)(White)(4pcs/Pac) 135 GFN-541 Caster ¢ 75 with Brake (Urethane) 133
CI1F-A3Y Cable Holder SS (Middle)(Y ellow )(4pcs/Pac) 135 GFN-546 Free Caster ¢ 100 (E) 134
C1F-L2C Cable Holder L (Small)(Semi-Transparent)(4pcs/Pac) 135 GFN-547 Free Caster ¢ 100 with Brake (E) 134
C1F-L2R Cable Holder L (Small)(Red)(4pcs/Pac) 135 GFN-548 Fixed Caster ¢ 100 (E) 134
C1F-L2w Cable Holder L (Small)(White)(4pcs/Pac) 135 GFN-550 Fixed Caster ¢ 75 134
C1F-L2Y Cable Holder L (Small)(Y ellow )(4pcs/Pac) 135 GFN-551 Fixed Caster ¢ 75 (Urethane) 134
C1F-L3C Cable Holder L (Middle)(Semi-Transparent)(4pcs/Pac) 135 GFN-552 Fixed Caster ¢ 75 (E) 134
CIF-L3R Cable Holder L (Middle)(Red)(4pcs/Pac) 135 GFN-553 Fixed Caster ¢ 100 (Urethane) 134
CI1F-L3W Cable Holder L (Middle)(White)(4pcs/Pac) 135 GFN-554 Fixed Caster ¢ 150 134
C1F-L3Y Cable Holder L (Middle)(Y ellow )(4pcs/Pac) 135 GFN-555 Fixed Caster ¢ 150 (Urethene) 134
C1F-L4C Cable Holder L (Large)(Semi-Transparent)(4pcs/Pac) 135 GFN-556 Fixed Caster ¢ 150 (E) 134
C1F-L4R Cable Holder L (Large)(Red)(4pcs/Pac) 135 GFN-609 Caster Screw Fitting Type ¢ 75 Nylon No Brake 133
C1F-L4W Cable Holder L (Large)(White)(4pcs/Pac) 135 GFN-610 Caster Screw Fitting Type ¢ 75 Nylon w hth Brake 133
CIF-LAY Cable Holder L (Large)(Y ellow )(4pcs/Pac) 135 GFN-665 Caster M8 132 133
C1F-S2C Cable Holder S (Small)(Semi-Transparent)(4pcs/Pac) 135 GFN-666 Caster M8 w ith Brake 132,133
CIF-S2R Cable Holder S (Small)(Red)(4pcs/Pac) 135 GFN-667 Caster ¢ 75 133
C1F-S2w Cable Holder S (Small)(White)(4pcs/Pac) 135 GFN-668 Caster ¢ 75 with Brake 133
C1F-S2Y Cable Holder S (Small)(Y ellow )(4pcs/Pac) 135
C1F-S3C Cable Holder S (Middle)(Semi-Transparent)(4pcs/Pac) 135 SFA-003 Frame Cap 60.60.1S (Black) 122
CIF-S3R Cable Holder S (Middle)(Red)(4pcs/Pac) 135 SFA-003G Frame Cap 60.60.1S (Light Gray) 122
CIF-S3W Cable Holder S (Middle)(White)(4pcs/Pac) 135 SFA-004 Frame Cap 45.90 (Black) 122
C1F-S3Y Cable Holder S (Middle)(Y ellow )(4pcs/Pac) 135 SFA-004G Frame Cap 45.90 (Light Gray) 122
C1P-003C Cable Clamp SS (50 pcs.) (Light Gray) 46 SFA-005 Frame Cap 30.60 (Black) 79
C1P-004C Cable Clamp S (50 pcs.) (Light Gray) 81, 221, 236 SFA-005G Frame Cap 30.60 (Light Gray) 79
C1P-012C Cable Clamp L (50 pcs.) (Light Gray) 125, 228, 236 SFA-007 Frame Cap 40.80 (Black) 122
C1P-B03C Cable Clamp SS (50 pcs.) (Black) 46 SFA-007G Frame Cap 40.80 (Light Gray) 122
C1P-B04C Cable Clamp S (50 pcs.) (Black) 81, 221, 236 SFA-008 Frame Cap 80.80 (Black) 122
C1P-B12C Cable Clamp L (50 pcs.) (Black) 125, 228, 236 SFA-008G Frame Cap 80.80 (Light Gray) 122
CIR-A1C Cable Ring SS (Minimum)(Semi-Transparent)(20pcs/Pac) 136 SFA-009 Frame Cap 20.20 (Black) 43
CIR-A1R Cable Ring SS (Minimum)(Red)(20pcs/Pac) 136 SFA-009G Frame Cap 20.20 (Light Gray) 43
CIR-A1W Cable Ring SS (Minimum)(White)(20pcs/Pac) 136 SFA-010 Frame Cap 20.40 (Black) 43
CIR-A1Y Cable Ring SS (Minimum)(Y ellow )(20pcs/Pac) 136 SFA-010G Frame Cap 20.40 (Light Gray) 43
CIR-A2C Cable Ring SS (Small)(Semi-Transparent)(10pcs/Pac) 136 SFA-011 Frame Cap 60.60.2S (Black) 79
CIR-A2R Cable Ring SS (Small)(Red)(10pcs/Pac) 136 SFA-011G Frame Cap 60.60.2S (Light Gray) 79
CIR-A2W Cable Ring SS (Small)(White)(10pcs/Pac) 136 SFA-012 Frame Cap 20.60 (Black) 43
CIR-A2Y Cable Ring SS (Small)(Yellow ) (10pcs/Pac) 136 SFA-012G Frame Cap 20.60 (Light Gray) 43
CIR-A3C Cable Ring SS (Middle)(Semi-Transparent)(10pcs/Pac) 136 SFA-013 Frame Cap 30.90 (Black) 79
CIR-A3R Cable Ring SS (Middle)(Red)(10pcs/Pac) 136 SFA-013G Frame Cap 30.90 (Light Gray) 79
CIR-A3W Cable Ring SS (Middle)(White) (10pcs/Pac) 136 SFA-014 Frame Cap 40.40.2S (Black) 43
CIR-A3Y Cable Ring SS (Middle)(Y ellow )(10pcs/Pac) 136 SFA-014G Frame Cap 40.40.2S (Light Gray) 43
CIR-L2C Cable Ring L (Small)(Semi-Transparent)(10pcs/Pac) 136 SFA-015 Frame Cap 60.90 (Black) 79
CIR-L2R Cable Ring L (Small)(Red)(10pcs/Pac) 136 SFA-015G Frame Cap 60.90 (Light Gray) 79
CIR-L2W Cable Ring L (Small)(White)(10pcs/Pac) 136 SFA-016 Frame Cap 90.90 (Black) 122
CIR-L2Y Cable Ring L (Small)(Y ellow )(10pcs/Pac) 136 SFA-016G Frame Cap 90.90 (Light Gray) 122
CIR-L3C Cable Ring L (Middle)(Semi-Transparent)(10pcs/Pac) 136 SFA-017 Frame Cap 40.60.SS (Black) 43
CIR-L3R Cable Ring L (Middle)(Red)(10pcs/Pac) 136 SFA-017G Frame Cap 40.60.SS (Light Gray) 43
CIR-L3W Cable Ring L (Middle)(White)(10pcs/Pac) 136 SFA-018 Frame Cap 60.120 (Black) 79
CIR-L3Y Cable Ring L (Middle)(Y ellow )(10pcs/Pac) 136 SFA-018G Frame Cap 60.120 (Light Gray) 79
CI1R-L4C Cable Ring L (Large)(Semi-Transparent)(10pcs/Pac) 136 SFA-020 Frame Cap 30.30.R (Black) 79
CIR-L4R Cable Ring L (Large)(Red)(10pcs/Pac) 136 SFA-020G Frame Cap 30.30.R (Light Gray) 79
CIR-L4W Cable Ring L (Large)(White)(10pcs/Pac) 136 SFA-023 Frame Cap 20.20.R (Black) 43
CIR-L4Y Cable Ring L (Large)(Yellow)(10pcs/Pac) 136 SFA-023G Frame Cap 20.20.R (Light Gray) 43
CIR-S1C Cable Ring S (Minimum)(Semi-Transparent)(20pcs/Pac) 136 SFA-024 Frame Cap 40.40.R (Black) 122
CIR-SIR Cable Ring S (Minimum)(Red)(20pcs/Pac) 136 SFA-024G Frame Cap 40.40.R (Light Gray) 122
CIR-S1IW Cable Ring S (Minimum)(White)(20pcs/Pac) 136 SFA-025 Frame Cap 45.45.R (Black) 122
CIR-S1Y Cable Ring S (Minimum)(Y ellow )(20pcs/Pac) 136 SFA-025G Frame Cap 45.45.R (Light Gray) 122




Item No. Name Page Item No. Name Page
SFA-026 Frame Cap 50.50 (Black) 79 SFA-2N5 Slip-Joint Hinge L40-R (E-Less Nickel Coat) 141,143
SFA-026G Frame Cap 50.50 (Light Gray) 79 SFA-2N5P Slip-Joint Hinge L40-R (Acrylic Paint) 141
SFA-027 Frame Cap 25.25 (Black) 43 SFA-2N6 Slip-Joint Hinge L40-L (E-Less Nickel Coat) 141, 143
SFA-027G Frame Cap 25.25 (Light Gray) 43 SFA-2N6P Slip-Joint Hinge L40-L (Acrylic Paint) 141
SFA-030 Frame Cap 80.80.1S (Black) 122 SFA-2N7 Slip-Joint Hinge L45-R (E-Less Nickel Coat) 141, 143
SFA-030G Frame Cap 80.80.1S (Light Gray) 122 SFA-2N7P Slip-Joint Hinge L45-R (Acrylic Paint) 141
SFA-031 Frame Cap 35.35 (Black) 79 SFA-2N8 Slip-Joint Hinge L45-L (E-Less Nickel Coat) 141,143
SFA-031G Frame Cap 35.35 (Light Gray) 79 SFA-2N8P Slip-Joint Hinge L45-L (Acrylic Paint) 141
SFA-032 Frame Cap 35.70 (Black) 79 SFA-301 Pull A 145,171
SFA-032G Frame Cap 35.70 (Light Gray) 79 SFA-304 PullC 145
SFA-033B Frame Cap 30.30 (Black) 79 SFA-305 PullG 145
SFA-033G Frame Cap 30.30 (Light Gray) 79 SFA-306 Setting Plate For Pull G 145
SFA-034B Frame Cap 40.40 (Black) 122 SFA-307 Inner Pull 145
SFA-034G Frame Cap 40.40 (Light Gray) 122 SFA-308 Pull B 145
SFA-035B Frame Cap 45.45 (Black) 122 SFA-390 Pull Rail Cap A 145
SFA-035G Frame Cap 45.45 (Light Gray) 122 SFA-391 Pull Rail Cap B 145
SFA-102 Slot Cap L L=2000 (Black) 124, 228, 236 SFA-3A1 Door Lock 70mm 144
SFA-102G Slot Cap L L=2000 (Light Gray) 124, 228, 236 SFA-40A Magnet Catch N 146
SFA-102L Slot Cap L L=2000 (Blue) 124, 228, 236 SFA-40B Magnet Catch J 148
SFA-102M Slot Cap L L=2000 (Green) 124, 228, 236 SFA-41A Ball Catch 154
SFA-102R Slot Cap L L=2000 (Red) 124, 228, 236 SFA-42A Magnet Catch with Limit Switch 150
SFA-102Y Slot Cap L L=2000 (Yellow ) 124, 228, 236 SFA-42E ML Plate 152
SFA-103 Slot Cap SS L=2000 (Black) 44 SFA-44A Magnet Catch CR (N) 149
SFA-103G Slot Cap SS L=2000 (Light Gray) 44 SFA-44B Magnet Catch CR (J) 149
SFA-103L Slot Cap SS L=2000 (Blue) 44 SFA-498 Magnet Catch G 149
SFA-103M Slot Cap SS L=2000 (Green) 44 SFA-499 MG-G With Limit 153
SFA-103R Slot Cap SS L=2000 (Red) 44 SFA-4EA CR Plate -N 149
SFA-103Y Slot Cap SS L=2000 (Yellow) 44 SFA-4P3 Offset Angle SS2040 35
SFA-104 Slot Cap S L=2000 (Black) 80, 221, 236 SFA-502 Setting Plate For Sliding Door (2 Rails) 162,171
SFA-104G Slot Cap S L=2000 (Light Gray) 80, 221, 236 SFA-504 Sliding Door Wheel 164
SFA-104L Slot Cap S L=2000 (Blue) 80, 221, 236 SFA-510 Slider S 82
SFA-104M Slot Cap S L=2000 (Green) 80, 221, 236 SFA-511 Slider L 126
SFA-104R Slot Cap S L=2000 (Red) 80, 221, 236 SFA-512 Setting Plate For Sliding Door (3 Rails) 162
SFA-104Y Slot Cap S L=2000 (Yellow) 80, 221, 236 SFA-602-T Foot M8 131
SFA-107 Slide Spacer (L=2000) 162,171 SFA-603 Foot M12 131
SFA-108 Panel Hold TS 158 SFA-605 Adjuster M12-50A 131
SFA-109 Panel Guard T3 (Resin) 160 SFA-605S Adjuster M12-50A (Stainless) 131
SFA-121 Panel Clamp 20 (For T3) 30 (For T5) 156 SFA-607 Adjuster A M12-70 130
SFA-123 Panel Clamp 4045 (For T5) 156 SFA-613 Adjuster B M8-50 131
SFA-125 Panel Clamp 30 (For T3) 156 SFA-613S Adjuster B M8-50 (Stainless) 131
SFA-126 Panel Clamp 4045 (For T3) 156 SFA-614 Adjuster B M12-150 131
SFA-131 Seal Cover SS 156 SFA-614S Adjuster B M12-150 (Stainless) 131
SFA-133 Seal Cover S 156 SFA-703 Caspad @ 50-M12 132
SFA-135 Seal Cover L 156 SFA-704 Caspad ¢ 75-M16 132
SFA-155 ‘Wrench Hole Cap 69, 115 SFA-954 Anti-Skid Cap S (50 pcs/ pack) 56
SFA-170 Slot Seal SS L=5000 44 SFA-955 Anti-Skid Cap SS (50 pcs/pack) 26
SFA-171 Slot Seal S L=5000 80 SFA-957 Anti-Skid Cap L40 (50 pcs/pack) 95
SFA-172 Slot Seal L L=5000 124 SFA-958 Anti-Skid Cap L45 (50 pcs/pack) 95
SFA-21L Free Hinge SS-L 142,143 SFA-9A1 After Nut Support SS (50pcs/Pac) 27
SFA-21R Free Hinge SS-R 142,143 SFA-9A2 After Nut Support S (50pcs/Pac) 57
SFA-22L Free Hinge S-L 142,143 SFA-9A3 After Nut Support L (50pcs/Pac) 96
SFA-22R Free Hinge S-R 142, 143, 165 SFA-JO1 Truss Cap SS (Black) 39
SFA-23L Free Hinge L40(M6)-L 142,143 SFA-J01G Truss Cap SS (Light Gray) 39
SFA-23R Free Hinge L40(M6)-R 142, 143, 165 SFA-J11G Hard Bracket Cap (Light Gray) 43,80, 123
SFA-25L Free Hinge 3020-L 142,143 SFA-J13 D Bracket Cap S (Black) 80
SFA-25R Free Hinge 3020-R 142, 143, 165 SFA-J13G D Bracket Cap S (Light Gray) 80
SFA-26L Free Hinge 4020-L 142,143 SFA-J14 D Bracket Cap L (Black) 123
SFA-26R Free Hinge 4020-R 142,143 SFA-J14G D Bracket Cap L (Light Gray) 123
SFA-27L Free Hinge 4520-L 142, 143 SFA-J5A Frame Cap 20 DE30 (Black) 43
SFA-27R Free Hinge 4520-R 142, 143 SFA-J5AG Frame Cap 20 DE30 (Light Gray) 43
SFA-28L Free Hinge 4030-L 142,143 SFA-J5B Frame Cap 20 DE45 (Black) 43
SFA-28R Free Hinge 4030-R 142,143 SFA-J5BG Frame Cap 20-DE45 (Light Gray) 43
SFA-29L Free Hinge 4530-L 142,143 SFA-J5C Frame Cap 20 DE6O (Black) 43
SFA-29R Free Hinge 4530-R 142, 143 SFA-J5CG Frame Cap 20- DE6O (Light Gray) 43
SFA-2A1 Flat Hinge SS 140, 143, 165 SFA-J6A Frame Cap 30 DE30 (Black) 79
SFA-2A2 Flat Hinge S 140, 143, 165 SFA-J6AG Frame Cap 30 DE30 (Light Gray) 79
SFA-2A3 Flat Hinge L40(M6) 140, 143 SFA-J6B Frame Cap 30 DE45 (Black) 79
SFA-2A4 Flat Hinge L45(M6) 140, 143 SFA-J6BG Frame Cap 30- DE45 (Light Gray) 79
SFA-2A5 Flat Hinge L40-S 140, 143 SFA-J6C Frame Cap 30-DE60 (Black) 79
SFA-2A6 Flat Hinge L45-S 140, 143 SFA-J6CG Frame Cap 30 DE6O (Light Gray) 79
SFA-2D1 Slip-Joint Hinge 3020-R (E-less Nickel Coat) 141, 143 SFA-J7A Frame Cap 40 DE30 (Black) 122
SFA-2D1P Slip-Joint Hinge 3020-R (Acrylic Paint) 141 SFA-JTAG Frame Cap 40 DE3O0 (Light Gray) 122
SFA-2D2 Slip-Joint Hinge 3020-L (E-Less Nickel Coat) 141, 143 SFA-J7B Frame Cap 40" DE45 (Black) 122
SFA-2D2P Slip-Joint Hinge 3020-L (Acrylic Paint) 141 SFA-J7BG Frame Cap 40- DE45 (Light Gray) 122
SFA-2D3 Slip-Joint Hinge 4020-R (E-Less Nickel Coat) 141, 143 SFA-J7C Frame Cap 40-DE60 (Black) 122
SFA-2D4 Slip-Joint Hinge 4020-L (E-Less Nickel Coat) 141, 143 SFA-J7CG Frame Cap 40 DE6O (Light Gray) 122
SFA-2D5 Slip-Joint Hinge 4520-R (E-Less Nickel Coat) 141, 143 SFA-J8A Frame Cap 45 DE30 (Black) 122
SFA-2D6 Slip-Joint Hinge 4520-L (E-Less Nickel Coat) 141, 143 SFA-JBAG Frame Cap 45 DE30 (Light Gray) 122
SFA-2E1 Slip-Joint Hinge 4030-R (E-Less Nickel Coat) 141, 143 SFA-J8B Frame Cap 45" DE45 (Black) 122
SFA-2E2 Slip-Joint Hinge 4030-L (E-Less Nickel Coat) 141, 143 SFA-J8BG Frame Cap 45- DE45 (Light Gray) 122
SFA-2E3 Slip-Joint Hinge 4530-R (E-Less Nickel Coat) 141, 143 SFA-J8C Frame Cap 45+ DE60 (Black) 122
SFA-2E4 Slip-Joint Hinge 4530-L (E-Less Nickel Coat) 141, 143 SFA-J8CG Frame Cap 45 DE6O (Light Gray) 122
SFA-2N1 Slip-Joint Hinge SS-R (E-Less Nickel Coat) 141,143 SFA-J9A Frame Cap 20-40-40 (Black) 43
SFA-2N1P Slip-Joint Hinge SS-R (Acrylic Paint) 141 SFA-J9AG Frame Cap 204040 (Light Gray) 43
SFA-2N2 Slip-Joint Hinge SS-L (E-Less Nickel Coat) 141,143 SFA-J9B Frame Cap 3060+ 60 (Black) 79
SFA-2N2P Slip-Joint Hinge SS-L (Acrylic Paint) 141 SFA-J9BG Frame Cap 30+ 6060 (Light Gray) 79
SFA-2N3 Slip-Joint Hinge S-R (E-Less Nickel Coat) 141, 143 SFA-J9C Frame Cap 40-80-80 (Black) 122
SFA-2N3P Slip-Joint Hinge S-R (Acrylic Paint) 141 SFA-J9CG Frame Cap 40-80-80 (Light Gray) 122
SFA-2N4 Slip-Joint Hinge S-L (E-Less Nickel Coat) 141,143 SFA-J9D Frame Cap 4590+ 90 (Black) 122
SFA-2N4P Slip-Joint Hinge S-L (Acrylic Paint) 141 SFA-J9DG Frame Cap 45-90-90 (Light Gray) 122

251




252

INDEX

Item No. Name Page Item No. Name Page
SFA-JT25 Torques Bit T25 37 SFB-544 Hexagon Socket Head Cap Screw M4x25 (Uni-Chrome Plat- ing) 137, 221, 228
SFA-KH5 Cover Holder SS Cap 45 SFB-544S Hexagon Socket Head Cap Screw M4x25 (Stainless) 137
SFA-KH6 Cover Holder S Cap 81 SFB-545 Hexagon Socket Head Cap Screw M4x45 (Uni-Chrome Plat- ing) 137
SFA-KH7 Cover Holder L Cap 125 SFB-545S Hexagon Socket Head Cap Screw M4x45 (Stainless) 137
SFA-MO1 Friction Sheet M8 with Case (50pcs/Set) 112 SFB-546 Hexagon Socket Head Cap Screw M4x18 (Uni-Chrome Plat- ing) 137,221, 228
SFA-M02 Friction Sheet M6 w ith Case (50pcs/Set) 67 SFB-546S Hexagon Socket Head Cap Screw M4x18 (Stainless) 137
SFA-RO1 Slide Rail 2-Row s (L=2000) 162 SFB-547 Spring Washer M4 (Uni-Chrome Plating) 138
SFA-R04 Slide Rail 2-Row s 162 SFB-548 Truss Head Screw M4x5 (Uni-Chrome Plating) 138
SFA-R11 Slide Rail 3-Row s (L=2000) 162 SFB-548S Truss Head Screw M4x5 (Stainless) 138
SFA-R14 Slide Rail 3-Row's 162 SFB-54A Cross Recessed Flat Head Screw M4x6 (Uni-Chrome Plating) 137
SFA-R51 Slot Connector SS (L=2000) 162 SFB-54AS Cross Recessed Flat Head Screw M4x6(Stainless) 137
SFA-R54 Slot Connector SS 162 SFB-54B Cross Recessed Flat Head Screw M4x8 (Uni-Chrome Plating) 137
SFA-R61 Slot Connector S (L=2000) 162 SFB-54BS Cross Recessed Flat Head Screw M4x8 (Stainless) 137
SFA-R64 Slot Connector S 162 SFB-54C Truss Head Screw M4x8 (Uni-Chrome Plating) 138
SFA-R71 Slot Connector L (L=2000) 162 SFB-54CS Truss Head Screw M4x8 (Stainless) 138
SFA-R74 Slot Connector L 162 SFB-54D Hexagon Socket Head Cap Screw M4x22 (Uni-Chrome Plat- ing) 137, 221, 228
SFA-T25H Torques Driver T25 37 SFB-54DS Hexagon Socket Head Cap Screw M4x22 (Stainless) 137
SFB-001 T Nut S (M5) 56,171 SFB-54E Cross Recessed Flat Head Screw M4X10 (Uni-Chrome Plat- ing) 137
SFB-002 T Nut S (M6) 56, 171 SFB-54ES Cross Recessed Flat Head Screw M4X10 (Stainless) 137
SFB-003 T Nut L (M6) 95 SFB-54F Cross Recessed Flat Head Screw M4x12 (Uni-Chrome Plat- ing) 137
SFB-004 T Nut L (M8) 95 SFB-54FS Cross Recessed Flat Head Screw M4x12 (Stainless) 137
SFB-005 T Nut S (M3) 56 SFB-54G Cross Recessed Flat Head Screw M5x8 (Uni-Chrome Plating) 137
SFB-006 T Nut S (M4) 56 SFB-54GS Cross Recessed Flat Head Screw M5x8 (Stainless) 137
SFB-007 T Nut L (M4) 95 SFB-54HS Cross Recessed Flat Head Screw M6x10 (Stainless) 137
SFB-008 T Nut L (M5) 95 SFB-54J] Cross Recessed Flat Head Screw M6x12 (Uni-Chrome Plat- ing) 137
SFB-011 T Nut SS (M3) 26 SFB-54JS Cross Recessed Flat Head Screw M6x12 (Stainless) 137
SFB-012 T Nut SS (M4) 26 SFB-54K Cross Recessed Flat Head Screw M6x15 (Uni-Chrome Plat- ing) 137
SFB-013 T Nut SS (M5) 26 SFB-54KS Cross Recessed Flat Head Screw M6x15 (Stainless) 137
SFB-303 Plate Nut for SS Hinge 141 SFB-54M Truss Head Screw M4x18 (Uni-Chrome Plating) 138
SFB-304 Plate Nut for S Hinge 141 SFB-54N Truss Head Screw M4x20 (Uni-Chrome Plating) 138
SFB-305 Plate Nut for Fixed Hinge L40 (M6) 141 SFB-54PS Hexagon Socket Head Cap Screw M4x5 (Stainless) 137
SFB-306 Plate Nut for Fixed Hinge L45 (M6) 141 SFB-54QS Hexagon Socket Head Cap Screw M4x12 (Stainless) 137
SFB-4A4 Lock Nut L (M4) 96 SFB-54RS Hexagon Socket Head Cap Screw M4x15 (Stainless) 137
SFB-4A5 Lock Nut L (M5) 96 SFB-54SS Hexagon Socket Head Cap Screw M4x35 (Stainless) 137
SFB-4A6 Lock Nut L (M6) 96 SFB-54TS Hexagon Socket Head Cap Screw M4x50 (Stainless) 137
SFB-4A8 Lock Nut L (M8) 96 SFB-54US Truss Head Screw M4x6 (Stainless) 138
SFB-4B3 Lock Nut S (M3) 57 SFB-54VS Truss Head Screw M4x15 (Stainless) 138
SFB-4B4 Lock Nut S (M4) 57 SFB-54ZS Cross Recessed Flat Head Screw M4x45 (Stainless) 137
SFB-4B5 Lock Nut S (M5) 57 SFB-550 Hexagon Socket Head Cap Screw M5x8 (Uni-Chrome Plating) 137, 221, 228
SFB-4B6 Lock Nut S (M6) 57 SFB-550S Hexagon Socket Head Cap Screw M5x8 (Stainless) 137
SFB-4D3 Lock Nut SS (M3) 27 SFB-551 Hexagon Socket Head Cap Screw M5x10 (Uni-Chrome Plat- ing) 137, 221, 228
SFB-4D4 Lock Nut SS (M4) 27 SFB-551S Hexagon Socket Head Cap Screw M5x10 (Stainless) 137
SFB-4D5 Lock Nut SS (M5) 27 SFB-552 Hexagon Socket Head Cap Screw M5x22 (Uni-Chrome Plat- ing) 137, 221, 228
SFB-501 Hexagon Socket Flat Head Cap Screw M10x18 (Uni-Chrome Plating) 138 SFB-552S Hexagon Socket Head Cap Screw M5x22 (Stainless) 137
SFB-502 Hexagon Socket Flat Head Cap Screw M5x15 (Uni-Chrome Plating) 138 SFB-553 Hexagon Socket Head Cap Screw M5x25 (Uni-Chrome Plat- ing) 137,221, 228
SFB-502S Hexagon Socket Flat Head Cap Screw M5x15 (Stainless) 138 SFB-553S Hexagon Socket Head Cap Screw M5x25 (Stainless) 137
SFB-521 Hexagon Socket Head Cap Screw M12x25 (Uni-Chrome Plat- ing) 137 SFB-554 Hexagon Socket Head Cap Screw M5x15 (Uni-Chrome Plat- ing) 137,221, 228
SFB-521S Hexagon Socket Head Cap Screw M12x25 (Stainless) 137 SFB-554S Hexagon Socket Head Cap Screw M5x15 (Stainless) 137
SFB-522S Hexagon Socket Head Cap Screw M12x20 (Stainless) 137 SFB-555 Hexagon Socket Head Cap Screw M5x20 (Uni-Chrome Plat- ing) 137, 221, 228
SFB-525S Hexagon Socket Head Cap Screw M8x75 (Stainless, Half thread) 138 SFB-555S Hexagon Socket Head Cap Screw M5x20 (Stainless) 137
SFB-530 Cross Recessed Flat Head Screw M3x8 137 SFB-556 Hexagon Socket Head Cap Screw M5x30 (Uni-Chrome Plat- ing) 137
SFB-530A Cross Recessed Flat Head Screw M3x6 137 SFB-556S Hexagon Socket Head Cap Screw M5x30 (Stainless) 137
SFB-530S Cross Recessed Flat Head Screw M3x8(Stainless) 137 SFB-557 Cross Recessed Flat Head Screw M5x12 (Uni-Chrome Plat- ing) 137
SFB-531 Hexagon Socket Head Cap Screw M3x6 (Uni-Chrome Plating) 137,221 SFB-558 Truss Head Screw M5x10 (Uni-Chrome Plating) 138,171
SFB-531A Hexagon Socket Head Cap Screw M3x35 (Uni-Chrome Plat- ing) 137 SFB-558A Truss Head Screw M5x8 (Uni-Chrome Plating) 138
SFB-531S Hexagon Socket Head Cap Screw M3x6 (Stainless) 137 SFB-558B Truss Head Screw M5x12 (Uni-Chrome Plating) 138
SFB-532 Hexagon Socket Head Cap Screw M3x8 (Uni-Chrome Plating) 137,221 SFB-558C Truss Head Screw M5x15 (Uni-Chrome Plating) 138
SFB-532S Hexagon Socket Head Cap Screw M3x8 (Stainless) 137 SFB-558S Truss Head Screw M5x10 (Stainless) 138
SFB-533 Hexagon Socket Head Cap Screw M3x10 (Uni-Chrome Plat- ing) 137,221 SFB-559 Cross Recessed Flat Head Screw M5x10 (Uni-Chrome Plat- ing) 137
SFB-533S Hexagon Socket Head Cap Screw M3x10 (Stainless) 137 SFB-559S Hexagon Socket Flat Head Cap Screw M5x10 (Stainless) 138
SFB-534 Hexagon Socket Head Cap Screw M3x12 137,221 SFB-55A Hexagon Socket Head Cap Screw M5x14 (Uni-Chrome Plat- ing) 137, 221, 228
SFB-534S Hexagon Socket Head Cap Screw M3x12 (Stainless) 137 SFB-55AS Hexagon Socket Head Cap Screw M5x14 (Stainless) 137
SFB-535 Hexagon Socket Head Cap Screw M3x18 (Uni-Chrome Plat- ing) 137,221 SFB-55B Hexagon Socket Head Cap Screw M5x18 (Uni-Chrome Plat- ing) 137, 221, 228
SFB-535S Hexagon Socket Head Cap Screw M3x18 (Stainless) 137 SFB-55BS Hexagon Socket Head Cap Screw M5x18 (Stainless) 137
SFB-536 Hexagon Socket Head Cap Screw M3x30 (Uni-Chrome Plat- ing) 137 SFB-55C Hexagon Socket Head Cap Screw M5x12 (Uni-Chrome Plat- ing) 137, 221, 228
SFB-536S Hexagon Socket Head Cap Screw M3x30 (Stainless) 137 SFB-55CS Hexagon Socket Head Cap Screw M5x12 (Stainless) 137
SFB-538 Truss Head Screw M3x6 (Uni-Chrome Plating) 138 SFB-55E Hexagon Socket Head Cap Screw M5x6 (Uni-Chrome Plating) 137, 221, 228
SFB-538S Truss Head Screw M3x6 (Stainless) 138 SFB-55ES Hexagon Socket Head Cap Screw M5x6 (Stainless) 137
SFB-539 Cross Recessed Flat Head Screw M3x10 137 SFB-55F Hexagon Socket Flat Head Cap Screw M5x6 (Uni-Chrome Plating) 138
SFB-539S Cross Recessed Flat Head Screw M3x10(Stainless) 137 SFB-55FS Hexagon Socket Flat Head Cap Screw M5x6 (Stainless) 138
SFB-53A Hexagon Socket Flat Head Cap Screw M3x12 (Uni-Chrome Plating) 138 SFB-55G Hexagon Socket Flat Head Cap Screw M5x20 (Uni-Chrome Plating) 138
SFB-53AS Hexagon Socket Flat Head Cap Screw M3x12 (Stainless) 138 SFB-55GS Hexagon Socket Flat Head Cap Screw M5x20 (Stainless) 138
SFB-53ES Hexagon Socket Head Cap Screw M3x15 (Stainless) 137 SFB-55H Hexagon Socket Flat Head Cap Screw M5x35 (Uni-Chrome Plating) 138
SFB-53FS Hexagon Socket Head Cap Screw M3x35 (Stainless) 137 SFB-55HS Hexagon Socket Flat Head Cap Screw M5x35 (Stainless) 138
SFB-53GS Hexagon Socket Head Cap Screw M3x55 (Stainless) 137 SFB-55J Truss Head Screw M5x30 (Uni-Chrome Plating) 138
SFB-53HS Hexagon Socket Head Cap Screw M3x20 (Stainless) 137 SFB-55K Truss Head Screw M5x35 (Uni-Chrome Plating) 138
SFB-53JS Truss Head Screw M3x8 (Stainless) 138 SFB-55LS Truss Head Screw M5x8 (Stainless) 138
SFB-53PS Hexagon Socket Head Cap Screw M3x5 (Stainless) 137 SFB-55MS Truss Head Screw M5x12 (Stainless) 138
SFB-53QS Cross Recessed Flat Head Screw M3x15 (Stainless) 137 SFB-55NS Truss Head Screw M5x15 (Stainless) 138
SFB-53RS Hexagon Socket Head Cap Screw M3x16 (Stainless) 137 SFB-55PS Hexagon Socket Head Cap Screw M5x45 (Stainless) 137
SFB-53US Truss Head Screw M3x5 (Stainless) 138 SFB-55QS Hexagon Socket Head Cap Screw M5x55 (Stainless) 137
SFB-53VS Hexagon Socket Head Cap Screw M3x40 (Stainless) 137 SFB-55RS Hexagon Socket Head Cap Screw M5x85 (Stainless) 137
SFB-540 Hexagon Socket Head Cap Screw M4x6 (Uni-Chrome Plating) 137,221, 228 SFB-55SS Hexagon Socket Head Cap Screw M5x90 (Stainless) 137
SFB-540S Hexagon Socket Head Cap Screw M4x6 (Stainless) 137 SFB-55TS Hexagon Socket Head Cap Screw M5x115 (Stainless) 137
SFB-541 Hexagon Socket Head Cap Screw M4x8 (Uni-Chrome Plating) 137, 221, 228 SFB-55US Hexagon Socket Head Cap Screw M5x40 (Stainless) 137
SFB-541S Hexagon Socket Head Cap Screw M4x8 (Stainless) 137 SFB-55WS Hexagon Socket Head Cap Screw M5x50 (Stainless) 137
SFB-542 Hexagon Socket Head Cap Screw M4x10 (Uni-Chrome Plat- ing) 137, 221, 228 SFB-55XS Hexagon Socket Head Cap Screw M5x80 (Stainless) 137
SFB-542S Hexagon Socket Head Cap Screw M4x10 (Stainless) 137 SFB-55YS Hexagon Socket Head Cap Screw M5x110 (Stainless) 137
SFB-543 Hexagon Socket Head Cap Screw M4x20 (Uni-Chrome Plat- ing) 137,221, 228 SFB-55ZS Hexagon Socket Head Cap Screw M5x35 (Stainless) 137
SFB-543S Hexagon Socket Head Cap Screw M4x20 (Stainless) 137 SFB-560 Hexagon Socket Head Cap Screw M6x12 (Uni-Chrome Plat- ing) 137,221, 228




Item No. Name Page Item No. Name Page
SFB-560S Hexagon Socket Head Cap Screw M6x12 (Stainless) 137 SFB-614 After Nut S (M4) 57
SFB-561 Hexagon Socket Head Cap Screw M6x10 (Uni-Chrome Plat- ing) 137,171, 221, 228 SFB-615 After Nut S (M5) 57
SFB-561S Hexagon Socket Head Cap Screw M6x10 (Stainless) 137 SFB-616 After Nut S (M6) 57
SFB-562 Hexagon Socket Head Cap Screw M6x15 (Uni-Chrome Plat- ing) 137, 221, 228 SFB-624 After Nut L (M4) 96
SFB-562S Hexagon Socket Head Cap Screw M6x15 (Stainless) 137 SFB-625 After Nut L (M5) 96
SFB-563 Hexagon Socket Head Cap Screw M6x20 (Uni-Chrome Plat- ing) 137,221, 228 SFB-626 After Nut L (M6) 96
SFB-563S Hexagon Socket Head Cap Screw M6x20 (Stainless) 137 SFB-628 After Nut L (M8) 96
SFB-564 Hexagon Socket Head Cap Screw M6x30 (Uni-Chrome Plat- ing) 137 SFB-802 T Nut S(M6)B with Loctite 59
SFB-564S Hexagon Socket Head Cap Screw M6x30 (Stainless) 137 SFB-803 ST Nut S(M6)B with Loctite 59
SFB-565 Hexagon Socket Head Cap Screw M6x40 (Uni-Chrome Plat- ing) 137 SFB-804 T Nut L(M8)B with Loctite 98
SFB-565S Hexagon Socket Head Cap Screw M6x40 (Stainless) 137 SFB-805 ST Nut L(M8)B with Loctite 98
SFB-566 Hexagon Socket Head Cap Screw M6x25 (Uni-Chrome Plat- ing) 137,221, 228 SFB-806 Easy Nut S(M6)B w ith Loctite 59
SFB-566S Hexagon Socket Head Cap Screw M6x25 (Stainless) 137 SFB-807 S Easy Nut S(M6)B w ith Loctite 59
SFB-569 Hexagon Socket Head Cap Screw M6x16 (Uni-Chrome Plat- ing) 137 SFB-808 Easy Nut L(M8)B w ith Loctite 98
SFB-569S Hexagon Socket Head Cap Screw M6x16 (Stainless) 137 SFB-809 S Easy Nut L(M8)B with Loctite 98
SFB-56A Hexagon Socket Head Cap Screw M6x22 (Uni-Chrome Plat- ing) 137, 221, 228 SFB-810 After Nut S(M6)B with Loctite 59
SFB-56AS Hexagon Socket Head Cap Screw M6x22 (Stainless) 137 SFB-811 S After Nut S(M6)B with Loctite 59
SFB-56B Hexagon Socket Head Cap Screw M6x14 (Uni-Chrome Plat- ing) 137, 221, 228 SFB-812 After Nut L(M8)B with Loctite 98
SFB-56BS Hexagon Socket Head Cap Screw M6x14 (Stainless) 137 SFB-813 S After Nut L(M8)B w ith Loctite 98
SFB-56C Hexagon Socket Head Cap Screw M6x18 (Uni-Chrome Plat- ing) 137,221, 228 SFB-814 Lock Nut S(M6)B w ith Loctite 59
SFB-56CS Hexagon Socket Head Cap Screw M6x18 (Stainless) 137 SFB-815 S Lock Nut S(M6)B w ith Loctite 59
SFB-56D Hexagon Socket Flat Head Cap Screw M6x20 (Uni-Chrome Plating) 138 SFB-816 Lock Nut L(M8)B w ith Loctite 98
SFB-56DS Hexagon Socket Flat Head Cap Screw M6x20 (Stainless) 138 SFB-817 S Lock Nut L(M8)B with Loctite 98
SFB-56E Hexagon Socket Head Cap Screw M6x8 (Uni-Chrome Plating) 137, 221, 228 SFB-818 S Free Nut S(M6)B w ith Loctite 59
SFB-56ES Hexagon Socket Head Cap Screw M6x8 (Stainless) 137 SFB-819 S Free Nut L(M8)B with Loctite 98
SFB-56G Hexagon Socket Head Cap Screw M6x60 (Uni-Chrome Plat- ing) 137 SFB-820 ST Nut Stopper S(M6)B w ith Loctite 59
SFB-56GS Hexagon Socket Head Cap Screw M6x60 (Stainless) 137 SFB-821 ST Nut Stopper L(M8)B w ith Loctite 98
SFB-56J Hexagon Socket Flat Head Cap Screw M6x8 (Uni-Chrome Plating) 138 SFB-901 Hexagon Nut M12 (Uni-Chrome Plating) 138
SFB-56JS Hexagon Socket Flat Head Cap Screw M6x8 (Stainless) 138 SFB-901S Hexagon Nut M12 (Stainless) 138
SFB-56K Truss Head Screw M6x10 (Uni-Chrome Plating) 138 SFB-902 Plain Washer M6 (Uni-Chrome Plating) 138
SFB-56KS Truss Head Screw M6x10 (Stainless) 138 SFB-902S Plain Washer M6 (Stainless) T=1mm 138
SFB-56L Truss Head Screw M6x12 (Uni-Chrome Plating) 138 SFB-903 Plain Washer M8 (Uni-Chrome Plating) 138
SFB-56LS Truss Head Screw M6x12 (Stainless) 138 SFB-903S Plain Washer M8 (Stainless) 138
SFB-56M Truss Head Screw M6x15 (Uni-Chrome Plating) 138 SFB-904 Plain Washer M3 (Uni-Chrome Plating) 138
SFB-56NS Hexagon Socket Flat Head Cap Screw M6x25 (Stainless) 138 SFB-905 Plain Washer M12 (Uni-Chrome Plating) 138
SFB-56P Hexagon Socket Head Cap Screw M6x35 (Uni-Chrome Plat- ing) 137 SFB-906 Plain Washer M4 (Uni-Chrome Plating) 138
SFB-56PS Hexagon Socket Head Cap Screw M6x35 (Stainless) 137 SFB-907 Plain Washer M16 (Uni-Chrome Plating) 138
SFB-56SS Hexagon Socket Head Cap Screw M6x50 (Stainless) 137 SFB-914 Hexagon Socket Flat Head Cap Screw M6x10 (Uni-Chrome Plating) 138
SFB-56TS Hexagon Socket Head Cap Screw M6x70 (Stainless) 137 SFB-914S Hexagon Socket Flat Head Cap Screw M6x10 (Stainless) 138
SFB-56US Hexagon Socket Head Cap Screw M6x80 (Stainless) 137 SFB-915 Hexagon Socket Flat Head Cap Screw M6x15 (Uni-Chrome Plating) 138
SFB-56VS Hexagon Socket Head Cap Screw M6x130 (Stainless) 137 SFB-915S Hexagon Socket Flat Head Cap Screw M6x15 (Stainless) 138
SFB-571S Cross Recessed Flat Head Screw M6x18 (Stainless) 137 SFB-916 Hexagon Socket Flat Head Cap Screw M6x12 (Uni-Chrome Plating) 138
SFB-574 Hexagon Socket Head Cap Screw M6x45 (Uni-Chrome Plat- ing) 137 SFB-916S Hexagon Socket Flat Head Cap Screw M6x12 (Stainless) 138
SFB-574S Hexagon Socket Head Cap Screw M6x45 (Stainless) 137 SFB-917 Hexagon Socket Flat Head Cap Screw M5x8 (Uni-Chrome Plating) 138
SFB-57C Sun Lock Screw M4x20 232 SFB-917S Hexagon Socket Flat Head Cap Screw M5x8 (Stainless) 138
SFB-580 Hexagon Socket Head Cap Screw M8x12 (Uni-Chrome Plat- ing) 137, 228 SFB-918 Hexagon Socket Flat Head Cap Screw M8x15 (Uni-Chrome Plating) 138
SFB-580S Hexagon Socket Head Cap Screw M8x12 (Stainless) 137 SFB-918S Hexagon Socket Flat Head Cap Screw M8x15 (Stainless) 138
SFB-581 Hexagon Socket Head Cap Screw M8x15 (Uni-Chrome Plat- ing) 137,228 SFB-920 Hexagon Socket Flat Head Cap Screw M10x16 (Uni-Chrome Plating) 138
SFB-581S Hexagon Socket Head Cap Screw M8x15 (Stainless) 137 SFB-920S Hexagon Socket Flat Head Cap Screw M10x16 (Stainless) 138
SFB-582 Hexagon Socket Head Cap Screw M8x20 (Uni-Chrome Plat- ing) 137,228 SFB-924 Truss Head Screw M4x10 (Uni-Chrome Plating) 138
SFB-582S Hexagon Socket Head Cap Screw M8x20 (Stainless) 137 SFB-924S Truss Head Screw M4x10 (Stainless) 138
SFB-583 Hexagon Socket Head Cap Screw M8x25 (Uni-Chrome Plat- ing) 137, 228 SFB-925 Truss Head Screw M4x12 (Uni-Chrome Plating) 138
SFB-583S Hexagon Socket Head Cap Screw M8x25 (Stainless) 137 SFB-926 Hexagon Socket Flat Head Cap Screw M8x12 (Uni-Chrome Plating) 138
SFB-584 Hexagon Socket Head Cap Screw M8x30 (Uni-Chrome Plat- ing) 137 SFB-926S Hexagon Socket Flat Head Cap Screw M8x12 (Stainless) 138
SFB-584S Hexagon Socket Head Cap Screw M8x30 (Stainless) 137 SFB-927 Hexagon Socket Flat Head Cap Screw M5x12 (Uni-Chrome Plating) 138
SFB-588 Hexagon Socket Head Cap Screw M8x40 (Uni-Chrome Plat- ing) 137 SFB-927S Hexagon Socket Flat Head Cap Screw M5x12 (Stainless) 138
SFB-588S Hexagon Socket Head Cap Screw M8x40 (Stainless) 137 SFB-928 Hexagon Socket Flat Head Cap Screw M8x16 (Uni-Chrome Plating) 138
SFB-589 Hexagon Socket Head Cap Screw M8x18 (Uni-Chrome Plat- ing) 137, 228 SFB-928S Hexagon Socket Flat Head Cap Screw M8x16 (Stainless) 138
SFB-589S Hexagon Socket Head Cap Screw M8x18 (Stainless) 137 SFB-929 Hexagon Socket Head Cap Screw M10x20 (Uni-Chrome Plat- ing) 137
SFB-58A Hexagon Socket Head Cap Screw M8x45 (Uni-Chrome Plat- ing) 137 SFB-929S Hexagon Socket Head Cap Screw M10x20 (Stainless) 137
SFB-58AS Hexagon Socket Head Cap Screw M8x45 (Stainless) 137 SFB-930 Hexagon Nut M3 (Uni-Chrome Plating) 138
SFB-58B Hexagon Socket Head Cap Screw M8x60 (Uni-Chrome Plat- ing) 137 SFB-959 Hexagon Nut M8 (Uni-Chrome Plating) 138
SFB-58BS Hexagon Socket Head Cap Screw M8x60 (Stainless) 137 SFB-959S Hexagon Nut M8 (Stainless) 138
SFB-58C Hexagon Socket Head Cap Screw M8x80 (Uni-Chrome Plat- ing) 137 SFB-960 Hexagon Nut M6 (Uni-Chrome Plating) 138
SFB-58CS Hexagon Socket Head Cap Screw M8x80 (Stainless) 137 SFB-960S Hexagon Nut M6 (Stainless) 138
SFB-58DS Hexagon Socket Head Cap Screw M8x22 (Stainless) 137 SFB-961 Hexagon Nut M5 (Uni-Chrome Plating) 138
SFB-58F Hexagon Socket Flat Head Cap Screw M8x20 (Uni-Chrome Plating) 138 SFB-961S Hexagon Nut M5 (Stainless) 138
SFB-58FS Hexagon Socket Flat Head Cap Screw M8x20 (Stainless) 138 SFB-964 Plain Washer M10 (Uni-Chrome Plating) 138
SFB-58JS Hexagon Socket Flat Head Cap Screw M8x25 (Stainless) 138 SFB-965 Spring Washer M10 (Uni-Chrome Plating) 138
SFB-58KS Hexagon Socket Head Cap Screw M8x14 (Stainless) 137 SFB-967S Plain Washer M5 (Stainless) T=0.8mm 138
SFB-58PS Hexagon Socket Head Cap Screw M8x10 (Stainless) 137 SFB-9B5S Hexagon Socket Flat Head Cap Screw M5x18 (Stainless) 138
SFB-58QS Hexagon Socket Head Cap Screw M8x120 (Stainless) 137 SFB-9C6 Hexagon Socket Flat Head Cap Screw M5x40 (Uni-Chrome Plating) 138
SFB-58RS Hexagon Socket Head Cap Screw M8x125 (Stainless) 137 SFB-9C6S Hexagon Socket Flat Head Cap Screw M5x40 (Stainless) 138
SFB-58SS Hexagon Socket Head Cap Screw M8x55 (Stainless) 137 SFB-9C7 Hexagon Socket Flat Head Cap Screw M5x45 (Uni-Chrome Plating) 138
SFB-58TS Hexagon Socket Head Cap Screw M8x70 (Stainless) 137 SFB-9C7S Hexagon Socket Flat Head Cap Screw M5x45 (Stainless) 138
SFB-594S Hexagon Socket Head Cap Screw M10x35 (Stainless) 137 SFB-9D1S Round Head Tapping Screw M4x45(Stainless) 232
SFB-595S Hexagon Socket Head Cap Screw M5x60 (Stainless) 137 SFB-9F1S Hexagon Nut M3 (Stainless) 138
SFB-596S Hexagon Socket Head Cap Screw M10x50 (Stainless) 137 SFB-9F2 Hexagon Nut M4 (Uni-Chrome Plating) 138
SFB-597S Truss Head Screw M5x6 (Stainless) 138 SFB-9F2S Hexagon Nut M4 (Stainless) 138
SFB-598S Truss Head Screw M5x14 (Stainless) 138 SFB-9F6 Hexagon Nut M10 (Uni-Chrome Plating) 138
SFB-5D1S Hexagon Socket Head Cap Screw M4x30 (Stainless) 137 SFB-9F6S Hexagon Nut M10 (Stainless) 138
SFB-5D2S Hexagon Socket Head Cap Screw M4x40 (Stainless) 137 SFB-9H1S Plain Washer M3 (Stainless) 138
SFB-5D3S Cross Recessed Flat Head Screw M3x16 (Stainless) 137 SFB-9H2S Plain Washer M4 (Stainless) 138
SFB-5D4S Hexagon Socket Head Cap Screw M10x110 (Stainless) 137 SFB-9H3S Plain Washer M10 (Stainless) 138
SFB-5D5S Cross Recessed Flat Head Screw M4x15 (Stainless) 137 SFB-9H4S Plain Washer M12 (Stainless) 138
SFB-5D6S Cross Recessed Flat Head Screw M3x20 (Stainless) 137 SFB-9H6S Plain Washer M16 (Stainless) 138
SFB-603 After Nut SS (M3) 27 SFB-9J1S Spring Washer M3 (Stainless) 138
SFB-604 After Nut SS (M4) 27 SFB-9J2S Spring Washer M4 (Stainless) 138
SFB-605 After Nut SS (MS) 27 SFB-9J3S Spring Washer M5 (Stainless) 138
SFB-613 After Nut S (M3) 57 SFB-9J4S Spring Washer M6 (Stainless) 138

253




INDEX

Item No. Name Page Item No. Name Page
SFB-9J5S Spring Washer M10 (Stainless) 138 SFF-3E2-T SF2-30.30.1F (L=4000) 51
SFB-9J6 Spring Washer M12 (Uni-Chrome Plating) 138 SFF-3E4-T SF2-30.30.1F (L=50~4000) 51
SFB-9J6S Spring Washer M12 (Stainless) 138 SFF-3F2-T SF2-30.30.2F (L=4000) 51
SFB-9L6S Hexagon Socket Flat Head Cap Screw M3x10 (Stainless) 138 SFF-3F4-T SF2-30.30.2F (L=50~4000) 51
SFB-9L7S Hexagon Socket Flat Head Cap Screw M4x8 (Stainless) 138 SFF-3G2-T SF2-30.30.3F (L=4000) 51
SFB-9L8S Hexagon Socket Flat Head Cap Screw M4x10 (Stainless) 138 SFF-3G4-T SF2-30.30.3F (L=50~4000) 51
SFB-9L9S Hexagon Socket Flat Head Cap Screw M4x15 (Stainless) 138 SFF-3H2-T SF2-30.30.2H (L=4000) 51
SFB-9M1S Hexagon Socket Flat Head Cap Screw M5x25 (Stainless) 138 SFF-3H4-T SF2-30.30.2H (L=50~4000) 51
SFB-9M2S Hexagon Socket Flat Head Cap Screw M5x30 (Stainless) 138 SFF-402W-T SF-40.40.2S (L=4000) 21
SFB-9M3S Hexagon Socket Flat Head Cap Screw M6x18 (Stainless) 138 SFF-404W SF-40.40.2S (L=50~4000) 181
SFB-9M5S Hexagon Socket Flat Head Cap Screw M6x30 (Stainless) 138 SFF-404W-T SF-40.40.2S (L=50~4000) 21
SFB-9M6S Hexagon Socket Flat Head Cap Screw M8x30 (Stainless) 138 SFF-4082-T SF-40.80.SS (L=4000) 21
SFB-9M7S Hexagon Socket Flat Head Cap Screw M5x50 (Stainless) 138 SFF-4084-T SF-40.80.SS (L=50~4000) 21
SFB-9M8S Hexagon Socket Flat Head Cap Screw M6x35 (Stainless) 138 SFF-4162 SF-40.160 (L=4000) 86
SFB-9M9S Hexagon Socket Flat Head Cap Screw M6x40 (Stainless) 138 SFF-4164 SF-40.160 (L=50~4000) 86
SFB-9NOS Hexagon Socket Flat Head Cap Screw M6x45 (Stainless) 138 SFF-4182 SF-45.180 (L=4000) 93
SFB-9N1S Hexagon Socket Flat Head Cap Screw M8x40 (Stainless) 138 SFF-4184 SF-45.180 (L=50~4000) 93
SFB-9N2S Hexagon Socket Flat Head Cap Screw M8x45 (Stainless) 138 SFF-422-T SF2-40.40 (L=4000) 84
SFB-9N3S Cross Recessed Flat Head Screw M3x5 (Stainless) 137 SFF-424 SF2-40.40 (L=50~4000) 182
SFB-9N4S Cross Recessed Flat Head Screw M3x6 (Stainless) 137 SFF-424-T SF2-40.40 (L=50~4000) 84
SFB-9N6S Cross Recessed Flat Head Screw M4x5 (Stainless) 137 SFF-432-T SF2-40.80 (L=4000) 84
SFB-9N7S Cross Recessed Flat Head Screw M4x20 (Stainless) 137 SFF-434 SF2-40.80 (L=50~4000) 182
SFB-9N8S Cross Recessed Flat Head Screw M4x22 (Stainless) 137 SFF-434-T SF2-40.80 (L=50~4000) 84
SFB-9N9S Cross Recessed Flat Head Screw M4x25 (Stainless) 137 SFF-442-T SF2-45.45 (L=4000) 90
SFB-9P0S Cross Recessed Flat Head Screw M5x10 (Stainless) 137 SFF-444 SF2-45.45 (L=50~4000) 183
SFB-9P1S Cross Recessed Flat Head Screw M5x12 (Stainless) 137 SFF-444-T SF2-45.45 (L=50~4000) 90
SFB-9P2S Cross Recessed Flat Head Screw M5x15 (Stainless) 137 SFF-462 SF-40.60.SS (L=4000) 21
SFB-9P3S Cross Recessed Flat Head Screw M5x16 (Stainless) 137 SFF-464 SF-40.60.SS (L=50~4000) 21
SFB-9P4AS Cross Recessed Flat Head Screw M5x20 (Stainless) 137 SFF-472-T SF2-45.90 (L=4000) 90
SFB-9P5S Cross Recessed Flat Head Screw M5x25 (Stainless) 137 SFF-474 SF2-45.90 (L=50~4000) 183
SFB-9P6S Cross Recessed Flat Head Screw M4x35 (Stainless) 137 SFF-474-T SF2-45.90 (L=50~4000) 90
SFB-9P7S Cross Recessed Flat Head Screw M5x30 (Stainless) 137 SFF-4E82-T SF2-40.80.1F (L=4000) 88
SFB-9P8S Hexagon Socket Flat Head Cap Screw M4x20 (Stainless) 138 SFF-4E84-T SF2-40.80.1F (L=50~4000) 88
SFB-9R7S Hexagon Socket Flat Head Cap Screw M8x55 (Stainless) 138 SFF-4J2-T SF2-45.45.1F (L=4000) 92
SFB-9T4 Spring Washer M3 (Uni-Chrome Plating) 138 SFF-4J4-T SF2-45.45-.1F (L=50~4000) 92
SFB-9T5 Spring Washer M5 (Uni-Chrome Plating) 138 SFF-4K2-T SF2-45.45.2F (L=4000) 92
SFB-9T6 Spring Washer M6 (Uni-Chrome Plating) 138 SFF-4K4-T SF2-45.45.2F (L=50~4000) 92
SFB-9T7 Spring Washer M8 (Uni-Chrome Plating) 138 SFF-502-T SF-50.50.2S (L=4000) 54
SFB-9T8 Plain Washer M5 (Uni-Chrome Plating) 138 SFF-504-T SF-50.50.2S (L=50~4000) 54
SFB-PN13 Easy Nut SS (M3) 26 SFF-512-T SF-50.100.2S (L=4000) 54
SFB-PN14 Easy Nut SS (M4) 26 SFF-514-T SF-50.100.2S (L=50~4000) 54
SFB-PN15 Easy Nut SS (M5) 26 SFF-544 SF2-50.50.1S (L=50~4000) 184
SFB-PN16 Easy Nut S (M3) 56 SFF-5E2-T SF2-30.60.1F (L=4000) 52
SFB-PN17 Easy Nut S (M4) 56 SFF-5E4-T SF2-30.60.1F (L=50~4000) 52
SFB-PN18 Easy Nut S (M5) 56 SFF-602-T SF-60.60.1S (L=4000) 86
SFB-PN19 Easy Nut S (M6) 56 SFF-602W-T SF-60.60.2S (L=4000) 50
SFB-PN20 Easy Nut L (M3) 95 SFF-604-T SF-60.60.1S (L=50~4000) 86
SFB-PN21 Easy Nut L (M4) 95 SFF-604W-T SF-60.60.2S (L=50~4000) 50
SFB-PN22 Easy Nut L (M5) 95 SFF-612 SF-60.120 (L=4000) 50
SFB-PN23 Easy Nut L (M6) 95 SFF-614 SF-60.120 (L=50~4000) 50
SFB-PN24 Easy Nut L (M8) 95 SFF-692 SF-60.90 (L=4000) 50
SFB-PN39 Easy Nut SS (M5) CN 26 SFF-694 SF-60.90 (L=50~4000) 50
SFB-S64 Free Nut S (M6) (Stainless) 57 SFF-6A4 SF2-60.60.2S (L=50~4000) 184
SFB-SD5 Lock Nut SS (M5) (Stainless) 27 SFF-6H2-T SF2-30.60.2H (L=4000) 52
SFB-SH5 After Nut SS (M5) (Stainless) 27 SFF-6H4-T SF2-30.60.2H (L=50~4000) 52
SFB-T20 Tapping Bolt SS 37 SFF-802-T SF-80.80 (L=4000) 85
SFB-T30 Tapping Bolt S 71 SFF-804-T SF-80.80 (L=50~4000) 85
SFB-T40 Tapping Bolt L40 116 SFF-812 SF-80.160 (L=4000) 86
SFE-100 Tapping Screw P (SUS) M4x10 mm.(P8x3/8") 138 SFF-814 SF-80.160 (L=50~4000) 86
SFE-101 Tapping Screw P (SUS) M4x30 mm.(P8x1x1/4") 138 SFF-822-T SF-80.80.1S (L=4000) 86
SFE-102 Tapping Screw P (SUS) M4x40 mm.(P8x1x1/2") 138 SFF-824-T SF-80.80.1S (L=50~4000) 86
SFE-103 Tapping Screw P (SUS) M4x25 mm (P8x1") 138 SFF-902 SF-90.90 (L=4000) 91
SFE-104 Tapping Screw P (SUS) M4x16 mm.(P8x5/8") 138 SFF-904 SF-90.90 (L=50~4000) 91
SFE-105 Tapping Screw P (SUS) M4x35 mm.(P8x1x3/8") 138 SFF-A014 Angle 2020 T=2 (L=50~4000) 129
SFF-202-T SF-20.20 (L=4000) 20 SFF-A024 Angle 2020 T=3 (L=50~4000) 129
SFF-204 SF-20.20 (L=50~4000) 181 SFF-A034 Angle 2040 T=2 (L=50~4000) 129
SFF-204-T SF-20.20 (L=50~4000) 20 SFF-A044 Angle 2040 T=3 (L=50~4000) 129
SFF-242-T SF-20.40 (L=4000) 20 SFF-A054 Angle 3030 T=2 (L=50~4000) 129
SFF-244 SF-20.40 (L=50~4000) 181 SFF-A064 Angle 3030 T=3 (L=50~4000) 129
SFF-244-T SF-20.40 (L=50~4000) 20 SFF-A074 Angle 3030 T=5 (L=50~4000) 129
SFF-252-T SF-25.25 (L=4000) 22 SFF-A084 Angle 4040 T=2 (L=50~4000) 129
SFF-254-T SF-25.25 (L=50~4000) 22 SFF-A094 Angle 4040 T=3 (L=50~4000) 129
SFF-262-T SF-20.60 (L=4000) 21 SFF-A104 Angle 4040 T=5 (L=50~4000) 129
SFF-264-T SF-20.60 (L=50~4000) 21 SFF-A114 Channel 1515 T=2 (L=50~4000) 130
SFF-282-T SF-20.80 (L=4000) 21 SFF-A124 Channel 1530 T=2 (L=50~4000) 130
SFF-284-T SF-20.80 (L=50~4000) 21 SFF-A134 Channnel 2020 T=2 (L=50~4000) 130
SFF-312 SF-30.120 (L=4000) 49 SFF-Al4 Flat Bar 30 T=10 (L=50~4000) 128
SFF-314 SF-30.120 (L=50~4000) 49 SFF-A154 Flat Bar 15 T=2 (L=50~4000) 128
SFF-322-T SF2-30.30 (L=4000) 48 SFF-A164 Flat Bar 15 T=3 (L=50~4000) 128
SFF-324 SF2-30.30 (L=50~4000) 171,181 SFF-A174 Flat Bar 20 T=2 (L=50~4000) 128
SFF-324-T SF2-30.30 (L=50~4000) 48 SFF-A184 Flat Bar 20 T=3 (L=50~4000) 128
SFF-332-T SF2-30.60 (L=4000) 48 SFF-A194 Flat Bar 20 T=5 (L=50~4000) 128
SFF-334 SF2-30.60 (L=50~4000) 181 SFF-A204 Flat Bar 30 T=2 (L=50~4000) 128
SFF-334-T SF2-30.60 (L=50~4000) 48 SFF-A214 Flat Bar 30 T=3 (L=50~4000) 128
SFF-392-T SF-30.90 (L=4000) 49 SFF-A224 Flat Bar 30 T=5 (L=50~4000) 128
SFF-394-T SF-30.90 (L=50~4000) 49 SFF-A234 Flat Bar 40 T=3 (L=50~4000) 128
SFF-3A2 SF-35.35 (L=4000) 55 SFF-A244 Flat Bar 40 T=5 (L=50~4000) 128
SFF-3A4 SF-35.35 (L=50~4000) 55 SFF-A334 Angle 2550 T=3 (L=50~4000) 129
SFF-3B2 SF-35.70 (L=4000) 55 SFF-A344 Angle 5050 T=3 (L=50~4000) 129
SFF-3B4 SF-35.70 (L=50~4000) 55 SFF-A384 Flat Bar 50 T=3 (L=50~4000) 128

254




Item No. Name Page Item No. Name Page
SFF-A394 Flat Bar 50 T=5 (L=50~4000) 128 SFF-R04-T Sliding Door Rail (2 Row s) 162
SFF-A404 Flat Bar 70 T=5 (L=50~4000) 128 SFF-R12-T Sliding Door Rail (L=4000) (3 Row s) 162
SFF-A414 Flat Bar 100 T=5 (L=50~4000) 128 SFF-R14-T Sliding Door Rail (3 Row s) 162
SFF-A424 Angle 1515 T=1.5 (L=50~4000) 129 SFF-R52 SF-20.20.R (L=4000) 23
SFF-A434 Angle 1520 T=2 (L=50~4000) 129 SFF-R54 SF-20.20.R (L=50~4000) 23
SFF-A444 Angle 2020 T=1.5 (L=50~4000) 129 SFF-R62 SF-30.30.R (L=4000) 52
SFF-A454 Angle 5050 T=4 (L=50~4000) 129 SFF-R64 SF-30.30.R (L=50~4000) 52
SFF-A464 Angle 5050 T=5 (L=50~4000) 129 SFF-R72 SF-40.40.R (L=4000) 88
SFF-A514 Angle 7575 T=6 (L=50~4000) 129 SFF-R74 SF-40.40.R (L=50~4000) 88
SFF-A524 Angle 100100 T=6 (L=50~4000) 129 SFF-R82 SF-45.45.R (L=4000) 92
SFF-A534 Angle 150150 T=6 (L=50~4000) 129 SFF-R84 SF-45.45 R (L=50~4000) 92
SFF-A574 Angle 6060 T=5 (L=50~4000) 129 SFF-T02 Pull Rail (L=2000) 145
SFF-AC4 Flat Bar 40 T=10 (L=50~4000) 128 SFF-T04 Pull Rail (L=50~2000) 145
SFF-AM4 Angle 7575 T=5 (L=50~4000) 129 SFF-TO5 Pull Rail (L=4000) 145
SFF-AU4 Angle 2020 T=5 (L=50~4000) 129 SFF-T62 Panel Frame SS (L=4000) 158
SFF-AY4 Flat Bar 75 T=5 (L=50~4000) 128 SFF-T64 Panel Frame SS (L=50~4000) 158
SFF-B02-T SF-K.45.45 (L=4000) 91 SFJ-007 Angle Bracket L45 108
SFF-B04-T SF-K.45.45 (L=50~4000) 91 SFJ-013 D Bracket L 99
SFF-B12-T SF-K.30.30 (L=4000) 49 SFJ-013N D Bracket L-CN 99
SFF-B14-T SF-K.30.30 (L=50~4000) 49 SFJ-014 D Bracket L With Tap 99
SFF-B22-T SF-K.30.60 (L=4000) 49 SFJ-014N D Bracket L-CN With Tap 99
SFF-B24-T SF-K.30.60 (L=50~4000) 49 SFJ-016 D Bracket SS 28
SFF-B492-T SF-K.45.90 (L=4000) 91 SFJ-016N D Bracket SS-CN 28
SFF-B494-T SF-K.45.90 (L=50~4000) 91 SFJ-017 D Bracket SS With Tap 28
SFF-C02-T SF-K.40.40 (L=4000) 85 SFJ-017N D Bracket SS-CN With Tap 28
SFF-C04-T SF-K.40.40 (L=50~4000) 85 SFJ-018 D Bracket S 60
SFF-CA82-T SF-K.40.80 (L=4000) 85 SFJ-018N D Bracket S-CN 60
SFF-CA84-T SF-K.40.80 (L=50~4000) 85 SFJ-019 D Bracket S With Tap 60
SFF-D02 Sliding Door Frame (L=4000) 164 SFJ-019N D Bracket S-CN With Tap 60
SFF-D04 Sliding Door Frame (L=50~4000) 164 SFJ-020 D Bracket 2040 29
SFF-E12-T SF2-40.40.1F (L=4000) 87 SFJ-020N D Bracket 2040-CN 29
SFF-E14-T SF2-40.40.1F (L=50~4000) 87 SFJ-020T D Bracket 2040 With Tap (Stainless) 29
SFF-E22-T SF-20.20.1F (L=4000) 22 SFJ-021 D Bracket 3060 61
SFF-E242-T SF-20.40.1F (L=4000) 23 SFJ-021N D Bracket 3060-CN 61
SFF-E244-T SF-20.40.1F (L=50~4000) 23 SFJ-021T D Bracket 3060 With Tap 61
SFF-E24-T SF-20.20.1F (L=50~4000) 22 SFJ-022 D Bracket 4080 100
SFF-EF2-T SF2-45.90.1F (L=4000) 92 SFJ-022N D Bracket 4080-CN 100
SFF-EF4-T SF2-45.90.1F (L=50~4000) 92 SFJ-022T D Braclet 4080 With Tap 100
SFF-F12-T SF2-40.40.2F (L=4000) 87 SFJ-023 D Bracket 4590 100
SFF-F14-T SF2-40.40.2F (L=50~4000) 87 SFJ-023T D Bracket 4590 With Tap 100
SFF-F22-T SF-20.20.2F (L=4000) 22 SFJ-024 D Bracket SW 62
SFF-F24-T SF-20.20.2F (L=50~4000) 22 SFJ-024T D Bracket SW with Tap 62
SFF-FF12-T SF2-40.40.3F (L=4000) 87 SFJ-025 D Bracket LW 100
SFF-FF14-T SF2-40.40.3F (L=50~4000) 87 SFJ-025T D Bracket LW with Tap 100
SFF-FF22-T SF-20.20.3F (L=4000) 23 SFJ-026 D Bracket LWHG 101
SFF-FF24-T SF-20.20.3F (L=50~4000) 23 SFJ-035 D Bracket Flat SS-A 28
SFF-FH12-T SF2-40.40.2H (L=4000) 87 SFJ-036 D Bracket Flat SS-A with Tap 28
SFF-FH14-T SF2.40.40.2H (L=50~4000) 87 SFJ-037 D Bracket Flat SS-B 28
SFF-FH22-T SF-20.20.2H (L=4000) 23 SFJ-038 D Bracket Flat SS-B with Tap 28
SFF-FH24-T SF-20.20.2H (L=50~4000) 23 SFJ-039 D Bracket Flat S 60
SFF-G02 SF-20.40.40 (L=4000) 24 SFJ-040 D Bracket Flat S with Tap 60
SFF-G04 SF-20.40.40 (L=50~4000) 24 SFJ-041 D Bracket Flat L 99
SFF-G12 SF-30.60.60 (L=4000) 52 SFJ-042 D Bracket Flat L with Tap 99
SFF-G14 SF-30.60.60 (L=50~4000) 52 SFJ-043 D Bracket Cross SS 29
SFF-G22 SF-40.80.80 (L=4000) 88 SFJ-045 D Bracket Cross S 61
SFF-G24 SF-40.80.80 (L=50~4000) 88 SFJ-047 D Bracket Cross L 100
SFF-G32 SF-45.90.90 (L=4000) 93 SFJ-101S L Bracket S (Stainless) 73
SFF-G34 SF-45.90.90 (L=50~4000) 93 SFJ-102S L Bracket L (Stainless) 109
SFF-H82 SF-80.80.H (L=4000) 85 SFJ-103 Plate Bracket Type S-T Type 72
SFF-H84 SF-80.80.H (L=50~4000) 85 SFJ-103S Plate Bracket S-T Type (Stainless) 72
SFF-J52A SF-20.DE30 (L=4000) 24 SFJ-104 Plate Bracket Type S-L Type 72
SFF-J52B SF-20.DE45 (L=4000) 24 SFJ-104S Plate Bracket S-L Type (Stainless) 72
SFF-J52C SF-20.DEGO (L=4000) 25 SFJ-105 Plate Bracket Type S-+ Type 72
SFF-J54A SF-20.DE30 (L=50~4000) 24 SFJ-105S Plate Bracket S-+ Type (Stainless) 72
SFF-J54B SF-20.DE45 (L=50~4000) 24 SFJ-106 Plate Bracket Type L-L Type 117
SFF-J54C SF-20.DE60 (L=50~4000) 25 SFJ-106S Plate Bracket L-L Type (Stainless) 117
SFF-J62A SF-30.DE30 (L=4000) 53 SFJ-107 Plate Bracket Type L-T Type 117
SFF-J62B SF-30.DE45 (L=4000) 53 SFJ-107S Plate Bracket L-T Type (Stainless) 117
SFF-J62C SF-30.DE60 (L=4000) 54 SFJ-108 Plate Bracket Type L-+ Type 117
SFF-J64A SF-30.DE30 (L=50~4000) 53 SFJ-109S Plate Bracket SS-L Type (Stainless) 38
SFF-J64B SF-30.DE45 (L=50~4000) 53 SFJ-110S Plate Bracket SS-T Type (Stainless) 38
SFF-J64C SF-30.DE60 (L=50~4000) 54 SFJ-121S Plate Bracket SSG 38
SFF-J72A SF-40.DE30 (L=4000) 89 SFJ-122S Plate Bracket SG 72
SFF-J72B SF-40.DE45 (L=4000) 89 SFJ-123S Plate Bracket LG 117
SFF-J72C SF-40.DE60 (L=4000) 89 SFJ-124S Plate Bracket SS-H2 38
SFF-J74A SF-40.DE30 (L=50~4000) 89 SFJ-125S Plate Bracket S-H2 72
SFF-J74B SF-40.DE45 (L=50~4000) 89 SFJ-126S Plate Bracket L40-H2 118
SFF-J74C SF-40.DE60 (L=50~4000) 89 SFJ-127S Plate Bracket L45-H2 118
SFF-J82A SF-45.DE30 (L=4000) 94 SFJ-128S Plate Bracket SS-H4 38
SFF-J82B SF-45.DE45 (L=4000) 94 SFJ-129S Plate Bracket S-H4 72
SFF-J82C SF-45.DE60 (L=4000) 94 SFJ-131S Plate Bracket L40-H4 118
SFF-J84A SF-45.DE30 (L=50~4000) 94 SFJ-132S Plate Bracket L45-H4 118
SFF-J84B SF-45.DE45 (L=50~4000) 94 SFJ-133S Corner Support Bracket L 118
SFF-J84C SF-45.DE60 (L=50~4000) 94 SFJ-134S Corner Support Bracket S 72
SFF-K32 Panel Guard T3 (L=3000) 160 SFJ-135S Corner Support Bracket SS 38
SFF-K34 Panel Guard T3 (L=50~3000) 160 SFJ-136S Corner Support Plate SS 38
SFF-K52 Panel Guard T5 (L=3000) 160 SFJ-137S Corner Support Plate S 72
SFF-K54 Panel Guard T5 (L=50~3000) 160 SFJ-138S Corner Support Plate L 118
SFF-R02-T Sliding Door Rail (L=4000) (2 Row's) 162 SFJ-250S Double Round Nut S30 58
SFF-R04 Sliding Door Rail (L=50~4000) (2 Row s) 171 SFJ-251S Double Round Nut L40 97

255




INDEX

Item No. Name Page Item No. Name Page
SFJ-252S Double Round Nut L45 97 SFJ-N26 Hard Bracket SG 62
SFJ-311A Double Joint 30 (Body) (Stainless) 58 SFJ-N26T Hard Bracket SG With Tap 62
SFJ-317A Double Joint 40 (Stainless) 97 SFJ-N27 Hard Bracket SG 3060 64
SFJ-318A Double Joint 45 (Stainless) 97 SFJ-N27T Hard Bracket SG 3060 With Tap 64
SFJ-400S D Bracket Spacer SS 28 SFJ-N28 Hard Bracket SG 3090 65
SFJ-401S D Bracket Spacer S 60 SFJ-N29 Hard Bracket LG 101
SFJ-402S D Bracket Spacer L 99 SFJ-N29T Hard Bracket LG With Tap 101
SFJ-605 Joint Bar SS 120 27 SFJ-N31 Hard Bracket SS* DE135 39
SFJ-606 Joint Bar S 140 58 SFJ-N31T Hard Bracket SS* DE135 With Tap Kit 39
SFJ-607 Joint Bar L200 97 SFJ-N32 Hard Bracket SS- DEA5 39
SFJ-70S Anchor Bracket (Stainless) 78,121 SFJ-N32T Hard Bracket SS- DE45 With Tap 39
SFJ-7A2 Caster Plate S (Body) 78 SFJ-N33 Hard Bracket S+ DE135 73
SFJ-7A2S Caster Plate S (Stainless) (Body) 78 SFJ-N33T Hard Bracket S* DE135 With Tap 73
SFJ-7A3 Caster Plate L (Body) 113 SFJ-N34 Hard Bracket S* DE45 73
SFJ-7A3S Caster Plate L (Stainless) (Body) 113 SFJ-N34T Hard Bracket S+ DE45 With Tap 73
SFJ-A01 Angle Bracket SS 34 SFJ-N35 Hard Bracket L-DE135 110
SFJ-A02 Angle Bracket SS 2040 34 SFJ-N35T Hard Bracket L-DE135 With Tap 110
SFJ-A03 Angle Bracket S 66 SFJ-N36 Hard Bracket L - DE45 110
SFJ-A04 Angle Bracket S 3060 66 SFJ-N36T Hard Bracket L - DE45 With Tap 110
SFJ-A05 Angle Bracket L40 107 SFJ-N37 Hard Bracket SS2040 DEA5 39
SFJ-A06 Angle Bracket L4080 107 SFJ-N38 Hard Bracket SS2040- DE135 39
SFJ-A08 Angle Bracket L4590 108 SFJ-N39 Hard Bracket S3060- DE45 73
SFJ-A09 Angle Bracket SS 2060 34 SFJ-N39T Hard Bracket S3060 - DE45 With Tap 73
SFJ-A10 Angle Bracket S 3090 67 SFJ-N40 Hard Bracket S3060- DE135 73
SFJ-A1l Angle Bracket S50 67 SFJ-N41 Hard Bracket L4080 DE45 110
SFJ-A13 D Bracket S3060 61 SFJ-N42 Hard Bracket L4080 DE135 110
SFJ-A13T D Bracket S3060 With Tap 61 SFJ-N43 Hard Bracket L4590 DE45 110
SFJ-Al4 Angle Bracket Hard SS 34 SFJ-N44 Hard Bracket L 4590+ DE135 110
SFJ-A15 Angle Bracket Hard S 66 SFJ-N45 Hard Bracket S50 65
SFJ-A16 Angle Bracket Hard L40 107 SFJ-N45T Hard Bracket S50 With Tap 65
SFJ-A17 Angle Bracket Hard L45 108 SFJ-N47 Hard Bracket SG50 65
SFJ-A21 Offset Bracket S3060 67 SFJ-N47T Hard Bracket SG50 With Tap 65
SFJ-A22 Offset Bracket L4080 109 SFJ-N48 Hard Bracket G80160 103
SFJ-A23 Offset Bracket L4590 109 SFJ-N49 Hard Bracket G90180 105
SFJ-J01 Truss Joint SS 39 SFJ-N58 Hard Bracket with Stopper SS 31
SFJ-J02 Truss Joint S 74 SFJ-N58T Hard Bracket with Stopper SS with Tap 31
SFJ-J03 Truss Joint L40 111 SFJ-N59 Hard Bracket with Stopper SSG 31
SFJ-J04 Truss Joint L45 111 SFJ-N59T Hard Bracket with Stopper SSG with Tap 31
SFJ-K01 Cover Support SS 45 SFJ-N61 Hard Bracket with Stopper S 63
SFJ-K02 Cover Support S 81 SFJ-N61T Hard Bracket with Stopper S with Tap 63
SFJ-K04 Cover Support L6 125 SFJ-N62 Hard Bracket with Stopper SG 63
SFJ-K11 Cover Support SS Flat 45 SFJ-N62T Hard Bracket with Stopper SG w ith Tap 63
SFJ-K14 Cover Support L6 Flat 125 SFJ-N64 Hard Bracket with Stopper L 102
SFJ-NO1 Hard Bracket SS 30 SFJ-N64T Hard Bracket with Stopper L with Tap 102
SFJ-NO1T Hard Bracket SS With Tap 30 SFJ-N65 Hard Bracket with Stopper LG 102
SFJ-N02 Hard Bracket SS 2040 32 SFJ-N65T Hard Bracket with Stopper LG with Tap 102
SFJ-N02T Hard Bracket SS 2040 With Tap 32 SFJ-vVo1 Bend Bracket S 75
SFJ-NO3 Hard Bracket S 62 SFJ-V02 Bend Bracket L40 113
SFJ-NO3T Hard Bracket S With Tap 62 SFK-007 Angle Bracket L45 Kit 108
SFJ-N04 Hard Bracket S 3060 64 SFK-007S Angle Bracket L45 (Stainless) Kit 108
SFJ-NOAT Hard Bracket S 3060 With Tap 64 SFK-013 D Bracket L Kit 99
SFJ-NO5 Hard Bracket L 101 SFK-013N D Bracket L-CN Kit 99
SFJ-NOST Hard Bracket L With Tap 101 SFK-013S D Bracket L Kit (Stainless) 99
SFJ-N06 Hard Bracket L 4080 103 SFK-014 D Bracket L With Tap Kit 99
SFJ-NO6T Hard Bracket L 4080 With Tap 103 SFK-014N D Bracket L-CN With Tap Kit 99
SFJ-NO7 Hard Bracket G80 103 SFK-014S D Bracket L With Tap Kit (Stainless) 99
SFJ-NO7T Hard Bracket G80 With Tap 103 SFK-016 D Bracket SS Kit 28
SFJ-N0O8 Hard Bracket L 4590 105 SFK-016N D Bracket SS-CN Kit 28
SFJ-NO8T Hard Bracket L 4590 With Tap 105 SFK-016S D Bracket SS Kit (Stainless) 28
SFJ-N09 Hard Bracket SS 2060 33 SFK-017 D Bracket SS With Tap Kit 28
SFJ-NO9T Hard Bracket SS 2060 With Tap 33 SFK-017N D Bracket SS-CN With Tap Kit 28
SFJ-N10 Hard Bracket S 3090 65 SFK-017S D Bracket SS With Tap Kit (Stainless) 28
SFJ-N10T Hard Bracket S 3090 With Tap 65 SFK-018 D Bracket S Kit 60, 171
SFJ-N11 Hard Bracket SW 3030 63 SFK-018N D Bracket S-CN Kit 60
SFJ-N11T Hard Bracket SW 3030 With Tap 63 SFK-019 D Bracket S With Tap Kit 60, 171
SFJ-N12 Hard Bracket SW 3060 64 SFK-019N D Bracket S-CN With Tap Kit 60
SFJ-N12T Hard Bracket SW 3060 With Tap 64 SFK-019S D Bracket S With Tap Kit (Stainless) 60
SFJ-N13 Hard Bracket SW3090 65 SFK-020 D Bracket 2040 Kit 29
SFJ-N14 Hard Bracket SSW2020 30 SFK-020C D Bracket 2040-CN With Tap Kit (Stainless) 29
SFJ-N14T Hard Bracket SSW2020 With Tap 30 SFK-020N D Bracket 2040-CN Kit (Stainless) 29
SFJ-N15 Hard Bracket SSW2040 32 SFK-020P D Bracket 2040 With Tap Kit (Stainless) 29
SFJ-N15T Hard Bracket SSW2040 With Tap 32 SFK-020T D Bracket 2040 With Tap Kit 29
SFJ-N16 Hard Bracket SSW 2060 33 SFK-021 D Bracket 3060 Kit 61
SFJ-N17 Hard Bracket GW80 104 SFK-021IN D Bracket 3060-CN Kit 61
SFJ-N17T Hard Bracket GW80 With Tap 104 SFK-021P D Bracket 3060 With Tap Kit (Stainless) 61
SFJ-N18 Hard Bracket G90 105 SFK-021S D Bracket 3060 Kit (Stainless) 61
SFJ-N18T Hard Bracket G90 With Tap 105 SFK-021T D Bracket 3060 With Tap Kit 61
SFJ-N19 Hard Bracket LW 102 SFK-022 D Bracket 4080 Kit 100
SFJ-N19T Hard Bracket LW With Tap 102 SFK-022N D Bracket 4080-CN Kit 100
SFJ-N20 Hard Bracket LW4080 104 SFK-022P D Bracket 4080 With Tap Kit (Stainless) 100
SFJ-N20T Hard Bracket LW4080 With Tap 104 SFK-022S D Bracket 4080 Kit (Stainless) 100
SFJ-N21 Hard Bracket LW4590 106 SFK-022T D Bracket 4080 With Tap Kit 100
SFJ-N21T Hard Bracket LW4590 With Tap 106 SFK-023 D Bracket 4590 Kit 100
SFJ-N22 Hard Bracket GW90 106 SFK-023P D Bracket 4590 With Tap Kit (Stainless) 100
SFJ-N23 Hard Bracket SSG 30 SFK-023S D Bracket 4590 Kit (Stainless) 100
SFJ-N23T Hard Bracket SSG With Tap 30 SFK-023T D Bracket 4590 With Tap Kit 100
SFJ-N24 Hard Bracket SSG 2040 32 SFK-024 D Bracket SW Kit 62
SFJ-N24T Hard Bracket SSG 2040 With Tap 32 SFK-024P D Bracket SW with Tap Kit (Stainless) 62
SFJ-N25 Hard Bracket SSG 2060 33 SFK-024S D Bracket SW Kit (Stainless) 62
SFJ-N25T Hard Bracket SSG 2060 With Tap 33 SFK-024T D Bracket SW with Tap Kit 62

256




Item No. Name Page Item No. Name Page
SFK-025P D Bracket LW with Tap Kit (Stainless) 100 SFK-26L Free Hinge 4020-L Kit 142
SFK-025S D Bracket LW Kit (Stainless) 100 SFK-26LS Free Hinge 4020-L (Stainless) Kit 142
SFK-025T D Bracket LW with Tap Kit 100 SFK-26R Free Hinge 4020-R Kit 142
SFK-026 D Bracket LWHG Kit 101 SFK-26RS Free Hinge 4020-R (Stainless) Kit 142
SFK-026S D Bracket LWHG Kit (Stainless) 101 SFK-27L Free Hinge 4520-L Kit 142
SFK-02LG AZ Frame Cap Lock Type 4040 (Light Gray) 227,236 SFK-27LS Free Hinge 4520-L (Stainless) Kit 142
SFK-035 D Bracket Flat SS-A Kit 28 SFK-27R Free Hinge 4520-R Kit 142
SFK-035S D Bracket Flat SS-A Kit (Stainless) 28 SFK-27RS Free Hinge 4520-R(Stainless) Kit 142
SFK-036 D Bracket Flat SS-A w ith Tap Kit 28 SFK-28L Free Hinge 4030-L Kt 142
SFK-036S D Bracket Flat SS-A w ith Tap Kit (Stainless) 28 SFK-28LS Free Hinge 4030-L (Stainless) Kit 142
SFK-037 D Bracket Flat SS-B Kit 28 SFK-28R Free Hinge 4030-R Kit 142
SFK-037S D Bracket Flat SS-B Kit (Stainless) 28 SFK-28RS Free Hinge 4030-R (Stainless) Kit 142
SFK-038 D Bracket Flat SS-B w ith Tap Kit 28 SFK-29L Free Hinge 4530-L Kit 142
SFK-038S D Bracket Flat SS-B with Tap Kit (Stainless) 28 SFK-29LS Free Hinge 4530-L (Stainless) Kit 142
SFK-039 D Bracket Flat S Kit 60 SFK-29R Free Hinge 4530-R Klt 142
SFK-039S D Bracket Flat S Kit (Stainless) 60 SFK-29RS Free Hinge 4530-R (Stainless) Kit 142
SFK-040 D Bracket Flat S with Tap Kit 60 SFK-2A1 Flat Hinge SS Kit 140
SFK-040S D Bracket Flat S with Tap Kit (Stainless) 60 SFK-2A1S Flat Hinge SS (Stainless) Kit 140
SFK-041 D Bracket Flat L Kit 99 SFK-2A2 Flat Hinge S Kit 140, 220, 234
SFK-041S D Bracket Flat L Kit (Stainless) 99 SFK-2A2S Flat Hinge S (Stainless) Kit 140
SFK-042 D Bracket Flat L with Tap Kit 99 SFK-2A3 Flat Hinge L40 (M6) Kit 140, 227, 234
SFK-042S D Bracket Flat L with Tap Kit (Stainless) 99 SFK-2A3S Flat Hinge L40 (M6) (Stainless) Kit 140
SFK-043 D Bracket Cross SS Kit 29 SFK-2A4 Flat Hinge L45 (M6) Kit 140
SFK-043S D Bracket Cross SS Kit (Stainless) 29 SFK-2A4S Flat Hinge L45 (M6) (Stainless) Kit 140
SFK-045 D Bracket Cross S Kit 61 SFK-2A5 Flat HingeL40-S Kit 140
SFK-045S D Bracket Cross S Kit (Stainless) 61 SFK-2A5S Flat Hinge L40-S (Stainless) Kit 140
SFK-04L Frame Cap Lock Type 3060 (Black) 80 SFK-2A6 Flat Hinge L45-S Kit 140
SFK-04LG Frame Cap Lock Type 3060 (Light Gray) 80 SFK-2A6S Flat Hinge L45-S (Stainless) Kit 140
SFK-052 D Bracket Cross L Kit 100 SFK-2D1P Slip-Joint Hinge 3020-R Kit (Acrylic Paint) 141
SFK-052S D Bracket Cross L Kit (Stainless) 100 SFK-2D1S Slip-Joint Hinge 3020-R Kit (E-Less Nickel Coat) 141
SFK-05LB Frame Cap Lock Type N3030 (Black) 80 SFK-2D2P Slip-Joint Hinge 3020-L Kit (Acrylic Paint) 141
SFK-05L.G Frame Cap Lock Type N3030 (Light Gray) 80 SFK-2D2S Slip-Joint Hinge 3020-L Kit (E-Less Nickel Coat) 141
SFK-06LB Frame Cap Lock Type N4040 (Black) 123 SFK-2D3S Slip-Joint Hinge 4020-R Kit (E-Less Nickel Coat) 141
SFK-06LG Frame Cap Lock Type N4040 (Light Gray) 123 SFK-2D4S Slip-Joint Hinge 4020-L Kit (E-Less Nickel Coat) 141
SFK-07LB Frame Cap Lock Type N4545 (Black) 123 SFK-2D5S Slip-Joint Hinge 4520-R Kit (E-Less Nickel Coat) 141
SFK-07LG Frame Cap Lock Type N4545 (Light Gray) 123 SFK-2D6S Slip-Joint Hinge 4520-L Kit (E-Less Nickel Coat) 141
SFK-101S L Bracket S Kit (Stainless) 73 SFK-2E1S Slip-Joint Hinge 4030-R Kit (E-Less Nickel Coat) 141
SFK-102S L Bracket L Kit (Stainless) 109 SFK-2E2P Slip-Joint Hinge 4030-L Kit (Acrylic Paint) 141
SFK-103 Plate Bracket Type S-T Type Kit 72 SFK-2E2S Slip-Joint Hinge 4030-L Kit (E-Less Nickel Coat) 141
SFK-103S Plate Bracket S-T Type Kit (Stainless) 72 SFK-2N1P Slip-Joint Hinge SS-R Kit (Acrylic Paint) 141
SFK-104 Plate Bracket Type S-L Type Kit 72,171 SFK-2N1S Slip-Joint Hinge SS-R Kit (E-Less Nickel Coat) 141
SFK-104S Plate Bracket S-L Type Kit (Stainless) 72 SFK-2N2P Slip-Joint Hinge SS-L Kit (Acrylic Paint) 141
SFK-105 Plate Bracket Type S-+ Type Kit 72 SFK-2N2S Slip-Joint Hinge SS-L Kit (E-Less Nickel Coat) 141
SFK-105S Plate Bracket S-+ Type Kit (Stainless) 72 SFK-2N3P Slip-Joint Hinge S-R Kit (Acrylic Paint) 141
SFK-106 Plate Bracket Type L-L Type Kit 117 SFK-2N3S Slip-Joint Hinge S-R Kit (E-Less Nickel Coat) 141
SFK-106S Plate Bracket L-L Type Kit (Stainless) 117 SFK-2N4P Slip-Joint Hinge S-L Kit (Acrylic Paint) 141
SFK-107 Plate Bracket Type L-T Type Kit 117 SFK-2N4S Slip-Joint Hinge S-L Kit (E-Less Nickel Coat) 141
SFK-107S Plate Bracket L-T Type Kit (Stainless) 117 SFK-2N5P Slip-Joint Hinge L40-R Kit (Acrylic Paint) 141
SFK-108 Plate Bracket Type L-+ Type Kit 117 SFK-2N5S Slip-Joint Hinge L40-R Kit (E-Less Nickel Coat) 141
SFK-108S Plate Bracket L-+Type Kit (Stainless) 117 SFK-2N6P Slip-Joint Hinge L40-L Kit (Acrylic Paint) 141
SFK-109S Plate Bracket SS-L Type Kit (Stainless) 38 SFK-2N6S Slip-Joint Hinge L40-L Kit (E-Less Nickel Coat) 141
SFK-110S Plate Bracket SS-T Type Kit (Stainless) 38 SFK-2N7P Slip-Joint Hinge L45-R Kit (Acrylic Paint) 141
SFK-121S Plate Bracket SSG Kit 38 SFK-2N7S Slip-Joint Hinge L45-R Kit (E-Less Nickel Coat) 141
SFK-122S Plate Bracket SG Kit 72 SFK-2N8P Slip-Joint Hinge L45-L Kit (Acrylic Paint) 141
SFK-123S Plate Bracket LG Kit 117 SFK-2N8S Slip-Joint Hinge L45-L Kit (E-Less Nickel Coat) 141
SFK-124S Plate Bracket SS-H2 Kit 38 SFK-307 TG Joint Kit 80 115
SFK-125S Plate Bracket S-H2 Kit 72,220 SFK-311A Double Joint 30 Kit 69
SFK-126S Plate Bracket L40-H2 Kit 118, 227 SFK-317A Double Joint 40 Kit 115
SFK-127S Plate Bracket L45-H2 Kit 118 SFK-318A Double Joint 45 Kit 115
SFK-128S Plate Bracket SS-H4 Kit 38 SFK-320A Double Joint 60 Kit 115
SFK-129S Plate Bracket S-H4 Kit 72 SFK-321A Double Joint 80 Kit 115
SFK-130 Panel Joint Kit 164 SFK-41A Turn Bracket 30 A 74
SFK-131S Plate Bracket L40-H4 Kit 118 SFK-41B Turn Bracket 30 B 74
SFK-132S8 Plate Bracket L45-H4 Kit 118 SFK-42A Turn Bracket 40 A 111
SFK-133S Corner Support Bracket L Kit 118 SFK-42B Turn Bracket 40 B 111
SFK-134S Corner Support Bracket S Kit 72 SFK-43A Turn Bracket 45 A 112
SFK-135S Corner Support Bracket SS Kit 38 SFK-43B Turn Bracket 45 B 112
SFK-136S Corner Support Plate SS Kit 38 SFK-44A Turn Bracket 20A 40
SFK-137S Corner Support Plate S Kit 72 SFK-4AA MG Bracket SS Kit 146, 147
SFK-138S Corner Support Plate L Kit 118 SFK-4AB MG Bracket S Kit 146, 147
SFK-206 TG Joint Kit 30 69 SFK-4AC MG Bracket L Kit 146
SFK-207 TG Joint Kit 4045 115 SFK-4AD MG20P Bracket Kit 148
SFK-208 TG Joint Kit 60 115 SFK-4AE MG Bracket L-S Kit 146, 147
SFK-21L Free Hinge SS-L Kit 142 SFK-4AF MG Bracket S Kit For Folding Door 166
SFK-21LS Free Hinge SS-L (Stainless) Kit 142 SFK-4AG MG Bracket L-S Kit For Folding Door 166
SFK-21R Free Hinge SS-RKit 142 SFK-4AH MG Bracket S-S Kit 146, 147, 222, 235
SFK-21RS Free Hinge SS-R (Stainless) Kit 142 SFK-4AJ MG Bracket S-SS Kit For Folding Door 166
SFK-221 Fixed Hinge S Kit 171 SFK-4AK MG Bracket L8090 Kit 146
SFK-22L Free HingeS-L Kit 142 SFK-4AL MG Bracket L8090 S Kit 147
SFK-22LS Free Hinge S-L (Stainless) Kit 142 SFK-4AM MG Bracket L-L40 Kit 147, 229, 235
SFK-22R Free Hinge S-R Kit 142 SFK-4AN MG Bracket S60-S Kit 147
SFK-22RS Free Hinge S-R (Stainless) Kit 142 SFK-4BA BW Bracket SS Kit 154
SFK-23L Free Hinge L40(M6)-L Kit 142 SFK-4BC BW Bracket L40 Kit 154
SFK-23LS Free Hinge L40(M6)-L (Stainless) Kit 142 SFK-4CA ML Bracket SS Kit 150
SFK-23R Free Hinge L40(M6)-R Kit 142 SFK-4CB ML Bracket S Kit 150
SFK-23RS Free Hinge L40(M6)-R (Stainless) Kit 142 SFK-4CC ML Bracket L Kit 150
SFK-25L Free Hinge 3020-L Kit 142 SFK-4CD ML Bracket S-S Kit 150
SFK-25LS Free Hinge 3020-L (Stainless) Kit 142 SFK-4CF ML Bracket L-S Kit 150
SFK-25R Free Hinge 3020-R Kit 142 SFK-4CJ ML Bracket L8090 Kit 150
SFK-25RS Free Hinge 3020-R (Stainless) Kit 142 SFK-4CK ML Bracket L80- 90-S Kit 151

257




258

INDEX

Item No. Name Page Item No. Name Page
SFK-4CL ML Bracket L40-L40 Kit 151 SFK-937S Adjuster B M20 (Stainless) 131
SFK-4CM ML Bracket L45-L40 Kit 151 SFK-938 Adjuster M 20 130
SFK-4CN ML Bracket S60-S Kit 151 SFK-A01 Angle Bracket SS Kit 34
SFK-4EA Magnet Catch CR-N S Kit 149 SFK-A01S Angle Bracket SS (Stainless) Kit 34
SFK-4EB Magnet Catch CR-N L Kit 149 SFK-A02 Angle Bracket SS 2040 Kit 34
SFK-4EC Magnet Catch CR-N S-S Kit 149 SFK-A02S Angle Bracket SS2040 (Stainless) Kit 34
SFK-4ED Magnet Catch CR-N L-S Kit 149 SFK-A03 Angle Bracket S Kit 66
SFK-4EE Magnet Catch CR-N L40-L40 Kit 149 SFK-A03S Angle Bracket S (Stainless) Kit 66
SFK-4EF Magnet Catch CR-N L45-L Kit 149 SFK-A04 Angle Bracket S 3060 Kit 66
SFK-4X1 MG-G Limit SS Kit 153 SFK-A04S Angle Bracket S3060 (Stainless) Kit 66
SFK-4X2 MG-G Limit S Kit 153 SFK-A05 Angle Bracket L40 Kit 107
SFK-4X3 MG-G Limit L Kit 153 SFK-A05S Angle Bracket L40 (Stainless) Kit 107
SFK-4X4 MG-G SS Kit 149 SFK-A06 Angle Bracket L4080 Kit 107
SFK-4X5 MG-G S Kit 149 SFK-A06S Angle Bracket L4080 (Stainless) Kit 107
SFK-4X6 MG-G L Kit 149 SFK-A08 Angle Bracket L4590 Kit 108
SFK-501A Level Aduster Kit L 119 SFK-A08S Angle Bracket L4590 (Stainless) Kit 108
SFK-501S Level Adjuster Kit L (Stainless) 119 SFK-A09 Angle Bracket SS 2060 Kit 34
SFK-502A Level Adjuster With Caster Kit L 119 SFK-A09S Angle Bracket SS2060 (Stainless) Kit 34
SFK-502S Level Adjuster With Caster Kit L (Stainless) 119 SFK-A10 Angle Bracket S 3090 Kit 67
SFK-503A Level Adjuster Kit S 76 SFK-A10S Angle Bracket S3090 (Stainless) Kit 67
SFK-503S Level Adjuster Kit S (Stainless) 76 SFK-A11 Angle Bracket S50 Kit 67
SFK-504A Level Adjuster With Caster Kit S 76 SFK-A11S Angle Bracket S50 (Stainless) Kit 67
SFK-504S Level Adjuster With Caster Kit S (Stainless) 76 SFK-A13 D Bracket S3060 Kit 61
SFK-505A Caster Kit S 76 SFK-A13P D Bracket S3060 With Tap Kit (Stainless) 61
SFK-505S Caster Kit S (Stainless) 76 SFK-A13S D Bracket S3060 Kit (Stainless) 61
SFK-506A Caster Kit S With Brake 76 SFK-A13T D Bracket S3060 w ith Tap Kit 61
SFK-506S Caster Kit S With Brake (Stainless) 76 SFK-A14 Angle Bracket Hard SS Kit 34
SFK-510A Level Adjuster Kit SS 41 SFK-A14S Angle Bracket Hard SS (Stainless) Kit 34
SFK-510S Level Adjuster Kit SS (Stainless) 41 SFK-A15 Angle Bracket Hard S Kit 66
SFK-511A Level Adjuster Kit 60 76 SFK-A15S Angle Bracket Hard S (Stainless) Kit 66
SFK-511S Level Adjuster Kit 60 (Stainless) 76 SFK-A16 Angle Bracket Hard L40 Kit 107
SFK-512A Level Adjuster With Caster Kit 60 76 SFK-A16S Angle Bracket Hard L40 (Stainless) Kit 107
SFK-512S Level Adjuster With Caster Kit 60 (Stainless) 76 SFK-A17 Angle Bracket Hard L45 Kit 108
SFK-513A Level Adjuster Kit 80 119 SFK-A17S Angle Bracket Hard L45 (Stainless) Kit 108
SFK-513S Level Adjuster Kit 80 (Stainless) 119 SFK-A21 Offset Bracket S3060 Kit 67,220
SFK-514A Level Adjuster With Caster Kit 80 119 SFK-A21S Offset Bracket S3060 (Stainless) Kit 67
SFK-514S Level Adjuster With Caster Kit 80 (Stainless) 119 SFK-A22 Offset Bracket L4080 Kit 109, 227
SFK-515 Level Adjuster Kit 90 119 SFK-A22S Offset Bracket L4080 (Stainless Kit) 109
SFK-516 Level Adjuster With Caster Kit 90 119 SFK-A23 Offset Bracket L4590 Kit 109
SFK-517 Level Adjuster Kit 50 76 SFK-A23S Offset Bracket L4590 (Stainless) Kit 109
SFK-518 Level Adjuster With Caster Kit 50 76 SFK-A24 Offset Angle SS2040 Kit 35
SFK-51A Foot Base 40402S 42 SFK-A24S Offset Angle SS2040 Kit (Stainless) 35
SFK-51AS Foot Base 40402S (Stainless) 42 SFK-C20A Level Adjuster With Caster Kit SS 41
SFK-54A Foot Base 9090 120 SFK-C20S Level Adjuster With Caster Kit SS (Stainless) 41
SFK-55A Foot Base 2040 42 SFK-C21A Caster Kit SS 41
SFK-55AS Foot Base 2040 (Stainless) 42 SFK-C21S Caster Kit SS (Stainless) 41
SFK-56A Foot Base 3060 77 SFK-C22 Level Adjuster Kit 40 41
SFK-56AS Foot Base 3060 (Stainless) 77 SFK-C22A Caster Kit SS With Brake 41
SFK-57A Foot Base 4080 120 SFK-C22B Caster Kit SS With Brake (Stainless) 41
SFK-57AS Foot Base 4080 (Stainless) 120 SFK-C22U Level Adjuster Kit 40 (Stainless) 41
SFK-582 Caster A 132 SFK-C23 Level Adjuster With Caster Kit 40 41
SFK-582S Caster A (Stainless) 132 SFK-C23S Level Adjuster With Caster Kit 40 (Stainless) 41
SFK-583 Caster A with Brake 132 SFK-C84 Adjuster M12-68T 131
SFK-583S Caster A With Brake (Stainless) 132 SFK-C89 Adjuster B M16 - 92T 131
SFK-58A Foot Base 60602S 7 SFK-K01 Cover Support SS Kit 45
SFK-58AS Foot Base 60602S (Stainless) 77 SFK-K01S Cover Support SS (Stainless) Kit 45
SFK-594 Caster C 132 SFK-K02 Cover Support S Kit 81,171
SFK-594S Caster C (Stainless) 132 SFK-K02S Cover Support S (Stainelss) Kit 81
SFK-595 Caster B 132 SFK-K04 Cover Support L6 Kit 125
SFK-595S Caster B (Stainless) 132 SFK-K04S Cover Support L6 (Stainless) Kit 125
SFK-59A Foot Base 8080 120 SFK-K11 Cover Suport SS Flat Kit 45
SFK-59AS Foot Base 8080 (Stainless) 120 SFK-K11S Cover Support SS Flat (Stainless) Kit 45
SFK-5A3 Rail Guide Kit 164 SFK-K14 Cover Support L6 Flat Kit 125
SFK-605 Joint Bar SS 120 Kit 27 SFK-K14S Cover Support L6 Flat (Stainless) Kit 125
SFK-606 Joint Bar S 140 Kit 58 SFK-K31J Slot Hook SS (J) 46
SFK-607 Joint Bar L200 Kit 97 SFK-K31U Slot Hook SS (U) 46
SFK-60A Foot Base 4590 120 SFK-K32J Slot Hook S (J) 81, 221, 236
SFK-620A Blind Bracket SS (Stainless) 36 SFK-K32U Slot Hook S (U) 81, 221, 236
SFK-621A Blind Bracket S (Stainless) 70 SFK-K33J Slot Hook L (J) 125, 228, 236
SFK-622A Blind Bracket L (Stainless) 116 SFK-K33U Slot Hook L (U) 125, 228, 236
SFK-68A Foot Base 505028 77 SFK-NO1 Hard Bracket SS Kit 30
SFK-701 Pull D 145 SFK-NO1P Hard Bracket SS With Tap Kit (Stainless) 30
SFK-74AS Anchor Bracket (Stainless) L Kit 121 SFK-NO1S Hard Bracket SS Kit (Stainless) 30
SFK-79B Anchor Pate Bracket 60602S Kit 78 SFK-NO1T Hard Bracket SS Kit With Tap Kit 30
SFK-7E1 Adijuster Bracket M12 S Kit 59 SFK-NO2 Hard Bracket SS 2040 Kit 32
SFK-7E2 Adjuster Bracket M12 L Kit 113 SFK-NO2P Hard Bracket SS 2040 With Tap Kit (Stainless) 32
SFK-801A Folding Slider S-SSA 165 SFK-NO2S Hard Bracket SS 2040 Kit (Stainless) 32
SFK-802A Folding Slider S-SSB 165 SFK-NO2T Hard Bracket SS 2040 With Tap Kit 32
SFK-803A Folding Slider S 165 SFK-NO3 Hard Bracket S Kit 62
SFK-804A Folding Slider L-S Kit 165 SFK-NO3P Hard Bracket S With Tap Kit (Stainless) 62
SFK-805 Slot Roller SS 46 SFK-NO3S Hard Bracket S Kit (Stainless) 62
SFK-806 Slot Roller S 82 SFK-NO3T Hard Bracket S Kit With Tap 62
SFK-807 Slot Roller L40 126 SFK-NO4 Hard Bracket S 3060 Kit 64
SFK-808 Slot Roller L45 126 SFK-NO4P Hard Bracket S 3060 With Tap Kit (Stainless) 64
SFK-84AS Anchor Bracket (Stainless) S Kit 78 SFK-N04S Hard Bracket S 3060 Kit (Stainless) 64
SFK-933 Adjuster M12 131 SFK-NOAT Hard Bracket S 3060 With Tap Kit 64
SFK-933S Adjuster M12 (Stainless) 131 SFK-NO5 Hard Bracket L Kit 101
SFK-934 Adjuster B M16 131 SFK-NO5P Hard Bracket L With Tap Kit (Stainless) 101
SFK-934S Adjuster B M16 (Stainless) 131 SFK-NO5S Hard Bracket L Kit (Stainless) 101
SFK-935 Adjuster M16 130 SFK-NO5T Hard Bracket L With Tap Kit 101




Item No. Name Page Item No. Name Page
SFK-NO06 Hard Bracket L 4080 Kit 103 SFK-N31S Hard Bracket SS DE135 Kit (Stainless) 39
SFK-NO6P Hard Bracket L 4080 With Tap Kit (Stainless) 103 SFK-N31T Hard Bracket SS* DE135 With Tap Kit 39
SFK-N06S Hard Bracket L 4080 Kit (Stainless) 103 SFK-N32 Hard Bracket SS-DE45 Kit 39
SFK-NO6T Hard Bracket L 4080 With Tap Kit 103 SFK-N32P Hard Bracket SS DE45 With Tap Kit (Stainless) 39
SFK-NO7 Hard Bracket G80 Kit 103 SFK-N32S Hard Bracket SS DE45 Kit (Stainless) 39
SFK-NO7P Hard Bracket G80 With Tap Kit (Stainless) 103 SFK-N32T Hard Bracket SS* DE45 With Tap Kit 39
SFK-NO7S Hard Bracket G80 Kit (Stainless) 103 SFK-N33 Hard Bracket S+ DE135 Kit 73
SFK-NO7T Hard Bracket G80 With Tap Kit 103 SFK-N33P Hard Bracket S DE135 With Tap Kit (Stainless) 73
SFK-NO08 Hard Bracket L 4590 Kit 105 SFK-N33S Hard Bracket S DE135 Kit (Stainless) 73
SFK-NO8P Hard Bracket L 4590 With Tap Kit (Stainless) 105 SFK-N33T Hard Bracket S- DE135 With Tap Kit 73
SFK-N08S Hard Bracket L 4590 Kit (Stainless) 105 SFK-N34 Hard Bracket S+ DE45 Kit 73
SFK-NO8T Hard Bracket L 4590 With Tap Kit 105 SFK-N34P Hard Bracket S DE45 With Tap Kit (Stainless) 73
SFK-N09 Hard Bracket SS 2060 Kit 33 SFK-N34S Hard Bracket S DE45 Kit (Stainless) 73
SFK-NO9P Hard Bracket SS 2060 With Tap Kit (Stainless) 33 SFK-N34T Hard Bracket S+ DE45 With Tap Kit 73
SFK-N09S Hard Bracket SS 2060 Kit (Stainless) 33 SFK-N35 Hard Bracket L - DE135 Kit 110
SFK-NO9T Hard Bracket SS 2060 With Tap Kit 33 SFK-N35P Hard Bracket L DE135 With Tap Kit (Stainless) 110
SFK-N10 Hard Bracket S 3090 Kit 65 SFK-N35S Hard Bracket L DE135 Kit (Stainless) 110
SFK-N10P Hard Bracket S 3090 With Tap Kit (Stainless) 65 SFK-N35T Hard Bracket L - DE135 With Tap Kit 110
SFK-N10S Hard Bracket S 3090 Kit (Stainless) 65 SFK-N36 Hard Bracket L - DE45 Kit 110
SFK-N10T Hard Bracket S 3090 With Tap Kit 65 SFK-N36P Hard Bracket L DE45 With Tap Kit (Stainless) 110
SFK-N11 Hard Bracket SW3030 Kit 63 SFK-N36S Hard Bracket L DE45 Kit (Stainless) 110
SFK-N11P Hard Bracket SW3030 With Tap Kit (Stainless) 63 SFK-N36T Hard Bracket L - DE45 With Tap Kit 110
SFK-N11S Hard Bracket SW 3030 Kit (Stainless) 63 SFK-N37 Hard Bracket SS2040DE45 Kit 39
SFK-N11T Hard Bracket SW3030 With Tap Kit 63 SFK-N37S Hard Bracket SS2040 DE45 Kit (Stainless) 39
SFK-N12 Hard Bracket SW3060 Kit 64 SFK-N38 Hard Bracket SS2040DE135 Kit 39
SFK-N12P Hard Bracket SW3060 With Tap Kit (Stainless) 64 SFK-N38S Hard Bracket SS2040 DE135 Kit (Stainless) 39
SFK-N12S Hard Bracket SW3060 Kit (Stainless) 64 SFK-N39 Hard Bracket S3060DE45 Kit 723
SFK-N12T Hard Bracket SW3060 With Tap Kit 64 SFK-N39P Hard Bracket S3060 DE45 With Tap Kit (Stainless) 73
SFK-N13 Hard Bracket SW3090 Kit 65 SFK-N39S Hard Bracket S3060 DE45 Kit (Stainless) 73
SFK-N13S Hard Bracket SW3090 Kit (Stainless) 65 SFK-N39T Hard Bracket S3060DE45 With Tap Kit 73
SFK-N14 Hard Bracket SSW2020 Kit 30 SFK-N40 Hard Bracket S3060DE135 Kit 73
SFK-N14P Hard Bracket SSW2020 With Tap Kit (Stainless) 30 SFK-N40S Hard Bracket S3060 DE135 Kit (Stainless) 73
SFK-N14S Hard Bracket SSW2020 Kit (Stainless) 30 SFK-N41 Hard Bracket L4080DE45 Kit 110
SFK-N14T Hard Bracket SSW2020 With Tap Kit 30 SFK-N41S Hard Bracket L4080 DE45 Kit (Stainless) 110
SFK-N15P Hard Bracket SSW2040 With Tap Kit (Stainless) 32 SFK-N42 Hard Bracket L4080DEL35 Kit 110
SFK-N15S Hard Bracket SSW2040 Kit (Stainless) 32 SFK-N42S Hard Bracket L4080 DE135 Kit (Stainless) 110
SFK-N15T Hard Bracket SSW2040 With Tap Kit 32 SFK-N43 Hard Bracket L4590DE45 Kit 110
SFK-N16 Hard Bracket SSW 2060 Kit 33 SFK-N43S Hard Bracket L4590 DE45 Kit (Stainless) 110
SFK-N16S Hard Bracket SSW 2060 Kit (Stainless) 33 SFK-N44 Hard Bracket L 4590+ DE135 Kit 110
SFK-N17 Hard Bracket GW80 Kit 104 SFK-N44S Hard Bracket L4590 DE135 Kit (Stainless) 110
SFK-N17P Hard Bracket GW80 With Tap Kit (Stainless) 104 SFK-N45 Hard Bracket S50 Kit 65
SFK-N17S Hard Bracket GW80 Kit (Stainless) 104 SFK-N45P Hard Bracket S 50 With Tap Kit (Stainless) 65
SFK-N17T Hard Bracket GW80 With Tap Kit 104 SFK-N45S Hard Bracket S 50 Kit (Stainless) 65
SFK-N18 Hard Bracket G90 Kit 105 SFK-N45T Hard Bracket S50 With Tap Kit 65
SFK-N18P Hard Bracket G90 With Tap Kit (Stainless) 105 SFK-N47 Hard Bracket SG50 Kit 65
SFK-N18S Hard Bracket G90 Kit (Stainless) 105 SFK-N47P Hard Bracket SG 50 With Tap Kit (Stainless) 65
SFK-N18T Hard Bracket G90 With Tap Kit 105 SFK-N47S Hard Bracket SG 50 Kit (Stainless) 65
SFK-N19 Hard Bracket LW Kit 102 SFK-NA7T Hard Bracket SG50 With Tap Kit 65
SFK-N19P Hard Bracket LW With Tap Kit (Stainless) 102 SFK-N48 Hard Bracket G80160 Kit 103
SFK-N19S Hard Bracket LW Kit (Stainless) 102 SFK-N48S Hard Bracket G80160 Kit (Stainless) 103
SFK-N19T Hard Bracket LW With Tap Kit 102 SFK-N49 Hard Bracket G90180 Kit 105
SFK-N20 Hard Bracket LW4080 Kit 104 SFK-N49S Hard Bracket G90180 Kit (Stainless) 105
SFK-N20P Hard Bracket LW4080 With Tap (Stainless) 104 SFK-N58 Hard Bracket with Stopper SS Kit 31
SFK-N20S Hard Bracket LW4080 Kit (Stainless) 104 SFK-N58P Hard Bracket with Stopper SS w ith Tap Kit (Stainless) 31
SFK-N20T Hard Bracket LW4080 With Tap Kit 104 SFK-N58S Hard Bracket with Stopper SS Kit (Stainless) 31
SFK-N21 Hard Bracket LW4590 Kit 106 SFK-N58T Hard Bracket with Stopper SS with Tap Kit 31
SFK-N21P Hard Bracket LW4590 With Tap Kit (Stainless) 106 SFK-N59 Hard Bracket with Stopper SSG Kit 31
SFK-N21S Hard Bracket LW4590 Kit (Stainless) 106 SFK-N59P Hard Bracket with Stopper SSG with Tap Kit (Stainless) 31
SFK-N22 Hard Bracket GW90 Kit 106 SFK-N59S Hard Bracket with Stopper SSG Kit (Stainless) 31
SFK-N22P Hard Bracket GW90 With Tap Kit (Stainless) 106 SFK-N59T Hard Bracket with Stopper SSG w ith Tap Kit 31
SFK-N22S Hard Bracket GW90 With Tap Kit (Stainless) 106 SFK-N61 Hard Bracket with Stopper S Kit 63
SFK-N23 Hard Bracket SSG Kit 30 SFK-N61P Hard Bracket with Stopper S with Tap Kit (Stainless) 63
SFK-N23P Hard Bracket SSG Kit With Tap (Stainless) 30 SFK-N61S Hard Bracket with Stopper S Kit (Stainless) 63
SFK-N23S Hard Bracket SSG Kit (Stainless) 30 SFK-N61T Hard Bracket with Stopper S with Tap Kit 63
SFK-N23T Hard Bracket SSG With Tap Kit 30 SFK-N62 Hard Bracket with Stopper SG Kit 63
SFK-N24 Hard Bracket SSG 2040 Kit 32 SFK-N62P Hard Bracket with Stopper SG w ith Tap Kit (Stainless) 63
SFK-N24P Hard Bracket SSG 2040 With Tap Kit (Stainless) 32 SFK-N62S Hard Bracket with Stopper SG Kit (Stainless) 63
SFK-N24S Hard Bracket SSG 2040 Kit (Stainless) 32 SFK-N62T Hard Bracket with Stopper SG with Tap Kit 63
SFK-N24T Hard Bracket SSG 2040 With Tap Kit 32 SFK-N64 Hard Bracket with Stopper L Kit 102
SFK-N25 Hard Bracket SSG 2060 Kit 33 SFK-N64P Hard Bracket with Stopper L with Tap Kit (Stainless) 102
SFK-N25P Hard Bracket SSG 2060 With Tap Kit (Stainless) 33 SFK-N64S Hard Bracket with Stopper L Kit (Stainless) 102
SFK-N25S Hard Bracket SSG 2060 Kit (Stainless) 33 SFK-N64T Hard Bracket with Stopper L with Tap Kit 102
SFK-N25T Hard Bracket SSG 2060 With Tap Kit 33 SFK-N65 Hard Bracket with Stopper LG Kit 102
SFK-N26 Hard Bracket SG Kit 62 SFK-N65P Hard Bracket with Stopper LG w ith Tap Kit (Stainless) 102
SFK-N26P Hard Bracket SG With Tap Kit (Stainless) 62 SFK-N65S Hard Bracket with Stopper LG Kit (Stainless) 102
SFK-N26S Hard Bracket SG Kit (Stainless) 62 SFK-N65T Hard Bracket with Stopper LG w ith Tap Kit 102
SFK-N26T Hard Bracket SG With Tap Kit 62 SFK-Q01 TCBlock SS 158
SFK-N27 Hard Bracket SG 3060 Kit 64 SFK-Q11 Block Bracket SS Kit (Black) 36
SFK-N27P Hard Bracket SG 3060 With Tap Kit (Stainless) 64 SFK-Q11G Block Bracket SS Kit (Light Gray) 36
SFK-N27S Hard Bracket SG 3060 Kit (Stainless) 64 SFK-Q12 Block Bracket S Kit (Black) 70
SFK-N27T Hard Bracket SG 3060 With Tap Kit 64 SFK-Q12G Block Bracket S Kit (Light Gray) 70
SFK-N28 Hard Bracket SG 3090 Kit 65 SFK-Q20A QC Joint SS Kit 35
SFK-N28S Hard Bracket SG 3090 Kit (Stainless) 65 SFK-Q21A QC Joint SS 40 Kit 35
SFK-N28T Hard Bracket SG 3090 With Tap Kit 65 SFK-Q30A QC Joint S Kit 68
SFK-N29 Hard Bracket LG Kit 101 SFK-Q31A QC Joint S 50 Kit 68
SFK-N29P Hard Bracket LG With Tap Kit (Stainless) 101 SFK-Q32A QC Joint S 60 Kit 68
SFK-N29S Hard Bracket LG Kit (Stainless) 101 SFK-Q33A QC Joint S 90 Kit 68
SFK-N29T Hard Bracket LG With Tap Kit 101 SFK-Q34A QC Joint S 100 Kit 68
SFK-N31 Hard Bracket SS- DE135 Kit 39 SFK-Q35A QC Joint S 120 Kit 68
SFK-N31P Hard Bracket SS DE135 With Tap Kit (Stainless) 39 SFK-Q40A QC Joint L 40 Kit 114

259




260

INDEX

Item No. Page
SFK-Q41A QC Joint L 45 Kit 114
SFK-Q42A QC Joint L 60 Kit 114
SFK-Q43A QC Joint L 80 Kit 114
SFK-Q44A QC Joint L 90 Kit 114
SFK-Q61 Corner Block SS Kit (Black) 36
SFK-Q61G Corner Block SS Kit (Light Gray) 36
SFK-Q62 Corner Block S Kit (Black) 70
SFK-Q62G Corner Block S Kit (Light Gray) 70
SFK-RO1 R Bracket SS Kit (Black) 36
SFK-R01G R Bracket SS Kit (Light Gray) 36
SFK-R02 R Bracket S Kit (Black) 70
SFK-R02G R Bracket S Kit (Light Gray) 70
SFK-R03 R Bracket L40 Kit (Black) 116
SFK-R03G R Bracket L40 Kit (Light Gray) 116
SFK-R04 R Bracket L45 Kit (Black) 116
SFK-R04G R Bracket L45 Kit (Light Gray) 116
SFN-AL4 After Nut L (M4) (Stainless) 96
SFN-ALS After Nut L (M5) (Stainless) 96
SFN-AL6 After Nut L (M6) (Stainless) 96
SFN-AL8 After Nut L (M8) (Stainless) 96
SFN-AS3 After Nut S (M3) (Stainless) 57
SFN-AS4 After Nut S (M4) (Stainless) 57
SFN-AS5 After Nut S (M5) (Stainless) 57
SFN-AS6 After Nut S (M6) (Stainless) 57
SFN-AX3 After Nut SS (M3) (Stainless) 27
SFN-AX4 After Nut SS (M4) (Stainless) 27
SFN-EL3 Easy Nut L (M3) (Stainless) 95
SFN-EL4 Easy Nut L (M4) (Stainless) 95, 228
SFN-EL5 Easy Nut L (M5) (Stainless) 95, 228
SFN-EL6 Easy Nut L (M) (Stainless) 95, 228
SFN-EL8 Easy Nut L (M8) (Stainless) 95, 228
SFN-ES3 Easy Nut S (M3) (Stainless) 56, 221
SFN-ES4 Easy Nut S (M4) (Stainless) 56, 221
SFN-ES5 Easy Nut S (M5) (Stainless) 56, 221
SFN-ES6 Easy Nut S (M6) (Stainless) 56, 221
SFN-EX3 Easy Nut SS (M3) (Stainless) 26
SFN-EX4 Easy Nut SS (M4) (Stainless) 26
SFN-FL4 Free Nut L (M4) (Stainless) 96
SFN-FL5 Free Nut L(M5) (Stainless) 96
SFN-FL6 Free Nut L(M6) (Stainless) 96
SFN-FL8 Free Nut L (M8) (Stainless) 96
SFN-FS3 Free Nut S (M3) (Stainless) 57
SFN-FS4 Free Nut S (M4) (Stainless) 57
SFN-FS5 Free Nut S (M5) (Stainless) 57
SFN-FX3 Free Nut SS (M3) (Stainless) 27
SFN-FX4 Free Nut SS (M4) (Stainless) 27
SFN-LL4 Lock Nut L (M4) (Stainless) 96
SFN-LL5S Lock Nut L (M5) (Stainless) 96
SFN-LL6 Lock Nut L (M6) (Stainless) 96
SFN-LL8 Lock Nut L (M8) (Stainless) 96
SFN-LS3 Lock Nut S (M3) (Stainless) 57
SFN-LS4 Lock Nut S (M4) (Stainless) 57
SFN-LS5 Lock Nut S (M5) (Stainless) 57
SFN-LS6 Lock Nut S (M6) (Stainless) 57
SFN-LX3 Lock Nut SS (M3) (Stainless) 27
SFN-LX4 Lock Nut SS (M4) (Stainless) 27
SFN-NL6 Free Nut L With Headless Bolt (M6) 97
SFN-NS5 Free Nut S With Headless Bolt (M5) 58
SFN-NSEL Free Stud S (M5) 58
SFN-SL3 ST Nut Stopper L (M3) 95
SFN-SL4 ST Nut Stopper L (M4) 95
SFN-SL5 ST Nut Stopper L (M5) 95
SFN-SL6 ST Nut Stopper L (M6) 95
SFN-SL8 ST Nut Stopper L (M8) 95
SFN-SS3 ST Nut Stopper S (M3) 56
SFN-SS4 ST Nut Stopper S (M4) 56
SFN-SS5 ST Nut Stopper S (M5) 56
SFN-SS6 ST Nut Stopper S (M6) 56
SFN-SX3 ST Nut Stopper SS (M3) 26
SFN-SX4 ST Nut Stopper SS (M4) 26
SFN-SX5 ST Nut Stopper SS (M5) 26
SFN-TL4 T Nut L (M4) (Stainless) 95, 228
SFN-TL5 T Nut L (M5) (Stainless) 95, 228
SFN-TL6 T Nut L (M6) (Stainless) 95, 228
SFN-TL8 T Nut L (M8) (Stainless) 95, 228
SFN-TS3 T Nut S (M3) (Stainless) 56, 221
SFN-TS4 T Nut S (M4) (Stainless) 56, 221
SFN-TS5 T Nut S (M5) (Stainless) 56, 221
SFN-TS6 T Nut S (M6) (Stainless) 56, 221
SFN-TX3 T Nut SS (M3) (Stainless) 26
SFN-TX4 T Nut SS (M4) (Stainless) 26
SFN-TX5 T Nut SS (M5) (Stainless) 26
TY60-12 Double Wheel Caster M12 132
TY60-12S Double Wheel Caster M12 w ith Brake 132
TY75-16S Double Wheel Caster M16 w ith Brake 132




261



SUS BKK Delivery Policy

Remark

Delivery lead time is counted from the next day of PO receipt date.

Received PO before midnoon is counted as an order on the day.

Delivery leadtime does not include company holidays.

Delivery to customers in some rural areas require longer lead time than below.

Item Quantity Leadtime
less than 20pcs 1 Working Day
L=4000 or Cutting Size
less than 50pcs 2 Working Days
Frame
less than 20pcs 2 Working Days
with Standard Process
SF, AZ less than 50pcs 3 Working Days
less than 200pcs 1 Working Day
Parts No Process
less than 500pcs 2 Working Days
Assembly Order Need to be confirmed individually
Iltem Quantity Leadtime
Resin . .
Panel with Standard Process less than 20pcs 3 Working Days
Panel \éVcc)J:rc;en with Standard Process less than 20pcs 3 Working Days
Metal Panel Need to be confirmed individually

262



263



H Sales Office

System Upgrade Solution BKK Co., Ltd.
URL. https://www.susbkk.co.th

Head Office
700/71 Moo 5, T.Klongtamru, A.Muang, Chonburi 20000
Tel. +66-3846-5775~6, Fax. +66-3846-8297

Rangsit Factory & Sales Branch
9/231 - 9/234 Moo 5, Phaholyothin Rd., T.Klong Nueng, A.Klong Luang, Pathumthani 12120
Tel. +66-2516-2747~9, Fax. +66-2516-4388

Pinthong Factory & Sales Branch
Pinthong 3 Industrial Estate 219/34 Moo 6, T.Bowin, A.Sriracha, Chonburi 20230
Tel. +66-3811-0532~3, Fax. +66-3811-9309

Lamphun Sales Branch
299/5 Moo 10 T.Banthi, A.Banthi, Lamphun 51180
Tel. +66-5355-2769, Fax. +66-5355-2769

M Group Company

[Head Office/Japan]

SUS Corporation

6F, S-patio Bldg. 14-25 Minami-cho, Suruga-ku, Shizuoka-shi, Shizuoka 422-8067, Japan
Tel. +81-54-202-2000, Fax. +81-54-202-2002

[Thailand]

Standard Units Supply (Thailand) Co., Ltd.

Head office and factory

299 Moo 10, T.Banthi, A.Banthi, Lamphun 51180, Thailand
Tel. +66-5356-9999, Fax. +66-5356-9950~1

[Singapore]

SUS (Singapore) Pte. Ltd.

19 Tannery Road 347730, Singapore
Tel. +65-6842-4348, Fax. +65-6842-3646

[China]

SUS (Suzhou) Co., Ltd.

Block 25A# Industrial Workshop, Chuangtou industrial area, Suzhou Industrial Park, Suzhou 215122, China
Tel. +86-512-82253336, Fax. +86-512-82253339

[Vietnam]

Standard Units Supply Vietham Company Limited

Workshop X6, Hai Thanh Leasing workshop area, Hai Thanh Ward, Duong Kinh District, Hai Phong city, Vietham
Tel. +84-2253-632-403, Fax. +84-2253-632-405

[India]

Standard Units Supply (India) Pvt. Ltd.

43/1 Padasalai Street, Ayanambakkam, Chennai - 600095, Tamil Nadu, India
Tel. & Fax. +91-44-49524482

[Philippines]

Standard Units Supply Philippines Corporation

Building R1-D, Lot 13, Phase 1B, First Philippine Industrial Park, Special Economic Zone, Tanauan City, Batangas 4232, Philippines
Tel. +63-43-430-0290~0299

[Myanmar]

SUS Myanmar Co., Ltd.

Block 1C/11, Yadanar Street, Nawadday Garden Housing, Hlaingtaryar Township, Yangon, Myanmar
Tel. +95-996-078-7111

[America]

SUS America, Inc.

1822 Brummel Ave, Elk Grove Village, lllinois 60007, USA
Tel. +1-847-350-1525 Fax. +1-847-350-1531

264



265



System Upgrade Solution BKK Co., Ltd.

Head Office

700/71 Moo 5, T.Klongtamru, A.Muang, Chonburi 20000, Thailand
Tel: +66-3845-7069~71, Fax: +66-3845-7072

[ f] System Upgrade Solution BKK 2506(E)-1000




	SF_SUSBKK 1
	SF_SUSBKK 2
	SF_SUSBKK 3
	SF_SUSBKK 4_Edited
	SF_SUSBKK 6
	SF_SUSBKK 7
	SF_SUSBKK 16
	SF_SUSBKK 17
	SF_SUSBKK 18
	SF_SUSBKK 19
	SF_SUSBKK 20
	SF_SUSBKK 21
	SF_SUSBKK 22
	SF_SUSBKK 23
	SF_SUSBKK 24
	SF_SUSBKK 25
	SF_SUSBKK 26
	SF_SUSBKK 27
	SF_SUSBKK 29
	SF_SUSBKK 30
	SF_SUSBKK 32
	SF_SUSBKK 33
	SF_SUSBKK 34
	SF_SUSBKK 35
	SF_SUSBKK 36
	SF_SUSBKK 39
	SF_SUSBKK 43
	SF_SUSBKK 45
	SF_SUSBKK 46
	SF_SUSBKK 48
	SF_SUSBKK 49
	SF_SUSBKK 50
	SF_SUSBKK 51
	SF_SUSBKK 52
	SF_SUSBKK 53
	SF_SUSBKK 54
	SF_SUSBKK 55
	SF_SUSBKK 56
	SF_SUSBKK 57
	SF_SUSBKK 59
	SF_SUSBKK 61
	SF_SUSBKK 62
	SF_SUSBKK 63
	SF_SUSBKK 64
	SF_SUSBKK 65
	SF_SUSBKK 66
	SF_SUSBKK 68
	SF_SUSBKK 69
	SF_SUSBKK 73
	SF_SUSBKK 74
	SF_SUSBKK 76
	SF_SUSBKK 77
	SF_SUSBKK 81
	SF_SUSBKK 82_Edited
	SF_SUSBKK 84
	SF_SUSBKK 85
	SF_SUSBKK 86
	SF_SUSBKK 87
	SF_SUSBKK 88
	SF_SUSBKK 89
	SF_SUSBKK 90
	SF_SUSBKK 91
	SF_SUSBKK 92
	SF_SUSBKK 93
	SF_SUSBKK 94
	SF_SUSBKK 95
	SF_SUSBKK 96
	SF_SUSBKK 98_Edited
	SF_SUSBKK 100
	SF_SUSBKK 101
	SF_SUSBKK 103
	SF_SUSBKK 104
	SF_SUSBKK 106
	SF_SUSBKK 109
	SF_SUSBKK 110
	SF_SUSBKK 111
	SF_SUSBKK 113
	SF_SUSBKK 114
	SF_SUSBKK 115
	SF_SUSBKK 120
	SF_SUSBKK 124
	SF_SUSBKK 126
	SF_SUSBKK 128
	SF_SUSBKK 129
	SF_SUSBKK 130
	SF_SUSBKK 131
	SF_SUSBKK 132
	SF_SUSBKK 133
	SF_SUSBKK 134
	SF_SUSBKK 135
	SF_SUSBKK 136
	SF_SUSBKK 137
	SF_SUSBKK 138
	SF_SUSBKK 139
	SF_SUSBKK 140
	SF_SUSBKK 141
	SF_SUSBKK 142
	SF_SUSBKK 146
	SF_SUSBKK 147_Edited
	SF_SUSBKK 148
	SF_SUSBKK 149
	SF_SUSBKK 150
	SF_SUSBKK 151
	SF_SUSBKK 152
	SF_SUSBKK 153
	SF_SUSBKK 154
	SF_SUSBKK 155
	SF_SUSBKK 157
	SF_SUSBKK 158
	SF_SUSBKK 159
	SF_SUSBKK 160_Edited
	SF_SUSBKK 161
	SF_SUSBKK 162
	SF_SUSBKK 163
	SF_SUSBKK 164
	SF_SUSBKK 165
	SF_SUSBKK 166
	SF_SUSBKK 169
	SF_SUSBKK 170
	SF_SUSBKK 171
	SF_SUSBKK 172
	SF_SUSBKK 173
	SF_SUSBKK 174
	SF_SUSBKK 175
	SF_SUSBKK 176
	SF_SUSBKK 177
	SF_SUSBKK 178
	SF_SUSBKK 179
	SF_SUSBKK 180
	SF_SUSBKK 181
	SF_SUSBKK 182
	SF_SUSBKK 183
	SF_SUSBKK 187
	SF_SUSBKK 188
	SF_SUSBKK 191
	SF_SUSBKK 193
	SF_SUSBKK 194
	SF_SUSBKK 195
	SF_SUSBKK 196
	SF_SUSBKK 197
	SF_SUSBKK 198
	SF_SUSBKK 199
	SF_SUSBKK 201
	SF_SUSBKK 202
	SF_SUSBKK 203
	SF_SUSBKK 208
	SF_SUSBKK 209
	SF_SUSBKK 210
	SF_SUSBKK 211
	SF_SUSBKK 212
	SF_SUSBKK 213
	SF_SUSBKK 214
	SF_SUSBKK 215
	SF_SUSBKK 216
	SF_SUSBKK 217
	SF_SUSBKK 218
	SF_SUSBKK 219
	SF_SUSBKK 220
	SF_SUSBKK 221
	SF_SUSBKK 222
	SF_SUSBKK 223
	SF_SUSBKK 224
	SF_SUSBKK 225
	SF_SUSBKK 226
	SF_SUSBKK 227
	SF_SUSBKK 228
	SF_SUSBKK 229_Edited
	SF_SUSBKK 230
	SF_SUSBKK 231
	SF_SUSBKK 232
	SF_SUSBKK 233
	SF_SUSBKK 235
	SF_SUSBKK 236
	SF_SUSBKK 237
	SF_SUSBKK 238
	SF_SUSBKK 239
	SF_SUSBKK 241
	SF_SUSBKK 242
	SF_SUSBKK 243
	SF_SUSBKK 244
	SF_SUSBKK 245
	SF_SUSBKK 246
	SF_SUSBKK 247
	SF_SUSBKK 248
	SF_SUSBKK 249
	SF_SUSBKK 250
	SF_SUSBKK 251
	SF_SUSBKK 265
	SF_SUSBKK 266_Edited
	SF_SUSBKK 267
	Blank Page

